Directions, Soufflets
& Pompes de DA

Steerings, Steering Boots
& Steerzng Pumps

WE CREATE EXCELLENCE

2016 - 2017




Q@a SOMMAIRE / INDEX

Directions, Soufflets & Pompes de DA

Steerings, Steering Boots & Power Steering pumps

Table des matieres / Contents p.B-D
Nouvelles références / New references p.- E
Réf. remplacées / Superseeded references p. F
Conditions de reprise de la vieille matiere DA p. G
Old cores return conditions
Protecteurs universels / Universal steering boots p. H
T S p
CROSS LISTS —» OE p. 212
E:) Sasic p. 220
~ Traductions, abréviations & symbols | p.230 |

Translations, abreviations & symbols

Conditions générales de vente a I’international p. 231
General terms of sales

I-Pour tout achat de directions assistées rénovées, la vieille matiere correspondante devrait étre retournée a Sasic 1
:—Some references are subject to return to Sasic of the corresponding old cores 1

73 Nouvelles réferences

73 New references



TABLE DES MATIERES

[\
CONTENTS
ALFA ROMEO Berlingo VU ,@;{K@% 40
C15 43
33 1 C25 44
145 1 Jumper 45
146 1 Jumpy 47
147 1 Nemo VU 47
155 2
156 2 DACIA
164 3
166 3 Duster 48
Arna 3 Logan I &3 48
GT 3 Logan II 49
GTV 3 Sandero I 49
Mito 4 Sandero 11 50
AUDI DS AUTOMOBILES
80 4 DS4 &= 50
90 5 DS5 50
100 5
200 5 FIAT
A2 5
A3 6 Barchetta [E25) 51
A4 1 94-2000 8 Brava 51
A4 11 2000- 9 Bravo 52
A61 94-97 10 Coupé 53
A6 II 97-04/2004 10 Croma 53
A8 10 Fiorino VLL 54
Marea 54
BMW Multipla 54
Palio 55
Série 1 E81 E87 11 Panda 55
Série 1 E82 11 Punto 55
Série 1 ES8 11 Grande Punto 57
Série 3 E21 12 Punto Evo 57
Série 3 E30 12 Qubo 57
Série 3 E36 12 Regata 57
Série 3 E46 13 Stilo 57
Série 3 E90 14 Tempra 58
Série 3 E91 15 Tipo 58
Série 3 E92 15 Ulysse 58
Série 3 E93 15 Uno 59
Série 5 E34 15 Doblo %— 60
Série 5 E39 16 Ducato 81-94 = 60
Série 5 E60 17 Ducato 94-01 60
Série 5 E61 17 Ducato 244.. 02-06 61
Série 7 E65 17 Ducato 250.. 06- 62
Série 7 E66 17 Fiorino VU 62
X1 17 Scudo 62
X3 17 Talento 63
X5 18
73 18 FORD
CITROEN B-Max = 63
C-Max 63
AX 18 Cougar 64
Berlingo VL 19 Escort 64
BX 22 Fiesta 89-95 FA/B/V 66
C-Crosser 22 Fiesta 95-02 JB FA/B JA/V 66
C-Elysée 23 Fiesta 02-10/08 68
C2 23 Fiesta 10/08-10/12 68
C3 23 Fiesta 11/12- 68
C3 Picasso 24 Focus 68
C3 Pluriel 24 Fusion 69
C4 25 Galaxy 70
C4 Cactus 26 Ka 70
C4 Picasso -06/13 26 Mondeo 71
C5 27 Orion 72
Cé6 28 Puma 73
C8 28 Scorpio 73
Evasion 29 Sierra 73
LN LNA 30 StreetKa 74
Nemo VL 30 Courier — 74
Saxo 30 Transit g@% 75
Visa 32
Xantia 32 IVECO
XM 34
Xsara 34 Daily I -03/96 ‘ki— 76
Xsara Picasso 37 Daily I 04/96-05/99 76
7X 38 Daily II 05/99-03/06 76




TABLE DES MATIERES

i
CONTENTS
LANCIA 205 101
206 102
Dedra 77 206+  04/09- 104
Delta 77 207 105
Lybra 77 208 105
Thema 77 2008 105
Y (Epsilon) 77 301 105
Zeta 78 304 106
305 106
306 107
LAND ROVER 307 110
307 CC 111
FreeLander 78 308 -09/13 111
309 112
MAZDA 3008 113
404 113
121 78 405 113
406 115
MERCEDES 407 117
4007 118
Classe A (168) 07/97- 79 504 118
Classe C (202) 03/93- 79 505 119
Classe C (203) 05/00- 79 508 120
Classe CLK Coupé (209) 06/02- 80 5008 120
Classe E (210) 06/95-03/03 80 604 120
Classe V (638) 10/96- 80 605 121
Sprinter 80 607 122
Vito 80 806 122
807 123
MINI Bipper VL 123
Expert VL 124
Mini I R50 R53 06/01-09/06 81 RCZ 124
Mini Cab. R52 -02/09 82 Bipper VU 124
Boxer I  -01/02 125
NISSAN Boxer I 01/02-07/06 126
Boxer III 07/06- 126
Almera 83 Expert VU 127
Almera Tino 83 J5 127
Micra 84 Partner 128
Primera 84

NV 400 84 RENAULT
OPEL R4 132
R5 132
Agila 85 Super 5 132
Ascona C 85 R6 134
Astra F 85 R9 134
Astra G 86 R11 134
Astra H 88 R18 135
Calibra 88 R19 135
Corsa A 89 R20 137
Corsa B 89 R21 137
Corsa C 90 R21 Nevada 138
CorsaD 920 R25 140
Kadett E 91 R30 141
Meriva 91 A]pine 141
Signum 91 Avantime 141
Tigra 91 ClioI -02/98 142
Vectra A 92 Clio IT  03/98- 143
Vectra B 93 Clio ITI  09/05- 146
Vectra C 94 Espace J11/S11 147
Zafira 94 Espace J63/S63 147
Combo 96 Espace JE 147
Movano 96 Espace JK 148
Vivaro 97 Fluence 149
Kangoo I -02/03 VL 149
PEUGEOT Kangoo I 03/03-12/07 VL 150
Kangoo II 01/08- VL 151
104 98 Laguna I 151
106 98 Laguna I Nevada 152
1007 101 Laguna II 153




TABLE DES MATIERES

[\
CONTENTS
Laguna II Estate &2 153 VOLKSWAGEN
Megane 1 154
Megane I Break 156 New Beetle S 192
Megane I Cabriolet 157 Bora 193
Megane I Classic 158 Corrado 193
Megane I Coupé 159 Golf I  76-83 193
Megane II /Classic 161 Golf IT  83-91 194
Megane II Break 162 Golf III  91-97 195
Megane II Cab. CC 163 Golf IV 97-03 197
Megane II Coupé 163 Golf V. 03- 198
Megane II1 164 Golf III Cabriolet 199
Megane III Break 164 Golf IV Cabriolet 199
Megane III Cab. CC 164 Jetta 199
Megane III Coupé 164 Lupo 201
Modus 165 Passat ITI  73-88 202
Safrane 165 Passat III IV 88-97 202
Scenic I -04/03 166 Passat V. 96-05 204
Scenic IT 05/03-03/09 167 Polo -05/09 205
Scenic III 04/09- 168 Santana 207
Spider 168 Scirocco 207
Thalia Symbol I (LB) 168 Sharan 208
Twingo 1 170 Vento 208
Velsatis 170 Caddy % 210
Express %ﬁ% 170 LT II III 96- B 210
Kangoo I -02/03 VU e 171 Transporter TYP4 (F70/D) 91-03 210
Kangoo I 03/03-12/07 VU 173
Kangoo IT 01/08- VU 174 VOLVO
Master 1 174
Master 11 174 740 & 211
Master III 175 760 211
Trafic I 175 780 211
Trafic IT 176 940 960 211
C30 211
ROVER S40 V40 211
V50 211
2545 2 177
75 177
200 178
400 178
Maestro 178
SEAT
Alhambra S 179
Arosa 179
Cordoba 180
Exeo 181
Ibiza IT III IV 93-01(6K) 181
Ibiza V 01- (6] 6L) 184
Leon 184
Toledo 185
Inca @%I 188
SKODA
Fabia S 188
Felicia 188
Octavia 189
Superb 190
TALBOT
Samba & 190
TOYOTA
Avensis o 190
Carina E 190
Corolla 191
Rav4 191
Yaris 191




73 Nouvelles références

73 New references

MARQUE MARQUE
@ Make @ Make
2750011 CITROEN C4 Cactus 7076064 AUDI A41 94-2000
PEUGEOT 2008 208 VOLKSWAGEN Passat V. 96-05
2750012 CITROEN C4 C4 Picasso -06/13 Berlingo VL VU 7076065 BMW Série 3 E46
DS AUTOMOBILES DS4 DS5 7076067 BMW Série 5 E39
PEUGEOT 206 206+ 307/ CC 308 3008 RCZ Partner | 7076068 FIAT Brava Bravo Regata Tempra Tipo
2754005 RENAULT Fluence Megane I1I/ Break/ Cab. CC 7076069 FIAT Ducato 244.. 02-06 Ducato 250.. 06-
Megane III Coupé Scenic III 04/09- 7076070 FORD C-Max
2754006 DACIA Duster 7076071 FORD Galaxy
2754007 RENAULT Kangoo IT 01/08- VL VU SEAT Aihaabra
Megane Il /Classic VOLKSWAGEN Sharan
2756025 BMW Série 5 E60 E61 Série 7 E65 E66 X3 X5 [ 7076072 MINI Mini I R50 R53 06/01-09/06
2756027 AUDI A2 7076073 NISSAN Almera
SEAT Cordoba Thiza V' 01- (67 6L) 7076074 NISSAN e
SKODA IFEifh 7076075 FORD C-Max Focus
VOLKSWAGEN Ll/l]?o Polo -05/09 VOLVO 30 S40 V40 V50
2756028 BMW Jerie | ES1ES3 BS7ESS 7076077 MINI Mini Cab. R52 -02/09
Scrie JES0EO1E92 B93 X1 Mini I R50 RS3 06/01-09/06
2756029 FORD ransit 7076078 AUDI A4TI 2000-
2756030 FORD Transit SEAT Exeo
Rt ALFA ROMEO e R Il SN il 7076079 FORD Fiesta 02-10/08 Fusion
2756032 TOYOTA Carina E Corolla Rav4 7170006 PEUGEOT 206 206+  04/09-
7070034 CITROEN Berlingo VL VU 7170031 PEUGEOT 308 -09/13
PEUGEOT Partner 7170032 PEUGEOT 308 -09/13
7070039 PEUGEOT 206 20§+ 04/09- 7170038 PEUGEOT 307 307 CC
7070041 CITROEN Xsara Picasso 7170039 CITROEN ca
7070043 CITROEN Xsara ZX 7170041 CITROEN 4
PEUGEOT - 7170042 CITROEN C4 Picasso -06/13
7070045 PEUGEOT 206 n
7070047 PEUGEOT 307 307 CC 7170022 CITROEN C4 Picasso -06/13
7070048 CITROEN Berlingo VL VU YL CITROEN &
PEUGEOT Partner 7170046 CITROEN C5
7070049 CITROEN C5 7174020 RENAULT Espace JK
7070051 PEUGEOT 206 7174026 RENAULT Kangoo I -02/03 VL VU
7070052 PEUGEOT 407 Kangoo I 03/03-12/07 VL VU
7070053 CITROEN Berlingo VL VU UL DACIA Logan[ Sandero I
PEUGEOT Partner 7174030 RENAULT Megane 11/ Classic/ Break/ Cab. CC
Megane II Coupé Scenic IT 05/03-03/09
7070055 ELIROLR A 7174031 RENAULT Clio Il _09/05- Modus
7070056 PEUGEOT 206 N
7070057 CITROEN Berlingo VL VU 7174032 RENAULT Clio Il 09/05-
PEUGEOT Partner LR I(‘)ILSESLAN ;ZV‘;?I?)
7070058 IE]IELRG%%\IT llfj:tl;'e‘fo VEVU RENAULT Master 11
7070059 CITROEN Berlingo VL VU Xsara Picasso Sy ALFA ROMEO 16§
PEUGEOT Partner 7374001/B RENAULT Clio Il 09/05- Modus
7070061 CITROEN e 7374005/B DACIA Logan II Sandero II
PEUGEOT BoxerI -01/02 Boxer II 01/02-07/06 7374030/B RENAULT Megane II /Classic/ Break/ Cab. CC
7070062 CITROEN Cc4 Megane IT Coupé Scenic IT 05/03-03/09
7070063 CITROEN C5
PEUGEOT 607
7074013 DACIA Logan I Sandero I
7074015 RENAULT Laguna II Laguna II Estate
. L pe . . . .
| Nouvelles applications véhicules disponibles sur le site
New vehicles applications only available on website
OE 4066A3 / 4553552010
9006720 CITROEN %k C1
1.0i 12v. 1.2i 12v.
PEUGEOT * 107
1.0i 12v.
% 108
1.0i 12v. 1.2i 12v.
TOYOTA K Aygo
1.0i 12v. 1.0i VVTi 1.4 D4-D

%k Nouvelles applications succinctes / New short applications




Références remplacées / Superseeded references

i
0004094B 7006081
0004534B 0004534
0004W64B 0004W64
0004W84B 0004W84
0024454B 0024454
0184A54 2006171
2006008B 2006008
4006125 4006021
7006101 7006035
7070018 7070022
7076014 7076012
7076042 7076023
7176013 7176030
9006002B 9006002
9006041B 9006041

Références en épuisement
Exhausted references

0054484

0054524
00545248

0054844
20060048
2006010
20060128
7006000
7006002
7006011
7006032
7006063
7006067
7006068
7006072
7006074
7006083
7006108
7006112
7006135
7006137
7006148
9006041
90060708

_Références supprimées
Deleted references

0004214
0004244B
00045448
0024174
0024374
00243748
0024434
0024434B
0024464
0024464B
0024474
00244748
0024484
0024484B
00245748
0024644B
0024704BZ
0024724
00247248
0024764B
0024824BY
0024824BZ
0024844

00248448

00248648
0025293
0054194B
0054294
0054294B
0054484B
00548448
0664094
0664144
2006005B
20060108
2006012
4006000
40060008
40060018
40060038
40060048
4006007
40060078
4006011B
4006018B
4006122
7006001

7006087

7006127
7176054
9006003B
9006012
9006013
9006013B
9006062




Conditions de reprise des vieilles matieres sur les directions assistées rénovées

Conditions for the return of power steering old cores

ATTENTION !
Aucun remboursement de consigne ne pourra étre établi si la direction

retournée est cassée ou endommagée !

BEWARE!

Deposit reimbursement is possible only if returned old cores are not damaged !

Points a controler :
points to check :

Tu d ; Carter non cassé
yau non endommagé : uncraked housing

non sectionné, non applati, non incomplet
Undamaged pipe : uncut, non flattened, incomplete

Filetage non endommagé
undamaged threading

Pignon non abimé e

undamaged pinion

. Filetage non endommagé
undamaged threading

Boitier d’assistance non abimé
undamaged power steering valve

Barreau denté non tordu
untwisted notched bar



Soufflets universels / Universal steering boots

Direction mécanique
Steering gear

Direction assistée
Power steering

@ 2956001

a10 — =7

@225 —=
P

@295 —»
@40 -

@53 -
@48

@42
936
929

@& 2956002

@10 ——
022.5—

329.5—»
040

225

) 'mm? e ‘ot I h 'mm I I
‘ N T T I T I T T T ] ] ] T

056 —=_
048 —|
042 —]

036 —]




o

ALFA ROMEO
33
7006010 Direction assistée / Power steering
zr |
M14x150
M12x150
145
7006055 Direction assistée / Power steering
1110
[ trw
o M14x150
M12x150
9006703 Protecteur de direction / Steering protector
7076007 Pompe dir. assistée / Power steering pump
1=
§ g 1_1 ™ |in
i
is rYs
146
7006055 Direction assistée / Power steering
1110
[ Trw |
s M14x150
M12x150
9006703 Protecteur de direction / Steering protector
147...
7006009 Direction assistée / Power steering
1290
=l
(P

M14x150

M14x150

—>

M12x150

OE 60538590

TT /all models 01/83-12/94

OE 60591936

1.4i 16v.  01/97-
1.61 01/97-
1.9TD 01/94-12/96
2.0i/16v.  01/94-12/96

OE Part/oe 9941582

1.41 16v.  04/99-10/01

1.61 16v.  04/99-10/01 AR32102
AR67601
OE 46410955
1.9TD 08/94-04/99
OE 60591936
1.4i 16v.  01/97-
1.6 01/97-
1.9TD 01/94-12/96
2.0i/16v.  01/94-12/96
OE Part/oe 9941582
1.4i 16v.  03/97-04/99
1.61 16v.  03/97-04/99 AR67601
1.9TD 04/95-04/99 AR33601

OE 46755528

1.61 16v. 105hp 77kw  120hp 88kw

09/00-09/04
1.9 JTD 100hp 74kw
03/03-09/04
1.9 JTD 115hp 85kw
04/01-09/04
1.9 JTD 125hp 93kw
07/03-09/04
1.9 JTD 136hp 100kw
07/04-09/04
1.9 JTD 140hp 103kw
11/02-09/04
2.0i 16v. 150hp 110kw
09/00-09/04

AR37203/32104
182B9000
937A2000
937A4000
192B1000
192A5000
AR32310

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

OdINOY VATV



ALFA ROMEO

o

..147

2756031 ~EW Protecteur de direction / Steering protector

7076005 Pompe dir. assistée / Power steering pump
5
18 Y]
155
7006055 Direction assistée / Power steering
1110
|EﬂTRw |
b2 i M14x150
M12x150
9006703 Protecteur de direction / Steering protector
156
7176053 Direction assistée / Power steering
1300
|ﬁTRW |
M12x150
2756031 Protecteur de direction / Steering protector
7076005 Pompe dir. assistée / Power steering pump

38
56

OE 9947921

1.6i 16v.
1.9JTD l16v.
1.9 JTDM 8v.
2.0i 16v.

3.21 GTA

01/01-  -ch 3432087
11/02-  -ch 3383829
07/05-
01/01-  -ch 3432087
11/02-

OE 46534757

1.9 JTD 100hp 74kw 03/03-12/05

BVM 182B9000

1.9JTD 115hp 85kw 01/04-12/05

BVM 937A2000

OE 60591936
1.71 03/92-12/96
1.81 02/92-
1.9TD 03/92-12/96
2.01 02/92-
OE Part/oe 9941582
1.71 01/94-05/96 K
1.8 01/92-05/98 K
1.9TD 01/92-12/96
2.0 01/92-12/96 K
2.5V6 01/92-12/96 K
2.5TD 01/92-12/96
OE 60693858
1.6i 16v. /ISW 10/97-
1.8i 16v. /SW 10/97-
1.9 JTD /SW 10/97-
2.0 JTS /SW 01/02-
2.0i 16v. TS /SW 10/97-
2.4 JTD /SW 10/97-
2.51 /ISW 10/97-
OE 9947921
1.61 16v. /SW 10/97-
1.8i 16v. /ISW 10/97-
1.9JTD /SW 10/97-
2.0i 16v. TS/SW  10/97-
2.0 JTS /SW 01/02-
2.4 JTD /SW 10/97-
2.51 /ISW 10/97-
3.2 GTA /SW 01/02-
OE 46534757
1.6i 16v. 10/97-12/01
BVM AR67601/32102
1.81 10/97-09/00 BVM
BVM AR32201/205
1.9JTD 10/97-07/03
BVM AR32302/37101
1.9JTD 10/97-12/05

2.0i 16v. 155hp 114kw
24JTD

BVM  937A2000
10/97-09/00

BVMS5/6 AR32301
10/97-09/00 BVM
BVM AR32501 839A6000

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.



o

164
7006054 Direction assistée / Power steering OE 60594888
1131 TT /all models 03/88-
|EﬂTRw |
i M14x150
M12x150
7006057 Direction assistée / Power steering OE 60591513
2.0 03/88-
1130
| [ Trw ‘
M12x150 mm e M14x150
M12x150
166
7176047 NEW  Direction assistée / Power steering OE 60670958
1315 2.0i /V6Turbo
2.4 JTD
| 2
M?ﬁ) M12x150 3.0}
— 3.21
M14x150
2756031 ~EW  Protecteur de direction / Steering protecior OE 9947921
2.0i /V6Turbo
2.4 JTD
3.0
3.2i
Arna
7006010 Direction assistée / Power steering OE 60538590
TT /all models 01/83-12/94
5 zr |
M14x150
M12x150
GT
2756031 Protecteur de direction / Steering protector OE 9947921
-ch 0032027
1.9JTD
2.0i
3.2 GTA
GTV
7076005 Pompe dir. assistée / Power steering pump OE 46534757
1.8i 16v. 144hp 106kw 01/98-
2.0 155hp 114kw 01/98-

229

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

OdINOY VATV



ALFA ROMEO

AUDI

<

2750004

0.91 Turbo Twinair

1.3 JTDM
1.3JTDM FAP
1.4i

1.4i

1.4i Turbo

1.41 Turbo QV

1.4i Turbo Multiair
1.41 Turbo Multiair

1.6 JTD FAP

7006135

Fzr

7006002

Fzr

9006064

3
4

—

6
6 D/TD
8/

9/

9 SDi

1.9TD
1.9 TDi

7076011

1.
1.
1.
1.
1.
1.
1.

1.61 100hp 74kw

1.9 TD 75hp 55kw

1.9 TDi 90hp 66kw

2.0 /i E 115hp 85kw

2.0 E 90hp 66kw

2.0 E 16v. 140hp 103kw
2.3 E 4WD 135hp 98kw

02/12-
10/08-
01/10-
09/08-
09/09-
10/08-
01/10-
09/09-
01/10-
09/08-

Mito

AUDI
80

Direction assistée / Power steering

01/82-06/95
01/82-06/95
01/82-06/95
01/82-06/95
01/82-06/95
01/82-06/95
01/82-06/95
01/82-06/95
02/92-06/95

o
o
Q

o
<
Q

07/93-06/95
11/91-06/95
02/92-06/95
11/91-06/95
11/91-02/94
07/93-06/95
11/91-06/95

=:
[

17

1

Protecteur de direction / Steering protector

OE Part/oe 77363828

199B6000 312A2000
199A3000

199B1000

199A6000 955A1000
955A6000

198A1000/4000 199A8000
940A2000 955A8000
955A2000

955A7000

OE 811422065A

TT /all models 4cyl. sauf quattro

«—

M14x150

—

M14x150

01/80-12/90 Ch- 81B095001

OE 8A1422065F

TT /all models 5 cyl. sauf Quattro

—

M14x150

—

M14x150

37

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

43

01/80-12/90 BVM -ch 8AM167124

OE 811419831B

2.0/4/E/16v. 01/82-06/95
2041 E 01/82-06/95
2.0E 01/82-06/95
20S 01/82-06/95 ABT
2.01 01/82-06/95
2.2 01/82-06/95 WE
2318 01/82-06/95
26EV 01/82-06/95
2.81 V6 01/82-06/95
OE 050145155AX
L0
LN
BVM ADA
BVM AAZ
BVM 1Z AHU
BVM AAD ABK
BVM ABT
BVM ACE
BVM NG

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

4




<

o

90
7006135 Direction assistée / Power steering OE 811422065A
TT /all models 4 cyl. sauf quattro
= zrF 01/84-12/90 Ch- 81B095001
M14x150
M14x150
7006002 Direction assistée / Power steering OE 8A1422065F
TT /all models 5 cyl. sauf Quattro
| v 01/84-12/90 BVM
M14x150
M14x150
100
7006000 Direction assistée / Power steering OE 443422065LX
Distributeur fonte
TT /all models /4WD 08/84-11/90
5 zr
M14x150
M14x150
9006700 Protecteur de direction / Steering protector OE 431419831
2.0 01/91-
2.3 01/91-
AL 2
2.5 TDi 01/91-
2.8 01/91-
200
7006000 Direction assistée / Power steering OE 443422065L
Distributeur fonte
TT /all models /4WD 01/84-12/91
915
=178
M14x150
M14x150
A2...
7006155 Direction assistée / Power steering OE 87.1423052X
Avec servotronic
-ch 8Z-1-020235
1179 é 1.4i 16v. AUA BBY
[= Trw 1.4 TDi AMF/TL BHC
- 1.6 FSi BAD
MO‘“":'Mx150 M14x150
M16x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

1Anv



AUDI

<

A2
7006003 Direction assistée / Power steering OE 871423052)
1210
5 zr
e M14x150
M16x150
1.4i 16v. Ch 8Z-1-020236 - 8Z-3-050000 AUA BBY
1.4 TDi Ch 8Z-1-020236 - 8Z-3-050000 AMF/TL BHC
1.6 FSi Ch 82-1-020236 - 8Z-3-050000 BAD
2756027 ~EW  Protecteur de direction / Steering protector OE 6E0419831
TT /all models DNA
TT /all models DA -ch 823027000
A3.'.
7006140 Direction assistée / Power steering OE 1J1422075KX
1263
== S
e M14x150
M16x150
1.61 -05/03 AEH AKL APF AGN AVU
1.81 20v. Turbo -05/03 -ch 8LX100000 AGU ARZ
1.81 20v. Turbo -05/03 Ch- 8LX100001 AGU
1.81 20v. Turbo -05/03 BV5 APP
1.8i 20v. Turbo 03/97-10/00 AQA
1.8i 20v. Turbo 10/00-06/03 AUQ
1.81 20v. Turbo 01/02-06/03 BVA AUM
1.81 20v. Turbo /4WD -10/00 Ch- 8LX100001 AJQ
1.81 20v. Turbo 4WD 10/00-06/03 ARY
1.8 FSi -05/03 APG
1.8 FSi 09/96-06/03 AGN
1.9 TDi 90hp 66kw -05/03 AGR
1.9 TDi 90hp 66kw -09/01 ALH
1.9 TDi 100hp 74kw 09/01-06/03 ATD AXR
1.9 TDi 110hp 81kw -09/01 AHF
1.9 TDi 110hp 81kw -05/03 ASV
1.9 TDi 130hp 96kw -05/03 ASZ
1.9 TDi 130hp 96kw 4WD 10/00-06/03 BVM ASZ

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




< 06

«.A3

7176043 Direction assistée / Power steering OE 1K1423055CX

1270

=zr
M16x150 %
Ch- 8P-5A072501 Ch- 8P-5B001001
1.6i 06/03-06/08  BVM BVA BGU BSE
1.61 Sportback 09/04-06/08  BVA BGU BSE
1.6 FSi 09/03-12/07 BVM BAG BLF BLP
1.6 FSi Sportback 09/04-12/07 BVM BAG BLF
1.6 FSi Sportback 09/04-12/07 BVM BLP
1.9 TDi 06/03-06/08 BVM BKC BXE
1.9 TDi Sportback 09/04-06/08  BVM BKC BXE
2.0 FSi 06/03-06/06  BVM BVA AXW BLR/X BVY
2.0 FSi Sportback 09/04-06/06 BVM BVA AXW BLR/X BVY
2.0 TESi Sportback 09/04-06/08  BVA AXX BWA
2.0 TFSi 4WD Sportback 09/04-06/08 BVM AXX BWA
2.0 TDi 06/03-06/08 BVM BVA BKD
2.0 TDi Sportback 09/04-06/08  BVM BVA BKD
3.21 V6 24v. 4WD 01/04-06/08  BVM BVA BDB
3.21 V6 24v. 4WD 09/04-06/08 BV Rob. BMJ
3.21 V6 24v. 4WD Sportback 09/04-06/08 BDB BMJ BUB
9006065 Protecteur de direction / Steering protector OE 1J0422831B
1.6i 09/96-10/00 AEH AKL APF AVU
1.8i 20v. Turbo /4WD 09/96- AGU/JQ/PP/QA/RY/RZ/UM/UQ
1.8 20v. FSi 09/96- AGN APG
1.9 TDi 09/96-10/00 ATD/GR/LH/HF/SV/SZ/XR
1.9 TDi 10/00-09/01 AHF ALH
1.9 TDi 10/00-06/03 ASZ
1.9 TDi 09/01-06/03 ATD AXR
7076023 Pompe dir. assistée / Power steering pump OE 1J0422154HX
g
| 7 =L /O
O. - (<
ga 1T e g 7
1S
18 36

1.6i 100hp 74kw 02/99-10/00 BVM BVA AEH AKL APF
1.61 100hp 75kw 10/00-06/03 BVM BVA AVU
1.8i1 20v. Turbo 150hp 110kw  03/97-10/00 BVM BVA  AGU AQA ARZ AUM
1.81 20v. Turbo 150hp 110kw 10/00-06/03 BVM BVA AGU
1.8i 20v. Turbo 150hp 110kw 01/02-06/03 BVAS AUM
1.8i 20v. Turbo 180hp 132kw 05/99-10/00 BVM AJO APP
1.81 20v. Turbo 180hp 132kw 10/00-06/03 BVM BVA5S AUQ
1.81 20v. Turbo 4WD 180hp 132kw  05/99-10/00 BVM AJO
1.8i 20v. Turbo 4WD 180hp 132kw  10/00-06/03 BVM6 ARY
1.8 FSi 20v. 125hp 92kw 09/96-10/00 BVM BVA AGN APG
1.8 FSi 20v. 125hp 92kw 10/00-06/03 BVM BVA AGN
1.9 TDi 90hp 66kw 09/96-10/00 BVM BVA AGR AHU ALH
1.9 TDi 90hp 66kw 10/00-09/01 BVM ALH
1.9 TDi 100hp 74kw 09/01-06/03 BVM BVAS ATD AXR
1.9 TDi 110hp 81kw 04/97-10/00 BVM BVA4 AHF ASV
1.9 TDi 110hp 81kw 10/00-09/01 BVM AHF
1.9 TDi /4WD 130hp 96kw 10/00-06/03 BVM6 BVAS ASZ

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

1Anv



AUDI

A4T1 94-2000...

7006141 Direction assistée / Power steering OE 3B1422052MX
—_ 1.6 -02/99
|[ﬁ ZF 1.81/20v. 2WD BVM BVA -02/99
P 1.8i /20v. 4WD -02/99
e YW 181 20v. Turbo 2WD 4WD  -02/99
x50 — 1.9 TDi 90hp 66kw -02/99
1.9 TDi /4WD 110hp 81kw  -02/99 BVM
LBl 1.9 TDi 110hp 81kw -02/99 BVA
7176037 Direction assistée / Power steering OE 8D1422052CX
1028
& 2
b M14x150
M16x150
2.41 V6 2WD 165hp 121kw Berline 09/97-02/99 BVM AGA
2.41 V6 4WD 165hp 121kw Berline 09/97-02/99 BVM Ch- 8D-W-020001 AGA
2.5 TDi /4WD /Avant 09/97-02/99 BVM BVA AFB AKN
2.81 V6 30v. 2WD 195hp 142kw Berline 04/96-02/99 BVM ACK
2.81 V6 30v. 4WD 195hp 142kw Berline 04/96-02/99 BVMBVA Ch- 8D-W-020001 ACK
2.81 V6 175hp 128kw Berline 02/95-02/99 BVM AAH
9006067 Protecteur de direction G/ Left steering protector OE 4D0419831D
1.6 02/95-
1.8i /20v. 02/95-
w 1:8i 20v. 4WD 02/95-
1.8i 20v. Turbo /4WD 02/95-
1.9 Di 02/95-
1.9 TDi 02/95-
9006068 Protecteur de direction D / Right steering protector OE 8D0419831J
1.6 02/95-
1.8i /20v. 4WD 02/95-
1.81 20v. Turbo /4AWD 02/95-
1.9 Di 02/95-
1.9 TDi 02/95-
9006067 Protecteur de direction / Steering protector OE 4D0419831D
2.4 02/95-
2.4 Break 02/95-
m 2.8 02/95-
2.8 4AWD 02/95-
2.8 Break 02/95-
7076064 NEW Pompe dir. assistée / Power steering pump OE 8D0145156AX

@30
18
]
T
1
]
T
43

18 T a3

1.8 20v. Turbo -ch 8DV198000 AEB

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.




7076058 NEW Pompe dir. assistée / Power steering pump

OE 8D0145156TX

%EE— 1.9 TDi  Ch- 8D-W-163241 -ch 8DZ1-200000
&5 zF AFF/N AHH/U AVG
8 818 <l
(SR Q
1
(] Tg 43
7076025 Pompe dir. assistée / Power steering pump OE 8D0145155QX
1.9 TDi 90hp 66kw  10/96-10/00
5 zF BVM BVA AHH/U
1.9 TDi 110hp 81kw  10/96-02/00
BVM BVA AFN
7076008 OE 357422155G
1.9 TDi 4WD 115hp 85kw 09/96-

e
LT

@30
o1
|
|
@31

31

54

1.9 TDi Avant 4WD 115hp 85kw 09/96-

A4 11 2000-...

7076008 Pompe dir. assistée / Power steering pump OE 357422155G
N e o
SAGINAW /e e ) S
s & 7 <«
Q) T
5
T8 36
1.61 100hp 75kw 07/00-12/04
1.61 Avant 100hp 75kw 07/00-12/04
1.8i 20v. Turbo 150hp 110kw 11/00-07/02
1.81 20v. Turbo Avant 150hp 110kw 09/01-07/02
1.81 20v. Turbo 4WD 150hp 110kw 11/00-07/02
1.9 TDi 100hp 74kw 05/01-12/04
1.9 TDi 115hp 85kw 03/00-11/00
1.9 TDi 4WD 115hp 85kw 03/00-11/00
1.9 TDi Avant 115hp 85kw /4WD 03/00-09/01
1.9 TDi Avant 130hp 96kw 03/00-09/01
7076058 NEW Pompe dir. assistée / Power steering pump OE 8D0145156TX
g 1.9 TDi /Avant /4WD 01/01-

7076078 NEW Pompe dir. assistée / Power steering pump

@30

~ ©
o )
&I_ Q

8

=

1

1

~

m8

217
T
1
|

43

56

43

Ch- 8EZ1-000001-ch 8E-3-500000 AVB/F AWX

OE 8E0145155N

1.9TDi Ch- 8E04000001 -ch 8EZ5400000
AVB/F AWX BKE

1.9TDi Ch- 8EZ5400001 -ch 8EZ8805000
BKE BRB

2.0TDi Ch- 8EZ5400001 -ch 8EZ8805000
BLB BPW BRD/E

2.0 TDi Cab. 02/06-04/09 BPW BRC

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

1Anv



AUDI

7076048

..A4 11 2000-

Pompe dir. assistée / Power steering pump

OE 8E0145156T

2.5 TDi /4WD 155hp 114kw 165hp 120kw

180hp 132kw 01/01-09/04

AKE/YM BAU/CZ BDG/H BFC
L 2.5 TDi /Avant 165hp 120kw 11/04-06/06
BDG
2.5 TDi Avant /4AWD 165hp 120kw 180hp 132kw
5 09/01-09/04
AKE BAU/CZ BDG/H BFC
A61 94-97
9006700 Protecteur de direction / Steering protector OE 431419831
1.8i 20v. 01/95-
1.9 TDi 01/95-
2.0 01/95-
CREARAR=—= W 2.5 TDi 115hp 85kw 140hp 103kw
01/95- BV6
2.61 01/95-
2.81 01/95-
A611I 97-04/2004
7006004 Direction assistée / Power steering OE 4B1422052X
1070
5 zr
i M14x150
M16x150
1.81 20v. 125hp 92kw Berline 03/98-07/01 AJP ARH AQE
1.81 20v. Avant 125hp 92kw 03/98-07/00 AJP ARH AQE
1.81 20v. Turbo /4WD 150hp 110kw Berline 06/97-07/01 Ch4BW000001-4B2110000 AEB APU
1.81 20v. Turbo /4WD 150hp 110kw Berline 10/98-07/01 ANB ARK
1.81 20v. Turbo /4WD 150hp 110kw Berline 10/98-05/04 AWT
1.81 20v. Turbo Avant /4AWD 150hp 110kw  03/98-07/01 AEB APU ANB ARK
1.81 20v. Turbo Avant /4AWD 150hp 110kw  03/98-04/05 AWT
1.81 20v. Turbo /4WD 180hp 132kw Berline 06/97-07/01 AJL
1.81 20v. Turbo Avant /4AWD 180hp 132kw  03/98-07/01 AJL
1.9 TDi 110hp 81kw Berline 06/97-10/00 Ch4BW000001-4B2110000 AFN AVG
1.9 TDi Avant 110hp 81kw 03/98-10/00 AFN AVG
1.9 TDi /Avant 115hp 85kw 10/00-07/01 AIM
1.9 TDi 130hp 96kw Berline 07/01-05/04 AVF AWX
1.9 TDi Avant 130hp 96kw 07/01-04/05 AVF AWX
2.0i 20v. 130hp 96kw 07/01-05/04 ALT
2.0i 20v. Avant 130hp 96kw 07/01-04/05 ALT
A8
9006067 Protecteur de direction / Steering protector OE 4D0419831D
2.5 TDi /4WD 09/97-11/02 Ch- 4DX004999 AFB AKE AKN

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

10




BMW
Série 1 E81 E87
7176039 Direction assistée / Power steering OE 32106765013
1160
] rw |
MD14x150 M14x150
M16x150

1.6i 116 E87 15/04/05- BVM N45B16A
2.0i 118 120 E87 15/04/05-12/06 BVM BVA N46B20B
2.0D 118 120 07/08- BVM BVA N47D20C
20D 123 02/09- BVM BVA N47D20D
20TD 116 02/09- BVM N47D20A
2.0 TD 118 E87 15/04/05-12/06 BVM M47D(204D4)
2.0 TD 120 E87 15/04/05-12/06 BVM BVA M47D(204D4)
2.0TD 118 120 01/07- BVM BVA N47D20A
2.0TD 123 07/07- BVM BVA N47D20B
2756028 ygw  Protecteur de direction / Stecring protector OE 32102353823

1.61 116 E81 E87
2.0i 118 120 E81 E&7

06/04-11/11

m 06/04-11/11
2.0 D/TD 116 118 120 123 E81 E87
03/07-11/11
2.0 TD 118 120 E87
06/04-01/07
Série 1 E82
7176039 Direction assistée / Power steering OE 32106765013
1160 20D 118 10/09-
|[ﬁTRw | 2.0D 120 07/08-
= 2.0D 123 11/07-
M?;E) M14x150 2.0TD 120 11/07-
M16x150
2756028 ~NEW  Protecteur de direction / Steering protector OE 32102353823

7176039

1160

2.0i 120 09/07-09/13
2.0D/TD 118 120 123  09/07-09/13

Série 1 ESS...

Direction assistée / Power steering

|@TRW |

Lo——
M14x150

OE 32106765013

20D 118 120 123  07/08-
2.0TD 120 03/08-09/08

—

M14x150

—

M16x150

N45
N46
N47
M47

N46
N47

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

11

MING



BMW

<

2756028

7006011

.Série 1 ES8

NEW  Protecteur de direction / Steering protector

Série 3 E21

Direction assistée / Power steering

1040

|,[ﬂz1= |

o
M14x150

7006012

-—

M14x150

—

M16x150

Série 3 E30

Direction assistée / Power steering

Carter aluminium
1020

|l P

Go——
M14x150

7076043

= @

7006013

=

M14x150

—

M16x150

Pompe dir. assistée / Power steering pump

38
56

43

Série 3 E36

Direction assistée / Power steering

Fzr |

Lo——
M14x150

9006709

7076049

g

r

M14x150

—

M16x150

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

@30
1
|
T
1
738
38
56

17 43

OE 32102353823
2.0i 118 120 12/07-09/13  N43/46
2.0 D/TD 118 120 123 12/07-09/13  N47

OE 32131127086

TT /all models 01/81-12/83

OE 32131140833

TT /all models 01/82-12/90

OE 1128040

1.8 316 90hp 66kw

1.81 3181 105hp 77kw
24D 324

2.51 3251 170hp 125/6kw
2.51 325ix 170hp 125/6kw
2.7 325e 120hp 90kw

2.7 325e 130hp 95kw

09/82-12/90
09/82-08/87
09/85-08/91
09/83-06/91
03/86-08/91
10/83-12/88
01/85-08/87

OE 32131140972
1.6i 316 12/90-
1.7 TDS 318 /Touring 12/90-
1.8i 318i 12/90-
2.01 3201 12/90-
2.51 3231 12/90-
2.5 TDs 325 /Touring 12/90-
2.81 3281 12/90-
OE 32211139786
1.6 316
1.7 TDS 318
1.8 318/is /ti
1.9 316/ 318is
2.01 24v. 320

2.51 323 /323Ti /325
2.5 TDS 325TDS

2.8 328

OE 32411092954
1.81318 10/95-
1.61316 10/95-

12

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




Série 3 E46...

=

7176040 Direction assistée / Power steering
980
|E§jzt‘ |
re——
M14x150

1.61 316 Berline/Coupé
1.81 316 Berline/ Touring
1.81 316 Compact
1.91 318 Berline

1.91 318 Coupé

2.0i 318 Berline

2.0i 318 Compact
2.0i 318 Coupé

2.01 318 Touring

2.01 318 Compact
2.0i 318 Touring

2.0i 16v. 318 320 Cab.
2.0i 16v. 320 Compact
2.0i 16v. 320 Coupé
2.0i 16v. 320 Touring
2.0 D 318 Berline
2.0 D 320 Touring
2.0 D 320 Touring
2.0 TD 318 Compact
2.0 TD 318 Touring
2.0 TD 318 Touring
2.0 TD 318 Touring
2.0 TD 320 Berline
2.0 TD 320 Berline
2.0 TD 320 Berline
2.0 TD 320 Berline
2.0 TD 320 Compact
2.0 TD 320 Touring
2.0 TD 320 Touring
2.0 TD 320 Cab.

2.2i 320 Berline

2.21 320 Coupé

2.2i 320 Cab.

2.21 320 Touring

2.51 323 Coupé

2.51 325 Coupé

2.51 325 Touring

2.51 325 Berline

2.51 325 Cab.

2.51 325 Compact
2.51 325 Coupé

2.51 325 Coupé

3.01 330 /Cab.

3.0i 330 Berline

3.01 330 Coupé

3.01 330 Touring
3.0D 330 Cab.

3.0 D 330 Berline
3.0 D 330 Berline
3.0 D 330 Berline
3.0 D 330 Berline
3.0 D 330 Touring
3.0 D 330 Touring

11/02-12/06
01/02-03/04
06/01-02/05
09/01-

09/01-

09/01-03/04
03/01-03/03
09/01-03/03
09/01-03/04
03/04-12/04
01/04-09/05
09/01-12/06
03/04-12/04
03/04-03/05
01/04-09/05
11/01-03/03
07/99-09/01
04/00-09/01
03/03-12/04
01/02-03/03
01/02-09/05
03/03-09/05
09/01-03/03
09/01-03/05
03/03-12/06
03/03-03/05
03/01-12/04
09/01-09/05
09/01-09/05
12/04-12/06
09/01-03/05
09/01-12/06
09/01-03/03
07/00-09/05
09/01-03/03
09/01-03/03
09/01-09/05
09/01-03/05
09/01-03/03
06/01-12/04
03/03-12/06
09/01-12/06
09/01-03/03
09/01-03/05
09/01-12/06
09/01-09/05
03/05-12/06
07/99-09/01
09/01-03/03
03/03-12/06
03/03-03/05
09/01-03/03
03/03-09/05

M14x150

—

M16x150

BVM

BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA

BVM BVA
BVM
BVA
BVM
BVM BVA
BVM
BVA
BVM
BVA
BVM
BVA
BVM BVA
BVM
BVA
BVM
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM
BVM BVA
BVM BVA
BVM BVA
BVM BVA
BVM
BVA
BVM BVA
BVA
BVM BVA
BVM BVA
BVM
BVM BVA
BVM BVA
BVM
BVA
BVM BVA
BVM BVA

OE 32136757651

N40B16A N45B16A
N42B18A
N42B18A N46B18A
M43(194E1)
M43(194E1)
N42B20A N46B20A
N42B20A
N42B20A
N42B20A
N46B20A
N46B20A
N46B20A
N46B20A
N46B20A
N46B20A
M47(204D1)
M47(204D1)
M47(204D1)
M47DTUD20 (204D4)
M47(204D1)
M47D(204D4)
M47D(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTU(204D4)
M47DTUD20
M54(226S1)
M54(226S1)
M54(226S1)
M54(226S1)
M52(256S4)
M54(256S5)
M54(256S5)
M54B(256S5)
M54B(256S5)
M54B(256S5)
MS54B(256S5)
MS54B(256S5)
M54(306S3)
M54(306S3)
M54(306S3)
M54(306S3)
M57(306D1)
M57(306D1)
M57(306D1)
M57(306D2)
M57(306D2)
M57(306D1)
M57(306D2)

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

13

MING



BMW

<

9006705

1.6i

1.81 316

1.81318

1.91 316

1.91 318

2.0i 318

2.0i 318Ci Coupé
2.0i 320

2.01 320

2.0D 318

2.0 D 320 Touring
2.0 TD 318D

2.0 TD 318D Touring
2.0 TD 318TD Compact
2.0 TD 320CD Coupé

2.0 TD 320D -09/98
2.0 TD 320D 09/98-
2.0 TD 320D Touring

2.0 TD 320TD Compact

2.21 320 /Touring /Cab.
2.2i 320Ci Coupé

2.51323

2.51325

2.51 325 Compact

2.51 325Ci Coupé

2.81 328

3.0i 330

3.0i 330Ci Coupé

3.0 D 330CD /Cab. /Coupé
3.0 D 330D sauf 330 XD
3.0 D 330D Touring sauf 330 XD

<.Série 3 E46

Protecteur de direction / Steering protector

03/03-03/05

BVM
BVM

BVM
BVM

BVM

BVS

BVM
BVM

M47
M47
M47

M54
M54

M57
M57

OE 32131096910

N46

3.2i M3 /Cab. /Coupé

7076065 NEW Pompe dir. assistée / Power steering pump
= zF B ©
=T ~
8
17 13
7076050 Pompe dir. assistée / Power steering pump
=5 zF EEE
gl
I
17
Série 3 E90...
7176039 Direction assistée / Power steering
SET 1160
e——
M14x150

M14x150

‘—

M16x150

—

OE 32416756611

1.61 16v. 316
1.81316
2.0i318

N45B16A
N42/46B18A
N42/46B20A

OE 32416756575

2.0D 318
2.0 TD 320
2.0 TD 320 Compact

11/01-03/03
09/01-03/05
03/01-03/03

OE 32106765013

2.01318  07/05-09/07
BVM BVA
12/05-09/06
BVM

03/05-09/07

BVM BVA

N46B20B
2.01 320
N45B20A
2.01 320
N46B20B

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

14




o

..Série 3 E90
2756028 NEW Protecteur de direction / Steering protector OE 32102353823
1.6i 316 12/04-01/12 N45
m 2.0 318 320 12/04-01/12 N46
2.0D 316 09/08-01/12 N47
2.0D 318 320 12/04-01/12 N47
Série 3 E91
7176039 Direction assistée / Power steering OE 32106765013
1160 2.0i 318 Touring 03/06-09/07
EEIE BVMBVA N46B20B
- 2.01 320 Touring 09/05-09/07
o MI4x150 BVM BVA N46B20B
M16x150
2756028 \gw  Protecteur de direction / Stecring protector OE 32102353823
2.01 318 320 03/05-01/12 N46
(= rw | m 2.0D 316 09/08-04/12 N47
2.0D 318 320 03/05-04/12 N47
Série 3 E92
7176039 Direction assistée / Power steering OE 32106765013
1160 2.0D 03/07-
|EﬂTRw |
M14x150 M14x150
M16x150
W rotecteur ae airecton teering protector
2756028 (g Protecteur de direction / Steeri OE 32102353823
2.0i320  06/06-05/13 N46
m 20D 320  06/06-05/13 N47
Série 3 E93
7176039 Direction assistée / Power steering OE 32106765013
1160 20D 03/07-
|£ﬁTRw |
M14x150 M14x150
M16x150
2756028 NEW Protecteur de direction / Steering protector OE 32102353823
2.0i320  12/06-09/13 N46
m 2.0D 320 12/06-09/13 N47
Série 5 E34
9006709 Protecteur de direction G/D / L/R steering protector OE 32211139786
2.51 525 07/90-01/96
w 2.5i 525 Touring 02/92-06/94
2.51 525 4WD Touring 06/94-03/97

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

15

MING



BMW

<

7006015

Direction assistée / Power steering

Avec servotronic

967

|[-EZE

Go——
M16x100

7176034

962

Fzr

o
M16x100

2.0i 520 /Touring
2.0 D 520

2.0 D 520 Touring
2.2i 520

2.2i 520 Touring
2.51 523 /Touring
2.51 525

2.51 525 Touring
2.5D 525

2.5 D 525 Touring
2.5 TD 525TD
2.5 TDS 525 /Touring
2.81 528 /Touring
3.01 530

3.0i 530 Touring
3.0 D 530

3.0 D 530 Touring

9006707

2.0 5201 /Touring
2.0 D 520D /Touring
2.2 5201 /Touring
2.5 5231

2.5 5251

2.5 5251 Touring

2.5 D 525 /Touring
2.5 TD 525TD

2.5 TDS 525TDS
2.8 528i

3.0 5301 /Touring
3.0 D 530D /Touring

7076051

07/96-07/00
04/00-07/03
04/00-09/03
07/00-07/03
07/00-03/04
12/95-07/00
07/00-07/03
07/00-03/04
04/00-07/03
04/00-03/04
09/97-04/00
02/96-04/00
12/95-07/00
07/00-07/03
07/00-03/04
10/98-07/03
10/98-03/04

Protecteur de direction / Steering protector

07/00-
-08/00
07/00-
07/00-

-08/00
-08/00
-08/00

Pompe dir. assistée / Power steering pump

43

38
56

OE 32131096145
2.01 520 -08/00 BVM BVA
é 2.51 523 /Touring  -08/00 BVM BVA
—  2.5TD 525TD -08/00
2.5 TDS 525 -08/00 BVM BVA
U 281528 -08/00 BVM BVA
= 3.0 D 530 10/98-01/06/99 BVM BVA
M16x150 M57(306D1)
OE 32136751745
M14x150
M16x150
BVM BVA M52(206S3) (206S4)
BVM M47(204D1)
BVM M47(204D1)
BVM BVA M54(226S1)
BVM BVA M54(226S1)
BVM BVA M52(256S3) (256S4)
BVM BVA M54(256S5)
BVM BVA M54(256S5)
BVM BVA M57(256D1)
BVM BVA M57(256D1)
BVM M51(256T1)
BVM BVA M51(256T1)
BVM BVA M52(286S1) (286S2)
BVM BVA M54(306S3)
BVM BVA M54(306S3)
BVM BVA M57(306D1)
BVM BVA M57(306D1)
OE 32131092876
BVM
BVM
BVM
OE 32411094098
2.01 520 09/98-
2.21 520 07/00-
2.51523 09/98-
2.51 525 09/00-
2.81528 09/98-
3.0i 530 09/00-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

16




o

7076067 NEW

=il @z

2756025 \EW
= zr
2756025 wEW

[z

2756025 W

[z

2756025 W

..Série 5 E39

Pompe dir. assistée / Power steering pump

@17
T
1
I
T
43

1.7 43

Série 5 E60

Protecteur de direction / Steering protector

Série 5 E61

Protecteur de direction / Steering protector

Série 7 E65

Protecteur de direction / Steering protector

Série 7 E66

Protecteur de direction / Steering protector

T

Sk -
X1
7176039 Direction assistée / Power steering
1160
[ TrRw
A ——s

M14x150

2756028 NgwW

2756025 W

Ezr

M14x150

-

M16x150

Protecteur de direction / Steering protector

X3

Protecteur de direction / Steering protector

OE 32411093124
2.5TD 525 -07/00 M51D25
2.5 TDS 325 -07/00 M51D25/TU
OE Part/oe 32136751026
2.51 525 4WD 03/03-03/06
3.01 530 4WD 03/03-03/06
3.0 D 5304WD 03/03-03/06
OE Part/oe 32136751026
2.51 525 4WD 03/04-03/06
3.01 530 4WD 03/04-03/06
3.0 D 530 4WD 03/04-03/06
OE Part/oe 32136751026
TT /all models 07/01-06/08
OE Part/oe 32136751026
TT /all models 01/02-06/08
OE 32106765013
2.0i 03/10-
2.0D 10/09-
OE 32102353823
2.01 2WD N46
2.0 D FAP 2WD N47
2.0 TD FAP 2WD N47
OE Part/oe 32136751026
TT /all models 09/03-06/06

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

MING



BMW

CITROEN

X5
7006017 Direction assistée / Power steering
1153
=zr
o pe—
M14x150

XS

Protecteur de direction / Steering protector

2756025 W

OE 32136761823
3.0 E53
30D E53 M57
= 44 -10/03 BVA  E53 M62
M14x150
M16x150
OE Part/oe 32136751026

TT /all models

09/99-08/06

E -
73
7006013 Direction assistée / Power steering OE 32131140972
TT /all models 01/97-12/99
= g
o M14x150
M16x150
CITROEN
AX...
2006005 Direction mécanique / Steering gear OE 95659527
Repere bleu course 75Smm
Pour pneus 145/70 R13
TT /all models 09/86-
2006008 Direction mécanique / Sieering gear OE 95659461
Repere jaune course 72mm
i Pour pneus 155/70 165/65 185/60 R13
%? TT /all models 4WD  09/86-
2 14 09/86-  TU3
1.4GTi RI3 09/86-
1.5D 09/86- TUDS
2006004 Direction mécanique / Sieering gear OE 95659460
Repere noir course 80mm
o Pour pneus 135/70 R13
i
‘w@r 1.0 09/86-
1.1 09/86-
1.4 /i /AWD 09/86-
. 1.4D 09/86-
2006004B en boite/ in box
0664324 Protecteur de direction / Steering protector OE 406632
Coté pignon
TT /all models Essence
14D TUD3
1.5D TUD5S

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

18




o

-AX
0664464

Repere noir course 80 Coté opposé au pignon

0664334

Repere bleu  Coté opposé au pignon

0664344

Repere blanc course 72 Coté opposé au pignon

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Berlingo VL...

0004524

Direction mécanique / Steering gear
Repere 60DJCZ
\

0004S24B  en boite/ in bo

7006035 Direction assistée / Power steering
1182
== g
Bl M14x150
M16x150
7006021 Direction assistée / Power steering
1174
[z ] ,\ Ho
M1 6x150
7170021 Direction assistée / Power steering
P 1162 EH 5
o e——
M14x150
7006023 Direction assistée / Power steering
Reperes 60DHJL 60DHXG
1167
=zr Q g
%, L]
M14x150 e
gz ¥

OE 406646

TT /all models

OE 406633

TT /all models Essence sauf 1360 inj.

OE 406634
TT /all models Essence
14D
1.5D

OE 4000S2
1.1 -10/02
1.41 -10/02
1.61 16v. -10/02
1.8 -10/02
1.9D -10/02
2.0HDi -10/02

OE 4000S0
1.1 -03/01/99
1.41 -03/01/99
1.61 16v -03/01/99
1.81 -03/01/99
1.9D -03/01/99

OE 4000AA
1.1 04/01/99-11/00
1.41 04/01/99-11/00
1.61 16v 04/01/99-11/00
1.81 04/01/99-11/00
1.9D 04/01/99-11/00

OE 9801760580
1.41 11/02-05/08
1.61 16v. 11/02-05/08
1.8 12/00-10/02
19D 12/00-10/02
1.9D 11/02-05/08

OE 4000KK
1.6 HDi 11/02-05/08
1.6 HDi 11/02-05/08
2.0 HDi 11/02-05/08

TUD3
TUDS

TUIM+/JP
TU3JP
TUS5JP4
XU7JB

DWS8/B XUD9
DWI10TD

TUIM+
TU3JP
TUSJP4
XU7JB
XUD9

TULJP /M+
TU3JP
TUSJP4
XU7JB
XUD9 DW8

TU3A/IP
TUS5JP4
XU7]JB
DW8/B
DW8&B

DV6ATED4
DV6BTED4
DWI10TD

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

19

NHOYULID



CITROEN

<

o

..Berlingo VL...
7006022 Direction assistée / Power steering OE 4000CV
Repere 60DHAR
1166 @
5 zF o 2.0 HDi -02/10/00 DWI10TD
= o
M14x150 _‘%_—_———*— M14x150
N2 7 M16x150
0664444 Protecteur de direction / Steering protector OE 406644
DNA c6té opposé au pignon
TT /all models 07/96-11/02
0664434 Protecteur de direction / Steering protector OE 406643
Coté pignon
TT /all models DNA  07/96-11/02
1.6 HDi DA 11/02-05/08 DV6ATED4
1.6 HDi DA 11/02-05/08 DV6BTED4
0664434 Protecteur de direction / Steering protector OE 406643
DA Coté pignon
2.0 HDi 07/96-11/02 DWI10TD
2.0 HD1 11/02-05/08 DWI10TD
0664224 Protecteur de direction / Steering protector OE 406622
DA Coté opposé au pignon
TT /all models 07/96-11/02
1.41 11/02-05/08 TU3/A
1.61 16v. 11/02-05/08 TUSIP4
1.6 HDi 11/02-05/08 DV6ATED4/BTED4
19D 11/02-05/08 DWS8B
2.0 HDi 11/02-05/08 DWI10TD
0664154 Protecteur de direction / Steering protector OE 406620

2750012 NEW

7070032

DA c6té pignon

Protecteur de direction / Steering protector

-

Pompe dir. assistée / Power steering pump

@30
@17 | _ M
|
I\i
@D

>
55

TT /all models sauf 2.0 HDi Mot. DW10TD
07/96-11/02

1.41 11/02-05/08 TU3/A
1.61 16v. 11/02-05/08 TUSJIP4
1.9D 11/02-05/08 DWS8B

OE Part/oe 406682
1.61 16v.  05/08- TU5JP4/B
1.6i 16v.  05/08- EP6C /CB / DTR
1.6 HDi  05/08- DV6ATED4 /BTED4/C
1.6 HDi  05/08- DV6DTED /ETED4
1.6 HDi FAP 05/08- DV6TED4/B

OE 4007V7
1.4i -09/03/99 TU3JP

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.

20




7070034 NEW

7070057

7070059

7070058 NEW

7070044

7070022

7070005

7070048 NgW

..Berlingo VL...

Pompe dir. assistée / Power steering pump

9125

6 Gorges
6 Grooves

137

9126

Pompe dir. assistée / Power steering pump

9126

141

6 Gorges
6 Grooves

ad142

o115

Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

114

OE 40072A

1.1i 8v. Sans pavillon multifonction
03/10/00-12/02 TU1JP

1.4 Sans pavillon multifonction
03/10/00-12/02 TU3JP

1.4i Depol. CEE 2000
03/10/00-12/02 TU3JP

OE 4007TQ

1.61 16v.  05/08-12/10/14 TUSJP4/B

OE 4007WL

1.6 HDi  12/02-05/08 DV6A/BTED4

OE 4007VR

1.6 HDi  05/08- DV6A/UTED4
1.6 HDi  05/08- DV6B/UTED4

OE 4007W1

1.81 Clim. -11/02 XU7JB

OE 4007V9

1.81 Sans clim. 07/97-12/00 BVM XU7JB

OE 40075C

1.9 D 68hp 50kw 70hp 50kw

07/96-06/99 BVM XUDOYA

OE 4007AL

1.9 D Avec pavillon multifonction

07/98-11/02 DWS8/B

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

21

NHOYULID



CITROEN

<

...Berlingo VL
7070016 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
o114
7070004 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves

©113.5

7070053 gW

6 Gorges
6 Grooves

9125

7070012 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
@125.5
BX
2006010 Direction mécanique / Steering gear
815
r——
M14x150
7006032 Direction assistée / Power steering
Distributeur fonte
805
Ve e
o s MOx125
(male) -
M14x150 Ve
C-Crosser
2750006 Protecteur de direction / Steering protector

OE 40076C

1.9 D Sans pavillon multifonction
07/98-11/02 DWS&/B
OE 4007WP

19D 11/02-05/08 DWS&B
OE 4007JE

2.0 HDi -12/02 DWI10TD
OE 4007LT

2.0 HDi 11/02-05/08 DWI10TD
OE 95615722

TT /all models 09/82-
OE 95615724

TT /all models 09/82-12/94

Sauf 1.9D mot. XUD9 Pompe 6+2 et 4WD

OE Part/oe 406684
2.2 HDi FAP -26/09/09 DWI12MTED4
2.41 -26/09/09 MMC

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

22




o

C-Elysée
2750005 Protecteur de direction / Steering protector OE Part/oe 406630
1.2i EB2
1.61 EC5
1.6 HDi /FAP DV6
C2
7170024 Direction assistée / Power steering OE 4000TP
Reperes 60DHHE 60DHPH Course mécanisme dir. 128
= zr |
M14x150 i; ooR
1.1 BVM TU1JP(HFX)
1.4i -05/08 BVM BVA TU3A/JP(KFV)
1.4i 05/08- BVM TU3A/JP(KFV)
1.4i 16v. 12/05- BVA ET3J4(KFU)
1.4 HDi -10/08 BVM DV4TD(8HX)
1.4 HDi -05/08 BVA DV4TD(8HX)
1.4 HDi 11/04- BVM DV4TD(8HZ)
1.4 HDi 05/08- BV rob. DV4TD(8HZ)
1.61 16v. BVA TUSJP4(NFU)
1.6 HDi FAP 05/08- BVM DV6TED4(9HZ)
7170029 Direction assistée / Power steering OE 4000WT
Reperes 60DHHG 60DHLB 60DHNE 60DHPK Course mécanisme dir. 144
1.1i 09/03-12/09 TU1A/JP (HFX)
1.4i 09/03-12/09 TU3A/JIP (KFV)
|@ ZF 1.4i 16v.  09/03-12/09 ET3J4
1.4 HDi 09/03-12/09 DV4TD
Gr—— %551; 1.61 16v./VTS
M14x150 09/03-12/09 TUSIP4 /S
1.6 HDi  09/03-12/09 DV6TED4
0664694 Protecteur de direction / Steering protector OE Part/oe 406669
1.1 TU1A/JP
1.4i TU3A/JP
1.4i 16v. ET3J4
1.4 HDi DV4TD
1.61 16v. TUSJP4/S
1.6 HDi FAP DV6TED4
C3...
7170029 Direction assistée / Power steering OE 4000WT
Reperes 60DHHG 60DHLB 60DHNE 60DHPK Course mécanisme dir. 144
Roues 14 pouces
[E2e | 1.1i /GPL 12710 TUIA/IP (HFX)
. 1.41 /GNV /GPL -12/10 TU3A/JP (KFV)
M14x150 /f o 1.4i 16v./ Stop and start
-12/10 ET3J4 (KFU)
1.4 HDi -12/10 DV4TD
1.4 HDi 16v. -12/10 DV4TED4
1.61 16v. -12/10 TUSJP4
1.6 HDi -12/10 DV6A/UTED4
DV6TED4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

23

NHOYULID



CITROEN

..IC3
7170024 Direction assistée / Power steering OE 4000TP
Reperes 60DHHE 60DHPH Course mécanisme dir. 128
[ zr
M14x150 /43 ooR
1.1i Roues 15 16 pouces -06/01/05 TULJP
1.11 07/01/05-10/05 TU1JP
1.1i 27/02/06-10/09 TUIA
1.4i Roues 15 16 pouces  -06/01/05 TU3JP
1.4 07/01/05-10/05 TU3JP
1.41 27/02/06-10/09 TU3JP
1.4i 27/02/06-10/09 TU3A
1.41 16v. Roues 15 16 pouces -06/01/05 ET3J4
1.4i 16v. 07/01/05-10/05 ET3J4
1.4i 16v. 27/02/06-10/09 ET3J4
1.4 HDi Roues 15 16 pouces  -06/01/05 DV4TD
1.4 HD1 07/01/05-10/05 DV4TD
1.4 HDi 27/02/06-10/09 DV4TD
1.4 HDi Roues 15 16 pouces  -06/01/05 DV4TED4
1.4 HDi 07/01/05-10/05 DV4TED4
1.61 16v. Roues 15 16 pouces -06/01/05 TUSJP4
1.61 16v. 07/01/05-10/05 TUSJP4
1.61 16v. 27/02/06-10/09 BVM TUSJP4
1.6 HDi Roues 15 16 pouces  -06/01/05 DV6ATED4
1.6 HDi 07/01/05-10/05 DV6ATED4
0664694 Protecteur de direction / Steering protector OE Part/oe 406669
1.1i -10/05 TU1JP
1.4i 10/05-10/09 TU3A
1.41 -10/09 TU3JP
1.4i 16v. -10/09 ET3J4
1.4 HDi -10/09 DV4TD
1.4 HDi -10/05 DV4TED4
1.6i 16v -10/05 TUSIP4
1.6i 16v. 10/05-10/09 BVM TUS5JP4
1.6 HDi -10/05 DV6ATED4
C3 Picasso
2750005 Protecteur de direction / Steering protector OE Part/oe 406680
1.4i 16v. EP3C
1.4 VTi 16v. EP3/C
1.6i 16v. EP6/C
1.6 HDi DV6ATED4 DV6C DV6DTED
1.6 HDi FAP DV6TED4
C3 Pluriel...
7170024 Direction assistée / Power steering OE 4000TP
Reperes 60DHHE 60DHPH Course mécanisme dir. 128
1.4i 04/03-09/08
i BVM TU3A/JP(KFV)
I—l 1.4 HDi 04/04-10/05
BVM DV4TD(8HX)
M14x150 F52 | 14HDi  10/05-09/08
BVM DV4TD(8HZ)
1.6i 16v. 04/03-09/08
BVA TUSJP4(NFU)

24

Les dessins, photos, références constructeurs (origine) ne servent qu' a

identifier les piéces et sont donnés a titre indicatif.




o

0664694

...C3 Pluriel

Protecteur de direction / Steering protector

C4

7170041 ~NEW  Direction assistée / Power steering
Reperes 60LYMU 60LYER 60DHMA

5] aTERT

7170039 ~NEW  Direction assistée / Power steering
Reperes 60DHMB 60LYEU 60LYMP

[ oTEKT

0664574

1.4i 16v.
1.6i 16v.

1.61 16v. Turbo Susp. normale

1.6 HDi

1.6 HDi 90hp 66kw Susp. normale

2.01 16v.

2.0 HDi Sans FAP

2.0 HDi

2750012 w~EW

1.4 VTi

1.61 16v. /Turbo
1.6 HDi FAP
2.0 HDi

7070062

1.41 16v.

1.4i 16v.

1.4i 16v.

1.4i 16v.

1.61 16v.

1.61 16v.

1.6i 16v.

1.61 16v.

1.61 16v. 4ptes
1.61 16v. /Turbo
1.61 16v. /Turbo
1.61 16v. Turbo
1.61 16v. Turbo
1.6 HDi

1.6 HDi

Protecteur de direction / Steering protector

-10/10
-10/10
-10/10
-10/10
-10/10
-10/10
-10/10
-10/10

L

10/10-
10/10-
10/10-
10/10-

Pompe dir. assistée / Power steering pump

DA électro hydraulique
DA électro hydraulique Sans ESP
DA électro hydraulique Avec ESP

DA électro hydraulique

DA électro hydraulique Sans ESP
DA électro hydraulique Avec ESP
DA électro hydraulique Sans ESP
DA électro hydraulique Sans ESP
DA électro hydraulique Avec ESP

DA électro hydraulique

Protecteur de direction / Steering protector

OE Part/oe 406669
1.41 TU3A/JIP
1.4 HDi DV4TD
1.61 16v. TUSJP4
OE 4000ZX
1.4i -10/10 ET3J4
1.61 16v.  -10/10 EP6 TUSIP4
1.61 16v. Turbo
07/08-10/10 EP6DT
1.6 HDi  -10/10 DV6ATED4 /TED4/B
2.0i 16v.  -10/10 EWI10A/J4 /S
2.0HDi 08/01/07-10/10 DWI10ATED
OE 4000ZW
20HDi -10/10 DWI10BTED4
OE Part/oe 406673
ET3J4
EP6 TUSJP4
EP6DT
DV6ATED4 DV6TED4
DV6TED4B
EWI10A EW10J4/S
DWI10ATED
DWI10BTED4
OE Part/oe 406682
EP3C
EP6C/EP6CDT
DV6C /DTED
DWI10CTED4
OE 4007XV
-04/12/05 ET3J4
02/10/06-02/01/07 ET3J4
03/01/07-14/09/09 ET3J4
03/01/07-10/10 ET3J4
-04/12/05 TUSIP4
02/10/06-02/01/07 TUSIP4
03/01/07-14/09/09  TUSJIP4
03/01/07-10/10 TUSIP4
15/09/09-21/12/09  TUSJP4
03/01/07-14/09/09 EP6/DT EP6CDT
03/01/07-10/10 EP6/DT EP6CDT
-04/12/05 EP6DT
02/10/06-02/01/07 EP6DT EP6CDT
-01/10/06 DV6A/UTED4 .
-01/10/06 DV6C/M DV6TED4 — Suite...

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

25

NHOYULID



CITROEN

Suite...

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi

1.6 HDi 4ptes
2.0i 16v.

2.0i 16v.

2.0i 16v.

2.0i 16v.

2.01 16v. 4ptes
2.0 HDi

2.0 HDi

2.0 HDi

2.0 HDi

2750011

7170043

[ oTEKT

7170042

0664574

DA électro hydraulique

DA électro hydraulique

DA électro hydraulique Avec ESP
DA électro hydraulique Avec ESP
DA électro hydraulique Avec ESP
DA électro hydraulique Sans ESP
DA électro hydraulique Sans ESP
DA électro hydraulique Sans ESP
DA électro hydraulique Sans ESP

DA électro hydraulique

DA électro hydraulique Sans ESP
DA électro hydraulique Avec ESP
DA électro hydraulique Sans ESP

DA électro hydraulique
DA électro hydraulique Avec ESP
DA électro hydraulique Sans ESP

C4 Cactus

NEW  Protecteur de direction / Steering protector

NEW Direction assistée / Power steering

Repere 60LYPK

C4 Picasso -06/13

NEW  Direction assistée / Power steering
Repers 60LYPD

Protecteur de direction / Steering protector

=i

OE 4007XV
02/10/06-02/01/07 DV6A/UTED4
02/10/06-02/01/07 DV6C/M DV6TED4
03/01/07-10/10 DV6A/UTED4
03/01/07-10/10 DV6C/M DV6TED4
03/01/07-10/10 DV6TED4B
03/01/07-14/09/09 DV6A/UTED4
03/01/07-14/09/09 DV6C/M DV6TED4
03/01/07-14/09/09 DV6TED4B
15/09/09-21/12/09 DV6TED4

-04/12/05 EW10A EW10J4/S
02/10/06-02/01/07 EWI10A EW10J4/S
03/01/07-14/09/09 EWI10A EW10J4/S
03/01/07-10/10 EWI10A EW10J4/S
15/09/09-21/12/09 EWI10A

-01/10/06 DW 10ATED /BTED4
02/10/06-02/01/07 DWI10ATED/BTED4
03/01/07-10/10 DWI10ATED/BTED4
03/01/07-14/09/09 DWI10ATED/BTED4

OE 1608025480

1.2i /VTi
1.6 HDi
OE 400172
1.6i16v. -10/13  EP6/C/CM
E 1.6i 16v. THP
-10/13  EP6DT/CDT
1.6HDi  -10/13 DV6C
1.6HDi  -10/10 DV6TED4
1.8i 16v. -07/08 EW7TA
2.0i 16v.  -10/13 EWI0A
OE 400171
20HDI  -10/13 BVM MC BVA AM6
DW 10BTED4
DW10CTED4
OE Part/oe 406682
1.6 16v. EP6/C
1.6i 16v. THP EP6CDT/DT
1.6 HDi DV6C/TED4
1.8 16v. EW7A
2.0i 16v. EW10A
2.0 HDi FAP DW 10BTED4/CTED4

26

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.




CS“ .
7006039 Direction assistée / Power steering
Assistance variable Reperes 60DHGZ 60DHLP
1017
[Flzr
Or——

M16x150

7170046 ~eW

Direction assistée / Power steering
Assistance non variable Dir. mécanique assistée Course mécanisme direction 184

1100

=1z |

ol —
M14x150

7006038

Direction assistée / Power steering
Assistance non variable Rep. 60DHEE 60DHGT 60DHJU 60LYBA Course méca dir. 166

1017

[ zF

Go——
M16x150

1.8i 16v.

1.81 16v. Berline 5ptes
1.81 16v.

2.0i 16v.

2.0i 16v. Berline 5ptes
2.0i 16v.

2.0 HDi sans FAP

2.0 HDi

2.0 HDi Berline Sptes
2.0 HDi1

0 HPi

0 HPi Berline 5ptes
0 HPi

2 HDi Berline 5ptes
2.2 HDi

3.01 V6 Berline Sptes
3.0i V6

7170044 ~NEW

24
2.
2.
2.

DA Assistance non variable electro hydraulique Repere 60DHLD

-01/03/01
02/03/01-28/04/02
29/04/02-08/04
-01/03/01
02/03/01-28/04/02
29/04/02-08/04
-01/03/01
-01/03/01
02/03/01-28/04/02
29/04/02-08/04
-01/03/01
02/03/01-28/04/02
29/04/02-08/04
02/03/01-28/04/02
29/04/02-08/04
02/03/01-28/04/02
29/04/02-08/04

Direction assistée / Power steering

1015

[5&] gTEKT

To——
M16x150

0664744

P

Protecteur de direction / Steering protector

OE 4000NC
1.6 HDi  09/04-03/08 DV6TED4
1.81 16v.  09/04-03/08 EW7A
1.8i 16v.  -03/08 EW7J4
g 2.0i 16v.  -08/04 EW10J4
2.0i 16v.  09/04-03/08 EWI10A
20HDi  -08/04 DWI10TD/ATED
20HDi  09/04-03/08 DW 10BTED4
20HPi  -08/04 EW10D
22HDi  09/04-03/08 DW12BTED4
22HDI  -03/08 DWI12TED4
3.0iV6  -08/04 ES9J4S
3.0iV6  09/04-03/08 ES9A
OE Part/oe 4001EC
E 1.6 HDi FAP 29/06/09- DV6TED4
1=
OE 4000NX
=
EW7J4
EW7J4
EW7J4
EW10J4
EW10J4
EW10J4
DW 10ATED
DW10TD
DW10
DW10
EW10D
EW10D
EW10D
DWI12TED4
DW12TED4
ES9J4S
ES9J4S
OE 4000LV

1.8i 16v. /Break
2.0i 16v. /Break

1=

OE 406674

1.6 HDi  09/04-02/08
1.81 16v.  09/04-02/08
1.81 16v.  -02/08
2.0i 16v.  -08/04
2.0i 16v.  09/04-02/08
2.0HDi  -08/04
2.0HDi  09/04-02/08
2.0 HPi -08/04
22HDi  -02/08
2.2 HDi FAP 09/04-02/08
3.0i V6 -08/04
3.01 Vo6 09/04-02/08

09/04-06/08 EW7A
09/04-06/08 EWI10A
20 HDi /FAP /Break (09/04-06/08 DWI10BTED4

DV6TED4
EW7A
EW7]4
EW10J4
EWI10A
DWI10TD/ATED
DWI10BTED4
EWI10D
DWI2TED4
DWI12BTED4
ES9J4S

ES9A

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

27

NHOYULID



CITROEN

<

..C5

2750008 Protecteur de direction / Steering protector OE 406688
1.61 16v. THP 03/08- EP6CDT/M  EP6DT
1.6 VTi 16v. 03/08- EP6C
1.6 HDi 03/08- DV6C
1.6 HDi FAP 03/08- DV6TED4
1.8i 16v. 03/08- EW7A
2.0i 16v. 03/08- EWI0A
2.0 HDi 03/08- DWI10BTED4
2.0 HDi 06/10- DW10CB
2.0 HDi FAP 03/08- DWI10CTED4
2.2 HDi FAP 03/08- DWI12BTED4 DWI12C
2.7 HDi 03/08- DT17TED4
3.0i V6 03/08- ES9A
3.0 HDi 03/08- DT20C
7070063 ~NEW Pompe dir. assistée / Power steering pump OE 4007CZ
Dir. assiétance variable 1.6 HDi _06/08 DV6
1.8i 16v. -06/08 EW7
£ zF 2.0i 16v. -06/08  EWI10
B 2.0 HDi -06/08 DWI10
2.0 HPi -06/08 EWI10
2.2 HDi -06/08 DWI12
2.7 HDi -06/08 DT17
3.0i V6 24v. -06/08 ES9
7070049 Pompe dir. assistée / Power steering pump OE 40076A
Dir. assistance non variable
1.8i 16v. -06/08 EW7J4
2.0i 16v. -09/04 EW10J4
9125 2.0 HPi -09/04 EWI10D
7070038 Pompe dir. assistée / Power steering pump OE 4007X9
Dir. assistance non variable
2.0 HDi -09/04 DWI10ATED/4
& G DW10TD
DWI2TED4
2.2HDi 16v. 10/04-06/08 DWI12TED4
Ceo
2750001 Protecteur de direction G/D / L/R steering protector OE 406671
2.2 HDi FAP DWI12BTED4
2.7 HDi DT17TED4
3.0i V6 ES9A
3.0 HDi DT20C
Cs...
7006061 Direction assistée / Power steering OE 4000GQ
Assistance variable
2.0 HDi -11/03 DWI10ATED4
1310 2.0 HDi -11/03 DWI10BTED4
|fﬂ TRW 2.0 HDi -11/03 DWI0UTED4
= 2.2 HDi -11/03 DWI12TED4
M?A-)?SO M16x150

—

M18x150

28

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

..C8
0664704 Protecteur de direction / Steering protector
DA variable
Evasion
7006093 Direction assistée / Power steering
1283
& trw | ‘ : E
M14x150 (14 S LIS
M18x150
0664414 Protecteur de direction / Steering protector
DA
7070001 Pompe dir. assistée / Power steering pump
il

2125

7070002 Pompe dir. assistée / Power steering pump
=5 zF

2113
7070035 Pompe dir. assistée / Power steering pump

141
7070038 Pompe dir. assistée / Power steering pump

-

—

9125

OE 406670
2.0i 16v. EW10A /J4
2.0 HDi DWI10ATED4/UTED4
2.0 HDi FAP DWI10BTED4 /CTED4
2.2i 16v. EW12J4
2.2 HDi DWI12TED4
2.2 HDi FAP DWI12BTED4
3.0 V6 ES9J4S
OE 400126
1.8i XU7JP
1.9TD XUD9TEF
2.0i XU1012C
2.0i 16v. XUI10J4R
2.0 Turbo XUI10J2TE
OE 406641
1.81 XU7]JP
1.9TD XUD9TEF/BTF
2.0i Xu10J2C
2.0i 16v. EW10J4 XUI10J4R
2.0i Turbo XUI0J2TE
2.0 HDi sans FAP DWI10ATED/4
2.1TD DA XUDI11BTE
OE 9624659580
1.9 TD 10/95-07/02 XUD9TE/BTF
2.1TD 05/96-07/02 XUDI11BTE
OE 4007W5
1.9 TD 10/95-07/02 XUDI9TE/BTF
2.1TD 05/96-07/02 XUDI11BTE

OE 40078E
2.0i 16v.  03/02/97-BVA AL4 EW10J4
OE 4007X9
2.0 HDi Sans FAP DWI0ATED/4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

29

NHOYLID



CITROEN

o

0054484

LN LNA

Direction mécanique / Steering gear

OE 9404005480

0.6 LNA  09/82-11/83
@‘25
0054524 Direction mécanique / Sieering gear OE 9404005520
0.6 LNA  11/83-
@ 1.1 LNA  09/82-
0054524B en boite/ in box
Nemo VL
2750004 Protecteur de direction / Steering protector OE Part/oe 406695
1.3 HDi FAP F13DTES
TS 1.4i TU3A
1.4i TU3AES
1.4 HDi DV4TED
Saxo...
0004W64 Direction mécanique / Sieering gear OE 4000W6
Reperes DJYF DJYK DJYR Course 72mm
: 1.0i 01/96- TUSM
1.1i 01/96- TULJP/M+
1.4i 01/96- TU3JP
1.5D 01/96- TUDS/B
0004W84 Direction mécanique / Steering gear OE 4000W8
Repére DJYE Course 80mm
= 1.0i 01/96- TUIM
1.11 01/96- TU1
1.4i 01/96- TU3JP
1.5D 01/96- TUDS/B
7006037 Direction assistée / Power steering OE Part/oe 4000S8
Repere 60DJYU
1.1i 01/96- TU1
g 1.4i 01/96- TU3JP
. 15D 0196 TUD5/B
1.61 01/96- TUSJP
e 1.6i 16v.  01/96-  TUS5J4
M16x150
0664344 Protecteur de direction / Steering protector OE 406634
Repere bleu DNA course mécanisme dir. 72 Co6té opposé au pignon
Conduite a G Conduite a D
1.01 -08/09/96 TUIM 1.01 -15/09/96 TUIM
1.1i -08/09/96 TUIM+ TU1JP 1.1 -15/09/96 TUIM+ TU1JP
1.4i -08/09/96 TU3JP 1.4i -15/09/96 TU3JP
1.5D -08/09/96 TUDS TUDSB 1.5D -15/09/96 TUDS TUDSB
1.61/16v. /NTS -08/09/96 TUSJP TUSJ4 1.61/16v. /VNTS -15/09/96 TUSJP TUSJ4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

30




o

0664464

Conduite a G
1.0i

1.11

1.4

1.5D
1.6i/16v. /VTS

0664484

Conduite a G
1.01

1.1i

1.41

1.5D

1.6i /16v. /VNTS

0664494

Conduite a G
1.01

1.11

1.41

1.5D

1.6i /16v. /VTS

0664504

0664324

7070031

..Saxo...

Protecteur de direction / Steering protector
Repere noir DNA course mécanisme dir. 80 C6té opposé au pignon

-08/09/96 TUIM
-08/09/96 TUIM+ TULJP
-08/09/96 TU3JP

-08/09/96 TUDS TUDSB
-08/09/96 TUSJP TUSJ4

Protecteur de direction / Steering protector
Repere blanc DNA course mécanisme dir. 72 C6té opposé au pignon

09/09/96- TUIM
09/09/96- TUIM+ TUI1JP
09/09/96- TU3JP
09/09/96- TUDS5S TUDS5B
09/09/96- TUSJP TUSJ4

Protecteur de direction / Steering protector
Repere noir DNA course mécanisme dir. 80 Coté opposé au pignon

09/09/96- TUIM
09/09/96- TUIM+ TUILJP
09/09/96- TU3JP
09/09/96- TUDS5 TUDS5B
09/09/96- TUSJP TUSJ4

Protecteur de direction / Steering protector
Conduite a G DA Co6té opposé au pignon

Protecteur de direction / Steering protector
Conduite a G DNA DA Coté pignon

Pompe dir. assistée / Power steering pump

"

OE 406646
Conduite a D
1.01 -15/09/96 TUM
1.1i -15/09/96 TUIM+ TU1JP
1.4i -15/09/96 TU3JP
1.5D -15/09/96 TUDS TUDSB
1.6i/16v. /NTS -15/09/96 TUSJP TU5J4
OE 406648
Conduite a D
1.01 16/09/96- TUM
1.1i 16/09/96- TUIM+ TU1JP
1.41 16/09/96- TU3JP
1.5D 16/09/96- TUD5 TUDS5SB
1.61/16v. /VTS  16/09/96- TUSJP TUSJ4
OE 406649
Conduite a D
1.01 16/09/96- TUM
1.1i 16/09/96- TUIM+ TU1JP
1.41 16/09/96- TU3JP
1.5D 16/09/96- TUD5 TUDS5SB
1.61/16v. /VTS  16/09/96- TUSJP TUSJ4
OE 406650
1.01 04/96- TUIM
1.1i 04/96- TUIM+ /JP
1.4i 04/96- TU3JP
1.5D 04/96- TUDS B
1.61/16v. /NTS 04/96- TUSJP/5]4
TT Elec. /All models Electric
04/96- Electric 30 (20kw) SA13
OE 406632
1.01 TUIM
1.1i TUIM+/JP
1.4i TU3JP
1.5D TUDS5/B
1.6i/16v. /VTS TUSJP/J4
OE 40071E
1.1i 06/05/96-10/01/01 TUIM+
1.4i 06/05/96-10/01/01 TU3JP
1.4i 11/01/01- BVA MB3 TU3JP
15D 06/05/96-10/01/01  TUDS5/B
1.61 06/05/96-10/01/01 TUSIP
1.61 16v.  06/05/96- TUSJ4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

31

NHOULID



CITROEN

o

.. 5ax0
7070026 Pompe dir. assistée / Power steering pump
5 Gorges
5 Grooves
2109
Visa
0054524 Direction mécanique / Steering gear

0054524B en boite/ in box

OE 40074A

03/04/00- TUDS
03/04/00- TUDSB

o n
SIS

OE 9404005520

03/11/83-
03/11/83-
/Tonic 09/82-

—_— —
N

0054484 Direction mécanique / Steering gear OE 9404005480
1.1 09/82-02/11/83
OE 9404000230
@ 1.8 D
2006007B en boite/ in box
0664154 Protecteur de direction / Steering protector OE 406620
m TT /all models
1006004 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(0664154x2 + colliers)
M m TT /all models
——
Xantia...
2006012B Direction mécanique / Steering gear OE 9451136780
\ TT /all models 06/93-12/97
en boite/ in box
7006033 Direction assistée / Power steering OE 9451136980
Pompe HP 6 pistons Course de crémaillere 80.50mm avec support
= e @ TT /all models -04/95

Fa—
M14x150

-—

M12x125

—

M12x100

Sauf 2.0i 16v. mot. XU10J4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

32




o

..Xantia
7170016 Direction assistée / Power steering OE 4000AG
Repere 60DHDC
1205 é
Hezr | 2.0 Turbo 05/95-  XUI0J2TE
+~ 2.0 HDi sans FAP DWI10ATED
B & i M12x125 2.1TD 05/95- XUDI11BTE
M1ax150 | | i — 3.0i V6 05/95-  ES9J4
M14x150
0664374 Protecteur de direction / Steering protector OE 406637
TT /all models DNA coté G/D 03/93-12/97
TT /all models DA c6té opposé au pignon -05/95
TT /all models Sauf inj. turbo Mot. XU10J2TE DA c6té pignon 12/97-
TT /all models Sauf inj. Mot. ES9J4 DA c6té pignon 12/97-
TT /all models Sauf Turbo Diesel Mot. XUD11BTE DA coté pignon 12/97-
0664304 Protecteur de direction / Steering protector OE 406630
TT /all models
m DA c6té pignon -12/97
DA c6té opposé au pignon  12/97-
0664424 Protecteur de direction / Steering protector OE 406642
D18
TT /all models DA c6té opposé au pignon 06/95-12/97
TT /all models Turbo DA co6té pignon 12/97- XUI10J2TE
TT /all models Inj. DA c6té pignon 12/97- ES9J4
2.0 HDi1 Sans FAP DA c¢6té pignon 12/97- DWI10ATED
2.1 TD DA co6té pignon 12/97- XUD11BTE
7070028 Pompe haute pression / hight pressure Pump OE 4007S5
6 pistons
6 Gorges Sans clim
6 Gropves 1.6i -12/97  XUS5JP
214l 1.81 -12/97 XU7IJP/IB
2.0i -12/97 XU10J2
2.0i 16v.  -12/97 XU10J4/R
7070025 Pompe haute pression / hight pressure Pump OE 4007S7
6 pistons
_ 6 Gorges 1.9D -12/97 XUD9
6 Grogves o 19TD  -12/97 XUDYTE
7070029 Pompe haute pression / hight pressure Pump OE 4007T7
6 pistons+2
_ 6 Gorges 1.9 D Sans clim. 30/10/97- XUD9
6 Grogves 1.9TD SD 25/09/96- XUD9SD
a107 1.9 TD 25/09/96- XUD9TE
2.1 TD Sans clim. XUDI1BTE
2.1 TD Avec clim. 28/03/97- XUDI1BTE

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

33

NHOULID



CITROEN

SASl

o

XM
7006034 Direction assistée / Power steering OE 4000R2
Sauf pas variable Reperes 60DJPE 60DJZC
2.01 -15/05/95 XU10J2
1240 @ 2.0i Turbo 115/05/95 XU10J2TE
ilid 2.1DDI2 XUDIIA
(| == 2.1 TD Turbo D12  -06/95 XUDI11ATE
M14x150 ﬁ-qm- E@‘ m@%m | [Tty 3.0i V6 ZPJ
M12x100
0664424 Protecteur de direction / Steering protector OE 406642
@ 18 Coté pignon
TT /all models
0664304 Protecteur de direction / Steering protector OE 406630
Coté opposé au pignon
TT /all models
0664294 Protecteur de direction G / Left steering protector OE 406629
@ 10 Coté pignon
m TT /all models
7070029 Pompe haute pression / hight pressure Pump OE 4007T7
6 pistons+2
—_— 2.1 TD Sansclim. 07/94- XUD11ATE
[Ecrrron| 6 Gropves 2.1 TD Sans clim. 07/94-14/12/97
= 2107 XUDI11BTE
2.1TD 15/12/97- XUDI11BTE
Xsara...
0004S24 Direction mécanique / Sieering gear OE 4000S2
Repere 60DJCZ
0004S24B enboite/ in box
1.4 07/97-08/00 TU3JP
1.5D 07/97-08/00 TUDS
1.61 07/97-08/00 TUSJP
1.8 07/97-08/00 XU7JB
1.8i/ 16v. 07/97-08/00 XU7JPp XU7JP4
1.8D 07/97-08/00 XUD7
19D 07/97-08/00 DW8  XUDY9A
1.9TD 07/97-08/00 XUDITE
1.9TD SD 07/97-08/00 XUD9BSD
2.0i 16v. 07/97-08/00 XU10J4R
2.0 HDi 07/97-08/00 DWI10TD

34

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




o

...Xsara...
7006035 Direction assistée / Power steering OE 4000S0
1182
B =
M14x150 M14x150
M16x150
1.41 Berline 3/5ptes Repere 60DHBR 07/97-08/00 TU3JP
1.4i Break Repere 60DHBR 07/97-08/00 TU3JP
1.5 D Berline Repere 60DJUJ 07/97-08/00 TUDS
1.5 D Break Repere 60DHBR 07/97-08/00 TUDS
1.61 90hp 66kw Berline /Coupé Repere 60DJUJ 07/97-08/00 TUSJP
1.61 Break Repere 60DHBR 07/97-08/00 TUSJP
1.8 Berline /Coupé Repere 60DJUJ 07/97-08/00 XU7)JB
1.8 Break Repere 60DHBR 07/97-08/00 XU7JB
1.81 Berline /Coupé Repere 60DJUJ 07/97-08/00 XU7JP
1.8i Break Repere 60DHBR 07/97-08/00 XU7JP
1.8i 16v. GPL Berline /Coupé
+ essence sans plomb  Repere 60DJUJ 07/97-08/00 XU7JP4
1.8i 16v. Berline sauf GPL
+ ess. sans plomb Repere 60DJUJ  Sauf niveau VTS 24/05/99-08/00 XU7JP4
1.81 16v. Break Repere 60DHBR 07/97-08/00 XU7JP4
1.8 D Berline /Coupé Repere 60DJUJ 07/97-08/00 XUD7
1.8 D Break Repere 60DHBR 07/97-08/00 XUD7
1.9 D Berline 3/5ptes Repere 60DJUJ 07/97-08/00 DW8
1.9 D Break Repere 60DHBR 07/97-08/00 DW8
1.9 D Berline /Coupé Repere 60DJUJ 07/97-08/00 XUDYA
1.9 D Break Repere 60DHBR 07/97-08/00 XUDYA
1.9 TD SD Berline /Coupé Repere 60DJUJ 07/97-08/00 XUD9BSD
1.9 TD SD Break Repere 60DHBR 07/97-08/00 XUD9BSD
1.9 TD Berline /Coupé Repere 60DJUJ Sauf niveau VTS 07/97-08/00 XUD9TE
1.9 TD Break Repere 60DHBR 07/97-08/00 XUD9TE
2.0 HDi Berline /Coupé Repere 60DJUJ  Sauf niveau VTS 07/97-08/00 DWI10TD
7006041 Direction assistée / Power steering OE 4000CA
1170 g 1.81 16v. VTS Sauf GPL + essence sans plomb
[E] TrRu Niveau VTS 07/97-08/00
p= 1.9TD VTS 07/97-08/00 XUD9TE
M16x150 .
M16x150
0664444 Protecteur de direction / Steering protector OE 406644
DNA c6té opposé au pignon
””“”l”” TT /all models 07/97-08/00
0664434 Protecteur de direction / Steering protector OE 406643
TT /all models
“ DNA c6té pignon & DA cdté pignon  07/97-08/00
TT /all models Co6té pignon 09/00-
0664224 Protecteur de direction / Steering protector OE 406622
TT /all models
DA c6té opposé au pignon
TT /all models Coté opposé au pignon  09/00-
0664164 Protecteur de direction / Steering protector OE 406616

TT /all models DA
TT /all models

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

35

NHOULID



CITROEN

7070032

7070007

7070044

6 Gorges

7070022

6 Gorges

SAG INAW| b

7070014

7070043  \gw

6 Gorges
6 Grooves,

7070004

SAGINAW a

7070055 NgW

6 Gorges
6 Grooues

6 Gorges

6 Gorges 7
6 Grooves

6 Grooues

7
6 Grooves,

~.Xsara...

Pompe dir. assistée / Power steering pump

T
N4
55

Pompe dir. assistée / Power steering pump

9136.5

Pompe dir. assistée / Power steering pump

141

Pompe dir. assistée / Power steering pump

142

Pompe dir. assistée / Power steering pump

a114

Pompe dir. assistée / Power steering pump

2132

Pompe dir. assistée / Power steering pump

0113.5

Pompe dir. assistée / Power steering pump

2137

OE 4007V7
1.4i -19/04/98 TU3JP
1.4i Avec clim. 20/04/98-01/03/99 TU3JP
1.61 90hp 66kw -01/03/99 TUSJP

OE 4007KZ

sauf Véhicule rabaissé
09/00-05/06/05 TU3JP
1.61 16v. Berline /Coupé susp. normale

sauf supérieure basse plus

1.41 Berline /Coupé

09/00-05/06/05  TUS5JP4

2.0i 16v. Break 09/00- EW10J4
OE 4007W1

1.81 Clim. -08/00  XU7JB/IP

1.81 16v. Berline Clim. -01/05/99 XU7JP4

1.81 16v. Break Clim. -08/00 XU7JP4
OE 4007V9

1.81 Sans clim. 09/97-09/00

XU7JB/JIP/JP4

OE 4007W0

Sauf coupé Avec clim.

1.8 D/TD -08/00 XU

1.9D -08/00 XU

1.9TD SD -08/00 XU
OE 4007V38

sauf coupé Sans clim.

1.8D/TD -08/00 XU

1.9D -08/00 XU

1.9 TD SD -08/00 XU
OE 4007LN

1.9D 09/00- DWS&B
OE 4007LH

2.0i 16v. Berline 09/00-08/06/05 EW10J4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

36




<

o

..Xsara

7070006 Pompe dir. assistée / Power steering pump

6 Gorges

2125

Xsara Picasso...

7006040 Direction assistée / Power steering

Reperes 60DHAN 60DHXC

1183 E

| 5] TRw
G U8
M14x150
0664434 Protecteur de direction / Steering protector
DA Coté pignon
0664624 Protecteur de direction / Steering protector
DA Coté opposé au pignon
7070046 Pompe dir. assistée / Power steering pump
p
6 Gorges
6 Grooves
137
7070007 Pompe dir. assistée / Power steering pump
6 Grogues

9136.5

7070059 NEW Pompe dir. assistée / Power steering pump

9126

7070041 w~EW Pompe dir. assistée / Power steering pump

137

2.0 HD1i

OE 4007LS

09/00-

2.0 HDi sans FAP  09/00-

1.61/16v.
1.6 HDi
1.6 HDi
1.8i 16v.
2.01 16v.
2.0 HDi

1.61/16v.
1.6 HDi
1.8i 16v.
2.0i 16v.
2.0 HDi

1.61/16v.
1.6 HDi
1.8i 16v.
2.01 16v.
2.0 HDi

1.61

1.61 90hp 66kw
1.61 100hp 74kw

1.61 16v.

1.6 HDi

1.8i 16v.
2.0i 16v.

OE 4000CQ

OE 406643

OE 406662

OE 4007Z4

-24/01/01

OE 4007LC

OE 4007WL

OE 4007LJ

25/01/01-
25/01/01-

DWI10TD
DWI10ATED

TUSJP/JP4
DV6ATED4
DV6TED4
EW7J4
EW10J4
DWI10TD

TUSJP/JP4
DV6
EW7]4
EW10J4
DWI10TD

TUSJP/JP4
DV6
EW7]4
EW10J4
DWI10TD

TUSJP

TUSJP
TUSJP
TUS5JP4

DV6A/TED4

EW7]4
EW10J4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

37

NHOULID



CITROEN

<

o

...Xsara Picasso

7070015 Pompe dir. assistée / Power steering pump
p
6 Grogues
9125.5
7070012 Pompe dir. assistée / Power Steering pump
2125.5
ZX...
2006003 Direction mécanique / Sicering gear

2006003B enboite/ in box

7006035 Direction assistée / Power steering
1182
E= g
b M14x150
M16x150
7006091 Direction assistée / Power steering
Repere 60DHBE
& Trw | @
e M14x150
M16x150
0664154 Protecteur de direction / Steering protector
DNA 2 cotés
0664434 Protecteur de direction / Steering protector

DNA 2 cotés

OE 4007Z5

20HDi  -24/01/01 DWI10TD

OE 4007LT

2.0 HDi1 25/01/01-04/06/06

OE 9451114580

TT /all models 03/91-

OE 9455851480

TT /all models 07/91-
Sauf 1.91 & 2.0/16v.

OE 4000V2
2.0 16v. 07/91-

OE 406620
1.14 -01/01/95
1.4 -01/01/95
1.4i -01/01/95
1.4D -01/01/95
15D -01/01/95
1.61 -01/01/95
1.8i/16v.  -01/01/95
1.8D -01/01/95
1.91 -01/01/95
1.9D -01/01/95
1.9TD -01/01/95

OE 406643
1.1/4 02/01/95-
1.4 02/01/95-
1.41 02/01/95-
14D 02/01/95-
1.5D 02/01/95-
1.61 02/01/95-
1.8i/16v.  02/01/95-
1.8D 02/01/95-
1.91 02/01/95-
19D 02/01/95-
1.9TD 02/01/95-
2.0i 8v./16v. 02/01/95-

DWI10TD

XU10J4

TUl/IM/1M+
TU3.2
TU3M/MC/JP
TUD3

TUDS
XU5M/JP
XU7IP/IP4
XUD7
XU9JA/Z
XUD9
XUDITE

TUl/IM/1M+
TU3.2
TU3IM/MC/JP
TUD3

TUDS
XU5M/JP
XU7JP/JP4
XUD7
XU9JA/Z
XUD9
XUDITE
XUu10J

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

38




<

0664154

0664224

7070032

7070022

7070044

«LX

Protecteur de direction / Steering protector
DA c6té pignon

Protecteur de direction / Steering protector
DA c6té opposé au pignon

Pompe dir. assistée / Power steering pump

2

55

230
@17
Jran)
)

g142

1006004

6 Gorges
6 Grooves,

2132

2.0i 16v.

Sans clim.
1.61

1.8i

1.8i

1.8i 16v.
2.0i

2.0i

2.0i 16v.
2.0i 16v.

Avec clim.

1.61
1.81

—_— —
O \O o0

D
D
TD

Kit rép. protecteurs de dir. / Steering boots repair kit

(0664154x2 + colliers) DNA

e
Pee——— e

— e

1.14

1.44
14D
1.5D

1.61

1.81 16v.
1.8D

1.91
1.9D/TD

OE 406620

OE 406622

OE 4007V7

-04/12/94
-28/02/99
05/12/94-28/02/99

OE 4007V9

07/93-06/94
07/94-09/96
07/94-06/97
09/96-06/98
06/92-06/94

07/94-06/97
09/92-06/94
07/94-06/96

OE 4007W1

27/09/96-
27/09/96-

OE 4007V8

OE -

-01/01/95
-01/01/95
-01/01/95
-01/01/95
-01/01/95
-01/01/95
-01/01/95
-01/01/95
-01/01/95

TU3.2
TU3M/MC/IP
XUS5M/JP
XU7JP/JPA
XUD7
XU9JA/Z
XUDY/TE
XU10J2
XU10J2/J4 /JARS

TU3.2
TU3M/MC/JP
XUS5M/JP
XU7JP
XU7JP4

XUDOY/TE
XU10J2/J4 /J4RS

TU32
TU3MC
TU3JP

BVM XUSJP
BVM XU7JP
BVA XU7JP
BVM XU7JP4
BVM
XU10J2C/Z
XU1052C
BVM XU10J4/L
BVM XU10J4

XUSJp
XU7Jp

XUD7
XUD9
XUDI9TE

TU1/IM/1M+
TU3.2/3M/MC/IP
TUD3

TUDS
XUS5SM/JP
XU7JP /JP4
XUD7
XU9JA/Z
XUDY/TE

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

39

NHOULID



CITROEN

<

o

0004524

Direction mécanique / Steering gear
Repere 60DJCZ

0004S24B en boite/ in box

7006035 Direction assistée / Power steering
1182
= g
o e M14x150
M16x150
7006021 Direction assistée / Power steering
= .‘ 1174 EH i
M14x150 ;h _ M14x150
M16x150
7170021 Direction assistée / Power steering
= 1162 EH i5
(e
M14x150
7006023 Direction assistée / Power steering
Reperes 60DHIL 60DHXG
1167
[ zr ¢ g
%—‘
M14x150 e
Xogiz ¥
7006022 Direction assistée / Power steering
Repere 60DHAR
1166
Fzr ‘ @ E
M14x150 __———wa———— M14x150
N 12 7 M16x150
0664444 Protecteur de direction / Steering protector

DNA c6té opposé au pignon

41

e )
e i

8D
1.9D
2.0 HDi

TT Elec. /All models Electric

AW,

wAw)

e e e e
OO BB ==
wiw)

1.6 HDi
1.6 HDi
2.0 HDi1

2.0 HDi

TT /all models 07/96-11/02

OE 4000S2

-10/02
-10/02
-10/02
-10/02
-10/02
-10/02

-10/02
OE 4000S0

-03/01/99
-03/01/99
-03/01/99
-03/01/99
-03/01/99

OE 4000AA

04/01/99-11/00
04/01/99-11/00
04/01/99-11/00
04/01/99-11/00
04/01/99-11/00

OE 4000JT

12/00-10/02
11/02-05/08
12/00-10/02
11/02-05/08
12/00-10/02
11/02-05/08

OE 4000KK

11/02-05/08
11/02-05/08
11/02-05/08

OE 4000CV

-02/10/00

OE 406644

TUIM+ /1JP
TU32

TU3JP

XUD7

DWS8/B XUD9
DWI10TD

SA18

TUIM+ /1JP
TU32
TU3JP
XUD7
XUD9

TU1JP/IM+
TU32
TU3JP
XUD7
XUD9 DW8

TULJP
TULJP
TU3JP
TU3A/JP
DW&/B
DWSB

DV6ATED4
DV6BTED4
DWI10TD

DWI10TD

40

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

..Berlingo VU...

0664224 Protecteur de direction / Steering protector
Coté opposé au pignon
0664154 Protecteur de direction / Steering protector
Coté pignon
0664434 Protecteur de direction / Steering protector
Co6té pignon
2750012 N~EW  Protecteur de direction / Steering protector
7070034 NEW Pompe dir. assistée / Power steering pump
125
7070032 Pompe dir. assistée / Power steering pump
g AR
g8 {@} 5
\ T
7070057 NEW Pompe dir. assistée / Power steering pump
137
7070059 NEW  Pompe dir. assistée / Power steering pump

126

OE 406622
TT /all models DA 07/96-11/02
1.11 11/02-05/08 TU1JP
1.41 11/02-05/08 TU3
1.41 11/02-05/08 TU3A
1.6 HDi 11/02-05/08 DV6ATED4
1.6 HDi 11/02-05/08 DV6BTED4
1.9D 11/02-05/08 DW&B
2.0 HDi 11/02-05/08 DWI10TD
TT Elec. /All models Electric

11/02-05/08 SA18

OE 406620

TT /all models DA

sauf 2.0 HDi Mot. DW10TD

07/96-11/02

1.1i 11/02-05/08 TU1JP
1.41 11/02-05/08 TU3
1.41 11/02-05/08 TU3A
19D 11/02-05/08 DWS8B
TT Elec. /All models Electric
11/02-05/08 SA18

OE 406643

TT /all models DNA

07/96-11/02

1.6 HDi 11/02-05/08 DV6ATED4

1.6 HDi  11/02-05/08 DV6BTED4

20HDi  07/96-11/02 DWI10TD

2.0HDi  11/02-05/08 DWI10TD
OE Part/oe 406682

1.61 16v. 05/08-  TUS5JP4/B

1.61 16v. 05/08- EP6C DTR /CB

1.6 HDi 05/08- DV6AUTED4

1.6 HDi 05/08- DV6C /BUTED4

1.6 HDi 05/08- DV6DTED /ETED4

1.6 HDi FAP 05/08- DV6TED4BU
OE 40072A

1.1i 8v. Sans pavillon multifonction
03/10/00-12/02 TU1JP
1.4i  Sans pavillon multifonction

03/10/00-12/02 TU3JP
1.41  Depol. CEE 2000
03/10/00-12/02 TU3JP
OE 4007V7
1.41 -09/03/99 TU3JP
OE 4007TQ
1.61 16v.  05/08-12/10/14 TUSJP4/B
OE 4007WL
1.6 HDi  12/02-05/08 DV6A/BTED4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

NHOULID



CITROEN

..Berlingo VU
7070058 NEW Pompe dir. assistée / Power steering pump

6 Gorges 7
6 Grooves

126

7070005

115

Pompe dir. assistée / Power steering pump

7070048 W

114

7070016 Pompe dir. assistée / Power steering pump
& Grogues
114
7070004 Pompe dir. assistée / Power steering pump

©113.5

7070053 NEW

Pompe dir. assistée / Power steering pump

125

7070012

6 Gorges 7

Pompe dir. assistée / Power steering pump

2125.5

OE 4007VR
1.6 HDi  05/08- DV6A/UTED4
1.6 HDi  05/08- DV6B/UTED4
OE 40075C

1.8 D 60hp 44kw 07/96-06/99 BVM XUD7
1.9 D 68hp 50kw 70hp 50kw
07/96-06/99 BVM XUD9YA

OE 4007AL

1.9 D Avec pavillon multifonction
07/98-11/02 DW&8/B

OE 40076C

1.9 D Sans pavillon multifonction

07/98-11/02 DWS8/B
OE 4007WP

19D 11/02-05/08 DW&B
OE 4007JE

20HDi  -12/02 DWI10TD
OE 4007LT

2.0 HDi 11/02-05/08 DWI10TD

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

42




o
C1s...

0054524 Direction mécanique / Sieering gear OE 9404005520

g

-04/05/88
-04/05/88
-04/05/88

—--
NG

0054524B en boite/ in box
2006007 Direction mécanique / Steering gear OE 9404000230

05/05/88-08/89
07/87-15/06/88 E1A
05/05/88-08/89
07/87-15/06/88 GIA
05/05/88-08/89

D -08/89

[ S S S —
00 W=D

2006007B enboite/ in box

0004424 Direction mécanique / Steering gear OE 400042

1.0 07/09/89-
g 1.1 07/09/89-
1.4 07/09/89-
1.8 D 07/09/89-
. 19D 07/09/89- DWSB
0004424B enboite/ in box
7006082 Direction assistée / Power steering OE 4000G9
Sortie raccord a droite
T55 TT /all models Conduite a G
[z | ‘
M14x150 | | M = | bmaxso
M16x150
0664164 Protecteur de direction / Steering protector OE 406616
B TT /all models Diesel DA

0664154 Protecteur de direction / Steering protector OE 406620
TT /all models Diesel DNA 2 cotés
TT /all models Diesel DA c6té pignon
1.0 Break Fourgonnette DA coté pignon 05/05/88-
1.0/VU DNA 05/05/88-01/01/95
1.1 DNA 2 cotés 07/87-06/94
1.1 DA coté pignon 07/87-06/94
1.1 Break Fourgonnette DA c6té pignon 05/05/88-
1.1 DNA 05/05/88-01/01/95
1.3 DNA 2 cdtés 07/87-06/94
1.3 DA c6té pignon 07/87-06/94
1.4 DNA 05/05/88-01/01/95
1.4 Break Fourgonnette DA c6té pignon 05/05/38-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

43

NHOULID



CITROEN

<

o

oooClS
0664224 Protecteur de direction / Steering protector OE 406622
DA coté g i
€O1e OppOsE atl piEnon TT /all models Diesel
1.0 Break Fourgonnette 05/05/38-
“ 1.1 07/87-15/06/88
1.1 Break Fourgonnette 05/05/88-
1.3 07/87-15/06/88
1.4 Break Fourgonnette 05/05/38-
0664444 Protecteur de direction / Steering protector OE 406644
DNA c6té pignon
1.0 02/01/95-
w 1.1 02/01/95-
1.4 02/01/95-
0664434 Protecteur de direction / Steering protector OE 406643
1.0 DNA co6té opposé au pignon  02/01/95-
.1 DNA 2 cdtés & DA cd6té pignon 07/94-
“ 1.1 DNA coté opposé au pignon  02/01/95-
1.3 DNA 2 cdtés & DA coté pignon 07/94-
1.4 DNA coté opposé au pignon  02/01/95-
7070027 Pompe dir. assistée / Power steering pump OE 40070F
Courroie profil trapezoidal 1 Gorge
1.0
L1
1.3
1.4
1.8D XUD7
1006004 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(0664154x2 + colliers) DNA
1.0 05/05/88-01/01/95
1.1 05/05/88-01/01/95
—_— 1.3 07/87-06/94
T 1.4 05/05/88-01/01/95
TT /all models Diesel
C2s...
0054114 Direction mécanique / Steering gear OE 4000A0
1336 TT /all models 11/81-03/92
Goe——
M16x150
0054114B en boite/ in box
7006090 Direction assistée / Power steering OE 400039
— TT /all models Sauf 1.8 11/81-
|ETRW | ‘
M16x150 mzm M14x150
M16x150
0664184 Protecteur de direction / Steering protector OE 406618

DNA c6té pignon

TT /all models Carbu. sauf 4WD
TT /all models Diesel

44

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




...CZS
0664194 Protecteur de direction / Steering protector
DNA c6té opposé au pignon
7070032 Pompe dir. assistée / Power steering pump
g, h
1L Oh
PN
8
17
Jumper...
0004E54 Direction mécanique / Steering gear
Repere 60DJFL
1414
Geo——
M16x150 -

0004E54B en boite/ in box

7006089

Direction assistée / Power steering

1409

|@TRW |

Go——
M16x150

7006102

-—

M14x150

Direction assistée / Power steering

1407

—»

M16x150

[ trw |

Go——
M16x150

7006018

-

M14x150

Direction assistée / Power steering

1407

[ rw |

Fal—
M16x150

7170026

e
M16x150

Direction assistée / Power steering

1310

—

M16x150

S

-—

M14x150

-

M16x150

OE 406619
TT /all models Carbu. sauf 4WD
TT /all models Diesel
OE 4007V7
2.0
25D
25TD
OE 4000ES
1.9 D/TD -01/02 XUDY/TE
2.0 -01/02 XU10J2/2C
20HDi -01/02 DWI10TD
25D -01/02 DJ5
2.5TD/TDi -01/02 DJ5ST/TED
2.8 TD -01/02 8140.43
2.8HDi  -01/02 8140.43S /63
OE 4004E4
-ch 15687004
Sauf 4WD
1.9D/TD 02/94- XUD9 /TE
2.0 02/94- XU10J2 12C
20HDi  02/94- DWI10TD
25D/ TD 02/94- DJ5 /T
2.5 TDi 02/94- DJSTED
2.8 TD 02/94- 8140.43
2.8HDi  02/94- 8140.63/43S
OE 4000EC
Ch- 15687005
Sauf 4WD
1.9D/TD -01/02 XUD9 /TE
2.0 -01/02 XU10J2/2C
20HDi  -01/02 DWI10TD
2.5D/TD -01/02 DJ5/T
2.5 TDi -01/02 DJSTED
2.8 TD -01/02 8140.43
2.8HDi  -01/02 8140.63 /43S
OE 4000JW
Sauf 4WD /VIN : 935...
-ch 17175290
2.0i/GNV /GPL 01/02-07/06 XU10J2
2.0 HDi 01/02-07/06 DW10TD
2.2 HDi 01/02-07/06 DWI12UTED

2.8 HDi 147hp 108kw . Géométrie variable
01/02-07/06 8140.43N
01/02-07/06 8140.43/S

OE Part/oe 4001E4

2.8 HDi

2.2 HDi 100hp 74kw 120hp 88kw

07/06-28/02/13 PUMA 22DT

2.2 HDi 110hp 81kw
07/06-28/02/13 PUMA C81 Euro 5

2.2 HDi 130hp 96kw 07/06-28/02/13

07/06-28/02/13 PUMA C96Euro 5
2.2 HDi 150hp 110kw 07/06-28/02/13

07/06-28/02/13 PUMACI10Euro 5
3.0 HDi 155hp 115kw

07/06-28/02/13 F30DT

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

45

NHOULID



CITROEN

<

7170025

Go——
M16x150

2006171

2006170

2750007

7070003

=4 zF

2.0i

2.0 HDi Avec Clim.

2.0 HDi Avec clim.
2.0 HDi
2.2 HDi Avec clim.
2.2 HDi

7070019

..Jumper
Direction assistée / Power steering
Assistance Variable

g

=

M14x150

—

M12x150

Protecteur de direction / Steering protector

Protecteur de direction D / Right steering protector

-

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

9104.5

06/05/02-07/06

-01/02

01/02- -ch 17431900
-07/06 Ch- 17431901
01/02- -ch 17431900
-07/06 Ch- 17431901

Pompe dir. assistée / Power steering pump

5

55

OE Part/oe 4001E5

2.2 HDi 100hp 74kw
07/06-28/02/13 PUMA 22DT
2.2 HDi 110hp 81kw
07/06-28/02/13 PUMA C81 Euro 5
2.2 HDi 120hp 88kw 07/06-28/02/13
07/06-28/02/13 PUMA 22DT
2.2 HDi 130hp 96kw 07/06-28/02/13
07/06-28/02/13 PUMA 22DT/ C96 Euro 5
2.2 HDi 150hp 110kw 07/06-28/02/13
07/06-28/02/13 PUMA C110 Euro 5
3.0 HDi 155/156hp 115kw 175hp 129kw
07/06-28/02/13 F30DT /Euro 5

OE Part/oe 4018A5

TT /all models DNA 02/94-02/02
TT /all models sauf 4AWD DA 02/94-02/02

2.0 02/02-07/06 XU10J2

2.0 HDi 02/02-07/06 DWI10TD
2.2 HDi 02/02-07/06 DWI12UTED
2.8 TD 02/02-07/06 Sofim

2.8 HDi 02/02-07/06 Sofim

OE Part/oe 400622

TT /all models sauf 4AWD DA
02/94-02/02

2.01 02/02-07/06 XU10J2
2.0 HD1 02/02-07/06 DWI10TD
2.2 HDi 02/02-07/06 DWI12UTED
2.8 TD 02/02-07/06 Sofim
2.8 HDi 02/02-07/06 Sofim
OE Part/oe 406686
2.2 HDi 07/06-
3.0 HDi 07/06-
OE 4007CJ
XU10J2
DWI10TD
DWI10TD
DWI10TD
DWI12UTED
DWI12UTED
OE 4007E3
25D -01/02 DJ5
2.5TD -01/02 DJ5ST
2.5 TDi -01/02 DJ5STED
OE 4007Y8
2.8 HDi -06/06 Sofim
2.8 TD -06/06 Sofim

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

46




Jumpy
7006093 Direction assistée / Power steering
1283
| [ trRw :
M14x150 =000 00001
0664414 Protecteur de direction / Steering protector
7070002 Pompe dir. assistée / Power steering pump
[ zF
2113
7070013 Pompe dir. assistée / Power steering pump
= zF
2114
7070001 Pompe dir. assistée / Power steering pump
@ ZF g g?;fs:s
125
7070038 Pompe dir. assistée / Power steering pump
2125
Nemo VU
2750004 Protecteur de direction / Steering protector

-—

M16x150

—

M18x150

OE 400126
1.61 -02/01/00 1580 SPi
19D -02/01/00 DW&/B XUD9
1.9TD -02/01/00 XUDOITE /BTF
2.0i 16v.  -02/01/00 EWI10J4
20HDi  -02/01/00 DWI10ATED/4
2.0HDi  -02/01/00 DWI10BTED W3
OE 406641
TT /all models -12/06
OE 4007W5

1.9D 10/95-04/11/01 DW&/B
2.0 HDi sans FAP Conduite a D

10/95-04/11/01 DWI10ATED
2.0 HDi Conduite a D
10/95-04/11/01 DWI10BTED W3/W4
OE 4007CW

19D 05/11/01-12/06 DWS

1.9D 05/11/01-12/06 DWS8B
OE 9624659580
1.9TD 10/95-12/06
OE 4007X9
2.0i 16v.  05/11/01-12/06 EW10J4
20HDi  05/11/01-12/06 DW10
OE Part/oe 406695
1.3 HDi FAP F13DTES
1.41 TU3A
1.4i TU3AES
1.4 HDi DV4TED

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

47

NHOULID



DACIA

<

2754006

1.2TCE

1.5 DCi /FAP /4WD
1.6i 16v. /4AWD

2.0i 16v. /4AWD

4006205

DACIA
Duster

Protecteur de direction / Steering protector OE 8201108358

Ml
HSM2

HSA6/A7/AD/AE/AF/AL/MO/M3/M5/MC/MD/MG/MV/MW
HSAS5/A8/A9/AM/AN/AP/AS/AT/MA/MM/MR
HSAR/MJ/MK/ML/MS

Logan I...

Direction mécanique / Steering gear OE 8200902356

1012

Go——
M14x150

4006205B en boite/ in box

1.01 16v.
1.2i 16v.
1.4 MPi
1.5 DCi
1.6i 16v.
1.6 MPi

LS-

LSIN

FS- KS- LS-

FS- KS- LSO00/J/K/W/Y LSIL US-

KSOL/M/P KS1J LSO09/L/M/P/V LSIS/V/Y

FSOB/D/F FS11/E KSOB/D/F/H KS11/E  LSOB/D/F/H/T LS11/A/E/H/U USOB/D/F/H USIE

M14x150 -_—

M16x150

.6i 16v.  -17/08/11  FS- KS- US-

—

7174029 NEW Direction assistée / Power steering OE 490013367R
E 1.0i 16v. LS-
1.2i 16v. LS-
-~ 1.4 MPi FS- KS- LS-
S S FS- KS- LS- US-
—— 1.6 l6v. LS-
1.6i 16v. KS- US-
MIZ=T50 1.6 MPi FS- KS- LS- US-
7174017 Direction assistée / Power steering OE 7711497481
— 1.0i 16v.  -17/08/11  LS-
|@ JTEKTl 1.2i 16v.  -17/08/11  LS-
-~ 1.4 MPi -17/08/11 FS- KS- LS-
Go— 1.5 DCi -17/08/11  FS- KS- LS- US-
1
1

4006224

1.0i 16v.
1.2i 16v.
1.4 MPi
1.5 DCi
1.61 16v.
1.6 MPi

7074005

.6 MPi -17/08/11  FS- KS- LS- US-

M18x150

Protecteur de direction / Steering protector OE 6001547607

LS-

LSIN

FS- KS- LS-

FS- KS- LSO00/J/K/W/Y LSIL US-

KS 0M/0P/OL/1J LS OL/OM/0P/0V/09/1S/1V/1Y

FS O0B/OF/0D/11/1E KSOB/D/F/H KS11/E LSOB/D/F/H/T LS11/A/E/H/U US 0B/0D/0F/0OH/1E

Pompe dir. assistée / Power steering pump OE 491100219R
@19

Chauffage normal
1.2i 16v. -18/07/13 LS01/02/1N D4F732/4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

48




..Logan I

7074013 xgW  Pompe dir. assistée / Power steering pump
Avec Clim.
1.5 DCi FS00/04/0K/0W/0Y/1L KS00/04/0J/0K/0W/0Y/1L
1.5 DCi LS00/04/0J/0K/0W/0Y/1L  US00/04/0J/0K/OW/0Y/1L
1.6i 16v. KS1S LS1S
1.61 MPi KS03 LS03 US03
Logan II
7374005 ~EW  Direction mécanique / Steering gear
E 1.2i
1.61
7374005B en boite/ in box
4006224 Protecteur de direction / Steering protector
DNA Conduite a G
1.2i
Sandero I...
4006205 Direction mécanique / Steering gear
1012 1.01 16v.
1.2i 16v.
1.4 MPi
1.5 DCi
i 1.6i 16v.
1.6 MPi
4006205B en boite/ in box
7174029 NgW Direction assistée / Power steering
1.0i 16v.
1.2i 16v.
= 14 MP.i
M14x150 1.5 DCi
— 1.6i 16v.
1.6 MPi
M12x150
7174017 Direction assistée / Power steering
B A e
JTEKT . .
= 1.4 MPi
Gre= 1.5 DCi
M14x150 | |e== Hlexind 1.6i 16v.
= | 1.6 MPi
M18x150
4006224 Protecteur de direction / Steering protector
1.01 16v.
1.2i 16v.
m- 1.4 MPi
1.5 DCi
1.6i 16v

OE 491101295R

K9K790/92/94/96 892
K9K792/94/96 892
K4M696

K7M800/18

OE 490018097R

K/L8 MG/P
L8A6/JB/ME/MV K8JB

OE 6001547607
K/L8 MG/P
L8A6/JB/ME/MV K8JB

OE 8200902356

OE 490013367R

OE 7711497481

-17/08/11
-17/08/11
-17/08/11
-17/08/11
-17/08/11
-17/08/11

OE 6001547607

BSIN

1.6 MPi BSOB/D/E/H/T BS1A/E/H/T/U/1

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

49

VIOvVd



DACIA

DS AUTOMOBILES

<

7074005

.Sandero I

Pompe dir. assistée / Power steering pump
@19

‘

OE 491100219R

Chauffage normal
1.2i 16v. -18/07/13 BSI1N/01/02 D4F732/4

7074013 NEW Pompe dir. assistée / Power steering pump OE 491101295R
Avec Clim.
1.5 DCi BS04/0J/0K/0W/0Y/1L K9K790/92/96 892
1.6i 16v. BS1S K4M696
1.61 MPi BS03 K7M800/18
Sandero II
7374005 ~eW  Direction mécanique / Sreering gear OE 490018097R
E 1.2i B8MG/P/U/Y
\ 1.61 B8A6/JB/IME/MV
7374005B en boite/ in box
4006224 Protecteur de direction / Steering protector OE 6001547607
DNA Conduite a G
1.2i BSMG/P/U/Y
m 1.61 B8A6/JB/IME/MV
DS AUTOMOBILES
DS4
2750012 N~gW  Protecteur de direction / Steering protector OE Part/oe 406682
1.61 16v. /Turbo o1/11-  EP6
1.61 VTi 16v. 11/10- EP6C
1.6 HDi FAP 01/11- DV6C /DTED
2.0 HDi 01/11- DWI10CTED4
2.0 HDi 11/11- DWI10CB
DS5
2750012 NEW Protecteur de direction / Steering protector OE Part/oe 406682
1.6i 16v. THP 06/11- EP6CDT/X
1.6 HDi FAP 06/11- DV6C
M 2.0 HDi 06/11-  DW10CTED4
2.0 HDi 11/11- DWI10CB

50

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.




—

M14x150

—

M12x150

FIAT
Barchetta
9006702 Protecteur de direction / Steering protector
7076004 Pompe dir. assistée / Power steering pump
B
43
Brava...
7176002 Direction assistée / Power steering
1108
| [F] trw @
e
M12x150
7176049 Direction assistée / Power steering
1107
| [ TRW
e——
M12x150
9006703 Protecteur de direction / Steering protector
7076004 Pompe dir. assistée / Power steering pump
- g
g ™ 10
5 1
17 43
7076002 Pompe dir. assistée / Power steering pump
-

@38
3
56

00
=

OE Part/oe 9945564

1.8i 04/95-

OE 46524141

1.8i 16v.  05/95-12/01

OE 7648758

01/98-12/01
09/95-09/00 BVMS5 182A4000
1 16v.  10/96-09/00 BVA4 182A4000
10/95-10/01 182A2000
. 09/95-12/96 BVMS 160A7000
1.9 TD 75hp 55kw  10/96-09/00

BVMS5 182A8000
1.9 TD 100hp 74kw 10/96-02/00
BVMS5 182A7000

1.9JTD 10/98-10/01 182B4000
OE 71722450
1.4i 09/95-12/98
OE 9947369
1.2 10/98-12/00
1.4 09/95-10/98
1.61 16v. 09/95-12/00
1.8 09/95-12/00
1.9D/TD 09/95-12/00
1.9JTD 09/95-12/00
2.0 saufPack sport  09/95-12/00
OE 46524141
1.4i 12v. 80hp 59kw 09/95-05/99
BVM  182A3000
1.8i 16v. 115hp 83kw  10/96-09/00
BVM  182A2000
1.9 TD 75hp 55kw  10/96-02/00
BVM  182A8000
1.9 TD 100hp 74kw 10/96-02/00
BVM  182A7000
OE 46406957

1.61 16v. 105hp 76kw 09/95-09/00
BVM BVA 182A4000

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

51

LVIA



FIAT

..Brava
7076003 Pompe dir. assistée / Power steering pump
44
7076007 Pompe dir. assistée / Power Steering pump

7076068 NEW Pompe dir. assistée / Power steering pump

“

Bravo...
7176002 Direction assistée / Power steering
1108
[5 Trw @
o i M14x150
M12x150
1.2 01/98-12/01
1.61 16v. 02/96-05/99 BVM5
1.6i 16v. 10/96-05/99 BVA4
19D 09/95-12/96 BVM5
1.9 TD 75hp 55kw 10/96-09/00 BVM5
1.9 TD 100hp 74kw 10/96-02/00 BVMS5
1.9JTD 10/98-10/01
7176049 Direction assistée / Power steering
1107
|,[-ETRW | @

e

M12x150
9006703 Protecteur de direction / Steering protector
7076004 Pompe dir. assistée / Power steering pump

=5 zF

37
56

43

OE 55186709
1.61 16v. 105hp 76kw 09/95-09/00
BVM BVA 182A4000
OE 46410955
1.61 16v. 105hp 76kw 09/95-09/00
BVM BVA 182A4000
OE 7611323
19D 160A7000
OE 7648758
182A4000
182A4000
160A7000
182A8000
182A7000
OE 71722450
1.41 09/95-12/98

2.0i 20v. Pack Sport

09/95-12/01

OE 9947369
1.2 10/98-12/00
1.4 09/95-10/98
1.61 16v. 09/95-12/00
1.81 16v. 09/95-12/00
1.9D /ITD/ TD 09/95-12/00
2.0i 20v. sauf Pack sport 09/95-12/00

OE 46524141

1.4i 12v. 80hp 59kw

09/95-05/99
BVM  182A3000

1.8i 16v. 115hp 83kw 09/95-09/00

1.9 TD 75hp 55kw

1.9 TD 100hp 74kw

BVM  182A2000
10/96-09/00
BVM  182A8000
10/96-02/00
BVM  182A7000

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

52




o

...Bravo

7076002

7076007

7076003

@29
19

18 44

3
56

Pompe dir. assistée / Power steering pump

56

7076068 NEW  Pompe dir. assistée / Power steering pump

“

Coupé
9006703 Protecteur de direction / Steering protector
7076004 Pompe dir. assistée / Power steering pump
g
&5 zr -
s 8 S i
5 1
17 43
Croma...
7006054 Direction assistée / Power steering
1131
| [ rw
e M14x150
M12x150
7006057 Direction assistée / Power steering
1130
|£ﬁ'mw | ‘
e ‘ m ¥ P— M14x150

M12x150

OE 46406957
1.61 16v.  09/95-09/00

OE 46410955
1.61 16v.  09/95-09/00

OE 55186709
1.61 16v. 105hp 76kw 02/96-09/00
BVM BVA 182A4000
OE 7611323
1.9D 160A7000
OE 9947369
1.81 16v.  10/96-09/00 183A1
2.0i 16v.  07/94-10/96 836A3
2.0i20v.  10/96- 182A1 182B3
OE 46524141
1.8i 16v.  01/93-12/01
OE 82437269
TT /all models 10/85-12/94 C0468
OE 82480948
1.6 E 01/85-12/94
2.01 /Turbo 01/91-09/96
2.0 TDi -ch 0232803
25D -ch 0232803
2.5TD 01/91-09/96

182A4000

182A4000

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

53

LVIA



FIAT

2756012

...Croma
Protecteur de direction / Steering protector

1.8i Berline 06/05-06/07 BVM5S
1.8i Berline 01/08- BVMS5
1.9 JTD FAP Berline 06/05-12/07 BVM6
1.9 JTD Berline 01/08- BVM6
1.9JTD SW 06/05- BVM6
1.9 JTD FAP Berline 06/05-
1.9 JTD FAP SW 06/05- BVM6
2.2i 16v. Berline 06/05-06/07
2.4 JTD FAP Berline 06/05-06/07 BVA6
Fiorino VL
2750004 Protecteur de direction / Steering protector
Marea
7176050 Direction assistée / Power steering
1183
| [ TRW - g
m‘%—
M14x150
9006703 Protecteur de direction / Steering protector
7076003 Pompe dir. assistée / Power steering pump
44
7076004 Pompe dir. assistée / Power steering pump
=5 zF
43
Multipla...
7006060 Direction assistée / Power steering
1185
[ trw i é
el M14x150

e

M12x150

OE 77363710

939A4000
939A4000
939A1000
939A1000
939A2000
939A2000
939A1000
194A1000
939A3000

OE Part/oe 77364571

1.3JTD 01/08-
1.41 01/08-

OE 46456742

1.81 16v. /Week End
1.9 TD /Week End
1.9 JTD /Weekend

OE 9947369
1.61 16v.  09/96-09/00
1.81 16v.  09/96-09/00
1.9TD 09/96-09/00
2.0120v.  09/96-02/99
24TD 09/96-02/99
OE 55186709
1.61 16v. 105hp 76kw
BVM BVA
OE 46763559
1.81 16v. 115hp 83kw
BVMS5
1.9 TD 75hp 55kw
BVMS5
1.9 TD 100hp 74kw
BVMS5
OE 46764842

1.61 16v. /GNV /GPL
1.6i 16v.

09/96-
09/96-
09/96-

09/96-09/00
182A4000

09/96-09/00
182A2000
09/96-09/00
182A8000
09/96-02/99
182A7000

-08/04
09/04-

1.9 JTD 105hp 77kw 110hp 81kw

115hp 85kw
1.9JTD

-08/04
09/04-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

54




o

=

M14x150

—

M16x150

-«

M14x150

—

M12x150

-—

M14x150

—

M12x150

...Multipla
7076045 Pompe dir. assistée / Power steering pump
7076005
Palio
7006053 Direction assistée / Power steering
1060
] rw |
e
M14x150
Panda
9006087 Protecteur de direction / Steering protector
Coté pignon
9006085 Protecteur de direction / Steering protector
Coté opposé au pignon
Punto...
7006058 Direction assistée / Power steering
Course 134mm
1037
=] TrW | é
e
M12x150
7176014 Direction assistée / Power steering
Course 124mm
1037
) _. s
——
M12x150
2750004 Protecteur de direction / Steering protector

OE 51839104

1.61 16v. 105hp 76kw  01/99-12/02

BVM 182A4000
1.61 16v. 105hp 76kw  06/00-09/04

BVM 182B6000
1.61 16v. 105hp 76kw 09/04-04/10

BVM 186B6000

OE 46534757

1.9 JTD 115hp 85kw 120hp 88kw
03/01-06/06 BVM 186A6000/8000

OE 46545222

1.7 TD 01/97-12/01  Ch- Vet 4755899

OE 7583242
0.8 10/87-08/03
0.9 06/94-06/01
1.0 /4WD 10/87-08/03
1.0 SPi 10/87-08/03
1.1 /4WD 07/92-08/03
OE 7583243
0.8 10/87-08/03
0.9 06/94-06/01
1.0 /4WD 10/87-08/03
1.0 SPi 10/87-08/03
1.1/4WD 07/92-08/03
OE 46480616

TT /all models Essence D TD
01/94-04/97

1.2 SPi 05/97-12/99
1.7 TD sans clim. 05/97-12/99

OE 46480618

1.2 MPi 16v. 05/97-12/99
1.4 MPi Turbo 05/97-12/99

OE Part/oe 77363828
0.9i Turbo Twinair 11/13-
1.21 02/14-
1.3JTD 01/12-
1.4i 01/12-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

55

LVIA



FIAT

<

9006701

9006702

7076022

7076001

7076002

7076007

...Punto

Protecteur de direction / Steering protector

DNA

Protecteur de direction / Steering protector

DA

Pompe dir. assistée / Power steering pump

Pompe dir. assistée / Power steering pump

Pompe dir. assistée / Power steering pump

56

=]—

9 ©
= 7
5 -

44

OE Part/oe 9946947
1.1 -10/99
1.1 SPi -10/99
1.2 SPi -10/99
1.24 -05/03
1.2i 16v. /MPi -05/03
1.4 GT -12/97
1.61 -12/97
1.7 D /TD -10/99
1.81 16v. 10/99-05/03
1.9D/JTD /Van 10/99-05/03
OE Part/oe 9945564
1.1 -10/99
1.2 -10/99
1.2 MPi 16v. /SPi  -10/99
1.2 8v. /16v. /IGNV  10/99-
1.3 JTD /Dualogic  05/03-10/09
1.4 GT /MPi turbo  -10/99
1.41 16v. 05/03-09/05
1.61 -12/97
1.7D /TD -10/99
1.81 16v. 10/99-
1.9D /JTD 10/99-
OE 46541004
1.21 16v. 60hp 44kw 07/95-10/99
BVM/Séq.  176B4000
1.2i 16v. 75hp 55kw  11/93-05/97
BVM 176 A8000
1.2i 16v. 85hp 63kw  05/97-10/99
BVM 176B9000
OE 55186707
1.4i 136hp 100kw  11/93-09/98
BVM 176 A4000
1.61 88hp 65kw 90hp 66kw  01/94-05/97
BVM 176 A9000

OE 46406957

1.7 D 60hp 43kw  11/94-09/96
BVM 176B3000
1.7 TD 60hp 46kw  10/96-10/99

BVM 176B7000
1.7 TD 70hp 51kw  10/96-10/99

BVM 176A3000
1.7 TD 70hp 52kw  11/93-09/96

BVM 176A5000

OE 46410955

1.7 D 60hp 43kw  11/94-09/96
BVM 176B3000
1.7 TD 60hp 46kw  10/96-10/99

BVM 176B7000
1.7 TD 70hp 51kw  10/96-10/99

BVM 176A3000
1.7 TD 70hp 52kw  11/93-09/96

BVM 176 A5000

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

56




o

2750004

—

JTD 75hp 55kw /FAP
JTD 70hp 51kw
JTD 75hp 55kw
JTD 85hp 62kw
JTD 90hp 66kw

—_

i16v.

1 Dualogic

1.4i GNV / GPL

1.41 Turbo 120hp 88kw
1.4i Turbo 155hp 114kw
1.41 Turbo 180hp 132kw
1.9 JTD 115hp 85kw
1.9 JTD 120hp 88kw
1.9 JTD 130hp 95kw

1.6 JTD FAP

thwwwwwww

1.
1.
1.
1.
1.
1.
1.
1.
1.
1.

2750004

—

JTD

o i
==
wiw)

JTD FAP
1/GPL

—_

1 Turbo Multiair
JTD

P e
O\-h-b-bb)u)wal\)

2750004

7076068 W

“

9006725

09/05-
11/10-
09/05-
07/08-
09/09-
07/08-
09/05-
09/05-
06/06-
06/06-
10/08-
05/07-
07/07-
01/08-11/10
09/05-
09/05-
09/05-
10/08-

10/09-
10/09-
10/09-
10/09-
10/09-
10/09-
10/09-
10/09-
10/09-

Qubo

Regata

Pompe dir. assistée / Power steering pump

Stilo

Grande Punto
Protecteur de direction / Steering protector

BVM
BVM
BVM
BVM
BVM
BVM

BVM
BVM
BV rob.
BVM
BVM
BVM

BVM
BVM
BVM
BVM

Punto Evo
Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

OE Part/oe 77363828

199A4000

169A4000
199A/B2000
199B2000

199A9000

199B4000 223A9000
199A3000

199A7000 350A1000
199A6000

199A7000 350A1000
350A1000

198A4000

199A8000

199A8000
939A7000
939A1000

199A5000
955A3000

OE Part/oe 77363828

BVM
BVM 199A2000 199B4000
BVM BV Rob.  199A3000
BVM 199A9000 223A9000
19981000
BVM BV Rob. 350A1000
BVM 955A6000
BVM 955A2000 /3000
BVM 955A3000
OE Part/oe 77363828
1.3JTD 09/08-
1.41 09/08-
OE 7611323
17D
19D 149A1000
OE Part/oe 9949216
1.2i 16v. 10/01-
1.4i 16v. 01/04-
1.61 16v. 10/01-
1.8i 16v. 10/01-
1.9 JTD 10/01-
2.4i 20v. 10/01-

138B6000 149B3000

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

57

LVIA



FIAT

<

-

M14x150

e

M12x150

Tempra
7006055 Direction assistée / Power steering
1110
| [ TRw
e
M12x150
9006701 Protecteur de direction / Steering protector
DNA
9006703 Protecteur de direction / Steering protector

7076068 NEW

7006055

DA

Pompe dir. assistée / Power steering pump

Tipo

Direction assistée / Power steering

1110

|EﬂTRw |

o——
M12x150

7076068 ~EW

-

M14x150

—

M12x150

Pompe dir. assistée / Power steering pump

Ulysse...
7006093 Direction assistée / Power steering
1283
[F] Trw ;
Pl

M14x150

=L FFPPL]

2

-—

M16x150

—

M18x150

OE 7665182

TT /all models
Sauf 4WD /2.0

01/90-

OE Part/oe 9946947

1.4/i lie ISW
1.6 /i /ie ISW
1.9 D /SW

1.9 TDS /SW

OE 9947369

1.4/ /ie ISW
1.6 /i /ie ISW
1.8ie /16v. /SW

1.9D/SW
1.9 TDS /SW
2.0ie 4WD Break
OE 7611323
19D 160A7000
1.9 TDS 160A6000 160B6046
160D1000
OE 7665182
TT /all models 02/88- D9304
OE 7611323
1.7D 149B4000
19D 160A7000
1.9TD 160A6000 160D1000
1.9 TDS 160B6046
OE 1315183080
1.8 -08/02 LFW
1.9TD -08/02 DHX
2.0 -08/02 RFU
2.0i 16v.  -08/02 EW10J4 (REN) (RFV)
2.0 Turbo -08/02 RGX
2.0 JTD 8v. -08/02 RHZ
2.0JTD 16v. -08/02 RHW

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

58




...Ulysse

7006061 Direction assistée / Power steering

Assistance variable
1310

5] rw |

<—

M16x150

o —
M14x150

-

M18x150

0664414 Protecteur de direction / Steering protector

7070001 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
o125
7070002 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
2113
7070038 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
125
Uno
9006087 Protecteur de direction / Steering protector
Coté pignon
9006085 Protecteur de direction / Steering protector

Coté opposé au pignon

OE 1348591080

2.0i 16v.  09/02-12/05
2.0JTD 09/02-01/07
2.2 JTD 09/02-06/06
3.0Ve6 09/02-

OE 9404066418
1.8 -08/02
1.9TD -08/02
2.0 -08/02
2.01 16v. -08/02
2.0i Turbo -08/02
2.0JTD 8v. -08/02
2.0JTD 16v. -08/02
2.1TD -08/02

OE -

1.9TD 90hp 66kw
2.0 JTD 147hp 108kw

OE -

1.9TD 90hp 66kw
2.0 JTD 110hp 80kw

2.0JTD

0.9
1.0
1.1
1.3
1

1.4TD

1.51e
1.7D

—_ OO

0.
1.
1.
1

1.4TD
1.51ie
1.7D

OE 9633817680

EW10J4

DWI10ATED4
DWI12ATED4

ES9J4S

02/95-08/02
10/99-08/02

02/95-08/02
10/99-08/02

-09/02  DWI10ATED/4

OE 7583242

01/89-
01/89-
01/89-

/turbo 1.3 D 01/89-
.41 Turbo / 1.4ie

01/89-

10/89-01/93

07/92-12/93

01/89-

OE 7583243

01/89-
01/89-
01/89-

3/ turbo 1.3 D 01/89-
1.41 Turbo / 1.4ie

01/89-

10/89-01/93

07/92-12/93

01/89-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

59

LVIA



FIAT

<

M14x150

‘ s

—

M16x150

Doblo
7006059 Direction assistée / Power steering
& = 1210

Or——

M14x150
9006730 Protecteur de direction / Steering protector
7076003 Pompe dir. assistée / Power steering pump

44
Ducato 81-94
0054114 Direction mécanique / Steering gear
1336
M16x150 m—%——-
0054114B enboite/ in box
7006090 Direction assistée / Power steering
@ p— ‘ 1316
M16x150 :
Ducato 94-01...
0004E54 Direction mécanique / Sicering gear
1414
Oee——

M16x150

0004E54B en boite/ in box
7006089

1409

Direction assistée / Power steering

5] mrw |

o
M16x150

-

M14x150

OE Part/oe 46833541
-ch 5120134
1.2 03/01-
1.3 MJTD 04/04-
1.6i 16v. 10/01-
1.9D 03/01-
1.9 JTD 100hp 74kw 10/01-
1.9 JTD 105hp 77kw 10/01-

OE Part/oe 98845034
1.2 01/00-
1.3 MITD 01/04-
1.61 16v. 01/00-
1.9D 01/00-
1.9JTD 01/00-

OE 55186709
1.6i 16v.  -07/02 BVM 182B6000

OE 9750012099

TT /all models

OE 7719021

TT /all models

OE 71718438

TT /all models

OE 1310352080

19D
1.9TD
2.0
25D

—

M16x150

2.5 TDi
2.8JTD
2.8 TDiD

-ch 5687005
-ch 5687005
-ch 5687005

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

60




o

...Ducato 94-01

7006102 Direction assistée / Power steering OE 1323199080
1407 1.9D/ TD
[ rrw | 2.0 /JTD
p= 25D )
o— wtbiso| 23 TDi Ch- 5687005
= 2.8 JTD Ch- 5687005
Lt Sl Y 2.8 TDiD Ch- 5687005
2006171 Protecteur de direction / Steering protector OE Part/oe 9946982
DNA
TT /all models
2006170 Protecteur de direction D / Right steering protector OE Part/oe 9945837
DA
TT /all models
Ducato 244.. 02-06
7006018 Direction assistée / Power steering OE 1336494080
1407 g 2.0i -11/02 -ch 7175291
|Eﬂ TRW 20JTD  -11/02 -ch 7175291
/ - 2.3JTD -11/02 -ch 7175291
o— R ‘ wtoso| 2.8JTD  -11/02 BVMBVA -ch 7175291
M16x150 ,,___m
[ i=
M16x150
2006171 Protecteur de direction G / Left steering protector OE Part/oe 9945837
DA
2.0i
2.3JTD
2.8JTD
2006170 Protecteur de direction D / Right steering protector OE Part/oe 9945837
DA
2.0i
“ 2.0 JTD
2.3JTD
2.8JTD
7070003 Pompe dir. assistée / Power steering pump OE 9645464980
4 Gorges Avec clim.
£ zr 4 Grogves 2.0 JTD 85hp 62/3kw 03/02- DW10 RHV

7076069 n~EW

‘

2104.5

OE 504184720

2.3JTD

F1AE0481C

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

61

LVIA



FIAT

<

o

Ducato 250.. 06-

7170026 Direction assistée / Power steering OE Part/oe 1359226080
1310
e
M16x150
2.2JTD 06/06- BVM 250AAMFAAR /AAX 250BAMFAAX 250CAMFAAX 4HV
2.3JTD 06/06- BVM 250ACMFAAX 250BCMFAAX 250CCMFAAX F1AE0481D
7170025 Direction assistée / Power steering OE Part/oe 1359225080
Assistance Variable
1310
@
iE M14x150
M12x150
2.3JTD 06/06- BVM 250ACMFAAX 250BCMFAAX /AAY1 250CCMFAAX /MFAAY F1AE0481D
3.0JTD 06/06- BVM 250ADMFAAR /AAX 250BDMFAAX 250CDAFAAXI1 /MFAAX FICE0481D
2750007 Protecteur de direction / Steering protector OE Part/oe 77364254
2.2 JTD 16v. 100hp 74kw 07/06-
oot 23 JTD 16v. 120hp 88kw  07/06-
3.0JTD 16v. 155hp 116kw  07/06-
7076069 NEW Pompe dir. assistée / Power steering pump OE 504184720
7 Gorges 2.3 JTD 120hp 88kw F1AE0481D
@ ZF 7 Grooves
@90
Fiorino VU
2750004 Protecteur de direction / Steering protector OE Part/oe 77364571
1.3JTD  01/08- 199A2000
m 1.4i 01/08- TU3A/JP (KFV)
Scudo...
7006093 Direction assistée / Power steering OE 1315183080
ves 1.6 01/95-12/03
[&] rw | 1.9D 01/95-12/03
F= 1.9TD 01/95-12/03
e 2.0i 16v.  01/95-12/03
MI4%150 | | gt MoxI0 ] 20JTD  01/95-12/03
M18x150
0664414 Protecteur de direction / Steering protector OE 9404066418
1.6 01/95-
19D 01/95-
m 19TD  01/95-
2.0i 16v.  09/00-04/07
2.0JTD 09/00-04/07

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

62




M16x150

_—

‘ S

M14x150

..Scudo
7070001 Pompe dir. assistée / Power steering pump
@ 6 gorges
ZF 6 Grooves
N 125
7070002 Pompe dir. assistée / Power steering pump
6 Gorges
=5 zF 6 Grooves
2113
7070038 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
2125
Talento
7006090 Direction assistée / Power steering
1316
G trw | ‘
o——

2750004

7076070

7076075 NEW

=5 zF

—

M16x150

FORD
B-Max

Protecteur de direction / Steering protector

C-Max

Pompe dir. assistée / Power steering pump

6 Gorges

o118

118

OE -
1.9 TD 90hp 66kw  02/96-
1.9 TD 90hp 66kw  02/96-
2.01 16v. 09/00-

2.0 JTD 95hp 70kw 12/99-
2.0 JTD 110hp 80kw 12/02-

OE -

1.9 TD 90hp 66kw  02/96-
1.9 TD 90hp 66kw  02/96-
2.0 JTD 95hp 70kw  12/99-
2.0 JTD 110hp 80kw 12/02-

OE 9633817680
2.0i 16v. 11/01-04/07 EW10J4
2.0JTD 02/99-04/07 DWI10ATED/4
2.0JTD 02/00-04/07 DWI10BTED

OE 9791300380

TT /all models 01/90-

OE Part/oe 1545456

1.0 Turbo  08/08/12-

1.4i 08/08/12-

1.5TDCi  08/08/12-

1.6 08/08/12-

1.6 TDCi 08/08/12-
OE 1306888

1.6 16v. -30/03/04 HWDA/B
OE 1470514

1.61 16v.  03/07-09/10 HWDA/B HXDA

SHDA/C
1.81 16v.  03/07-09/10 Q7DA

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

63

LVIA

ao4d



FORD

<

7006064

Cougar

| [ vIsTEON

Go——
M16x150

9006074

9006740

9006041

P
1/2x20 Pouces

9006042

)

UNF5/8-18]

i

UNF5/8-18]

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Escort...

Direction mécanique / Steering gear

——M—

Direction mécanique / Steering gear

R W

9006042B en boite/ in box

7006065

Direction assistée / Power steering

1225

= rrw |

Go——
M14x200

7006068

Direction assistée / Power steering

1220

= VISTEONl

o
M14x200

9006063

ﬂi\mmmu

H

A

UNF5/8-18

i

UNF5/8-18

Protecteur de direction / Steering protector

DNA

OE 7294407

TT /all models Jante 14 pouces
sauf 2.5V6

OE 3904122
2.01 10/98-15/09/00
2.5V6 10/98-15/09/00
OE 4775683
2.0 15/09/00-07/01
2.5V6 15/09/00-07/01
OE 6185332
TT /all models 01/86-08/90
OE 3945113
TT /all models 09/90-12/94
1.3 01/95-08/95

OE 5026739

TT /all models 09/91-01/95

OE 4046331
TT /all models 01/96-
Sauf 1.8TD

OE 6935233
Sauf Break
1.1 -01/95
1.3/i -08/00
1.4 -01/95
1.6 -01/95
1.8 -01/95
1.8 D -01/95
1.8 TD -01/95

05/99-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

64




<

9006077

9006072

9006077

7076053

7076020

7076052

..Escort

Protecteur de direction / Steering protector
DA

Protecteur de direction / Steering protector

Protecteur de direction D/ Right steering protector

DA

Pompe dir. assistée / Power steering pump

i
38
56

9 7

0 44

Pompe dir. assistée / Power steering pump
@16

OE 6182818
1.1 Sauf Break -01/95
1.3 Sauf Break -01/95
1.4 Sauf Break -01/95
14 01/95-
1.41 07/94-01/95
1.6 Sauf Break -01/95
1.6 01/95-
1.61 10/92-01/95
1.8 Sauf Break -01/95
1.8 01/95-
1.81 10/92-01/95
1.8D TRW 10/92-
1.8 D Sauf Break -01/95
1.8 TD Sauf Break -01/95
1.8 TD 01/95-
2.0i RS 10/92-01/95
2.0RS 01/95-03/96
OE 4045250
1.3 Break DA -01/95
1.4 Break DA -01/95
1.6 Break DA -01/95
1.8 Break DA -01/95
1.8 D Break DA -01/95
1.8D DA Wuelfrath ~ 01/95-
1.8 TD Break DA -01/95
1.61 16v. 01/95-08/00
1.81 01/95-08/00
OE 6182818
2.0i Cosworth 4WD 05/94-10/98
OE 7363543
1.41 01/95-01/96
1.4i Clim. 02/96-
OE F5RC3A674GA
Avec clim.

1.8 D 60hp 44kw
1.8 TD 90hp 66kw

OE 4032437

1.8 TD

01/91-
01/95-

01/95-10/98

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

65

aaod



FORD

Fiesta 89-95 FA/B/V

9006040 Direction mécanique / Sicering gear OE 6163015
1.1 11/89-01/94
1.1 01/94-
1/2x%20 Pouces % 1.3 -03/92
14 11/89-01/94
1.4 01/94-
1.6 Sauf XR2 Turbo -08/91
9006040B en boite/ in box
7006070 Direction assistée / Power steering OE 1469241
1177 1.3 Navy /Newport 01/95-
| & vrsTeon| & 1.4 SX 01/95-
s | 1.8i XR2 01/95-
1/2x20h UNF =T | Wi b ig ?DN(%\I)\IIPO{\F it /N 8};32_
— . ia Newport /Navy =
U'NF5/8—18|
7006069 Direction assistée / Power steering OE 4088255
1.8 D Studio/Ghia 09/95-
== VISTEONl ‘
= s
M14x200 | LG
U ie
UNF5/8-18
9006072 Protecteur de direction / Steering protector OE 1012814
DA
1.3
1.4
1.81 XR2 01/94-01/96
1.8D
1.8 TD
7076057 Pompe dir. assistée / Power steering pump OE 4335044
F A\ 18D BVM
T B "
gl I
20 44
Fiesta 95-02 JB FA/B JA/V...
7006069 Direction assistée / Power steering OE 3937535
— E 1.2i 16v. 01/99-
1.3 Studio /Techno /Ghia 09/95-
| e vaszeon] ‘ ‘ — 13 01/99-
; i 1.4 Techno 09/95-
M14x200 | | il | @l 1.4i 16v. 01/99-
= 1.8 D Studio/Ghia 09/95-
unrs/8-18) 1.8 D 01/99-
1.8 TDdi 01/99-
7006070 Direction assistée / Power steering OE 1469241
1177 1.3 Navy /Newport
= VISTEONl 1.4 SX
O is= 1.6 Ghia Newport
1/2x20h UNF | [ }S B §R2
= 5 ewport
UNF5/8-18

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

66




<

o

9006072

9006063

7076060

7076061

7076054

7076044

7076057

7076052

..Fiesta 95-02 JB FA/B JA/V

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump
Reperes HDB /EX/BH/BS

9110

NEW Pompe dir. assistée / Power steering pump
Reperes HDB /HL/EZ

?, \ 6 Gorges
AR 6 Grooves

118

6 Gorges
6 Grooves

o111

2 - _
0
;é 2 8
[ Q
9 7
20

Pompe dir. assistée / Power steering pump
?16

56

1.3

1.2i 16v.
1.3

1.4i 16v.
1.61 16v.

1.2i 16v.
1.3i

1.4i 16v.
1.61 16v.

1.2i 16v.
1.4i 16v.

OE 1012814

DA 01/96-

DA 01/96-12/99
02/96-
02/00-

DA 01/96-08/99
09/99-
01/99-

OE 6935233
08/99-

OE 4153203

08/95-01/02
08/95-01/02
04/96-01/02
02/00-01/02

OE 1522127

08/95-01/02
08/95-01/02
04/96-01/02
02/00-01/02

OE 3751946

09/95-01/02
02/96-01/02

OE 4048773

L1T/V

1.31 50hp 37kw 60hp 44kw 08/95-01/02

1.8D

1.8D

OE 4335044

-04/00 BVM

OE 4032437

01/95-04/00

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

67

aaod



FORD

<

7006174

Direction assistée / Power steering

1227

Go——
M14x150

7076079

2750004

2750004

7006175

6 Gorges

o127

=

NEW  Pompe dir. assistée / Power steering pump

Fiesta 10/08-10/12

Protecteur de direction / Steering protector

Fiesta 11/12-

Protecteur de direction / Steering protector

Focus...
Direction assistée / Power steering

|EETRW

Go——
M14x200

9006077

Protecteur de direction / Steering protector

OE 1418651
1.3
1.4i 16v.
1.4 TDCi -10/05
1.6i 16v.
2.0ST 10/05-
OE 1755033
1.4 TDCi 30/11/01- F6JA/B
OE Part/oe 1545456
1.2i BVM SNJA STJA
1.2i 09/09- BVM SNJB STIB
1.4i 11/08- BVM RTJA
1.4i 03/10- BVM RTIB
1.4i SPJA /Zetec SE
1.4i 03/10- SPJC
1.4TDCi 10/08- BVM F6JD /Duratorq
1.6i 03/10- BVM HXIJB
1.6i 16v. BVM HXJA
1.6 TDCi BVM HHIC TZJA/B
1.6 TDCi DPF BVM HHID/E
OE Part/oe 1545456
1.01 12v. BVM P4JA/IB
XMJA/JB
1.01 Turbo BVM MIJE
1.0i Turbo BVM SFJA/IB
1.2i 16v. BVM SNIJB STJB
1.4i 16v. BVM SPIC
1.4i 16v. GPL BVM RTJB
1.5 TDCi FAP BVM UGIC
1.61 16v. BV Rob. IQJA
1.61 Turbo ST BVM JTJA
1.6 TDCi FAP BVM T3JA TZJA
OE 1323623

1.4i 16v. 75hp 55kw
1.61 16v. 100hp 75kw
1.81 16v.

1.8 TDdi 75hp 55kw
1.8 TDdi 90hp 66kw
1.8 TDCi 100hp 74kw
1.8 TDCi 115hp 85kw
2.0i 16v. 130hp 95kw

OE 6182818

1.4i 16v.
1.6i 16v.
1.8i 16v.
1.8 TDdi
1.8 TDCi 115hp 85kw
2.0i 16v.

01/99-09/04
01/99-12/04
01/99-12/04
04/00-09/04
02/99-12/04
08/02-12/04
01/01-12/04
10/98-07/03

-08/04
-08/04
-08/04
-08/04
-08/04
-08/04

68

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




< o

...Focus
9006072 Protecteur de direction / Steering protector OE 1012814
2.0i ST 04/02-09/04
9006077 Protecteur de direction / Steering protector OE 6182818
2.0i Turbo RS 10/02-11/04
7076019 Pompe dir. assistée / Power steering pump OE 4074608
Avec clim.
1.4i 16v. -21/01/02 FXDA/B/C/D
o118 1.6i 16v.  -21/01/02 FYDA/B/C/D/H
7076055 Pompe dir. assistée / Power steering pump OE 1467620
6 Gorges Avec clim.
6 Grogves 1.4i 16v. /Clipper ~ 02/02-11/04

©118.5

1.61 16v. /Clipper
1.81 16v. /Clipper
2.0i 16v. /Clipper

02/02-11/04
02/02-11/04

Sauf RS/ST 02/02-11/04
7076075 NEW Pompe dir. assistée / Power steering pump OE 1470514
6 Gorges 1.41 16v.  09/04-12/10 ASDA/B
= zF 6 Grooves 1.61 16v.  09/04-12/10 HWDA/B
o118 HXDA/B
1.61 16v.  09/04-12/10 SHDA/C
7076018 Pompe dir. assistée / Power steering pump OE 1151059
6 Gorges
6 Grooves
o118
1.8 TDdi 75hp 55kw Lynx 04/00-09/04 BVM BHDA/B D18TC
1.8 TDdi Clipper 75hp 55kw Lynx 04/00-03/03 BVM BDHA/B
1.8 TDdi 90hp 66kw Lynx 02/99-09/04 BVM CI9DA/B/C
1.8 TDdi 90hp 66kw Lynx Clipper 02/99-12/04 BVM CI9DA/B/C
1.8 TDCi 100hp 74kw Duratorq Lynx 08/02-09/04 BVM FFDA
1.8 TDCi Clipper 100hp 74kw Duratorq Lynx 08/02-12/04 BVM FFDA
1.8 TDCi 115hp 85kw Duratorq Lynx 01/01-09/04 BVM FODA
1.8 TDC:i Clipper 115hp 85kw Duratorq Lynx 03/01-12/04  BVM FODA
Fusion...
7006174 Direction assistée / Power steering OE 1418651
S5 1.41 16v.  07/10/02-10/05 BVM /Pilotée
1.4 TDCi 07/10/02-10/05  BVM /Pilotée
1.61 16v 07/10/02-10/05 BVM

Lo
M14x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

69

aaod



FORD

...Fusion
7076079 NEW Pompe dir. assistée / Power steering pump
@127
Galaxy
7006151 Direction assistée / Power steering
1031
[ TR g
o M18x150
M16x150
7176029 Direction assistée / Power steering
1030
] Trw |
e M18x150
M16x150
9006080 Protecteur de direction / Steering protector
7076071 ~NEW  Pompe dir. assistée / Power steering pump
g
=B-
2 1
18 36
Ka...
7006070 Direction assistée / Power steering
1177
|[-EVISTEON|

Go——
1/2x20h UNF

‘ 3 4 UNF5/8-18
v . .mg—b
UNFS/B—IJ

7176041 Direction assistée / Power steering
1185
| [ visTEON ‘
o——
1/2x20h UNF | UNF5/8-18
=
UNF5/8-18

OE 1755033

1.4 TDCi 30/11/01- F6JA/B

OE 1092384

1.9 TDi 90hp 66kw 110hp 81kw

-03/00
2.0 -03/00 BVM BVA
2.3i16v.  -03/00 BVM BVA
2.8 VR6  -03/00 BVM BVA
OE 1205998

1.9 TDi 15/04/00-31/08/06
20 15/04/00-31/08/06 BVM
23 15/04/00-31/08/06
2.8 V6 24v. 15/04/00-31/08/06

OE 7398680

1.9 TDi 90hp 66kw  -03/00
1.9 TDi 110hp 81kw  -03/00

2.0 -03/00 BVM BVA
2.3i 16v. -03/00  BVM BVA
2.8 VR6 -03/00 BVM BVA
OE 1113038
1.9 TDi 01/09/99-31/08/06
OE 4004054
1.3 15/09/96-04/04
OE 1354155
1.61 03/03- BVM CDB/C

70

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




o

...Ka
9006072 Protecteur de direction / Steering protector
9006063 Protecteur de direction / Steering protector

7076061 ~gW Pompe dir. assistée / Power steering pump
Reperes HDB /HL/EZ

7076060 Pompe dir. assistée / Power steering pump
Reperes HDB /EX/BH/BS

6 Gorges
6 Grooves

110

7076044 Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

9111

Mondeo...

7006064 Direction assistée / Power steering
| £ vasmeon|

r——

M16x150
7176030 Direction assistée / Power steering

Assistance variable
1278
| [5] visTEON i g
—— .

M16x150

9006074 Protecteur de direction / Steering protector

OE 7138554
1.31 sauf Déclic (4cv) 10/96-
OE 6935233
1.31  Série Déclic (4cv) 10/96-
1.61 03/03-10/08
OE 1522127
1.31 06/98-10/02
OE 4153203
1.31 06/98-11/08
OE F7/RC3A674BC

1.31 60hp 44kw /EFi  10/96-09/02

BVM HCS J4
1.31 70hp 52kw /EFi  09/02-

BVM HCS A9A A9B
1.31 EFi 60hp 44kw 15/05/99-14/10/02 J4
1.31 EFi 70hp 52kw 15/05/99-14/10/02 A9A/B

OE 7294407
Jante 14 pouces
TT /all models 01/92-12/97
OE 1205918
2.0 TDDI 90hp 66kw 09/00-06/07
2.0 TDDi 115hp 85kw 09/00-06/07
2.0 TDCi 130hp 95kw 09/00-06/07
2.2 TDCi 07/04-04729
2.51 V6 24v. 170hp 125kw  09/00-06/07
3.01 V6 04/02-19/03/07
OE 3904122
1.61 16v. 01/93-
1.81 16v. 01/93-
1.8 TD 01/93-
2.0i 16v. 01/93-
2.51 V6 [24v. 07/94-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

71

aaod



FORD

..Mondeo
9006740 Protecteur de direction / Steering protector OE 4775683
1.8i SCi /Clipper 06/03-
1.8i 16v. 110hp 81kw 125hp 92kw /Clipper 01/01-
2.01 16v. 145hp 107kw /Clipper 01/01- BVM BVA
2.0 TDDi 90hp 66kw /Clipper 01/01-
2.0 TDCi 115hp 85kw 130hp 96kw /Clipper 01/01- BVM BVA
2.2 TDCi 155hp 114kw /Clipper 07/04-06/07
2.51 V6 170hp 125kw /Clipper 01/01-
3.01 ST /Clipper 04/02-
7076038 Pompe dir. assistée / Power steering pump OE F33CA674BA

6 Gorges
6 Grooves

0122.5

1.61 16v. 88hp 65kw 90hp 66kw 02/93-08/96
1.6i 16v. Clipper 90hp 66kw 04/93-08/96
1.8i 16v. 112hp 82kw 115hp 85kw 02/93-08/96
1.81 16v. 4WD 115hp 85kw 02/93-08/96
1.81 16v. Clipper 115hp 85kw 04/93-08/96
2.0i 16v. 136hp 100kw 02/93-08/96
2.0i 16v. Clipper 136hp 100kw 04/93-08/96
2.0i 16v. 4WD 130hp 96/7kw 12/94-08/96
7076047 Pompe dir. assistée / Power steering pump OE 1097743
5 Gorges 1.8 TD 06/93-08/96
% rvgies 1.8TD  09/96-11/00
263
Orion...
9006041 Direction mécanique / Sieering gear OE 6185332
TT /all models 01/86-08/90
Opo—— é
1/2x20 Pouces
9006042 Direction mécanique / Sieering gear OE 3945113

TT /all models 09/90-12/94
(35 d

9006042B en boite/ in box

7006065 Direction assistée / Power steering OE 5026739
TT /all models 09/91-01/95
1225
| [ rw g

Go——
M14x200

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

72




...0Orion
9006063 Protecteur de direction / Steering protector OE 6935233
DNA
1.3 -01/95
1.4 -01/95
=1 16 /16v. 01193
1.8 -01/95
1.8D -01/95
1.8 TD -01/95
9006077 Protecteur de direction / Steering protector OE 6132813
DA
1.3 -01/95
14 -01/95
w 1.6 /16v. 01795
1.8 -01/95
1.8D -01/95
1.8 TD -01/95
Puma
7006069 Direction assistée / Power steering OE 1012806
1190 g 1.41 16v. 01/96-
= VISTEONl “ ‘ 1.71 16v. 04/99-
- ~4i g (s
M14x200 ' | [EHEaEES 8
=
UNF5/8-18
Scorpio
7006063 Direction assistée / Power steering OE 5023572
1270 TT /all models 05/85-04/89
Fzr 4 Sauf 4WD
s =
M14x200
R -
9006077 Protecteur de direction / Steering protector OE 6182818
DA
2.0/16v. 01/86-
m 2.0i/16v. 01/86-
Sierra
7006063 Direction assistée / Power steering OE 5023570
$55 TT /all models 05/87-07/93
I=lzE / Sauf 4WD
e 1=
M14x200
A ———
7006067 Direction assistée / Power steering OE 6140559
1556 TT /all models 08/89-07/93
F=E Sauf 4WD
o F—
M14x200

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

aaod




FORD

<

[ = |
‘ UNF5/8-18
j
UNF5/8-18|

StreetKa
7176041 Direction assistée / Power steering
1185
| [ visTEON |
O——
1/2x20h UNF
9006072 Protecteur de direction / Steering protector
Courier...
9006040 Direction mécanique / Sieering gear
—-——M
1/2x20 Pouces

9006040B  en boite/ in box

7006070 Direction assistée / Power steering
1177
[=] visTEON -

o——
1/2x20h UNF

M

R

g

F5/8-

18
UNF5/8-18]

i

OE 1354155
1.61 01/03-12/05 BVM CDRA
1.61 01/03-12/05 BVM CDRB
OE 4045250
1.61 01/03-12/05 BVM CDRA
1.61 01/03-12/05 BVM CDRB
OE 6163015

TT /all models 01/89-01/94

OE 4004054

TT /all models 01/94-12/96

OE 3937535

01/96-
8D 01/96-

—_—
o0 W

OE 6935233

7006069 Direction assistée / Power steering
1190
[5=q visTEON | ‘ g
= - , L i=
M14x200 S _ @
5 .1 l—’
UNF5/8-18
9006063 Protecteur de direction / Steering protector
9006072 Protecteur de direction / Steering protector
DA
7076060 Pompe dir. assistée / Power steering pump

Reperes HDB /EX/BH/BS

6 Gorges
6 Grooves

o110

DNA
DNA
DNA

01/89-07/01
01/89-10/96
10/96-07/01
04/00-09/02

1.3i

OE 4045250

01/89-
01/89-

OE 4153203

02/96-

74 Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




o

..Courier
7076061 NEW Pompe dir. assistée / Power steering pump
Reperes HDB/HL/EZ
Transit
7006062 Direction assistée / Power steering
1473
5 zr
e
M16x150
7006177 Direction assistée / Power steering
1490
] Trw |
o r——
M16x150
9006075 Protecteur de direction / Steering protector
Empattement 2835mm
9006073 Protecteur de direction / Steering protector
2756029 ~EW  Protecteur de direction / Steering protector
m
2756030 NgW  Protecteur de direction / Steering protector
o
7076063 Pompe dir. assistée / Power steering pump

OE 1522127
1.31 02/96-
OE 1044673
TT /all models 10/85-15/08/94

2.0 15/08/94-08/00

2.5 Di 70hp 51kw ~ 76hp 56kw
15/08/94-08/00

2.5 TD 85hp 63kw  15/08/94-08/00 BVM BVA

2.5 TD 100hp 74kw 15/08/94-08/00

OE 4557891

2.0 TDDi 75hp 55kw  85hp 63kw 100hp 74kw
15/01/00-17/12/06
08/00-09/06
15/01/00-17/12/06

2.0 TDCi 125hp 92kw
2.31 16v. DOHC

2.4 TDDi VU 15/01/00-17/12/06
2.4 TDCi 08/04-09/06
OE 6160070
2.0 01/92-10/94
2.0 01/92-10/94
25D 01/92-10/94
2.5TD 01/92-10/94
OE 6869950

01/92-10/94
10/94-08/00
01/92-10/94

2.0 Empattement 3570 mm
2.0 DA
2.01 Empattement 3570 mm

2.5D Empattement 3570 mm 01/92-10/94
25D DA 10/94-08/00
2.5Di/VP 10/94-08/00

2.5 TD Empattement 3570 mm 01/92-10/94
2.5TD DA 10/94-08/00

OE 4059921
2.0 TDCI 15/01/00-17/12/06
2.0 TDDi 08/00-09/06

2.31 15/01/00-17/12/06

2.4 TDCI 08/04-09/06
2.4 TDDi 15/01/00-17/12/06
OE 4059922
2.0 TDCI 15/01/00-17/12/06
2.0 TDD1 08/00-09/06
2.31 15/01/00-17/12/06
2.4 TDCI 08/04-09/06
2.4 TDDi 15/01/00-17/12/06
OE 1476372
2.0 TDDi 08/00-09/06
2.0 TDCi 04/02-09/06

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

75

aaod



IVECO

<

o

7006123

IVECO
Daily I -03/96

Direction assistée / Power steering

1277

] rw |

i
M16x150

7006049

S

e

‘
M16x150
—-— ==

M18x150

= rrw |

Gpo——
M16x150

2756022

7006049

T

M14x150

‘ s

-

M16x150

Protecteur de direction / Steering protector
DA

Daily I 04/96-05/99

] rw |

Lpo——
M16x150

2756022

7006048

—

Direction assistée / Power steering
‘ M14x150

—

M16x150

Protecteur de direction / Steering protector
DA

Daily II 05/99-03/06

Direction assistée / Power steering

|[ﬁzr

Go——
M16x150

1514 @

-—

M14x150

2756005

—

M16x150

Protecteur de direction / Steering protector

OE -

TT /all models 30-8

TT /all models 35-8/10/12
TT /all models 40-10/12
TT /all models 45-10

TT /all models 49-10/12
TT /all models 59-12

OE -

TT /all models 30-8/10
TT /all models 35-10/12
TT /all models 40-8/10/12
TT /all models 45-10/12
TT /all models 49-10/12

01/78-05/92
01/78-05/92
01/78-05/92
01/78-05/92

8140.27S
01/78-05/92
01/78-05/92

05/92-
05/92-
05/92-
05/92- 8140.27S
05/92-

TT /all models 59-12 05/92-
OE Part/oe 93161288
TT /all models 30.8/10 05/92-
TT /all models 35.10/12 05/92-
TT /all models 40.8/10/12 05/92-

TT /all models 45.10/12
TT /all models 49.10/12
TT /all models 59.12

OE -

TT /all models 30.8/10
TT /all models 35.10/12
TT /all models 40.8/10/12
TT /all models 45.10/12
TT /all models 49.10/12
TT /all models 59.12

05/92- 8140.27S
05/92-
05/92-

8140.27S

OE Part/oe 93161288

TT /all models 30.8/10
TT /all models 35.10/12
TT /all models 40.8/10/12
TT /all models 45.10/12
TT /all models 49.10/12
TT /all models 59.12

OE -

8140.27S

TT /all models 29L-9/10/11/12/13/14
TT /all models 35S-9/10/11/12/13/15

2.8 D 35C-9/10/11/12/13/15
2.8 TD 35C-9/10/11/12/13/15
2.8 TD 50C 11/13/15 65C15

OE 2992592

TT /all models

76

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

LANCIA
Dedra
7006055 Direction assistée / Power steering
1110
=] W |
i M14x150
M12x150
7176002 Direction assistée / Power steering
1108
5] trw | @
e M14x150
M12x150
Delta
7006055 Direction assistée / Power steering
1110
|[ﬂTRW |
Sl M14x150
M12x150
Lybra
7076005 Pompe dir. assistée / Power steering pump
44
Thema
7006054 Direction assistée / Power steering
1131
[ TRW
i M14x150
M12x150
7006057 Direction assistée / Power steering
1130
] Trw | ‘
M12x150 ;ﬁm M14x150
M12x150
Y (Epsilon)
7006058 Direction assistée / Power steering
Course 134mm
1037
[F] Trw @
M12x150 | [=======ff{{{{{{{ N il
M12x150

OE 7772652
TT /all models 04/89-
Sauf 1.6
OE 7648758
1.61 04/93-07/99
1.81 10/92-09/94
1.9 TDs 12/90-09/99
2.0ie 11/89-07/99
OE 7772652
1.6 01/93-
1.8 115hp 83kw 01/93-
2.0i 16v. 01/93-
OE 46534757

1.9 JTD berline break CEE3
2.4 JTD berline break CEE3

OE 82452738
TT /all models 10/84-

OE 82480948
2.0i /16v. /Turbo 01/88-01/92
2.5 TDS 01/88-01/92
2.81 V6 01/88-01/92
3.0i Vb 08/92-

OE 46480616
1.2 Epsilon 01/96-12/00
1.2i8v.Y 09/00-10/03
1.21 16v.Y 09/00-10/03
1.4 Epsilon 01/96-12/00

BVM BVA

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

77

VIONV'I



LANCIA

LAND ROVER

MAZDA

<

o

Zeta
7006093 Direction assistée / Power steering
1283
[5 Trw ‘ E
M14x150 [T MEexTH0
M18x150
7070038 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
9125
LAND ROVER
FreeLander
7006042 Direction assistée / Power steering
905
[ trw Y
TH‘.;. -«
- Ar’g—'& M14x150
& 0N ' M16x150
MAZDA
121
7076044 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
o111
7076057 Pompe dir. assistée / Power steering pump

44

56

OE 1315183080

2.0 Turbo 04/95-09/00
OE 9633817680

2.0JTD -04/02 DWI10ATED/4
OE QAB000314

1.8i 16v. 4WD -10/06

2.0 Di -10/06

2.0TD 4WD -10/06

2.514WD -10/06
OE F7RC3A674BC

1.31 50hp 37kw 60hp 44kw  03/96-
OE 1415741

1.8D 03/96- BVM

78

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

MERCEDES
Classe A (168) 07/97-

7006161 Direction assistée / Power steering OE 168460350080
Soufflet large BVM BVA
— 1.41 140 -09/04
1.4i 140 Family ~ 01/01-09/04
ol - 1.6i 160 -09/04
1.7 CDi 160 03/01-09/04
M12x150 LGl 1.7 CDi 170 -09/04
= 1.7 CDi 170 Family 01/01-09/04
M18x150 1.91 190 -09/04
1.9i 190 Family ~ 01/01-09/04
2.1i 210 03/01-09/04
2.1i 210 Family ~ 01/01-09/04
7176055 Direction assistée / Power steering OE 1684602000
Soufflet normal
1135 1.4i 140 -09/04
Hzr 1.6i 160 -09/04
= 1.7 CDi 160 -09/04
= M16x150 1.7 CDi 170 -09/04
M —  1.9i 190 -09/04
2.1i 210 -09/04
M18x150
Classe C (202) 03/93-
7956001 Barre d'accouplement / Center link OE 2024600405
1.8i 180 GPL 06/93-05/00
2.0i 180 200 GPL 06/97-05/00
2.01 200 /Komp /Break 01/94-05/00
2.0 D 200 /Break 07/93-05/00
2.2i 220 06/93-07/96
2.2 D 220 06/93-01/99
2.2 CDi 200 220 /Break 07/98-05/00
2.31 230 /Komp /Break 09/95-05/00
2.4i 240 /Break 06/97-05/00
2.5 D 250 /Break 05/93-05/00
2.5 TD 250 /Break 09/95-05/00
2.8i 280 06/93-05/00
3.61 C36 AMG 05/94-05/00
4.3i C43 AMG /Break 01/98-05/00 BVA
Classe C (203) 05/00-
7006158 Direction assistée non paramétrique / Non parametric power steering OE 2034601100
1.81 180 200 230 Komp. -03/04
—_— 2.0i 180 200 -03/04
=lzE 2.1 CDi200/220 4ptes /Break ~ -03/04
2.1 CDi 200 220 Coupé -05/04
= 2.61 V6 240 4ptes /Break -03/04
Midx1a0 2.7 CDi 270 4ptes -03/04
2.7 CDi 270 Break -03/04 BVM
3.0 CDi AMG 09/02-03/04
3.21320V6 -03/04
7006159 Direction assistée paramétrique / Parametric power steering OE 2034601300
1.81 180 Komp. 4ptes -03/04
1.81 200 Komp. 4ptes /Break -03/04
1130 2.0i 180 4ptes -03/04
SE 2.0i 180 Break -05/02
= 2.1 CDi 200/220 4ptes -03/04
m M16x150 2.1 CDi 220 Coupé -09/03
= 2.1 CDi 200 220 Break -ch F593966
Tt 2.61 V6 240 4ptes -03/04
2.7 CDi 270 4ptes -03/04
2.7 CDi 270 Break -03/04 BVM
3.21320 V6 -03/04

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

79

SHAAO AN



MERCEDES

<

o

7006159

Classe CLK Coupé (209) 06/02-

Direction assistée paramétrique / Parametric power steering

1130

=zr |

Go——
M14x150

-~

M16x150

o

M18x150

-ch F123374

1.81 200 Komp.
2.2 CDi

2.6i 240

2.7 CDi 270
3.0i 280

3.0 CDi 320
3.21 320 4WD
3.51 350

5.0i 500

5.51 600

Classe E (210) 06/95-03/03

7006160 Direction assistée non paramétrique / Non parametric power steering

1152 l é

= zr
S M14x150
M16x150
2756021 Protecteur de direction / Steering protector
DA non paramétrique
E zr “
Classe V (638) 10/96-
9006081 Protecteur de direction / Steering protector
Sprinter
7006050 Direction assistée / Power steering
1455
[ trw é
Slvsim M14x150
M16x150
7076032 Pompe dir. assistée / Power steering pump
5 Luk =FI— /O
=l § ™ 10
7| ]-
16 43
Vito...
7006051 Direction assistée / Power steering
1373
|£ﬁ TRW | ‘ ‘ é
M16x150 [— L & N { M14x150

—

M16x150

TT /all models

TT /all models

2.0 200

2.2 CDi 200 220
2.31230

2.3TD 230
2.81280

TT /all models

2.3 D 208 308 408

29D 212D 312D 412D

TT /all models

OE 2034601300

04/05-

04/05-
04/05-

04/05-

09/06-

OE 2104602400

OE 2104602300

OE 9014605500

02/97-07/03
03/99-07/03
10/96-10/03
09/96-10/03
08/97-10/03

OE -

06/95-12/00

OE 0034660701

01/95-12/00

OE 6384603000

02/96-09/03

01/95-12/00

638

80

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




...Vito
7176042 Direction assistée / Power steering OE 6394601200
1302
[
G ra—
M16x150
2.1 CDi 109 06/06- BVM BVA 639 646980
2.2 CDi 109 4WD 10/03-09/06 BVM 639 646983
2.2 CDi 111 115 /4WD 10/03- BVM BVA 639 646982
3.00119 10/03-09/07 BVA 639 112951(190)
3.0 CDhi 02/06- BVA 639 642990
3.2i 122 10/03-01/05 BVA 639 112951(217)
3.7 06/04-09/07 BVA 639 112976
9006081 Protecteur de direction / Steering protector OE 9014620096
2.0i113 114 04/96-10/03
2.2 CDi 108 02/00-10/03
22CDi 110/ VP  02/00-10/03
w 2.2 CDi 112 02/00-10/03
2.3i 114 12/96-10/03
23D 108 /VP 04/96-10/03
23TD 110/VP  04/96-10/03
7076032 Pompe dir. assistée / Power steering pump OE 0034660701
23D 04/96-02/00 601942
54 Luk
7076040 OE 0024662301
23D 04/96-
54 Luk s 23TD 110 02/96-
1
17
MINI
Mini I R50 R53 06/01-09/06...
7006014 Direction assistée / Power steering OE 32106777524
1.61 16v. One 90hp 66kw
Her g 1.61 16v. Cooper 115hp 85kw
= 1.61 16v. Cooper S 165hp 120kw 170hp 125kw
e — 06/02-
M16x125 M1 1.6 16v. JCW 210hp 155kw 03/05-
M16x150
9006704 Protecteur de direction / Steering protector OE 32136756757

1.4 D One 75hp 55kw 90hp 65kw 06/03-
1.61 16v. One 90hp 66kw

m 1.6i 16v. Cooper 115hp 85kw
1.61 16v. Cooper S 165hp 120kw  06/02-07/04

1.61 16v. Cooper S 170hp 125kw 07/04-09/06
1.61 16v. Works

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

81

SHAAO AN

INIIN




MINI

ini I RS0 RS3 06/01-09/06

7076072 NEW  Pompe dir. assistée / Power steering pump OE 32416763557
1.4D IND/TV
=5 zF
43
7076077 NEW Pompe dir. assistée / Power steering pump OE 32416778425
1.6i 16v. WI10/11B16A
Mini Cab. R52 -02/09
7006014 Direction assistée / Power steering OE 32106777524
1.6i 16v. One 90hp 66kw
[ zr 1.61 16v. Cooper 115hp 85kw
= 1.61 16v. Cooper S 170hp 125kw
— 1.6i 16v. JCW 210hp 155kw 03/05-
S s M14x150 p
M16x150
9006704 Protecteur de direction / Steering protector OE 32136756757
1.6i 16v. One 90hp 66kw BV5
1.61 16v. Cooper 115hp 85kw BVM
w 1.6 16v. Cooper 115hp 85kw BV Séqu.
1.6i 16v. Cooper S 170hp 125kw BV6 BVA
1.61 16v. JCW 210hp 155kw 03/05-03/09 BVM
7076077 Pompe dir. assistée / Power steering pump OE 32416778425
1.61 16v. WI10/11B16A
B =z

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

82




NISSAN
Almera
7006162 Direction assistée / Power steering
1150 1.41 16v.
[ Trw | 1.61 16v.
o M14x150
M16x150
7006163 Direction assistée / Power steering
Trou support @12
1160
G trw | @
s e M14x150
. M12 =
M16x150
1.51 16v. 90hp 66kw 3/5ptes 04/00-08/02 QG15
1.51 16v. 100hp 72kw 3/5ptes  09/02-12/05 QG15
1.81 16v. 115hp 85kw 3/5ptes ~ 04/00-12/05 QG18
2.2 D VDi 110hp 81kw 3/5ptes  04/00-12/05 YD22
2.2 DCi 136hp 100kw 3/5ptes  04/03-12/05 YD22
7176003 Direction assistée / Power steering
1195 2.0D
[ TRw
S M14x150
M16x150
2756014 Protecteur de direction / Steering protector
1.51 16v. 04/00-12/05 BVM5
1.5 DCi 01/03-12/05 BVM5
1.81 16v. 04/00-12/05 BVMS5 BVA4
2.2 DCi 04/03-12/05 BVM6
2.2VDi 04/00-12/05 BVM5
7076073 NEW Pompe dir. assistée / Power steering pump
1.51 16v.
5 zF 1.81 16v.
@119
Almera Tino
7006164 Direction assistée / Power steering
Trou support @14
2.01 16v.
1220 2.2 VDi

<—

P —
M14x150 M14x150

—

M16x150

OE 490011M210

-03/00
-03/00

OE 49001BNO013

OE 490011M220

10/95-04/98

OE 48203BM400

QGI15DE
K9K260/70
QG18DE
YD22
YD22

OE 49110BM701

04/00-09/02
04/00-09/02

OE 4900140200

07/00-04/03
07/00-04/03

QG15DE
QG18DE

SR20DE
YD22DDTI

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

83

NVSSIN



NISSAN

7176035

Micra
Direction assistée / Power steering

1125 é

OE 490011F705

1.0i 16v. 60hp 44kw 09/00-03/03
BVM BV Séq. K11 CG10DE

FSETE L 1.5D 57hp 42kw 60hp 42kw 09/00-03/03
BVM K11 TDI15VJZ TUDS
M12x125 A i | [EETEECEY 1.5 D 60hp 42kw 09/00-03/03
- BVM K11 TU5SD VJX
M16x150
9006742 Protecteur de direction / Steering protector OE 48203AX600
1.2i 16v. 11/02- BVM BVA K12
1.4i 16v. 11/02- BVM BVA K12
SN 1.5 DCi 11/02- BVM BVA K12
1.61 16v. /Cab. 07/05-11/07 BVM BVA K12
7076074 NEW Pompe dir. assistée / Power steering pump OE 491106F800
1.5D 02/98-03/03 TD15
5 Gorges
5 Grooves
2109
Primera
7176003 Direction assistée / Power steering OE 490012F901
1165 1.6 16v. /Break 06/96-07/02 P11
|Jﬁ TRW | 1.8 16v. /Break 08/99-07/02 P11
= 2.0 16v. 130hp 96kw Break
Oo— e 06/96-07/02 P11
M12x125 2.0 16v. 150hp 110kw
= 06/96-07/02 BVM P11
M16x150 2.0 TD /Break 06/96-07/02 BVM P11
7006052 Direction assistée / Power steering OE 4900183J10
1195 2.0i/16v. 10/90-12/95 P10
|,[ﬁ TRW | A ‘
L i=
e
M12x125 M@w . M14x150
U i=
M16x150
2756014 Protecteur de direction / Steering protector OE 48203BM400
1.6i 16v. 03/02-04/06 BVM5 OG16DE
1.8i 16v. 03/02-12/06 BVMS5 BVA4 OGI18DE
1.9 DCi 07/03-12/06 BVM6 FO0O
2.01 16v. 06/02-12/06 BVMG6 /Séa. OR20DE
2.2 DCi 03/02-12/06 BVM6 YD22
7076041 Pompe dir. assistée / Power steering pump OE 491102F600
Courroie profil trapezoidal
2.0 TD 06/96-03/02 CD20T
=5 zF
NV 400
7174035 NEW  Direction assistée / Power steering OE 490018112R

2.3 DCi
2
o=

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

84




o

OPEL
Agila
9006069 Protecteur de direction / Steering protector

Ascona C
7006072 Direction assistée / Power steering
2 soufflets séparés

830 Eé%

_—

M14x150

—

M16x150

Astra F...
7006074 Direction assistée / Power steering

Soufflets 1 seule partie
860

| [ sacInaw

-«

M18x150

-

M16x150

7006075 Direction assistée / Power steering
Dir. moderne Soufflets 1 seule partie

:

o

M18x150

—

M16x150

7006072 Direction assistée / Power steering
2 soufflets séparés
830
[Gfze | . é

T=

M14x150

e

M16x150

9006714 Protecteur de direction / Steering protector
DNA

9006713 Protecteur de direction / Steering protector
DA

OE 47001740

1.0i 12v.  01/00- Z10XE

1.2i 16v.  01/00- Z12XE
OE 900267

TT /all models 09/84-01/92
OE 900256

TT /all models 09/91-12/98
OE 900272

TT /all models 09/91-12/98
OE 900336

TT /all models 01/92-12/98

Sauf GT Sport GSi

OE 902829
1.4 /Break 09/91-
1.41 16v. /Break 09/91-
1.61 /Break 09/91-
1.61 16v. /Break 09/91-
1.7D 09/91-

OE 1609076
1.4 /Break 09/91-04/98
1.4i 16v. /Break 09/91-04/98
1.61 /Break 09/91-04/98

1.61 16v./ Break
17D

1.7 TD /Break
1.81

1.81 16v. Break
2.0i/16v.

2.01 16v. Break

09/91-04/98
09/91-04/98
09/91-04/98
09/91-04/98
09/91-04/98
09/91-04/98
09/91-04/98

X18
X20XEV

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

85

THdO



OPEL

<

..Astra F
7076012 Pompe dir. assistée / Power steering pump OE 948040
6 Gorges
6 Grooves
0137
1.4i 60hp 44kw 07/94-03/98 BVM Cl14NZ
1.4i 80hp 60kw 10/91-12/95 BVM Cl14SE
1.4i 16v. 90hp 66kw 01/96-03/98 BVM BVA  X14XE
1.6i 100hp 74kw 01/92-06/94 BVM BVA  CI16SE
1.6i 16v. 100hp 74kw 07/94-03/98 BVM BVA  X16XE X16XEL
1.7 TD 70hp 50kw 07/94-09/98 BVM X17DTL
1.8i 16v. 125hp 92kw 07/93-06/94 BVM CI8XE
2.0i 16v. 136hp 100kw 07/95-03/98 BVM BVA  X20XE X20XEV
2.0i 16v. GSi 150hp 110kw 01/92-06/95 BVM C20XE
7076034 Pompe dir. assistée / Power steering pump OE 948038
1.4i 80hp 60kw 10/91-06/94 BVM CI14SE
e 1.6i 100hp 74kw 01/92-06/94 BVM BVA
= ] Cl6SE
SR+ :
L5
20 47
7076033 Pompe dir. assistée / Power steering pump OE 948025
2.0i 16v. GSi 150hp 110kw  01/92-06/94
6 Gorges BVM C20XE
. 6 Grooves
2137
Astra G...
7006078 Direction assistée / Power steering OE 900363
1139
| [5 pELPHI | g
MO“:IldxlSO M16x150
M18x150
1.41 16v. 3/5ptes Break BVM X14XE
1.4i 16v. 3/5ptes Break Sauf dir. Delphi effort limité OE 900371 BVA X14XE
1.6i BVM BVA  Xl16 Z16
1.61 16v. 3/5ptes Break BVM BVA X16XEL
1.7 TD 3/5ptes Break X17DTL
1.7 DTi 3/5ptes Break Y17DTH -M Y2256499
1.8i 16v. BVM BVA  XI18XEl Z18XE
2.0i 16v. BVM BVA  X20XE Z20LE
2.0 Di 16v. 3/5ptes Break Sauf dir. Delphi effort limité OE 1609128 BVM BVA X/Y20DTL
2.0 DTi 16v. 3/5ptes Break Y20DTH -M Y2256499

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

86




..Astra G
7176005 Direction assistée / Power steering OE 900365
Génération 1
1130
= Trw |
MO"':Mx150 M16x150
| —
M18x150
1.41 16v. 3/5ptes Break BVM X14XE
1.41 16v. 3/5ptes Break BVA X14XE
1.6i BVM BVA X16 Z16
1.61 16v. 3/5ptes Break BVM BVA X16XEL
1.7 TD 3/5ptes Break X17DTL
1.7 DTi 3/5ptes Break Y17DTH -M 12000001
1.7 CDTi -ch'Y2256499 -Y5280068 -Y81376808 Z17DTL
1.81 16v. BVM BVA X18XE1 Z18XE
2.0i 16v. BVM BVA X20XE Z20LE
2.0 Di 16v. 3/5ptes Break BVM BVA X/Y20DTL
2.0 DTi 16v. -ch Y2256499 -Y 5280066 -Y81376808 Y20DTH
2.2i 16v. -ch Y2256499 -Y5280066 -Y81376808 Z22SE
2.2 DTi 16v. -ch Y2256499 -Y5280066 -Y81376808 Y22DTR
7006157 Direction assistée / Power steering OE 5900217
Génération 2
1139
5] mrw E
M@-:I14x150 M16x150
M18x150
1.41 16v. 3/5ptes Break 04/98-06/00 X14XE
1.6i 16v. 04/98- -ch 22999999 -25999999 -26999999 -28999999 X16XE Z16XE
1.7TD 10/98- -ch 22999999 -25999999 -26999999 -28999999 X17DT/DTL
1.7 DTi 3/5ptes Break Ch- 22000001 Y17DTH
1.7 CDTi 11/02- -ch 22999999 -25999999 -26999999 -28999999 Z17DTL
1.8i 16v. 07/98- -ch 22999999 -25999999 -26999999 -28999999 X18XE1 Z18XE
2.0 16v. Turbo 08/00- -ch 22999999 -25999999 -26999999 -28999999 Z20LET
2.0 Di 16v. 04/98- -ch 22999999 -25999999 -26999999 -28999999 Y20DTL X20DTL
2.0 DTi 16v. 3/5ptes Break Ch 22000001-22999999 Y20DTH
2.2i 16v. 08/00- -ch 22999999 -25999999 -26999999 -28999999 Z22SE
2.2 DTi Ch- 22000001 Y22DTR
9006750 Protecteur de direction / Steering protector OE 1609527
DA
Men -
1.4i 16v. /Break 04/98- X14XE
1.6i 04/98- X16 Z16
1.61 Break 04/98- X16SZR
1.6i 16v. 04/98- X16XEL Z16XE
1.6i 16v. Break 04/98- X16XEL
1.7 TD /Comm. 04/98- X17DTL
1.7 TD Break W 04/98- X17DTL
1.7 DTi /Break 04/98- Y17DTH
1.7 CDTi /Break 11/02-09/04 Z17DTL
1.8i 16v. Z18XE
1.8i 16v. /Break 04/98- X18XE1
2.0i 16v. 04/98- X20XE
2.0i 16v. Break 04/98- X20XEV/ER Z20LET
2.0i 16v. Turbo Z20LET
2.0 Di 16v. 04/98- X/Y20DTL
2.0 Di 16v. Break 04/98- X20DTL
2.0 DTi 16v. 04/98- Y20DTH
2.0 DTi 16v. Break 01/00- Y20DTH
2.2i 16v. Z22SE
2.2 DTi 04/98- Y22DTR
2.2 CDTi /DTi Break 04/98- Y22DTR

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

87

THdO



OPEL

<

Astra H
7176033 Direction assistée / Power steering OE 5900265
1130
== ~ g
o =
M14x150
1.3 CDTi Z13DTH
1.4i 16v. /Break Z14XEP
1.61 16v. /Break / Cab. BVM / Easy Z16XE/P/R
1.61 Turbo Cab. Z16LET
1.7 CDTi /Break BVMS5 BVM6 Z17DT/H
1.7 CDTi /Break BVM6 Z17DTR
1.81 16v. /Break / Cab. BVM BVA Z18XE/R
1.9 CDTi 120hp 88kw /Break Z19DT/]
1.9 CDTi 150hp 110kw Z19DTH
2.0i 16v. Sptes Z20NET
2.0i 16v. Turbo /Break / Cab. Z20LE/R
9006750 Protecteur de direction / Steering protector OE 1609527
DA
e -
1.3 CDTi 02/05- Z13DTH
1.3 CDTi Break 09/05- Z13DTH
1.4i 16v. /Break Z14XEP
1.6i 16v./ Break BVM Easy Z16XE/P
1.7 CDTi BV5BV6 Z17DT
1.7 CDTi Break BV5BV6 Z17DTH
1.8i 16v./ Break BVM BVA Z18XE/ER
1.9 CDTi 120hp 88kw 150hp 110kw Z19DT
1.9 CDTi 120hp 88kw 150hp 110kw Break Z19DT/TH/T]
2.0i 16v. Turbo Z20NET
2.0i 16v. Turbo /Break Z20L/EH/EL/ER
9006712 Protecteur de direction / Steering protector OE 1609153
DA
== -
1.3 CDTi 02/05- Z13DTH
1.3 CDTi Break 09/05- Z13DTH
1.4i 16v./ Break Z14XEP
1.61 16v. / Break BVM Easy Z16XEP/R Z16LET
1.7 CDTi BV5 BV6 Z17DT
1.7 CDTi Break BV5BV6 Z17DTH/TR
1.81 16v. /Break BVM BVA Z18XE/ER
1.9 CDTi 120hp 88kw 150hp 110kw/ Break Z19DT/TH/T]
2.0i 16v. Z20NET
2.0i 16v./ Break Z20LER Z20NET
2.0i 16v. Turbo Z20LEH/R/EL
Calibra...
7006074 Direction assistée / Power steering OE 900256
Soufflets 1 seule partie
860 TT /all models 01/89-
|[ﬁ SAGINAW

-«—

M18x150

=

M16x150

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

88




...Calibra

7006075

Direction assistée / Power steering
Dir. moderne Soufflets 1 seule partie

:

-

M18x150

—

M16x150

Corsa A

Direction mécanique / Steering gear

9006070

9006070B en boite/ in box
9006710 Protecteur de direction / Steering protector
DNA
1.0 -03/93
1.2 4 -03/93
1.3 -03/93
1.4 -03/93
1.5D/TD -03/93
1.6 -03/93
Corsa B...
9006071 Direction mécanique / Steering gear

9006071B en boite/ in box
7006071

Direction assistée / Power steering

1069

[

o
M12x150

:

_—

M16x150

7176007

Direction assistée / Power steering

1069

@Gml

Oo——
M12x150

—

M18x150

:

=

M18x150

—

M16x150

-ch M1092333
Ch- M1092334
Ch- N1158930
Ch- M1092334
Ch- M1092334

OE 900272
TT /all models sauf 4WD marquage CY
01/89-
2.0 01/91-
2.0 Turbo 4WD 01/91-
2.0i 16v. 01/91-
2.5V6 01/91-
OE 900613
TT /all models 09/82-12/93

OE 902827

OE 900279

TT /all models 01/93-12/00

4i 16v.
5D
1.5TD

e
[ N Y

OE 900294

-ch V3023597
-ch V3023597
-ch V3023597
-ch V3023597
-ch V3023597
-ch V3023597

1.61 16v. GSi -ch V3023597

1.7D

-ch V3023597

CI12NZ
Cl14NZ X14SZ
C14SE
X14XE

C16XE

-ch V3023597 -V4166925 -V6066279 X17D

——
(O R~ o

i16v.

D

1.5 TD

1.6i 16v. GSi
1.7D

1.
1.
1.

OE 900352

Ch- V3023597
Ch- V3023597

Ch- V3023597
Ch- V3023597
Ch- V3023597
Ch- V3023597
Ch- V3023597

C12NZ
C14NZ
X14NZ X14SZ
Cl14SE
X14XE

C16XE

Ch- V3023597 V4166926 V6066280 X17D

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

89

THdO



OPEL

<

o

9006710

2756002

7076013

[ZSsAcINAW

9006711

1.01 12v.
1.01 12v.
1.2i 16v.
1.21 16v.
1.3 CDTi
1.4i 16v.
1.41 16v.
1.7 Di 16v.
1.7 DTi 16v.
1.7 CDTi
1.81 16v.

2750004

1.0i /12v.
1.2i/16v. /GPL
1.3 CDTi

1.3 CDTi

1.3 CDTi
1.4i/16v.

1.61 Turbo

1.61 Turbo

1.61 Turbo OPC
1.7 CDTi /FAP

..Corsa B
Protecteur de direction / Steering protector OE 902827
DNA 1.0i 12v.  04/93- X10XE
1.2 04/93- C12NZ
1.21 03/93-07/98 X12S7
1.21 16v. 04/93- X12XE
‘m 14 04/93- C14NZ/SE
X14SZ
1.41 16v. 04/93- X14XE
1.5 D/ TD 04/93-
1.61 16v. GSi 04/93- C16XE
1.7D 04/93-
Protecteur de direction / Steering protector OE 1609087
DA 1.0i 12v.  11/96-04/97 X10XE
1.2i 03/93-04/97 C12NZ X12SZ
1.4 04/93-01/96 C14NZ/SE
w 1.4i 01/96-08/00 X14SZ
1.4i 16v. 07/94-08/00 X14XE
1.5TD 03/93-08/00 X15DT
1.61 16v. GSi 03/93-08/94 C16XE
1.7 01/96-10/00 X17D
Pompe dir. assistée / Power steering pump OE 948045
1.2i 04197 CI2NZ
1.21 04/97-10/00 X12S7
0137 1.41 -04/97 C14NZ/SE
1.41 -10/00 X14SZ
1.41 16v. -10/00 X14XE
1.61 16v. GSi -04/97 C16XE
Corsa C
Protecteur de direction / Steering protector OE 1609121
-07/03 Z10XE
08/03- BVM Easy Z10XEP
BVM Easy Z12XE
09/04- BVM Easy Z12XEP
08/03- BVM Easy Z13DT
-07/03 BVM BVA Z14XE
08/03- BVM Easy Z14XEP
-07/03 Y17DTL
-07/03 Y17DT
08/03- Z17DTH
Z18XE
CorsaD
Protecteur de direction / Steering protector OE Part/oe 1609347
09/06- A/Z10XEP
09/06- A12XER Z12XEP
06/10- A13DTC/E/R
09/06- Z13DTH
09/06- BVM Z13DTE Z13DTJ Z13DTI
09/06- Al14XER/L Z14XEP
01/11- BVM A16LEL
07/07- BVM A16LER Z16LEL
03/07- BVM Z16LER
09/06- BVM A17DTS Z17DTR

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

90




7006072

Kadett E

Direction assistée / Power steering
2 soufflets séparés

S

—

M14x150

—

M16x150

:

-—

Meriva
9006717 Protecteur de direction / Steering protector
Signum
7176032 Direction assistée / Power steering
1163
[ rw |
e
M14x150
7176031 Direction assistée / Power steering
1165
|,[ﬁ TRW |
(e
M14x150
2756012 Protecteur de direction / Steering protector
ML,
1.8i 16v. 120hp 90kw 06/03-09/05
1.9 CDTi 120hp 88kw 06/03-09/05
1.9CDTi  120hp 88kw ESP 09/05-
1.9CDTi  150hp 110kw 06/03-09/05
1.9CDTi  150hp 110kw ESP 09/05-
2.0 Turbo  175hp 129kw 06/03-09/05
2.2i 16v. 155hp 114kw 06/03-09/05
2.2 DTi 16v. 120hp 86kw 06/03-09/05
2.2 DTi 16v. 125hp 92kw 06/03-09/05
3.0 CDTi 06/03-09/05
3.2V6 210hp 155kw 06/03-09/05
Tigra...
7006071 Direction assistée / Power steering
1069
| & zr
e
M12x150

M16x150

—

M18x150

OE 900267

TT /all models 09/84-01/92
Ch- M2634611 -ch M2634610

OE 1603241
1.61 01/03-09/10 Z16SE
1.61 16v.  01/03-09/10 BVM Easy Z16XE

1.7 DTi 16v. 01/03-09/10 Y17DT
1.7 CDTi  01/03-09/10 Z17DTH
1.81 16v.  01/03-09/10 BVM Easy ZI18XE
OE 5900223
1.8i 16v.  120hp 90kw 06/03-09/05
1.9CDTi  120hp 88kw 06/03-09/05
1.9CDTi 120hp 88kw ESP  09/05-
1.9CDTi 150hp 110kw 06/03-09/05
1.9CDTi  150hp 110kw ESP  09/05-
2.0 Turbo  175hp 129kw 06/03-09/05
2.21 16v. 155hp 114kw 06/03-09/05

06/03-09/05
06/03-09/05

2.2 DTi 16v. 120hp 86kw
2.2 DTi 16v. 125hp 92kw

3.0 CDTi 06/03-09/05

3.2Ve6 210hp 155kw 06/03-09/05
OE 5900222

Sans ESP

1.9 CDTi 120hp 88kw 09/05-

1.9 CDTi 150hp 110kw 09/05-

OE 1609558

OE 900294
1.4i 16v. X14XE
1.61 16v. X16XE

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

91

THdO



OPEL

<

o

..Tigra
9006710 Protecteur de direction / Steering protector
DNA
7076013 Pompe dir. assistée / Power steering pump
2137
Vectra A...
7006074 Direction assistée / Power steering
Soufflets 1 seule partie
860
= SAGINAWl

7006075 Direction assistée / Power steering
Dir. moderne Soufflets 1 seule partie
=lzr |

7006072

Direction assistée / Power steering
2 soufflets séparés

Fzr

9006714

7076012

e

M18x150

—

M16x150

H

-

M18x150

s .

M16x150

g

<

M14x150

-

M16x150

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

6 Gorges

137

OE 902827
1.41 16v.  04/93-

1.61 16v.  04/93-

OE 948045
lL4il6v. -09/00 X14XE
1.6i 16v. -09/00 X16XE

OE 900256

TT /all models 09/88-10/95

OE 900272

TT /all models 09/88-10/95

OE 900336

TT /all models 01/92-
Sauf 4WD

OE 902829

1.61 07/92-06/94
1.7D 07/92-01/94

OE 948040

1.61 75hp 55kw

BVM
1.81 90hp 66kw

BVM
2.0i 115hp 85kw 4WD

2.01 16v. 136hp 100kw
BVM

2.0i 16v. 150hp 110kw
BVM

BVM

07/92-06/94
C16NZ E16NZ
07/92-01/94
C18NZ
07/92-06/95
C20NE
05/94-06/95
X20XEV
07/92-01/94
C20XE

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

92




<

BVM CI18NZ

..vectra A
7076033 Pompe dir. assistée / Power steering pump OE 948025
6 Gorges 1.81 90hp 66kw  07/92-01/94
6 Grooves
7006077 Direction assistée / Power steering OE 900322
Marquage HC
$5 TT /all models 09/95-
| = SAGINAwl
M14x150 ‘:, M14x150
M16x150
Vectra B...
7006079 Direction assistée / Power steering OE 900312
Marquage SU
. TT /all models 09/95-
5 zr
ol s M14x150
M16x150
9006723 Protecteur de direction / Steering protector OE Part/oe 1609096
Atkin -
1.61 16v. /Break 10/95- X16XEL  Z16
1.6i 16v. 10/95- Z16XE
1.7 TD 10/95-
1.8i 16v. /Break 10/95- X18XE/1  Z18XE/L
2.01 16v. Break 01/97-09/00 X20XEV
2.0 Di 16v. /Break 01/97-09/00 X20DTL
2.0 DTi 16v. 10/95- Y20DTH
2.0 DTi 16v. /Break 08/97-06/00 X20DTH
2.2i 16v. 10/95- Z22SE
2.2 DTi 16v. 10/95- Y22DTR
2.51 V6 24v. Break 01/97-09/00 X25XE

2.61 V6 24v. Break D

9006752

[ zr

1.61 16v. /Break

1.7 TD

1.81 16v. /Break
1.81 16v. /Break
2.0i 16v. /Break
2.0 Di 16v. /Break
2.0 DTi 16v. /Break
2.2i 16v.

2.2 DTi 16v. Break
2.51 V6 24v. /Break
2.61 V6 24v. Break

09/00-05/01

Protecteur de direction / Steering protector

10/95-
11/95-12/96
10/95-
10/95-
10/95-
10/95-
10/95-
10/95-
09/00-06/02
10/95-
09/00-05/01

OE Part/oe 1609095

Z16XE X16XE

X18XE
Z18XE/L
X20XEV

Z22SE
Y22DTR

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

THdO




OPEL

..vectra B
7076017 Pompe dir. assistée / Power steering pump OE 948085
1.61 01/96-12/99
Ch-W1042128 Ch- W5066890 Ch- W7026584
1.8 16v.  01/96-12/99 Ch- W1042128
B Ch- W5066890 Ch- W7026584 X18XE
2.0i 16v.  01/96-12/99 Ch- W1042128
Ch- W5066890 Ch- W7026584 C20SEL
X20XEV
7076015 Pompe dir. assistée / Power steering pump OE 948070
Courroie profil trapezoidal 1 Gorge
1.7 TD Sansclim. 01/96-12/99 X17DT
Vectra C
7176031 Direction assistée / Power steering OE 5900222
Sauf ESP & Avec Chassis sport
e 1.8i 16v. Z18XE/L X18XE
2.0i 16v. Turbo
(= 2.0 DTi 16v. Y20DTH
7 2.21i 16v. Z22SE /YH
M14x150 2.2 DTi 16v. 120hp 88kw 125hp 92kw  Y22DTR
3.0 CDTI
3.2V6 24v.
7176032 Direction assistée / Power steering OE 5900223
Avec ESP & Sauf sport
— g 1.8i 16v. ZISXE/L XI8XE
[ TrRw 2.0i 16v. Turbo
2.0 DTi 16v. Y20DTH
Qe 2.2i 16v. Z22SE 7Z22YH
M14x150 2.2 DTi 16v. 120hp 88kw 125hp 92kw  Y22DTR
3.0 CDTI
3.2V6 24v.
2756012 Protecteur de direction / Steering protector OE 1609558
R

Avec ESP & Sauf Chassis sport

Z18XE/L X18XE

1.8 .
1.9 CDTi 03/04-08/08 Z19DT Z19DTH Z19DTL
2.0i 16v. Turbo Avec ESP & Sauf Chassis sport
2.0 DTi 16v. Avec ESP & Sauf Chassis sport Y20DTH
2.2i 16v. Avec ESP & Sauf Chassis sport Z22SE 7Z22YH
2.2 DTi 16v. 120hp 88kw 125hp 92kw  Avec ESP & Sauf Chassis sport Y22DTR
2.81 Turbo OPC 10/05-08/08 Z28NET
3.0 CDTI Avec ESP & Sauf Chassis sport
3.2V6 24v Avec ESP & Sauf Chassis sport
Zafira...
7006078 Direction assistée / Power steering OE 900363
1139
[5] DELPHI | E
MO“"':MxlSO M16x150
M18x150
1.61 16v. -07/05 X16XEL
1.61 16v. Z16XE -M Y2256499
1.81 16v. -07/05 BVM BVA X18XE1
1.8i 16v. BVM BVA Z18XE -MY2256499
2.0 16v. Turbo -07/05
2.0 Di 16v. -07/05 X20DTL
2.0 DTi 16v. Sauf OPC et sport Y20DTH -M Y2256499
2.2i 16v. BVM BVA 7Z22SE -M Y2256499

2.2 DTi 16v. Sauf OPC et sport

Y22DTR -M'Y2256499

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

94



<

o

...Lafira
7176005 Direction assistée / Power steering OE 900365
Génération 1
1130
F] Trw |
ey M16x150
M18x150
1.61 16v. -07/05 X16XEL Z16YNG
1.61 16v. Z16XE -M 12999999
1.8i 16v. BVM BVA Z18XE -M 12999999
1.81 16v. -07/05 BVM BVA X18XEl1
2.0 16v. Turbo -07/05 -ch Y2256499 Y5280066 Y81376808
2.0 Di 16v. -07/05 X20DTL
2.0 DTi 16v. Y20DTH -M 12999999
2.21 16v. -07/05 -ch Y2256499 Y5280066 Y81376808
2.2 DTi 16v. -07/05 -ch ' Y2256499 Y5280066 Y81376808
7006157 Direction assistée / Power steering OE 5900217
Génération 2
—_— 1.6i 16v. Ch 22000001-22999999
SR g Z16XE Z16YNG
= 1.81 16v. Ch 22000001-22999999
e Z18XE
M14x150 MIc=Tal 2.0 DTi 16v. -07/05  Ch- 22000001
== Y20DTH
M18x150 2.2i 16v.  -07/05 Ch- 22000001 Z22SE
2.2 DTi 16v. -07/05
Ch- 22000001 Y22DTR]
7176033 Direction assistée / Power steering OE 5900265
1.61 16v. 07/05-
1.81 16v. 140hp 103kw 07/05-
= 1.9 CDTi 100hp 74kw 07/05-
1.9 CDTi 120hp 88kw 07/05-
G BVM BVA
M14x150 1.9 CDTi 150hp 110kw 07/05-
2.0i 16v. Turbo 200hp 147kw 07/05-
2.0i 16v. Turbo 240hp 177kw OPC  07/05-
2.2i 16v. 150hp 110kw 07/05-
9006750 Protecteur de direction / Steering protector OE 1609527
e -
161 16v. 03/99- -ch 72095156 / -ch 7G066981
1.61 Turbo GNV 01/08- -ch 72095156 / -ch 7G066981
1.7 CDTi FAP 01/08- -ch 72095156 / -ch 7G066981
181 16v. 03/99- -ch 72095156 / -ch 7G066981
1.9 CDTi FAP 07/05-12/07 -ch 72095156 / -ch 7G066981
2.0i 16v. Turbo /OPC 01/02-12/07 -ch 72095156 / -ch 7G066981
2.0 Di 16v. 01/99-05/00
2.0 DTi 16v. 05/00-07/05
2.21 16v. 05/00- -ch 72095156 / -ch 7G066981
2.2 DTi 16v. 01/02-07/05
9006712 Protecteur de direction / Steering protector OE 1609153
1.61 16v. 07/05-
1.7 CDTi 01/08-
= zr 1.81 16v. 07/05-
- 1.9 CDTi 07/05-
2.0i 16v. Turbo 07/05-
2.21 16v. 07/05-12/07

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

95

TAdO



OPEL

o

9006071

9006071B enboite/ in box

Combo
Direction mécanique / Steering gear

7006071 Direction assistée / Power steering
1069
&= d
s M16x150
M18x150
7176007 Direction assistée / Power steering
1069 g
I=E .
M12x150 % M18x150
M16x150
9006710 Protecteur de direction / Steering protector
DNA
2756002 Protecteur de direction / Steering protector
DA
7076013 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
2137
Movano...
7006130 Direction assistée / Power steering
|,[ﬂsm1 | E
N

M16x150

7174035 ~NEW  Direction assistée / Power steering

M16x150

—»

M18x150

OE 900279
TT /all models 07/94-

OE 900294
1.4 01/93-
1.7D 01/93-

OE 900352
1.4 01/93-
1.7D 01/93-

OE 902827
1.2 04/93-

1.4 04/93-
1.7D 04/93-

OE 1609087
1.4i 8v. 12/93-12/01
1.41 16v. 07/98-12/01
1.7D 08/93-12/01

OE 948045
1.41 -12/01
1.41 -12/01

OE 4418476
1.9 DTi -11/03
2.2 DTi -11/03
25D -11/03
25CDTi  -11/03
2.8 DTi -11/03

OE 4420081
23 CDTi 04/10-

-ch V3023597

-ch V3023597
-ch V3023597

Ch- V3023597
Ch- V3023597

CI4SE X14SZ
X14XE
X17D

Cl14NZ
X14SZ

FoQ770 /772
G9T720 /722
S8U770/2
GoU720
SOW700/2

-ch25112010

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

96




<

...Movano
4006224 Protecteur de direction / Steering protector
2754003 Protecteur de direction / Steering protector
7074002 Pompe dir. assistée / Power steering pump
P
Esacrvan] 5 Gragoes,
o125
7074012 Pompe dir. assistée / Power steering pump
@125
Vivaro
7006167 Direction assistée / Power steering
= 1155

IEERE

e

M16x150
9006715 Protecteur de direction / Steering protector
7074002 Pompe dir. assistée / Power steering pump

fsncaan] bt
2125
7074012 Pompe dir. assistée / Power steering pump
Fsncran] & Gans

9125

OE 4501260

1.9 DTi 08/00-07/02
2.2 DTi 08/00-02/07
25D 07/98-10/01
2.5CDTi 10/01-04/10
2.8 DTi 01/99-10/01
3.0CDTi 11/03-02/07
OE 4420703
2.3 CDTi 04/10- MOT
OE 4418898+4401558
Sans clim.
1.9 DTi 01/99-11/03 FoQ772/4
1.9 DTi 11/03- FoQ772/4
OE 4418898+4410707
Avec clim.
1.9 DTi 01/99-11/03 FoQ772/4
1.9 DTi 11/03- FoQ772/4
OE 4418968
1.9 Di 80hp 60kw -08/06
1.9 DTi 100hp 74kw -08/06
2.0i 16v. -08/06 F4R
2.0i 16v. 120hp 86kw 08/06-

2.0 CDTi 90hp 66kw 115hp 84kw

08/06 M9R780

2.5 DTi 135hp 99kw
2.5 CDTi/FAP 145hp 107kw

OE 4408476

1.9 Di 80hp 60kw
1.9 DTi 100hp 74kw

2.0i 16v.
2.0 CDTi
2.5 DTi 10/02-08/06
2.5 CDTi 08/06-

OE 4418898+4401558
Sans clim.
1.9 Di FoQ762
1.9 DTi. FoQ760
2.0i 16v. F4R720
2.5DTi G9U730

OE 4418898+4410707

Avec clim.
1.9 Di FoQ762
1.9 DTi F9Q760

10/02-08/06 G9U730
08/06- G9U630

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

97

THdO



PEUGEOT

0054524

0054524B en boite/ in box

0054484

0004534

0004544

0004544B

0004Wo4

PEUGEOT
104
Direction mécanique / Steering gear OE 400552
Pignon 6 dents Nbre de tours 3-3/4 = 3.75
TT /all models En remplacement direction
é avec pignon 25 cannelures  -09/82
TT /all models 10/82-
Direction mécanique / Steering gear OE 400548

Pignon 7 dents Nbre de tours 3-1/4 = 3.25

TT /all models En remplacement direction
avec pignon 25 cannelures  -09/82
TT /all models 10/82-

106...

Direction mécanique / Steering gear OE 400053
Repere bleu course 75Smm

Pour pneus 145/70 155/70 175/70 R13

TT /all models -12/94

Direction mécanique / Steering gear OE 400054
Repere blanc course 72mm

Pour pneus 165/65 R13 175/60 R14

TT /all models 01/95-03/96

en boite/ in box

Direction mécanique / Steering gear OE 4000W6
Reperes DJYF DJYK DJYR Course 72mm

/all models

— =

i
i

i Rallye
i Rallye

——-

1

—_-

ielvlivlv)

1

T
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
il
1.
1.
il
1.
1.
il
1.
1.
1.
1.
1.61
T

T
0
0
0Oi
0Oi
1
1
1i
li
3i
3i
4
4
4
4
4
4
4
4
5
5
6i
6i

T

Elec. /All models Electric

Pour pneus 145/70 155/70 165/70 R13T 165/65 175/60 R14H 03/96-

Pour pneus 145/70 155/70 165/65 R13T 175/60 R14H -12/94 TU9
02/01/95-03/96 TU9
Pour pneus 145/70 155/70 165/65 R13T 175/60 R14H -12/94 TUIM
02/01/95-03/96 TUIM
Pour pneus 145/70 155/70 165/65 R13T 175/60 R14H -12/94 TU1
02/01/95-03/96 TU1
Pour pneus 145/70 155/70 165/65 R13T 175/60 R14H -12/94 TUIM
02/01/95-03/96 TUIM
Pour pneus 175/60 R14H -12/94 TU2J2
02/01/95-03/96 TU2J2
Pour pneus 145/70 155/70 165/65 R13T 175/60 R14H -12/94 TU3.2
02/01/95-03/96 TU3 TU3.2
Pour pneus 175/60 R14H -12/94 TU3JP
Pour pneus 165/65 R13T 175/60 R14H -12/94 TU3M
Pour pneus 165/65 R13T -12/94 TU3MC
02/01/95-03/96 TU3MC
Pour pneus 145/70 155/70 165/65 R13T -12/94 TUD3
02/01/95-03/96 TUD3
Pour pneus 155/70 R13T -12/94 TUDS
02/01/95-03/96 TUDS
Pour pneus 175/60 R14H -12/94 TUS5J2

02/01/95-03/96 TUSJP TUSJ2
02/01/95-03/96 SA13

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

98




o
...106...

0004W84 Direction mécanique / Steering gear OE 4000W8
Repere noir Course 80mm
Reperes 60DJYE et 60DJYN

Reperes 60DJYE et 60DJYN

D
.6 Rallye
7006094 OE 4000T1
TT /all models -04/96
1.6 Rallye / XS 05/96-
|@TRW aye
M14x150
M16x150
7006037 Direction assistée / Power steering OE Part/oe 4000V0
Repere 60DHAD
TT /all models 01/96-
510 g Sauf 1.6 Rallye / XS

=

M14x150
—

|E TRW ‘
M16x150

0664324 Protecteur de direction / Steering protector OE 406632
Coté pignon DNA DA )

TT /all models Essence Diesel  -03/96

1.0 03/96-

1.0i 03/96-

1.1 03/96-

1.1 03/96-

1.4 03/96-

1.4i 03/96-

1.5D 03/96-

1.6i/16v. /VTS 03/96-

TT Elec. /All models Electric

-12/94
01/95-

-12/94
01/95-
01/95-
01/95-
01/95-

Electric 30 (20kw) SA13

0664334 Protecteur de direction / Steering protector OE 406633
Repere bleu  DNA Co6té opposé au pignon

TT /all models Essence Diesel -03/96

0664344 Protecteur de direction / Steering protector OE 406634
Repere blanc course 72 DNA Co6té opposé au pignon

TT /all models Essence Diesel -03/96

1.0 03/96-27/08/96  TU9
1.0i 03/96-27/08/96  TUIM

w 1.1 03/96-27/08/96  TU1
1.1i 03/96-27/08/96  TUI1M+
1.4i 03/96-27/08/96  TU3JP
1.4i Conduite a G

03/96-27/08/96 TU3/3.2
15D 03/96-27/08/96 TUDS
1.61 /XSi  03/96-27/08/96 TUSJP/J2

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

99

LOTONHAd



PEUGEOT

< )
..106...

0664464 Protecteur de direction / Steering protector OE 406646
Repere noir course 80 DNA C6té opposé au pignon

T /all models Essence Diesel -03/96
0 03/96-27/08/96 TU9
.01 03/96-27/08/96 TUM
1 03/96-27/08/96 TU1
* i 03/96-27/08/96  TUIM+
A 03/96-27/08/96 TU3JP
.41 Conduite a G
03/96-27/08/96 TU3 TU3.2
S5D 03/96-27/08/96 TUDS
.61 /XSi 03/96-27/08/96 TUSJP/J2

0664484 Protecteur de direction / Steering protector OE 406648
Repere blanc course 72 DNA C6té opposé au pignon

1.0 Conduite a G 28/05/96-27/08/96 TUY/M

1.0 28/08/96- TUIM
= 1.1 Conduite a G 28/05/96-27/08/96 TU1/M+
m & 1.1 28/08/96- TUIM+
1.41 28/08/96- TU3JP
1.4i Conduite a G 28/08/96- TU3/32

1.5 D Conduite a G 28/05/96-27/08/96 TUDS5

15D 28/08/96- TUDS

1.6 Rallye Conduite a G

28/05/96-27/08/96 TUSJ2

1.61 16v. /S16 28/08/96- TUSIP/A4

0664494 Protecteur de direction / Steering protector OE 406649
Repere noir DNA C6té opposé au pignon

/i 28/08/96- TU9/M
i 28/08/96- TU1/IM+

1.0
1.1

m 1.4 28/08/96- TU3 TU3.2
1.41 28/08/96- TU3JP
1.5D 28/08/96- TUDS
1.61/16v. /VTS 28/08/96- TUS5JP/J2/J4

0664364 Protecteur de direction / Steering protector OE 406636
BEAEs toppescliipiol TT /all models Essence Diesel -03/96
Conduite a G
m 1.0/ 03/96-28/04/96  TU9/M

1.1/ 03/96-28/04/96 TU1/1IM+
1.4 03/96-28/04/96 TU3/3.2
1.4i 03/96-28/04/96 TU3JP
1.5D 03/96-28/04/96 TUDS
1.61/16v. /VTS 03/96-28/04/96 TUSIP2/4

0664504 Protecteur de direction / Steering protector OE 406650

DA Coté opposé au pignon

Conduite a G Conduite a D

1.0 29/04/96- TU9 1.0 03/96- TU9

1.01 29/04/96- TUIM 1.01 03/96- TUM

1.1 29/04/96- TU1 1.1 03/96- TU1

1.11 29/04/96- TUIM+ 1.1i 03/96- TUIM+

1.41 29/04/96- TU3 TU32 1.4 03/96- TU3 TU3.2

1.4i 29/04/96- TU3JP 1.4i 03/96- TU3JP

1.5D 29/04/96- TUDS 1.5D 03/96- TUDS

1.61/16v. /NTS 29/04/96- TUSIP/J2/J4 1.6i 03/96- TUSIP/12/J4

TT Elec. /All models Electric

29/04/96- Electric 30 (20kw) SA13

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

100



o

0664694

Conduite a G
1.4i

1.41 16v.
1.4 HDi
1.6i 16v.

0004234

-04/12/05

..106

9109

1007

Protecteur de direction / Steering protector

Conduite a D

TU3A/JP 1.41
ET3J4 1.41 16v.
DV4TD 1.4 HDi
TUS5JP4 1.6i 16v.
205...

Direction mécanique / Steering gear

0004234B
0004424

b ———y "

en boite/ in box

Direction mécanique / Steering gear

0004424B en boite/ in box

-04/12/05
-04/12/05
-04/12/05
-04/12/05

g

g

-~

M14x150

e

M16x150

s

T

M14x150

—

M16x150

7006082 Direction assistée / Power steering
Sortie raccord a droite
1122
[=zr
o pme—r
M14x150 S— ————
7006085 Direction assistée / Power steering
Sortie raccord a gauche
1123
——
M14x150 e
0664154 Protecteur de direction / Steering protector

DNA & DA c6té pignon

OE 40074A

-03/96
04/96-
04/96-

TUDS
TUDS
TUD5B

BVM
BVM

OE Part/oe 406669

TU3A/IP
ET3J4
DV4TD
TUSJP4

OE 400023

TT /all models -12/90 -ch 23420000
Carbu et Diesel sauf inj. / GTi Rallye / TD

OE 400042

TT /all models  01/90- Ch- 23420001
Carbu et Diesel sauf inj./ GTi Rallye / TD

TT /all models Rallye Ch- 23420001

OE 400061

TT /all models 09/83-12/90
Sauf CTi Turbo diesel

TT /all models -12/90
Sauf GTi Rallye TD

TT /all models inj. 01/91-

sauf cab. et inj. monopoint

TT /all models 01/91-
Sauf TD

BVM
BVA

OE 4000N9

TT /all models CTi
TT /all models Inj. Cab.
1.8 TD

09/83-12/90
01/91-
01/91-

OE 406620

TT /all models

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

101

LOTONHAd



PEUGEOT

< )
205

0664224 Protecteur de direction / Steering protector OE 406622
DA c6té opposé au pignon

W TT /all models Sauf GTi Rallye TD

0664164 Protecteur de direction / Steering protector OE 406616
DA c6té opposé au pignon

u TT /all models Sauf GTi Rallye TD

7070032 Pompe dir. assistée / Power steering pump OE 4007V7
g A 1.61 XUSM
=5 AR 1o XUBI1
fal( €O
O
8]
17
7070027 Pompe dir. assistée / Power steering pump OE 40070F
Courroie profil trapezoidal 1 Gorge
1.8D 06/91-09/96 XUD7
1.8 TD XUD7T
1.9D 06/91-09/96 XUD9
7070024 Pompe dir. assistée / Power steering pump OE 4007R2
A 1.8D 30/09/96- XUD7
1006004 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(0664154x2 + colliers) DNA
| TT /all models
———
206...
7006095 Direction assistée / Power steering OE 4000EW
Assistance non variable Reperes 60DHAU 60DHUD
1.1i TULJP
1181 E 1.4i TU3A/JP
[Ezr 1.4i -01/02/07 TU3AF
1.4i 16v. 03/05/04-12/06/05 ET3J4
e M= Sauf niveau XS
1.4i 16v. 13/06/05- ET3J4
Sauf roue tole /sirocco 15 pouces
1.4 HDi DV4TD
1.61 16v./CC 12/05-01/02/07 TUS5JP4
19D DWS8 /B
7170006 ~eW Direction assistée / Power steering OE 4000NS
Assistance non variable Course mécanisme direction 142 Repere 60DHFC 60DHUF
I g 1.4i 16v. -02/05/04 ET3J4
EE= N 1.61 90hp 66kw TUSJP
1= 2.0 HDi DWI10TD

Go——
M14x150

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

102




o

.-.206..‘
0664574 Protecteur de direction / Steering protector
DA non variable /variable
7070023 Pompe dir. assistée / Power steering pump
DA non variable

0136.5

7070039  NEW

Pompe dir. assistée / Power steering pump
DA non variable

9136.5

7070009

Pompe dir. assistée / Power steering pump

DA non variable

7070051 NEW

6 Gorges
6 Grooves

126

Pompe dir. assistée / Power steering pump
Dir. assistance non variable

7070056 NEW Pompe dir. assistée / Power steering pump

DA variable
6 Gorges

I126

7070021 Pompe dir. assistée / Power steering pump
DA non variable
o114
7070008 Pompe dir. assistée / Power steering pump

DA non variable

6 Gorges
6 Grooves

©9113.5

e a

OE 406657

TT /all models Berline 3/5ptes 09/98-

TT /all models 05/02-
OE 4007V5
1.11 -01/09/00 TU1JP
1.41 -01/09/00 TU3JP
1.61 90hp 66kw -12/00 TUSJP
OE 9800248380
1.11 09/00-01/11 TU1JP
1.41 09/00-01/11 TU3JP/A/F
1.4i 16v. -01/11 ET3J4
1.61 01/01-01/11 TUSJP
1.6i1 16v. -01/11 TUSIP4
OE 4007XF
1.4 HDi DV4TD
2.0 HDi 08/09/00- DWI10TD
OE 4007NX
1.6 HDi DV6TED4
OE 4007LR
19D DW
OE 4007V6
1.9D -07/09/00 DWS8
OE 4007LL
1.9D 08/09/00-19/03/06 DWS8
19D 08/09/00- DWE&B

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

103

LOTONHAd



PEUGEOT

<

..206
7070011 Pompe dir. assistée / Power steering pump OE 4007LG
DA non variable
6 Grogves 2.0i 16v./ CC  02/09/00-02/12/01 EW10J4
J136.5
7070007 Pompe dir. assistée / Power steering pump OE 4007LF
DA variable
& Grogoes 2.0i 16v.  03/12/01- EW10J4/S
9136.5 2.0i 16v. CC 03/12/01- EW10J4
7070056 NEW Pompe dir. assistée / Power steering pump OE 4007LR
DA variable
2.0 HDi DW
6 Gorges
6 Grooves
2126
7070045 w~gW Pompe dir. assistée / Power steering pump OE 4007W7
DA non variable
2.0HDi  -07/09/00 DWI10TD
9125
206+ 04/09-...
7006095 Direction assistée / Power steering OE 4000EW
Assistance non variable Reperes 60DHAU 60DHUD
Jante 14 pouces
1181 g
Hzr 1.1i TU1A/ES
1.4i TU3A/E5
T = 4 HD DV4C/TD
x 1.6i 16v. TUS5IP4
7170006 NEW  Direction assistée / Power steering OE 4000NS
Assistance non variable Course mécanisme direction 142 Repere 60DHFC 60DHUF
Jante 15 pouces
1182
| G orexr 1.4i -27/02/11 TU3JP TU3A/F
1.4 HDi s -27/02/11 DV4TD
Gor— =
M14x150
0664574 Protecteur de direction / Steering protector OE Part/oe 406673
1.1i Conduite a G TUIA
w 14i  Conduite 2 G TU3A
1.4 HDi Conduite a G DV4TD
1.4 HDi DV4C

104

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

7070039 N~EW

7070009

2750005

1.41

1.41 /GPL
1.4i 16v.

1.4 VTi

1.4 HDi

1.61 16v. /CC
1.6i 16v.

1.6i 16v. THP /CC
1.61 16v. THP
1.6 HDi

1.6 HDi /CC
1.6 HDi FAP

2750011 NEW

2750005

2750011 NewW

2750005

..206+ 04/09-

Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

9136.5

Pompe dir. assistée / Power steering pump
DA non variable

6 Gorges
6 Grooves

9126

207

Protecteur de direction / Steering protector

TU3A
TU3AES
ET3J4
EP3/C

DV4C DV4TD

EP6/C

TUSJP4

EP6DT

EP6DTS

DV6ATED4 DV6C DV6DTED
DV6TED4

DV6TED4B

208

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

2008

Protecteur de direction / Steering protector

301

Protecteur de direction / Steering protector

1.11
1.41
1.61 16v.

1.4 HDi

1.0i
1.21
1.4i 16v.
1.4 HDi
1.6i 16v.
1.6 HDi

1.61 Turbo

1.21/VTi
1.4 HDi
1.61 16v.
1.6 HDi

1.2 VTi
1.6
1.6 HDi

OE 9800248380

-17/07/11 TU
-17/07/11 TU
-17/07/11 TU

OE 4007XF

DV4TD

OE Part/oe 406680

OE 1608025480

Sauf EP6CDT/X

OE Part/oe 406680

EP6CDT/X

OE 1608025480

OE Part/oe 406680

EB2
EC5
DVe6

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

105

LOAONHAd



PEUGEOT

<

o

0024644

304

0664154

1006004

0024644

0024864

0054844

Protecteur de direction / Steering protector

Kit rép. protecteurs de dir. / Steering boots repair kit

(0664154x2 + colliers)

T —

[ ———

305

Direction mécanique / Steering gear

Direction mécanique / Steering gear

il —f

0664154

0664224

1006004

Protecteur de direction / Steering protector
DNA & DA coté pignon

Protecteur de direction / Steering protector
DA c6té opposé au pignon

Kit rép. protecteurs de dir. / Steering boots repair kit

(0664154x2 + colliers) DNA

——

e T
—_—_—

OE 400264
TT /all models 01/80- Ch-4156761
OE 406620
TT /all models 07/78-
OE -
TT /all models 07/78-
OE 400264
TT /all models -07/80  -ch 8471604
Sauf mot. XU
OE 400286

TT /all models

Sauf mot. XU

08/80-07/83
Ch 8471605-8987000

OE 400584

TT /all models

08/84-
Ch- 9370001 XU

OE 406620

TT /all models Essence Diesel

OE 406622

TT /all models Essence Diesel

OE -

TT /all models Essence Diesel

106

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




306...

0004C04 Direction mécanique / Steering gear OE 4000C0
TT /all models Sans Airbag -03/97
i 2 m ﬁ TT /all models 04/97-
0004C04B enboite/ inbox
7170011 Direction assistée / Power steering OE 4000V4
Assistance non variable Repere 60DJUU
TT /all models Cab. 04/97-01/02/98
1.1i -03/97 TUIM
1204 g 1.4i 03/97 TU3MC/IP
EETH 1.4 -14/0399  TU32
o = 1.4i Berline 04/97-14/03/99 TU3JP
p—— - _ B O ﬂ,ﬁw | [maaxaso 2.0/ 16v. -03/97 XU102/14
=E" . = 2.0i 16v. Sport 1 Berline
T 04/97-14/03/99  XU10J4R
2.0i 16v. Cab. 02/02/98- XU10J4R
2.0i 16v. Berline 3ptes 15/03/99- XU10J4R
7006091 Direction assistée / Power steering OE 4000V2
Repere 60DHBE
1200
[ TR E
ialn M14x150
M16x150
TT /all models Break 04/97-14/03/99
TT /all models /Cab. sauf 2.0 16v. XU10J4R 04/97-14/03/99
1.41 Break Cab. 15/03/99- TU3JP
1.61 -03/97 TUSJP
1.61 Sauf Berline 4ptes 04/97-14/03/99 TUSJP
1.61 90hp 66kw Sauf berline 4ptes 15/03/99- TUSJP
1.6i 100hp 74kw 15/03/99- TUSJP+
1.81 -03/97 XU7JP
1.8i Berline 04/97-14/03/99 XU7JP
1.8i 15/03/99- XU7Jp
1.8i 16v. Berline 04/97-14/03/99 XU7JP4
1.8i 16v. Berline 3ptes Niveau 2D 15/03/99- XU7JP4
1.81 16v. Berline 4ptes 15/03/99- XU7JP4
1.8D -14/03/99 XUD7
1.9D -14/03/99 XUD9
1.9D 15/03/99- DWS8/B
1.9TD XUDI9TE
2.0i 16v. Berline 4/5ptes Break 15/03/99- XU10J4R
2.0i 16v. Sauf Sport 1 04/97-14/03/99 XUI10J4R
2.0 HDi Niveau 2D 15/03/99- DWI10TD
7170012 Direction assistée / Power steering OE 4000V6
Assistance non variable Repere 60DHBA
1.4i Berline 15/03/99- TU3JP
1204 E 1.6i 90hp 66kw Berline 4ptes
SED 15/03/99-  TUSJP
= 2.0i 16v. XU10J4RS
Gore—

M14x150

M14x150

—

M16x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

107

LOTONHAd



PEUGEOT

7170007

o
M14x150

0664154

DNA coté pi

0664224

...306...
Direction assistée / Power steering
Assistance variable Repere 60DHDY
1212 E
_ _g‘ M14x150
M16x150
Protecteur de direction / Steering protector
gnon DA c6té pignon
-29/01/95 TUIM 1.1i -03/97
-29/01/95 TU3 TU32 1.4 -03/97
-29/01/95 TU3JP TU3MC 1.4i -03/97
-29/01/95 TUSJP 1.61 -03/97
-29/01/95 XU7IP/IP4 1.8i 16v. -03/97
-29/01/95 XUD7 1.8D -03/97
-29/01/95 XUD9 DWS8/B 1.9D -03/97
-29/01/95 XUDITE 1.9TD -03/97
-29/01/95 XU10J2/4 2.01 -03/97
2.0i 16v. -03/97
Protecteur de direction / Steering protector

DNA c6té opposé au pignon

1.11 -29/01/95
1.4 -29/01/95
1.61 -29/01/95
1.81/16v. -29/01/95
1.8 D -29/01/95
1.9D -29/01/95
1.9TD -29/01/95
2.0 -29/01/95
0664434

DNA coté pignon

1.11 30/01/95-
1.4 30/01/95-
1.4i 30/01/95-
1.61 30/01/95-
1.81/16v. 30/01/95-
1.8 D 30/01/95-
1.9D 30/01/95-
1.9TD 30/01/95-
2.01 30/01/95-
2.01 16v 30/01/95-
2.0 HD1 30/01/95-

TUIM

TU3 TU32
TUSJP
XU7IP/JP4
XUD7

XUD9 DW&/B
XUDOTE
XU10J2/4

Protecteur de direction

TUIM

TU3 TU32
TU3JP TU3IMC
TUSJP
XU7IP/JP4
XUD7

XUD9 DW&/B
XUDOTE
XU10J2
XU10J4R/S
DWI10TD

OE 4000CK

1.81 16v. Berline 3ptes 15/03/99- XU7JP4
Sauf niveau 2D

1.8i 16v. Berline Sptes 15/03/99- XU7JP4
1.81 16v. Break 15/03/99- XU7JP4
1.8i 16v. Cab. 15/03/99- XU7JP4
2.0 HDi 15/03/99- DW10TD
Sauf niveau 2D

OE 406620

TUIM

TU3 TU32
TU3JP TU3MC
TUSJP
XU7JP/JP4
XUD7

XUD9 DW8/B
XUDITE
XU10J2
XU10J4R/S

OE 406622

DA coté opposé au pignon

1.1i
1.4
1.41
i
1/16V

OOO\

D
D
TD

i

2 01 16v.
2.0 HDi1

| Steering protector

O el el
OO\Doo

DA coté pignon

1.1 04/97-
1.4 04/97-
1.41 04/97-
1.61 04/97-
1.8i/16v. 04/97-
1.8 D 04/97-
1.9D 04/97-
1.9TD 04/97-
2.01 04/97-
2.0i 16v. 04/97-
2.0 HDi 04/97-

TUIM

TU3 TU32
TU3JP TU3MC
TUSJP
XU7JP/JP4
XUD7

XUD9 DW&/B
XUD9TE
XU10J2
XU10J4R/S
DWI10TD

OE 406643

TUIM

TU3 TU32
TU3JP TU3MC
TUSJP
XU7IP/JP4
XUD7

XUD9 DWS8/B
XUDITE
XU10J2
XU10J4R/S
DWI10TD

108

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

0664444

7070032

7070022

7070005

7070044

7070043 NEW

7070014

..306

Protecteur de direction / Steering protector
DNA c6té opposé au pignon

Pompe dir. assistée / Power steering pump

NS>/
L4

142

9115

o141

Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

9132

Pompe dir. assistée / Power steering pump

DA non variable

6 Gorges
6 Grooves

114

OE 406644
1.11 30/01/95- TUIM
1.4 30/01/95- TU3 TU32
1.41 30/01/95- TU3JP TU3MC
1.61 30/01/95- TUSIP
1.8i/16v. 30/01/95- XU7JP/IP4
1.8D 30/01/95- XUD7
19D 30/01/95- XUDY9 DW&/B
1.9TD 30/01/95- XUDI9TE
2.0i 30/01/95- XU10J2
2.0i 16v.  30/01/95- XU10J4R/S
2.0 HDi 30/01/95- DWI10TD
OE 4007V7
1.4i -03/97 TU3JP
1.4i -03/97 TU3MC
1.4i DA non variable
04/97-01/03/99 TU3JP
1.61 90hp 66kw -03/97 TUSJP

1.61 90hp 66kw DA non variable
04/97-01/03/99 TUSJP

OE 4007V9

1.81 Sans clim. 02/93-03/97 XU7JP
1.81 16v. Sans clim. 04/97-02/05/99 XU7JP/4
1.8 D DA non variable Avec clim.

02/05/99- XU
1.9 D/TD DA non variable Avec clim.
02/05/99- XU
2.01 Sans clim. 02/93-03/97 XU10J2
2.0i 16v Sans clim. 02/93-03/97 XU10J4
OE 40071F
1.81 100hp 74kw 02/93-03/97
BVM BVA XU7JP
1.9 TD 90hp 68kw 07/93-03/97
BVM XUD9TE
OE 4007W1

1.81 16v. Avec clim. 04/97-02/05/99 XU7JP/4

OE 4007V8
Sans clim.
1.8D -03/97 XU
1.8 D DA non variable 04/97- XU
19D -03/97 XU
1.9D DA non variable 04/97- XU
1.9 TD -03/97 XU
1.9 TD DA non variable 04/97- XU
OE 4007WO0
Avec clim.
1.8 D 04/97-02/05/99 XU
1.9D 04/97-02/05/99 XU

1.9TD 04/97-02/05/99 XU

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

109

LOTONHAd



PEUGEOT

<

..306
7070017

6 Gorges
6 Grooves

114

307

Direction assistée / Power steering

7006019

[ trw

F—
M14x150
L=322mm

7170038

Direction assistée / Power steering

NEW

1257

|EETRW

Go——
M14x150
L=340mm

0664574

Protecteur de direction / Steering protector

L

7070047 NEW

Pompe dir. assistée / Power steering pump

1217 g

OE 4007Y2
19D 04/97- DWS8
19D 04/97- DW8B
OE Part/oe 4000ZJ
1.4i -30/01/05 TU3JP
1.4i 16v. -30/01/05 ET3J4
1.4 HD1 -30/01/05 DV4TD
1.6i 16v.  -30/01/05 TUSIP4
1.6 HDi -30/01/05 DV6ATED4 /TED4
2.0i 16v.  -30/01/05 EWI0A EW10J4/S
2.0 HDi1 -30/01/05 DWI10TD
2.0 HDi -30/01/05 DWI10ATED/L4
DWI10BTED4
OE Part/oe 4000ZJ
1.4i/16v. 31/01/05- TU3JP ET3J4
1.4 HDi 31/01/05- DV4TD
1.61 16v. 31/01/05- TUSIP4
1.6 HD1 31/01/05- DV6ATED4
1.6 HDi 90hp 66kw FAP
31/01/05- DV6TED4B
1.6 HDi 110hp 80kw
31/01/05- DV6TED4
2.0i 16v.  31/01/05- EWI10A EW10J4/S
2.0 HDi 31/01/05- DWI10TD/ATED
2.0 HDi FAP
31/01/05- DWI10BTED4
OE Part/oe 406673
1.4 -27/03/05 TU3JP
1.4i 16v. ET3J4
1.4 HDi -27/03/05 DV4TD
1.6i 16v. TUS5JP4
1.6 HDi DV6ATED4/TED4
1.6 HDi FAP 90hp 66kw
28/03/05- DV6TED4B
2.0i 16v. EW10A/J4S
2.0i 16v.  -27/03/05 EW10J4
2.0 HDi -27/03/05 DWI10TD/ATED
2.0 HDi1 Sans FAP
28/03/05- DWI10ATED
2.0 HDi /FAP DWI10BTED4
OE 4008E6
1.41 8v. 04/01-01/04 TU3JP
1.41 16v. 10/03-02/12/05 ET3J4
1.4 HDi -06/05 DV4TD
1.61 16v. -01/10/06 TUSJP4
1.6 HDi -06/05 DV6TED4
1.6 HDi 5ptes 06/05- DV6A/TED4
1.6 HDi 5ptes 06/05- DV6TED4B
2.0i 16v. -06/05/06 EWI10A/J4
2.0i 16v. -02/12/05 EW10J4S
2.0 HDi 06/01/03-05/02/06 DW10TD
2.0 HD1 06/01/03-06/05 DWI10ATED
2.0 HDi -02/12/05 DWI10BTED4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

110




ASIc i
307 CC
7006019 Direction assistée / Power steering OE Part/oe 4000ZJ
1.6i 16v.  -30/01/05 TUS5JP4
1217 E 2.0i 16v.  -30/01/05 EW10A/J4/S
] trw |
o =
M14x150
L-322mm
7170038 ~NEW  Direction assistée / Power steering OE Part/oe 4000ZJ
1257 1.61 16v. 31/01/05- TUSJP4
IS 2.0i 16v. 31/01/05- EW10A/J4/S
2.0 HDi FAP 31/01/05- DWI10BTED4
G =
M143x150
1—340mm
0664574 Protecteur de direction / Steering protector OE Part/oe 406673
1.61 16v. TUSJP4
2.01 16v. EWI10A
2.0i 16v.  -27/03/05 EW10J4
2.0i 16v. 03/03-06/08 EW10J4S
2.0 HDi FAP DWI10BTED4
7070047 NEW Pompe dir. assistée / Power steering pump OE 4008E6
1.6i 16v.  03/03-06/08 TUSJP4
2.0i 16v.  12/04-06/08 EWI10A
2.01i 16v.  03/03-06/05 EW10J4
2.0i 16v.  03/03-06/08 EW10J4S
/ 2.0HDi  06/05-06/08 DWI10BTED4
308 -09/13...
7170031 NgW Direction assistée / Power steering OE Part/oe 4001L1
Reperes 60DHYY 60DHRN 60DHYL
1122
o g Ui
M14x150 | | . e
Berline Break
1.4 VTi EP3
1.4VTi 01/03/10- EP3C
1.6i 16v. EP6 TUSJP4
1.61 16v. 01/03/10- EP6C/DT
1.61 16v. THP 04/04/11- EP6CDT M/MD
1.6i 16v. THP EP6DT
1.61 16v. THP 08/10/07- EP6DTS
1.6 HDi DV6ATED4
1.6 HDi 01/03/10- DVe6C
1.6 HDi 04/04/11- DV6CM DV6DTED M
1.6 HDi 01/03/10- DV6DTED
1.6 HDi DV6TED4
1.6 HDi FAP 90hp 66kw DV6TED4B
2.01 16v. EWI10A
7170032 NEW Direction assistée / Power steering OE Part/oe 400112
Reperes 60DHZA 60DHXV 60DHYN
— Berline Break
E 2.0 HDi FAP DWI10BTED4
2.0 HDi FAP 03/03/08- DWI10CTED4
T 2.0 HDi FAP 01/03/10- DWI10CTED4 DTR
M14x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

111

LOTONHAd



PEUGEOT

<

o

...308 -09/13

Protecteur de direction / Steering protector

-t

2750012 ~EW

309...

Direction mécanique / Steering gear

0004214B

en boite/ in box

0004464 Direction mécanique / Steering gear
0004464B en boite/ in box
7006083 Direction assistée / Power steering
Sortie raccord a droite
1130
Fzr ‘
|| — | [Mrax1s0
M16x150
7006097 Direction assistée / Power steering
Sortie raccord a gauche
1135
[ zF ‘
i | [rax1s0
M16x150
0664154 Protecteur de direction / Steering protector
0664224 Protecteur de direction / Steering protector
DA c6té opposé au pignon
0664164 Protecteur de direction / Steering protector

DA c6té opposé au pignon

OE Part/oe 406682
1.4 VTi 10/07- EP3/C
1.61/16v. /Turbo 10/07- EP6
1.6 HDi /FAP 10/07- DV6
2.0 HDi FAP 10/07- DWI10B/CTED4
OE 400021
TT /all models -09/89

Sauf GTi D TD

OE 400046

TT /all models
Essence / GTi / Diesel / TD 09/89-

OE 400068
1.9 GTi Déflecteur blanc 01/89-
XU9JA/J1
OE 400069
TT /all models Essence -12/88

Sauf GTi sauf carbu 1.9 GT mot. XU92C
Inj. mot. XU9JA XU9J1 (GTi) 08/86-
TT /all models Essence
sauf carbu 1.9 GT mot. XU92C In;j.
mot. XU9JA XU9J1 (GTi) 01/89-
TT /all models GTi
sauf Inj. mot. XU9JA XU9J1 (GTi) 08/86-
TT /all models Diesel Sauf TD mot. XUD7T

OE 406620

TT /all models DNA

E1 G1 G2 XUXUD Y2J2 TU

TT /all models GTi Rallye Turbo D  DNA
TT /all models DA c6té pignon

E1 Gl G2 XUXUD Y2J2TU

TT /all models GTi Rallye TD DA c6té pignon

OE 406622
TT /all models El1 G1 G2
TT /all models XU XUD
TT /all models Y2 J2TU
TT /all models GTi Rallye Turbo D

OE 406616

TT /all models GTi Rallye Turbo D

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

112




..309
7070032 Pompe dir. assistée / Power steering pump OE 4007V7
g . TT /all models Essence XU
_SAGINAW — 453 Sauf XU9J4
= @ = /_ i 1.6 Carbu. n
g8t @3 B
O
8
17
7070027 Pompe dir. assistée / Power steering pump OE 40070F
Courroie profil trapezoidal 1 Gorge
1.8D 06/91- XUD7
1.8 TD XUD7T
1.9 GTi 16v. XU9J4
1.9D 06/91- XUD9
1006004 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(0664154x2 + colliers) DNA
TT /all models El1 Gl G2
TT /all models XU XUD
AN - TT /all models Y212 TU
: TT /all models GTi Rallye TD
e
3008
2750012 ~NEW  Protecteur de direction / Steering protector OE Part/oe 406682
1.61 16v. /Turbo 04/09- EP6
1.61 VTi 16v. 03/10-  EP6C
1.6 HDi 04/09-  DV6
2.0 HDi Coté opposé au pignon
DW10CTED4
2.0 HDi DWI10

404
0024454 Direction mécanique / Steering gear
0664034 Protecteur de direction / Steering protector
405...
0004294 Direction mécanique / Steering gear

DNA

d

00042948 en boite/ in box

OE 400245

TT /all models

OE 406603

TT /all models

OE 400025

TT /all models -12/92

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

113

LOTONHAd



PEUGEOT

...405...

Direction mécanique / Steering gear
DNA

0004A54

0004A54B en boite/ in box
7006084

Direction assistée / Power steering

947

s

—

M14x150

) ==

L e——
M14x150 :ﬁ:;_,ﬂm

—

M16x150

7006092 Direction assistée / Power steering
943 Sé%
bl - - ‘ M14x150
T M12 M16x150
0664214 Protecteur de direction / Steering protector
Coté chape de vérin
0664274 Protecteur de direction / Steering protector
0664284 Protecteur de direction / Steering protector
DA c6té opposé au pignon
0664374 Protecteur de direction / Steering protector
0664304 Protecteur de direction / Steering protector
DA c6té opposé au pignon
0664424 Protecteur de direction / Steering protector

@ 18 DA c6té pignon

OE 4000A5

TT /all models 01/93-

OE 400072

TT /all models Essence
Ch- 8026334 sauf 4WD
TT /all models Essence

TT /all models Diesel
OE 4000L9
TT /all models 07/92-
1.6 07/92-
1.61 07/92-
1.61 07/92-
1.81 07/92-
1.9 07/92-
1.9i 07/92-
19D 07/92-
1.9 TD 07/92-
2.0 07/92-
OE 406621
TT /all models
OE 406627
TT /all models
DNA c6té G/D -12/92
DA c6té pignon -12/92
OE 406628
TT /all models -12/92
OE 406637
TT /all models
DNA co6té G/D 01/93-
TT /all models

conduite 8 G DA c6té pignon 01/93-
Sauf inj. turbo Mot. XU10J4TE

OE 406630

TT /all models 01/93-

OE 406642

2.01 Turbo 16v. Conduite a G

01/93-

-06/92 BVM
-06/92 BVA
-06/92
BVA
BVM XU52C
BVM XU5M
BVM  XUSJP
BVM XU7JP
BVM  XU92C
BVM  XU9J2
XUD9
XUDITE
XU10J2
TU XU
TU XU
TU XU
TU XU
TU XU
TU XU
TU XU
XUIOJ4ATE

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

114




..405
7070032 Pompe dir. assistée / Power steering pump OE 4007V7
P . 1.6 XUus2C
7_ = 1.6i XUSM
o e LY @} i 1.9 Xu92C
5= 1.9i XU9J2
=
8]
17
7070005 Pompe dir. assistée / Power steering pump OE 40071F
1.61 07/92- XUSJP
1.8i 100hp 74kw  07/92- XU7JP
— 2.0i Sansclim.  07/92-01/0993 XU10J2
2.0i Clim. 07/92- XU10J2
7070027 Pompe dir. assistée / Power steering pump OE 40070F
Courroie profil trapezoidal 1 Gorge
1.8D Sans clim. -06/92 -ch 70490558 XUD7
1.8D Avec clim. -06/92 XUD7
1.8 TD Sans clim. -06/92 -ch 70490558 XUD7TE
1.8 TD Avec clim. -06/92 XUD7TE
1.9i 16v XU9J4
19D Sans clim. -06/92 -ch 70490558 XUD9A
1.9D Avec clim. -06/92 XUD9A
7070043 NEW Pompe dir. assistée / Power steering pump OE 4007V8
Sans clim.
6 Gorges 1.9D 07/92- XUD9
6 Grooves 1.9TD 07/92- XUD9TE
2132
406...
7006100 Direction assistée / Power steering OE 4000HT
Assistance non variable Vérin intégré Repere 60DHDN
1195
Flzr
MGM:IIleSO S——— M14x150
M16x150
1.6 07/07/97-03/99 XUSJP
1.6 Berline Break 03/99-01/11/99 XUsJP
1.8 07/07/97-03/99 XU7JB/JP
1.8 Berline Break 03/99-01/11/99 XU7JB/IP
1.8i 16v. 07/07/97-03/99 XU7]P4
1.8i 16v. Berline Break 03/99-01/11/99 XU7JP4
1.9TD SD 07/07/97-03/99 XUD9SD
1.9TD 03/11/97-03/99 XUDI9TE
2.0i 16v. 03/11/97-03/99 XU10J4R
2.0i 16v. Berline Break 03/99-01/11/99 XU10J4R
2.01 16v. Coupé 03/99-10/11/99 EW10J4 XU10J4R
2.01 16v. Berline Break 03/99-01/11/99 EW10J4
2.0 Turbo 03/11/97-03/99 XUI10J2TE
2.0 HDi sans FAP 03/11/97-03/99 DWI10ATED
2.0 HDi Berline Break sans FAP  03/99-01/11/99 DWI10ATED
2.0 HDi Berline Break 03/99-01/11/99 DWI10TD
2.1 TD 03/11/97-03/99 XUDI11BTE

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

115

LOTONHAd



PEUGEOT

...406...
7170022 Direction assistée / Power steering
Assistance non variable Repere 60DHEN
1205
[Elzr E
G— 1=
M16x150
1.6 Berline Break 02/11/99-
1.8 Berline Break 02/11/99-
1.8i 16v. Berline Break 02/11/99-
2.01 16v. Berline Break 02/11/99-
2.01 16v. Coupé 11/11/99-
2.0 HDi Berline Break sans FAP 02/11/99-
2.0 HDi Berline Break 02/11/99-
2.2i 16v. Berline Break 02/11/99-
2.2i 16v. Coupé 11/11/99-
2.2 HDi Berline Break 02/11/99-
2.2 HDi Coupé 11/11/99-
7006098 Direction assistée / Power steering
Assistance non variable vérin extérieur Repere 60DJNU
1200
& zr
M16x150 | | | lmxaso
M16x150
7006099 Direction assistée / Power steering
Assistance non variable vérin ext. Repere 60DJNX
1200
5] Trw
i _ M12x100
M14x150
7006020 Direction assistée / Power steering
Assistance variable Repere 60DHCD
1203
= £
iai5h M14x150
M16x150
0664424 Protecteur de direction / Steering protector

@ 18 Dir. assistance non variable cdté pignon Dir. a vérin extérieur

0664304

Protecteur de direction / Steering protector
Dir. assistance non variable c6té opposé au pignon Dir. a vérin extérieur

OE 4000HH

XUSJP
XU7JB/JP

XU7JP4
XU7JP4
XUDI9SD
XUD9SD

XUDITE

XU10J4R
XUI0J2TE
XUDI1BTE

XUDI11BTE
ES9J4

EW7J4 XU7JP4
EW10J4 XU10J4R
EW10J4
DWI10ATED
DWI10TD
EW12J4
EW12J4
DWI12TED4
DWI2TED4
OE 4000K8
1.8i 16v. Berline Niveau 2/3
-06/07/97
1.81 16v. Break Niveau 2/3
-07/09/97
1.9 TD SD Berline Niveau 2
-06/07/97
1.9 TD SD Break Niveau 2
-07/09/97
OE 4000K9
1.9TD -02/11/97
2.0i 16v. Sauf niveau 1
-02/11/97
2.0 Turbo -02/11/97
2.1 TD -02/11/97
OE 4000HW
2.1 TD -03/99
3.01 Vo6 -03/99
3.01 V6 Berline Break
03/99-01/11/99

3.0i V6 Coupé 03/99-18/11/99

OE 406642
1.61 -03/99
1.8i/16v. -03/99
1.9TD -03/99
2.0i 16v. -03/99
2.0 HDi -03/99
2.1TD -03/99

OE 406630
1.61 -03/99
1.8i 16v. -03/99
1.9TD -03/99
2.01 16v. -03/99
2.0 HDi -03/99
2.1TD -03/99

ES9J4
ES9J4

XUS5JP
XU7JB/JP/IP4
XUDITE/SD
XU10J
DWI10TD/ATED
XUDI1BTE

XUS5JP
XU7IB/JP/IP4
XUDOTE/SD
XU10J
DWI10TD/ATED
XUDI11BTE

116

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




...406
0664604

Dir. assistance non variable Dir. a vérin intégré DA variable
1.61 -03/99 XU5JP 1.61
1.8i/16v. -03/99 XU7)B/IP/IP4 1.8i/16v.
1.9TD -03/99 XUDI9TE/SD 1.8i 16v.
2.0i 16v. -03/99 XU10J4R 1.9TD
2.0 HDi -03/99 DWI10TD/ATED 2.0i 16v.
2.1 TD -03/99 XUDI11BTE 2.0 HPi
3.01 V6 24v. -03/99 ES9J4/S 2.0 HDi

2.1 TD

2.2i 16v.

2.2 HDi

3.0i V6 24v.
7070035 Pompe dir. assistée / Power steering pump

DA non variable
6 Gorges

o141

7070040 Pompe dir. assistée / Power steering pump
DA non variable
o107
7070038 Pompe dir. assistée / Power steering pump
p
Dir. assistance non variable
2125
7070033 Pompe dir. assistée / Power steering pump
DA variable
R OYN =
EEE NG
- )
™
407...
7170001 Direction assistée / Power steering

Protecteur de direction / Steering protector

OE 406675

XUS5JP
XU7JB/JP/IP4
EW7J4
XUDOTE/SD
EW10J4 XU10J4R
EWI10D
DWI10TD/ATED
XUDI11BTE
EW12J4
DWI12TED4
ES9J4/S

OE 40078E

1.8i 16v.
2.0i 16v.
2.0 HPI
2.2i 16v.

03/99-
03/99-
03/99-
03/99-

OE 4007L9

1.9TD -01/01/96
2.1 TD -01/01/96

OE 4007X9
2.0 HDi 04/99-04/04
2.0 HDi 04/99-04/04

2.2 HDi 16v. 04/99-04/04

OE 4007R0

3.01 V6 24v.

3.0i V6 24v. 04/99-

OE 4000LJ

EW7J4

EW10J4
EWI10D
EW12J4

XUDITE
XUDI11BTE

DWI10ATED
DWI10TD
DWI2TED4

ES9J4
ES9J4S

Assistance non variable Dir. electro hydraulique assistée Course mécanisme direction 184 Reperes 60DHKK 60LYAK

1062

=] xovo |

Go——
M14x150

7170028

Direction assistée / Power steering

H

Assistance non variable Dir. electro hydraulique assistée Course méca. dir. 174 Rep. 60LYAM 60DHKM

|ﬁ1{0¥0 |

o——
M14x150

1052 g

1.8i 16v.  -13/11/05
2.0i 16v.  -13/11/05
2.0i 16v.  -13/11/05
2.0HDi  -13/11/05
OE 4000LL
2.0i 16v.  -13/11/05
2.0i 16v.  -13/11/05
2.2i16v.  -13/11/05

Sauf Depol. Euro 4

EW7A
EWI0A
EW10J4
DWI10BTED4

EWI0A
EW10J4
EW12J4

2.2i 16v. /Break Depol. Euro 4

-13/11/05

2.0HDi  -13/11/05

EW12J4
DWI10BTED4

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

117

LOTONHAd



PEUGEOT

2750001

1.6 HDi

1.8i 16v.
2.01 16v.

2.0 HDi

2.0 HDi FAP
2.21 16v.

2.2 HDi FAP
2.7 HDi
3.01V6

..407

Protecteur de direction / Steering protector

DA non variable

Coté pignon Sauf Berline Break conduite a droite
14/11/05- DV6TED4 1.6 HDi
14/11/05- EW7A/I4 1.8i 16v.
14/11/05- EW10A/J4 2.0i 16v.
14/11/05- DWI10BTED4 2.0 HDi
14/11/05- DWI10CTED4 2.0 HDi FAP
14/11/05- EW12J4 2.2i 16v.
14/11/05- DWI12BTED4 2.2 HDi FAP
14/11/05- DTI17TED4 2.7 HDi
14/11/05- ES9A 3.0i V6
14/11/05- DT20C

3.0 HDi
2750002

Coté opposé au pignon Sauf Berline Break conduite a droite
1.6 HDi 14/11/05- DV6TED4 1.6 HDi
1.8i 16v. 14/11/05- EW7J4 1.81 16v.
1.81 16v. 14/11/05- EW7A 2.01 16v.
2.0i 16v. 14/11/05- EW10J4 2.0 HDi
2.0i 16v. 14/11/05- EWI10A 2.0 HDi FAP
2.0 HDi 14/11/05- DWI10BTED4 2.2i 16v.
2.0 HDi FAP 14/11/05- DWI10CTED4 2.2 HDi FAP
2.2i 16v. 14/11/05- EW12J4 2.7 HDi
2.2 HDi FAP 14/11/05- DWI12BTED4 3.01 V6
2.7 HDi 14/11/05- DT17TED4
3.0i V6 14/11/05- ES9A
3.0 HDi 14/11/05- DT20C
7070052 NEW Pompe dir. assistée / Power steering pump
DNA Assistance non variable
126
4007
2750006 Protecteur de direction / Steering protector
504...
0024704 Direction mécanique / Sicering gear
0024704B en boite/ in box
0024824 Direction mécanique / Steering gear
0024824B en boite/ in box

Protecteur de direction / Steering protector

DA non variable

OE 406671

Coté opposé au pignon Berline Break conduite a droite

DV6TED4
EW7A/J4
EWI10A
DWI10BTED4
DWI10CTED4
EW12J4
DWI12BTED4
DT17TED4
ES9A

OE 406672

Coté pignon Berline Break conduite a droite

DV6TED4
EW7A/]4
EWI10A
DWI10BTED4
DWI10CTED4
EW12J4
DWI12BTED4
DT17TED4
ES9A

OE 4007GX

1.6 HD1 DV6TED4

OE Part/oe 406684

DWI12MTED4
MMC

2.2 HDi FAP -26/09/09
2.4 -26/09/09

OE 400295

TT /all models Camionnette 01/80-
504R17 504R48

OE 400293

TT /all models 01/80-  Ch- 3221371

Sauf Coupé sauf camionnette

TT /all models Camionnette 01/79-

118

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

0664084

0664104

0664154

0664264

0664174

0664164

1006004

0024704

..504

Protecteur de direction / Steering protector

DNA co6té opposé au pignon

Protecteur de direction / Steering protector

coté pignon

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

DA c6té opposé au pignon

Protecteur de direction / Steering protector

DA c6té opposé au pignon

OE 406608

TT /all models Diesel
DNA c6té opposé au pignon -12/80

OE 406610

TT /all models Essence DA -12/80
TT /all models Diesel DNA & DA -12/80

OE 406620

TT /all models Essence & Diesel
DNA 01/80-12/86
TT /all models Essence & Diesel
DA c6té pignon 01/80-12/86

OE 406626

TT /all models Essence & Diesel DNA 01/86-
TT /all models Essence & Diesel
DA c6té pignon 01/86-  Ch- 4084870

OE 406617

TT /all models Essence & Diesel 01/80-

OE 406616

TT /all models Essence & Diesel

Kit rép. protecteurs de dir. / Steering boots repair kit OE -

(0664154x2 + colliers) DNA

505...

Direction mécanique / Steering gear

0024704B en boite/ in box

7006081

Go——
M14x150

Direction assistée / Power steering
Pas non variable Boitier alu

1143

s

=

M14x150

—

M16x150

TT /all models Essence & Diesel 01/80-12/86

OE 400295

TT /all models Sauf 4WD

OE 400009

TT /all models 01/84-
Sauf Dangel sauf NOT ZN3J

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

119

LOTONHAd



PEUGEOT

<

o

0664154

0664264

0664274

0664174

0664164

1006004

2750008

2750012

7006081

o——
M14x150

NEW

..505

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

Kit rép. protecteurs de dir. / Steering boots repair kit

(0664154x2 + colliers)

i ————
—
P R R

508

Protecteur de direction / Steering protector
Train avant type VH10

5008

Protecteur de direction / Steering protector

<A

604...

Direction assistée / Power steering

1143 @

F=

M14x150

—

M16x150

OE 406620

TT /all models DNA

TT /all models DA c6té pignon

OE 406626

TT /all models DNA co6té pignon
TT /all models DA c6té pignon

OE 406627

TT /all models

DNA c6té opposé au pignon

OE 406617

-12/87
-12/87

01/88-
01/88-

01/88-

TT /all models DA c6té opposé au pignon

OE 406616

TT /all models Essence & Diesel

DA coté opposé au pignon

OE -
TT /all models DNA -12/87
OE 406688
1.6i 16v. THP EP6CDT/M
1.6i VTi 16v. EP6C
1.6 HDi DVe6C
2.0 HDi FAP DWI10FC/FD
2.0 HDi FAP DWI10BTED4
2.0 HDi FAP DWI10CTED4
2.2 HDi FAP DWI12C
OE Part/oe 406682
1.6i 16v. /Turbo 11/09- EP6 /CDT
1.6 HDi 11/09- DVe6C
DV6TED4

2.0 HDi Coété opposé au pignon DW10CTED4
2.0 HDi Coté opposé au pignon DW10CB

OE 400009

TT /all models

120

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

..004
0664174 Protecteur de direction / Steering protector
DA c6té opposé au pignon
0664154 Protecteur de direction / Steering protector
DA c6té pignon
0664164 Protecteur de direction / Steering protector
DA c6té opposé au pignon

605

7006088 Direction assistée / Power steering

Repere 60DJTT

1240 @

OE 406617

TT /all models 01/78-

OE 406620

TT /all models 01/78-

OE 406616

TT /all models

OE 4000Q8

Sauf pas variable a gauche
TT /all models 10/89-06/94
TT /all models 07/94-28/09/97 XU XUD

= 25TD 07/94-28/09/97 DKS5SATE
M14x150 M14x150 3.01 V6 07/94-28/09/97 ZPJ
- 3.01 V6 24v. 07/94-28/09/97 ZPJ
M16x150
7170003 Direction assistée / Power steering OE 4000R0
Assistance variable Repere 60DJZA
2.0 Turbo XUI10J2TE
1240 2.1 TD XUDI11ATE
‘ 2.5TD DKS5SATE
= | 3.0i V6 ZP)
M14x%150 # M14x150 3.01 V6 24v. 7ZPJ4 ES9J4
U =
M16x150
0664214 Protecteur de direction / Steering protector OE 406621
DA c6té chape de vérin
TT /all models -06/94
TT /all models conduite a G 07/94-28/09/97
sauf DKSATE et ZPJ4
0664304 Protecteur de direction / Steering protector OE 406630
DA c6té opposé au pignon
I TT /all models
0664424 Protecteur de direction / Steering protector OE 406642
D18
2.5TD 07/94-07/99 DKSATE
0664294 Protecteur de direction G / Left steering protector OE 406629
@10
TT /all models

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

121

LOTONHAd



PEUGEOT

<

607
7170002 Direction assistée / Power steering
Assistance non variable DNA assistée
1241
== g
Go——
M16x150
0664744 Protecteur de direction / Steering protector
DA non variable & variable
7070038 Pompe dir. assistée / Power steering pump
2125
7070033 Pompe dir. assistée / Power steering pump
DA variable
9, =g,
a7 (onk
Fé [
|8
17
7070063 NEW Pompe dir. assistée / Power steering pump
=5 zF
806...
7006093 Direction assistée / Power steering
1283
] trw ‘ : @
CELELE e ||/ g 1111 pIoxT50
M18x150
0664414 Protecteur de direction / Steering protector

OE 4000NZ
2.0i 16v. -08/04 EW10J4
2.0 HDi -08/04 DWI10ATED
2.0 HDi FAP 09/04- DWI10ATED
2.0 HDi 09/04- DWI10BTED4
2.2i 16v. EW12J4
2.2 HDi DWI12TED4
2.2 HDi FAP 09/04- DWI12BTED4
2.7 HDi 09/04- DT17TED4
3.0i V6 09/04- ES9A
OE 406674
TT /all models
OE 4007X9
2.0i 16v.  Dir. assistance non variable
03/11/00-09/04 EW10J4
2.0 HD1 Dir. assistance non variable
-09/04 DWI10ATED
2.0 HDi 10/04- DWI10ATED
2.2i 16v.  Dir. assistance non variable
03/11/00-09/04 EW12J4
2.2i 16v.  Direction mécanique assistée

10/04- EW12J4
2.2 HDi 16v. Dir. assistance non variable

03/11/00-09/04 DWI12TED4
2.2 HDi1 16v. 10/04- DWI12TED4
OE 4007R0
3.0i V6 -20/11/03 ES9J4S
OE 4007CZ
3.01 V6 Dir. assistance variable
21/11/03-  ES9J4S
3.01 V6 24v. 09/04- ES9A
OE 400126
1.8 XU7JP
1.9TD XUD9TE
2.0 XU10J2
2.0 Turbo XU10J2TE
2.01 16v. XU10J4R
OE 406641

TT /all models

122

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




..306
7070001 Pompe dir. assistée / Power steering pump OE -
6 Gorges 1.9 TD 07/95-08/02
£ zF 6 Grogves 2.0 HDi 06/96-
125
7070002 Pompe dir. assistée / Power steering pump OE 4007W5
6 Gorges 1.9 TD 07/95-08/02
6 Grooves 2.0 HDi 06/96-
9113
7070035 Pompe dir. assistée / Power steering pump OE 40078E
6 Gorges 200 16v. 03/02/97- BVAAL4 EWI10J4
6 Grooves
o141
7070038 Pompe dir. assistée / Power steering pump OE 4007X9
6 Gorges 2.0 HDi1 Sans FAP DWI10ATED/4
6 Grooves
@125
807
7006061 Direction assistée / Power steering OE 4000GQ
Assistance variable
2.0 HDi -11/03 DWI10ATED4
1310 2.2 HDi -11/03 DWI12TED4
| [ rw
M14x150 —_——-h- M16x150
M18x150
0664704 Protecteur de direction / Steering protector OE 406670
DA variable
2.0i 16v. EW10A/J4
2.0 HDi DWI10ATED4
2.0 HDi FAP DWI10BTED4
.m 2.0 HDi FAP DW 10CTED4
2.0 HDi DWIOUTED4
2.2i 16v. EW12J4
2.2 HDi DWI12TED4
2.2 HDi FAP DWI12BTED4
3.0i V6 ES9J4S
Bipper VL
2750004 Protecteur de direction / Steering protector OE Part/oe 406695
1.3 HDi FAP F13DTES
“ 1.41 TU3A
1.4i TU3AES
1.4 HDi DVA4TED

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

123

LOTONHAd



PEUGEOT

Expert VL
7006093 Direction assistée / Power steering
1283
[ TrW | " E
M14x150 QIS 010110 HIOxTH0
M18x150
0664414 Protecteur de direction / Steering protector
7070002 Pompe dir. assistée / Power steering pump
@113
7070013 Pompe dir. assistée / Power steering pump
= @z
o114
7070001 Pompe dir. assistée / Power steering pump
@125
7070038 Pompe dir. assistée / Power steering pump

9125

RCZ

Protecteur de direction / Steering protector

-

2750012 ~EW

Bipper VU

Protecteur de direction / Steering protector

2750004

OE 400126
1.61 -02/01/00 1580 SPi
1.81 -02/01/00  XU7JP
1.9D -02/01/00 DWS8 XUD9
1.9TD -02/01/00 XUDO9TE
2.0i 16v. -02/01/00 EW10J4

OE 406641
TT /all models -12/06

OE 4007W5
19D 10/95-04/11/01 DW&/B
2.0 HDi Conduite aD 10/95-04/11/01

DWI10BTED W3/W4

OE 4007CW

1.9D 05/11/01-12/06 DWS8B

1.9D 05/11/01-12/06  DWS8
OE -

1.9TD 10/95-12/06
OE 4007X9

2.0i 16v. 05/11/01-12/06 EW10]4

2.0 HDi 05/11/01-12/06  DW10
OE Part/oe 406682

1.61 16v. /Turbo 01/10- EP6CDT /X

2.0 HDi FAP 01/10- DWI10CTED4
OE Part/oe 406695

1.3 HDi FAP F13DTE5

1.4i TU3A

1.41 TU3AES

1.4 HDi DV4ATED

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

124




Boxer 1 -01/02

0004E54 Direction mécanique / Steering gear OE 4000E5
Repere 60DJFL 19D XUD9A
i 1.9 TD XUDYTEF /UTF
2.0 XU10J2U
T — 2.0 HDi DWI10TD
M16x150 - 2.5D/TD DJ5/T
2.5TDi DJ5STED
. . 2.8D/TD 8140.63 /43
0004E54B en boite/ in box >3 HDi 3140.438
7006089 Direction assistée / Power steering OE 4004E4
Sauf 4WD & -ch 15687004
1409 19D XUDYA
RS 1.9TD XUDYTEF /UTF
— 2.0 XU10J2U
D'“:'x L3 M14x150 2.0 HDi DWI10TD
s ' — 2.5D/TD DJ5 /T
2.5 TDi DJSTED
el 28D/D 8140.63 /43
2.8 HDi 8140.43S
7006102 Direction assistée / Power steering OE 4000EC
Sauf 4WD & Ch- 15687005
[ 1407 19D XUD9A
‘ 1.9TD XUD9TEF/ UTF
= 2.0 XU10J2U
M16x150 | [EMfxIs0 2.0 HDi DWI10TD
— 2.5D/TD DJ5/ T
aeo= | 2.5TDi DJ5STED
2.8 D/TD 8140.63 /43
2.8 HDi 8140.43S
2006171 Protecteur de direction / Steering protector OE Part/oe 4018A5
DA & DNA
TT /all models 02/94-01/02
M sauf 4WD
2006170 Protecteur de direction D / Right steering protector OE Part/oe 400622
DA
TT /all models 02/94-01/02
o, e
7070003 Pompe dir. assistée / Power steering pump OE 4007CJ
— 4 Gorges 2.0 HDi Avec Clim. DWI10TD
=4 zF 4 Grooves
2104.5
7070061 ~NEW Pompe dir. assistée / Power steering pump OE 4007Y8
25D Sofim
28D Sofim
2.8 TD Sofim
2.8 HDi Sofim
7070019 Pompe dir. assistée / Power steering pump OE 4007E3
Esacan 2.5 D /4WD -01/02 DJ5
[ i 25TD/AWD 0102  DJ5T
10 2.5 TDi /4WD -01/02 DJ5STED

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

125

LOTONHAd



PEUGEOT

Boxer II 01/02-07/06

7006018 Direction assistée / Power steering OE 4000JW
AT Sauf 4WD /VIN : 936... -ch 17175290
|[ﬁ TRW | 2.0i /GNV / GPL XU10J2
/ i 2.0 HDi DWI10TD/UTD
e - | 22HDI DW 12UTED
ML6x150 | | oI I — 2.8 HDi
U i=e
M16x150
2006171 Protecteur de direction G/ Left steering protector OE Part/oe 400622
w TT /all models
2006170 Protecteur de direction D / Right steering protector OE Part/oe 400622
.I"I TT /all models

7070003 Pompe dir. assistée / Power steering pump OE 4007CJ

2.01 06/05/02-07/06 XU10J2

& zF 2.0 HDi -07/06  Ch- 17431901 DW10TD
0104.5 2.0 HDi Avec clim.
01/02- -ch 17431900 DW10TD
2.2 HDi -07/06  Ch- 17431901 DW12UTED
2.2 HDi Avec clim.
01/02- -ch 17431900 DWI12UTED

7070061 NEW Pompe dir. assistée / Power steering pump OE 4007Y8

2.8TD Sofim

2.8 HDi Sofim

Boxer III 07/06-...

7170025 Direction assistée / Power steering OE Part/oe 4001E5
Assistance Variable

M?“g’ﬁ) M14x150
M12x150
2.2 HDi 110hp 81kw -28/02/13 PUMA C81 Euro 5
2.2 HDi 130hp 96kw -28/02/13 PUMA C96 Euro 5
2.2 HDi 150hp 110kw 28/02/13 PUMA C110 Euro 5
2.2 HDi 100hp 74kw 120hp 88kw -28/02/13 PUMA 22DT
2.2 HDi 130hp 96kw -28/02/13 PUMA 22DT
3.0 HDi 156hp 115kw 175hp 129kw  -28/02/13 F30DT Euro 5
3.0 HDi 155hp 116kw -28/02/13 F30DT
7170026 Direction assistée / Power steering OE Part/oe 1607744580
2.2 HDi 110hp 81kw -28/02/13
1310 PUMA C81 Euro 5
2.2 HDi 130hp 96kw -28/02/13
—— PUMA C96 Euro 5
116x150 2.2 HDi 150hp 110kw -28/02/13
PUMA C110 Euro 5

2.2 HDi 100hp 74kw 120hp 88kw
-28/02/13 PUMA 22DT
3.0 HDi 155hp 116kw FAP -28/02/13 F30DT

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

126



...Boxer III 07/06-

2750007 Protecteur de direction / Steering protector
Expert VU
7006093 Direction assistée / Power steering
1283
=] Trw | ‘ g
M14x150 I MI6E1S0
M18x150
0664414 Protecteur de direction / Steering protector
7070002 Pompe dir. assistée / Power steering pump
| o
o113
7070013 Pompe dir. assistée / Power steering pump
=5 zF
o114
7070001 Pompe dir. assistée / Power steering pump
6 Gorges
54 zF 6 Grooves,
0125
7070038 Pompe dir. assistée / Power steering pump
2125
Js...
0054114 Direction mécanique / Steering gear
1336
Go——
M16x150
0054114B en boite/ in box

OE Part/oe 406686
2.2 HDi
3.0 HDi
OE 400126
1.61 -02/01/00 1580 SPi
1.81 -02/01/00 XU7JP
1.9D -02/01/00 DWS8
1.9D -02/01/00 XUD9
1.9TD -02/01/00 XUDI9TE
OE 406641
TT /all models -12/06
OE 4007W5
1.9D 10/95-04/11/01 DW&/B

2.0 HDi Conduite a D
10/95-04/11/01 DWI10BTED W3/W4

OE 4007CW
1.9D 05/11/01-12/06 DW8
19D 05/11/01-12/06 DWE&B
OE -
1.9 TD 10/95-12/06
OE 4007X9
2.01 16v.  05/11/01-12/06 EW10J4
2.0 HD1 05/11/01-12/06 DW10
OE 4000A0
TT /all models

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

127

LOTONHAd



PEUGEOT

<

o

wJS
7006090 Direction assistée / Power steering
1316
|[ﬂTRw | ‘ ‘ @
M16x150 __,==im = . M14x150
M1 6x150
0664184 Protecteur de direction / Steering protector
DNA c6té pignon
0664194 Protecteur de direction / Steering protector
DNA c6té opposé au pignon
7070032 Pompe dir. assistée / Power steering pump
==
EEE QNG
- )
8
17
Partner...
0004S24 Direction mécanique / Sicering gear
Repere 60DJCZ

0004S24B en boite/ in box
7006035 Direction assistée / Power steering
1182
= =
e M14x150
M16x150
7006021 Direction assistée / Power steering
= .‘ 1174 EH -
5 ‘ s
M14x150 I — h _ | [M1ax150
U =
M16x150
7170021 Direction assistée / Power steering
T 1162 EH 15
o 1=

M14x150

OE 400039

TT /all models 02/83-
Sauf Camping car et 4WD

OE 406618

TT /all models

OE 406619

TT /all models

OE 4007V7

2.0
25D
25TD

OE 4000S2

-09/02

-09/02

-09/02

-09/02
D -09/02
9D -09/02
HDi -09/02

lec. /All models Electric
-09/02

OE 4000S0

o5

-03/01/99
-03/01/99
1 -03/01/99
-03/01/99
1 -03/01/99
8D -03/01/99

D -03/01/99

OE 4000AA

04/01/99-11/00
04/01/99-11/00
1 04/01/99-11/00
04/01/99-11/00
1 04/01/99-11/00
8D 04/01/99-11/00

D 04/01/99-11/00

OE 9801760580

1 12/00-09/02
i 10/02-05/08
4 12/00-09/02
41 10/02-05/08
4 10/02-05/08
6 10/02-05/08

—_

1 16v.

TU1JP/ M+
TU3JP
TUSJP4
XU7IB

XUD7

DWS8/B XUD9
DWI10TD

SA18

TULIP/M+
TU32
TU3JP
TUSIP4
XU7IB
XUD7
XUD9

TULIP/M+
TU32
TU3JP
TUSIP4
XU7]B
XUD7
XUD9 DW8

TULJP
TULJP
TU3JP
TU3JP
TU3A
TUS5JP4

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

128




o

:

—

M14x150

—

M16x150

...Partner
7006023 Direction assistée / Power steering
Reperes 60DHIL 60DHXG
1167
=z ¢
=====:::::*lIIigI!I'iIlliii,..l'li'nu——————__
M14x150 —
% g &
7006022 Direction assistée / Power steering
Repere 60DHAR
1166
[ zr o
o o——
M14x150
0664154 Protecteur de direction / Steering protector
Coté pignon
0664224 Protecteur de direction / Steering protector
Coté opposé au pignon
0664434 Protecteur de direction / Steering protector
Coté pignon
0664444 Protecteur de direction / Steering protector

DNA c6té opposé au pignon

2750012 w~EW  Protecteur de direction / Steering protector

-

7070034 ~EW  Pompe dir. assistée / Power steering pump

125

OE 4000KK
1.6 HDi 10/02-05/08 DV6ATED4
1.6 HDi 10/02-05/08 DV6BTED4
2.0 HDi 10/02-05/08 DWI10TD
OE 4000CV
2.0 HDi -02/10/00 DWI10TD
OE 406620
TT /all models DA -09/02
Sauf 2.0 HDi Mot. DW10TD
1.1i 10/02-05/08 TU1JP
1.41 10/02-05/08 TU3A/JP
1.61 16v. 10/02-05/08 TUSIP4
19D 10/02-05/08 DWS8B
TT Elec. /All models Electric
10/02-05/08 SA18
OE 406622
TT /all models DA -09/02
1.11 10/02-05/08 TU1JP
1.41 10/02-05/08 TU3A/JP
1.61 16v.  10/02-05/08 TUSJP4
1.6 HDi 10/02-05/08 DV6ATED4
1.6 HDi 10/02-05/08 DV6BTED4
1.9D 10/02-05/08 DWE&B
2.0 HDi 10/02-05/08 DWI10TD
TT Elec. /All models Electric
10/02-05/08 SA18
OE 406643
TT /all models DNA -09/02
1.6 HDi 10/02-05/08 DV6ATED4
1.6 HDi 10/02-05/08 DV6BTED4
2.0 HDi DA -09/02 DWI10TD
2.0 HDi 10/02-05/08 DWI10TD
OE 406644
TT /all models -09/02
OE Part/oe 406682
1.61/16v. /Teppee  05/08- EP6C /CB
TUSJP4 /B
1.6 HDi 05/08- DV6

OE 40072A

1.1i 8v. Sans pavillon multifonction
03/10/00-12/02 TU1JP

1.41 Sans pavillon multifonction
03/10/00-12/02 TU3JP

1.4i  Depol. CEE 2000
03/10/00-12/02 TU3JP

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

129

LOTONHAd



PEUGEOT

<

7070032

7070057

7070059

7070058

7070022

b\

7070044

7070005

NEW

...Partner...
Pompe dir. assistée / Power steering pump

Ms
>

@30
17
=3
A\ D
9
55

6 Gorges
6 Grooves

137

126

9126

Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

142

Pompe dir. assistée / Power steering pump

6 Gorges 7
6 Grooves ]

141

6 Gorges
6 Grooves

115

OE 4007V7
1.41 -01/03/99 TU3JP
OE 4007TQ
1.61 16v.  05/08-12/10/14 TUSJP4/B
OE 4007WL
1.6 HDi 12/02-05/08 DV6A/BTED4
OE 4007VR
1.6 HDi  05/08- DV6A/UTED4
1.6 HDi  05/08- DV6B/UTED4
OE 4007V9

1.81 Sans clim. 07/97-12/00 BVM XU7JB

OE 4007W1
1.81 Clim. -09/02 XU7]B
OE 40075C
1.8 D 58hp 43kw 60hp 44kw 07/96-06/98
BVM XUD7
1.9 D 70hp 50/2kw 07/96-06/98
BVM XUDYSA

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

130




..Partner
7070016 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves
o114

7070048 NEW Pompe dir. assistée / Power steering pump

114

7070004 Pompe dir. assistée / Power steering pump

9113.5

7070053 NEW Pompe dir. assistée / Power steering pump

2125

7070012 Pompe dir. assistée / Power steering pump

9125.5

OE 40076C

1.9 D Sans pavillon multifonction
07/98-12/02 DW&8/B

OE 4007AL

1.9 D Avec pavillon multifonction
07/98-12/02 DWS&/B

OE 4007WP

19D 10/02-05/08 DWS8B
OE 4007JE

20HDi  -12/02 DWI10TD
OE 4007LT

2.0HDi  10/02-05/08 DWI10TD

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

131

LOTONHAd



RENAULT

RENAULT
R4
4006001 Direction mécanique / Sieering gear OE 7702109906
565 TT /all models VP/ VU F4 F6

4006002 Direction mécanique / Steering gear OE -

TT /all models VP/ VU F4 F6

4006002B en boite/ in box
4006100 Protecteur de direction / Steering protector OE 7700554294
m TT /all models -06/79
4006027 Protecteur de direction / Steering protector OE 7700656569
m TT /all models 06/79-
RS
4006005 Direction mécanique / Sieering gear OE 7943010219
TT /all models 01/79-
4006005B en boite/ in box
4006027 Protecteur de direction / Steering protector OE 7700656569
m TT /all models 07/79-
4006253 Kit rép. protecteurs de dir. / Steering boots repair kit
(4006027x2 + colliers)
l Il n TT /all models 07/79-
e em———
Super S...
4006008 Direction mécanique / Steering gear OE 7701463995
1086 TT /all models -01/89
Sauf GT turbo et GTE

o——
M14x150

4006008B en boite/ in box

01/79-

01/79-

OE -

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

132




<P 0
..Super 5
4006009 Direction mécanique / Steering gear OE 7701466485
586 TT /all models 02/89-
Sauf GT turbo et GTE
Go——
M14x150
4006009B en boite/ in box
7006103 Direction assistée / Power steering OE 7701351833
g 1.4 B403 C403
[Fzr 1.6 D B404
= 1.6 D -02/89 C404
s M16x150
M18x150
7006165 Direction assistée / Power steering OE 7701467947
Loos 1.7 B40G B40K
[ smx 1.7 -02/89 C40G
e M16x150
M18x150
4006075 Protecteur de direction / Steering protector OE 7700673649
DNA
w TT /all models B40 C40 S40
4006021 Protecteur de direction / Steering protector OE 7701469617
DA
m TT /all models B40 C40 S40
4006255 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006075x2 +colliers) DNA
TT /all models
L ——-_’—‘_—_’—
P ———
4006254 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006021x2 +colliers) DA
TT /all models B40 C40 S40
—
—_—

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

133

LTOVNHA



RENAULT

o

R6
4006001

4006002

4006002B en boite/ in box

4006100 Protecteur de direction / Steering protector

4006027 Protecteur de direction / Steering protector
R9

4006010 Direction mécanique / Steering gear

g

OE 7702109906

0.8 01/79- R1180
OE -

0.8 01/79- R1180
OE 7700554294

TT /all models -06/79

OE 7700656569

TT /all models 06/79-

OE 7701463999

TT /all models -05/87

Sauf 1425 L42E
Go——
M14x150
4006010B en boite/ in box
4006011 Direction mécanique / Sicering gear OE 7701465388
1159 TT /all models 06/87-
Sauf L425 L42E
o o——
M14x150
4006075 Protecteur de direction / Steering protector OE 7700678649
w TT /all models
4006255 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006075x2 +colliers)
- NI - e
L e —
P —
R11...
4006010 Direction mécanique / Steering gear OE 7701463999

1159 @

Go——
M14x150

TT /all models -05/87
Sauf B375 C375 B37E C37E

4006010B en boite/ in box

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.

134




<> o
..R11
4006011 Direction mécanique / Steering gear OE 7701465388
1159 g TT /all models 06/87-
Sauf B375 C375 B37E C37E
Go——
M14x150
4006075 Protecteur de direction / Steering protector OE 7700678649
w TT /all models
4006255 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006075x2 +colliers)
ARG - - HHmoder
e ————
S —
R18
7006104 Direction assistée / Power steering OE 7701351087
Boitier fonte
1040 1.4 01/78-12/36 R1340/50 R2350
=R 1.6 01/78-12/86  R1341/42
— R1351/52
e Mi6x150 |  1.6Turbo 01/78-12/86  R1345/55
= 2.0 01/78-12/86 R1343/53
= 21D 01/78-12/86  R1344/54
2.1 TD 01/78-12/36 R1346/56
4006021 Protecteur de direction / Steering protector OE 7701469617
DA
W TT /all models R1340/41/42/43/44/45/46
4006121 Protecteur de direction / Steering protector OE 7700653459
DNA cdté pignon
. TT /all models R1340/41/42/43/44/45/46
4006120 Protecteur de direction / Steering protector OE 7700680852
DNA c6té opposé au pignon
m TT /all models R1340/41/42/43/44/45/46
4006254 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006021x2 +colliers) DA
V V TT /all models R1340/41/42/43/44/45/46
—_—
R19...
4006015 Direction mécanique / Steering gear OE 7701466375
1146 TT /all models
M14x150 =W‘;_%_=
o
4006015B enboite/ in box

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

135

LTOVNHA



RENAULT

<

‘ M16x150

i

M18x150

—

z

M16x150

-

M18x150

—

..R19
7006105 Direction assistée / Power steering
1167
|Eﬂsm |
Go——r
M14x150
7006107 Direction assistée / Power steering
7] smx
Qor——
M14x150
4006075 Protecteur de direction / Steering protector
DNA
4006021 Protecteur de direction / Steering protector
DA
4006124 Protecteur de direction / Steering protector
DNA c6té opposé au pignon
7074003 Pompe dir. assistée / Power steering pump
6 Gorges
6 Grooves

1.41 79hp 58kw 80hp 57kw

1.71 105hp 77kw
1.81 90hp 68kw
1.81 90hp 68kw
1.81 110hp 81kw
1.9 TD 90hp 68kw

4006255

2954001

9125

01/93-12/95
07/90-04/92
04/92-03/96
04/92-12/95
04/92-12/95
07/91-03/96

Kit rép. protecteurs de dir. / Steering boots repair kit

(4006075x2 +colliers) DNA

—

P e

Kit rép. protecteurs de dir. / Steering boots repair kit
(4006075x1 + 4006124x1 + colliers) DNA

—

Pr———————
—

BVM
BVM
BVM
BVA

BVM
BVM

OE 7701351857
TT /all models 01/89-
Sauf 16v.
OE 7701351861
1.8i 16v. 01/89-
OE 7700678649
1.2 E7F
14 C1J/21/3) E61/1])
1.7 cOté pignon F2N F3N
1.81  coté pignon F3p
1.9D coté pignon
OE 7701469617
1.2 E7F
1.4 E6J
1.7 F2N F3N
1.8i/16v. F3P F7P
19D F8Q
1.9TD
OE 7701469497
1.7 F2N F3N
1.81 F3P
OE 7700795295
E7J700/706
F3N746
F3P704/8
F3P705
F3P700
F8Q610/740/744/768
OE -
1.2 E7F
1.4 C1J/2)/3] E6J/7)
OE -
1.7 F2N F3N
1.81 F3P

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

136




<

—

M16x150

—

M18x150

g

S

-—

M16x150

—

M18x150

:

-—

M16x150

—»

M18x150

R20
7006108 Direction assistée / Power steering
1070
[ smz
)
M14x150
4006121 Protecteur de direction / Steering protector
DA c6té pignon
4006120 Protecteur de direction / Steering protector
DA c6té opposé au pignon
R21...
4006017 Direction mécanique / Steering gear
1196
——
M14x150
4006017B enboite/ in box
4006018 Direction mécanique / Steering gear
1196
Crm—i
M14x150
7006109 Direction assistée / Power steering
|Eﬂ SMI |
(e
M14x150
7006110 Direction assistée / Power steering
1195
|£ﬁ SMI |
OGr——
M14x150
7006111 Direction assistée / Power steering
[ smr

«—

M16x150

—

M18x150

OE 7701498976
2.0 -12/85 R1277 829
2.2 -12/85 R1279 851
OE 7700653459
TT /all models
OE 7700680852
TT /all models
OE 7701465919
TT /all models

Mot. transversal -09/90
Sauf B48H B48I L48H L.481 S48H

OE 7701466401

TT /all models
Mot. transversal 10/90-
Sauf B48H B481 L48H 1481 S48H

OE 7701351847

TT /all models Mot. transversal -09/90

OE Part/oe 7701466547

TT /all models Mot. transversal 10/90-

Sauf 2.0 mot. JTR/J7T 2.0 Turbo
2.1D mot. J8S 2.1TD

OE 7701464089
Mot. longitudinal
2.0 06/86-12/96 J7R
21D 06/86-12/96 J8S
2.1 TD 06/86-12/96
2.2 06/86-12/96 J7T

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

137

LTOVNHA



RENAULT

<

o

4006075

4006021

7074003

7074007

2.0i 120hp 86kw 120hp 87kw

2.0i 136hp 100kw
2.01 Turbo 160hp 119kw

2.1 D 70hp 52kw 72hp 53kw

2.1 TD 90hp 65kw
2.21 110hp 79/80kw

4006255

4006254

-R21

Protecteur de direction / Steering protector

DNA

Protecteur de direction / Steering protector

DA

Pompe dir. assistée / Power steering pump

6 Gorges
6 Grooves

9125

07/89-12/92
05/92-06/94
05/92-06/93
07/89-01/94
07/89-09/94
01/93-06/94

Kit rép. protecteurs de dir. / Steering boots repair kit
(4006075x2 +colliers) DNA

FE———

Kit rép. protecteurs de dir. / Steering boots repair kit

(4006021x2 +colliers) DA

4006017

ve

—_—

R21 Nevada...

Direction mécanique / Steering gear

1196

G
M14x150

4006017B en boite/ in box

4006018

Direction mécanique / Steering gear

1196

o——
M14x150

OE 7700678649

TT /all models

OE 7701469617

Moteur transversal B L

TT /all models Moteur transversal B L

OE 7700795295

1.71 95hp 69kw 05/92-06/94

BVM

OE 7700802364
BVMBVA J7R750/751
BVM J7R740
BVM JTR756
BVM J185600/740/784
BVM 185602/604/607/714/742/786
BVMBVA J7T754/755

OE -

F3N722

TT /all models Moteur transversal B L

OE -

TT /all models

OE 7701465919

TT /all models Mot. transversal

OE 7701466401

1.71 10/90-

Moteur transversal B L

-09/90

K48E

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

138




<> i
..R21 Nevada...
7006109 Direction assistée / Power steering OE 7701351847
. TT /all models Mot. transversal -09/90
| [ smx @
S M16x150
M18x150
7006110 Direction assistée / Power steering OE Part/oe 7701466547
o TT /all models Mot. transversal 10/90-
| [ smx g
el M16x150
M18x150
7006111 Direction assistée / Power steering OE 7701464089
Mot. longitudinal
|Jﬁ SMT | 2.0 06/86-12/96 J7R
= 21D 06/86-12/96 J8S
_—— M'1_Q5x150 21TD  06/86-12/96
LT | — 22 06/36-12/96 J7T
M18x150
4006075 Protecteur de direction / Steering protector OE 7700678649
DNA
w TT /all models Moteur transversal
4006021 Protecteur de direction / Steering protector OE 7701469617
DA
w TT /all models Moteur transversal
7074003 Pompe dir. assistée / Power steering pump OE 7700795295
6 Gorges 1.71 95hp 69kw 06/86-12/95
6 Grooves BVM F3N722
@125
7074007 Pompe dir. assistée / Power steering pump OE 7700802364
2.0i 136hp 100kw  05/92-06/94
BVM J7R740
2.1 D 70hp 52kw  07/89-12/95
BVM J8S600
2.1 TD 90hp 65kw  07/89-12/95
BVM J85602/604
2.1 TD 90hp 65kw  07/89-12/94
BVM J8S714/742
4006255 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006075x2 +colliers) DNA
TT /all models Moteur transversal
e ——
P

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

139

LTOVNHA



RENAULT

<

...R21 Nevada

4006254 Kit rép. protecteurs de dir. / Steering boots repair kit
(4006021x2 +colliers) DA
« TT /all models Moteur transversal
e
P ———
R25...
7006112 Direction assistée / Power steering OE 7701463921
Boitier fonte
TT /all models 01/84-02/88
1025
|[ﬁ SMI |
elisim M16x150
M18x150
7006113 Direction assistée / Power steering OE 7701466467
Boitier alu
S é TT /all models 03/88-
[59 BENDIX
e M16x150
M18x150
4006121 Protecteur de direction / Steering protector OE 7700653459
DNA c6té pignon
- TT /all models 07/88-
4006120 Protecteur de direction / Steering protector OE 7700680852
DNA c6té opposé au pignon
' TT /all models 07/88-
4006021 Protecteur de direction / Steering protector OE 7701469617
DA
M TT /all models 03/88-
7074007 Pompe dir. assistée / Power steering pump OE 7700802364
2.0i 105hp 76kw 07/88-06/92  BVM J6R706
2.0i 118hp 87kw 136hp 100kw 139hp 102kw 07/88-06/92  BVM JTR720/722/726
2.0i 118hp 87kw 140hp 103kw 07/90-06/92  BVA JTR721/723
2.1 D 70hp 51kw 07/88-06/92  BVM J8S736
2.1 TD 85hp 63kw 07/88-06/92  BVM J8S708
2.2i 110hp 79kw 07/89-04/90  BVM J7T732
2.2i 120hp 90kw 124hp 91kw 07/88-06/89  BVA J7T707/715/731

140

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

..R25
4006254 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006021x2 +colliers)
« « TT /all models DA 03/88-
—
rr————
R30
7006108 Direction assistée / Power steering OE 7701498858
1070 2.1 TD -12/85  R1270
[Gsmr | 2.7 -12/85 RI1278
M14x150 = uumllHlH"iJ- M16x150
M18x150
4006121 Protecteur de direction / Steering protector OE 7700653459
- TT /all models DA c6té pignon
4006120 Protecteur de direction / Steering protector OE 7700680852
ﬂ TT /all models DA c6té opposé au pignon
Alpine
4006121 Protecteur de direction G / Left steering protector OE 7700653459
2.5 V6 Turbo GT D501 D502
' 2.8 V6 GT D500
4006120 Protecteur de direction D / Right steering protector OE 7700680852
2.5 V6 Turbo GT D501 D502
w 2.8 V6 GT D500
4006021 Protecteur de direction / Steering protector OE 7701469617
M 3.0 V6 Turbo A610 D503
Avantime...
7006168 Direction assistée / Power steering OE 7701471732
2.01 16v. DEOU DEOV
1118 a 22DCi DEO1
FEEE 3.0V6 DEO04 DEOT
e M16x150

—

M18x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

141

LTOVNHA



RENAULT

<

o

...Avantime
4006224 Protecteur de direction / Steering protector
ClioI -02/98...
4006012 Direction mécanique / Steering gear
1056
Go——
Taraudés
(femelles)
M14x150

4006012B enboite/ in box

4006013

Direction mécanique / Steering gear

Go——
Fileté
(male)

M14x150

4006013B enboite/ in box

7006118 Direction assistée / Power steering
1047
| [ smr |
- b =
Taraudés = \ HiExTh0
(femelles) =
M14x150 e
7006117 Direction assistée / Power steering
1055
| [ sm1 |
=
o2t M16x150
(male) =
M14x150 R
7174005 Direction assistée / Power steering
[Einsk | g
Taraudés MEox150
(femelles) =
M14x150 oy
4006124 Protecteur de direction / Steering protector
DNA
4006021 Protecteur de direction / Steering protector

DA

OE 6025370231
2.0i 16v.
2.2 DCi
3.0V6

OE 7701466059

TT /all models -12/96

OE 7701467471

TT /all models

OE 7701351997

TT /all models 06/90-12/98
Sauf 557W 657W C575 C57D C57M

OE 7701352075

TT /all models 06/90-12/98
Sauf 557W C575 C57D

OE 7701351999

1.81 16v. C57D C575

OE 7701469497

TT /all models

OE 7701469617

TT /all models

142

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




..ClioI -02/98

7074005 Pompe dir. assistée / Power steering pump OE 491100219R
@19
_ 1.21 60hp 43kw 03/96-08/98 BVM D7F7
[ZHsAGINAW
7074003 Pompe dir. assistée / Power steering pump OE 7700795295
@125
1.8i 90hp 68kw 07/92-06/97 BVM F3P710/52
1.8i 90hp 66kw 03/94-06/97 BVA F3P745/55
1.8i 110hp 79kw 03/94-03/96 BVM F3P708/12/48/58
1.8i RSi 90hp 66kw 12/96-06/97 BVM F3P744/754
1.8i RSi 110hp 79kw 02/93-03/94 BVM F3P712
1.81 RSi 110hp 79kw 03/96-06/97 BVM F3P7
CliO II 03/98'.00
4006204 Direction mécanique / Steering gear OE 8200033766
Assistance électrique 1.2 BBOA/OF/10/1K
i 1.2 BB2D/2H/28
2 0 o — 1.2 CBO0OA/OF/10/1K/2D/2H
1.2 Comm SBOA/OF/10/1K/1D/2H
. . 1.9D BBOE/0J CBOE/0J
4006204B en boite/ in box 19D Comm. SBOE/OR
7006172 Direction assistée / Power steering OE 8200917748
1176
|[ﬁ SMI | E
MOG-:IlllxlSO M16x150
M18x150
1.2 15/12/99- BBOA/OF/10/1K  CBOA/OF/10/1K SB10
1.2 Jante tole 15/12/99- SBOA
1.2i 16v. BB19/27/2V  CB19/2V
1.2i 16v. Equipements E2 E3 -06/01 C/BB05/0W
1.2i 16v. Equipement E2 -06/01 C/BB11
1.4 Equipements E2 E3 C/BB0OB
1.4 C/BB17
1.4i 16v. Equipements E2 E3 ES 15/12/99- BBOL CBOL
1.41 16v. Equipements E2 E3 E5 -06/01 BBOP CBOP
1.5 DCi C/B/SB07 CB1W BB24
1.6i 16v. -15/12/99 BB2K CBOH
1.9 DTi Equipements E2 E3 C/BBOV
7006173 Direction assistée / Power steering OE 7700435644
&) TrRw | E
MO“':'I e M16x150
M18x150
1.4 -15/12/99 C/BBOC BBOS
1.4 Sauf équipement ES2 -15/12/99 CBOS
avec ABS avec jantes tdles
1.6 -15/12/99 BB00
1.6 Equipements E2 E3 ES -15/12/99 BBOD CBOD
1.9 D /Comm. -15/12/99 C/B/SBOE/0J] BBO02 SBOR
1.9 DTi Equipements E1 E2 E3 -15/12/99 C/BBOU
1.9 DTi Comm. -15/12/99 SBOU

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

143

LTOVNHA



RENAULT

..Clio IT  03/98-...

7174009 Direction assistée / Power steering OE 7711134508
1180
=] sM1 TRW | i E
M14x150 ﬁ Ll AL
M18x150
1.4 15/12/99- C/BB0OC BBOS
1.4 Equipements E2 E3 15/12/99- CBOS
1.6 15/12/99- BB00
1.61 Equipements E2 E3 ES 15/12/99- BBOD CBOD
1.9 D /Comm. 15/12/99- C/B/SBOE/0J BB02 SBOR
1.9 DTi Equipements E1 E2 E3 15/12/99- C/BBOU
1.9 DTi Comm. 15/12/99- SBOU
7006124 Direction assistée / Power steering OE 7711134512
1055
] sm1 | . E
o e :
M14x150 ey — M16x150
M18x150
1.4i 16v. Equipement ES2 -15/12/99 BBOL/0OP CBOL/OP/1L
1.6i 16v. -15/12/99 BBO1/0H/0T/1J/26/3E/3G/3H CBO01/0T/26/3E/3G/3H
2.0i 16v. -15/12/99 CBOM/15/1C/1S
7006129 Direction assistée / Power steering OE 8200276161
2.01 16v. CB1G/1IN/1T/2P/20/21/22
1056 E 2.0i 16v. CB20/21/22/2P
ISES
o M16x150
M18x150
4006227 Protecteur de direction / Steering protector OE 7701473652
@ 30 coté carter dir. DNA
”lll" TT /all models
4006215 Protecteur de direction / Steering protector OE 7701469496
@ 40 coté carter dir. DA SMI
1.2i /Comm. C/B/SB 0A
1.2i /Comm. -06/01 C/B/SB OF/10 CB1K
1.2i 16v. -06/01 C/BB 05/0W/11
1.4i C/BB 0B/0C/0S
1.4i 16v. C/BBOL
1.5 DCi /Comm. C/B/SB 07/08/3M C/BB1W/2G/2J/3N BB24 SB09/2J/3A
1.61 C/BB 0D BBO00
1.61 16v. BBO1/0H/OT CBOH/OT
1.9 D /Comm. C/B/SB OE/0J BB02 SBOR
1.9 DTi /Comm. C/B/SB OU C/BB0OV
2.0i 16v. CBOM/15/1C/1N/1S

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

144




<

4006214 Protecteur de direction D / Right steering protector OE 7701469486
DA

1.2i /Comm. C/B/SB 0A/0F/10/1K/2D/2H

1.2i 16v. C/BB 05/0W/11/19/2T/2U/2V

1.4i/16v. C/BB 0B/0C/0S/17 C/BB OL/0P/13/1L

1.5 DCi /Comm. C/BB 07/08/1W/2G SB07/08/09

1.6i C/BBOD BBO00

1.61 16v. /Comm. BB1J/1R/2K C/BB 01/0H/0T/14/1D SBOH

1.9 D /Comm. C/B/SB OE/0J BB02 SBOR

1.9 DTi /Comm. C/B/SB OU C/BB 0V/2C

2.0i 16v. CBOM/15/1C/1G/1N/1S/1T/20/21/22/2P

4006223 Protecteur de direction G / Left steering protector OE 7701471141
DA

W

1.2i /Comm. C/B/SB 0A/0F/10/1K/2D/2H

1.2i 16v. C/BB 05/0W/11/19/2T/2U/2V

1.4i/16v. C/BB 0B/0C/0S/17 C/BB OL/0OP/13/1L

1.5 DCi /Comm. C/BB 07/08/1W/2G SB07/08/09

1.6 C/BB 0D BBO00

1.61 16v. /Comm. BB1J/1R/2K C/BB 01/0H/0T/14/1D SBOH

1.9 D /Comm. BB02 SBOR C/B/SB OE/0J

1.9 DTi /Comm. C/B/SB OU C/BB 0V/2C

2.0i 16v. CBOM/15/1C/1G/1N/1S/1T/20/21/22/2P

7074005 Pompe dir. assistée / Power steering pump OE 491100219R
@19

‘

1.2i 58hp 43kw 60hp 44kw 03/98-01/06 BVM D7F720/22/26/30

1.41 75hp 55kw 03/98-02/01 BVM E71634/700/754/756/780

1.61 90hp 66kw 03/98-12/99 BVM BVA  K7M744/745

1.9 D 65hp 47kw 03/98-06/01 BVM F8Q

1.9 DTi 80hp 59kw -06/01 F9Q780/82

Avec chauffage

7074008 Pompe dir. assistée / Power steering pump OE 7701470783

1.5 DCi Avec clim. BB07 CB07 K9K

1.5 DCi Avec clim. BB1W CB1W K9K

1.5 DCi BB24 K9K

1.5 DCi Comm. Avec clim. normale SB0O7 K9K

19D Avec clim. BBOE/0J CBOE/OJ F8Q

1.9D BB02 F8Q

19D Comm. Avec clim. normale SBOE/0J F8Q

1.9 DTi Avec clim. BBOU/OV CBOU/OV F9Q

1.9 DTi Comm. Avec clim. normale SBOU FoQ

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

145

LTOVNHA



RENAULT

7174031 ~EW  Direction mécanique / Steering gear

1245

OE Part/oe 8200565645

o
M14x150

1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.41 16v.
1.5 DCi
1.61 16v.

7374001 NEW

1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.
1.2i 16v.
1.21 16v.
1.21 16v.

pays grand froid
pays tempérés

pays grand froid

pays tempérés

pays grand froid
pays tempérés

pays grand froid
pays tempérés

‘.-;—d@iw p——— @:;‘;

Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante 15 pouces
Jante 15 pouces

2

- —

BRO1/2/3/E/J/R/S BR1D/L/U/1/9 BR21
BRO1/2/3/E/J/R/S BR1D/L/U/1/9 BR21
BROP/4

CRO2/E/J/R/S CR11/U CR21
CRO2/E/J/R/S CR11/U CR21

CRO4/P

CRO3/IL

KRO02/E/J/S KR1U KR21

KRO2/E/J/S KR1U KR21

KRO04

KROP

SROJ/P/S SR1U SR21

SROJ/P/S SR1U SR21

Direction mécanique / Steering gear OE 8200565645

g
r-—*x:;r@m—ﬂ

7374001B en boite/ in box

pays grand froid
pays tempérés

pays grand froid
pays tempérés

pays grand froid
pays tempérés

pays grand froid

Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces
Jante alu 15 pouces
Jante 15 pouces

BRO1/2/3/E/J/R/S BR1D/L/U/1/9 BR21
BRO1/2/3/E/J/R/S BR1D/L/U/1/9 BR21
BROP/4

CRO2/E/J/R/S CR11/U CR21
CRO2/E/J/R/S CR11/U CR21

CRO4/P

CRO3/1L

KRO2/E/J/S KR1U KR21

KRO2/E/J/S KR1U KR21

KR04

KROP

SROJ/P/S SR1U SR21

1.2i 16v. pays tempérés Jante alu 15 pouces SROJ/P/S SR1U SR21
1.41i 16v. Jante 15 pouces
1.5 DCi Jante 15 pouces
1.61 16v. Jante 15 pouces
7174032 xgW  Direction mécanique / Steering gear OE Part/oe 8200565646
Jante 16 pouces
1243 g 1.2i 16v.
L.4i 16v.
\ ) ) 1.5 DCi
M14x150 e D 1.6i 16v.
""‘“‘%ﬁ, . —amma 2.0i 16v. M4R
9006742 Protecteur de direction / Steering protector OE 7701475840
1.2i 16v.
1.4i 16v.
1.5 DCi
MMM~ 1.6i 16v.
2.0i 16v. M4R
2.0i 16v. RS F4R

146

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

Espace J11/S11

7006121 Direction assistée / Power steering
1032
[ sm1
e M16x150
M18x150
7006114 Direction assistée / Power steering
1062
[ smx | ‘
M014x150 “ﬁ; M16x150
M18x150
4006021 Protecteur de direction / Steering protector
DA
4006254 Kit rép. protecteurs de dir. / Steering boots repair kit
(4006021x2 +colliers) DA
—
——
Espace J63/S63
7006115 Direction assistée / Power steering
1073
[F smzx |
e M16x150
M18x150
4006021 Protecteur de direction / Steering protector
7074007 Pompe dir. assistée / Power steering pump
Espace JE...
7006128 Direction assistée / Power steering
[5] smr g
e

M14x150

M16x150

-

M18x150

OE 7701351475
2.0 01/85-12/87 J112
2.0 01/85-12/87 S112
2.1 TD 01/85-12/87 J115
2.1 TD 01/85-12/87 S115
2.2 01/85-12/87 J117

OE 7701351983
2.0 01/85-01/91 J116
2.0 01/88-01/91 J112
2.0 01/88-01/91 S112
2.1 TD 01/88-01/91 J115
2.1 TD 01/88-01/91 S115
2.2 01/88-01/91 J117

OE 7701469617

TT /all models sauf J114

OE -

TT /all models sauf J114

OE 7701352221
2.0 01/91-10/96 J7TR
2.1 TD 01/91-10/96 J8S
2.2 01/91-10/96 J7T
2.8 V6 01/91-10/96 7ZTW
OE 7701469617
TT /all models
OE 7700802364

2.1 TD 90hp 65kw 90hp 68kw 04/91-12/96

BVM J8S612/712/772

2.2i 110hp 81kw 04/91-12/96
BVM BVA J7T772/773/776
OE 7701471733

1.9 DTi JEOM

2.0 JEOA

2.01 16v. JE00/02/0L/ON

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

147

LTOVNHA



< 0o

RENAULT

..Espace JE
7006168 Direction assistée / Power steering OE 7701471732
— 2.2 DCi JEOK/0S
|Eﬂ SMI | 2.2TD JEOE/OH/OP
= 3.0V6 JEOD/0G
i M16x150
M18x150
4006224 Protecteur de direction / Steering protector OE 6025370231
1.9 DTi
2.0i 16v.
2.2TD
2.2 DCi
3.0V6
7074010 Pompe dir. assistée / Power steering pump OE 7700875710
2.2TD Avecclim. JEOE/OH/OP  GS8T
Espace JK
7174020 NgW Direction assistée / Power steering OE 490018929R
Assistance non variable
. 1.9 DCi JKOG/U JK1B
g 2.0i 16v. JKO9/K/L
2.0i 16v. Turbo JKOA/B/D/N JK1D
e @=  2.0DCi JKO1/2/4
M14x150 = 2.0 DCi -10/12  JK1J/K
2.2 DCi JKOH/7
7174022 Direction assistée / Power steering OE 7711368636
Assistance variable
1123
|Eﬂ SMI | ] g
2o M16x150
M18x150
2.0i 16v. Turbo /Long 03/06-22/02/07 JKOA/1D
2.0 DCi /FAP /Long 03/06-22/02/07 JKO01/03/04
2.0 DCi /FAP /Long -22/02/07 JK1C
2.2 DCi /FAP /Long 03/06- JKOH
2.2 DCi /FAP /Long 03/06-22/02/07 JKO7
3.0 DCi /Long 03/06-22/02/07 JKOE/0J/0Y
3.51 V6 24v. /Grand Espace 03/06- JKOF
3.51 V6 24v. /Grand Espace 03/06-22/02/07 JKO0/0P
4006225 Protecteur de direction / Steering protector OE 7701474075
1.9 DCi /Long JKOG/0U/1B
2.0i 16v. JKO9/K/L
2.0i 16v. Turbo /Long JKOA/0B/0D/ON/08/1D
2.0 DCi /FAP /Long JK01/02/03/04/1C/1G
2.2 DCi /FAP /Long JKOH/7
3.0 DCi /Long JKOJ/V/IE/Y
3.51 V6 24v. /Grand Espace JKOF/P/S/W/0

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

148



Fluence
2754005 Protecteur de direction / Steering protector OE 482036715R
1.5 DCi /FAP B30A/0B/0D/0OE/0J/0K
1.5 DCi /FAP B30L/0M/0S/33/3E/3F
1.5 DCi /FAP  Série EQPARG EQPEXP EQPRUS L306/0A/0B/0D/0J/0K
1.5 DCi /FAP  Série EQPARG EQPEXP EQPRUS L30L/0M/0S/33/3E/3F
1.6 B332/34/37
1.61 Série EQPARG EQPEXP EQPRUS L304/05/0H/31/32/34/37
1.61 16v. B301/03/0F/0P/0OR/3C
1.61 16v. Série EQPARG EQPEXP EQPRUS L300/01/0F/0P/0R/3C/3G
1.6 DCi FAP  Série EQPARG EQPEXP EQPRUS L339
2.0 B30C/0G/0T/0V/30/3B
2.01 Série EQPARG EQPEXP EQPRUS L302/07/0C/0G/0T/0V/OW/30/3B
2.0i 16v. Série EQPARG EQPEXP EQPRUS L308/09

TT Elec. /All models Electric

Série EQPARG EQPEXP EQPRUS
Kangoo I -02/03 VL...

7006124

1055

Direction assistée / Power steering

|[ﬁ SMI

Go—
M14x150

7006129

1056

L30Z/36 5AM

Essieu renforcé
TT /all models

p= sauf 4WD

M16x150

—

M18x150

[ smx

Go——
M14x150

7006171

1105

OE 7711134512

01/98-

OE 8200276161

-03/02/99

Sauf tout chemin
A0

1.2

-—

M16x150

|@ SMI

P —
M16x150

7174026

1185

—

M18x150

M16x150

—

2
4
9D
9 DTi

o——D
M14x150

7174023

M18x150

—

g Sauf tout chemin

1.2

M16x150

= 1.2i 16v.
1.5 DCi

Direction assistée / Power steering

|[ﬁ SMI

Go——
M14x150

1230

M18x150

—

a Sauf tout chemin
1
1
1
1

1.61 16v. 2WD
1.9 DCi 2WD

-03/02/99

OE 7711134174

-03/02/99
-03/02/99
-03/02/99
-03/02/99

OE 8200895863

28/03/01-
28/03/01-
28/03/01-
28/03/01-
28/03/01-

OE 7711135042

1.61 16v. 4WD
1.9 DCi 4WD

KCOA D7F720
KCOF

KCOA D7F710
KCOC /0H
KCOD/OE
KCoU

KCO1/F
KCO05
KCO07
KCoP
KCoOV

KCOP
KCOV

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

149

LTOVNHA



RENAULT

<

..Kangoo I -02/03 VL

4006227 Protecteur de direction / Steering protector OE 7701473652
@ 30 coté carter dir. DNA
TT /all models
4006215 Protecteur de direction / Steering protector OE 7701469496
@ 40 coté carter dir. DA
TT /all models
7074005 Pompe dir. assistée / Power steering pump OE 491100219R
?19
‘
1.2i 58hp 43kw 60hp 44kw 09/97-03/03 BVM D7F710/720/22/26
1.2i 16v. 75hp 55kw 06/01-03/03 BVM D4F712
1.4i 75hp 55kw 09/97-03/03 BVM BVA E7J635/780  K7J700/701
1.9 D 55hp 40kw 65hp 48kw  09/97-03/03 BVM F8Q630/32/62
1.9 DCi 4WD 80hp 59kw 01/02-06/03 BVM F9Q790
1.9 DTi 80hp 59kw 04/00-07/02 BVM F9Q780/782
7074008 Pompe dir. assistée / Power steering pump OE 7701470783
1.5 DCi Avec clim. normale KC07 K9K
19D  Avecclim. normale KCOD/J F8Q
19D  Avec clim. normale KCO02/E F8Q
1.9DTi Avec clim. normale KCOU ~ F9Q
TT Elec. /All models Electric KC0Z
Kangoo I 03/03-12/07 VL...
7174026 ~EW  Direction assistée / Power steering OE 8200895863
1185 Sauf tout chemin
1.2 KCO1/F KC1A/H
= 1.2i 16v. KCO05/T/W KCI1D/K/P
Gr— eyl 1.5 DCi KC07/8/9 KCIR/S
el — 1.6i 16v. 2WD KCOL/P/S KC1B/N
1.9 DCi 2WD KCOV
M18x150
7174023 Direction assistée / Power steering OE 7711135042
- 1.6i 16v. 4WD KCOL/OP/0S
=] smx 1.9DCi 4WD KCOV
P =

M14x150

150

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




...Kangoo I 03/03-12/07 VL

4006227 Protecteur de direction / Steering protector
@ 30 coté carter di. DNA

4006215 Protecteur de direction / Steering protector
@ 40 coté carter dir. DA

-

7074005 Pompe dir. assistée / Power steering pump
@19
1.2 58hp 43kw 60hp 44kw 03/03- BVM
1.2 60hp 44kw GPL 03/03- BVM
1.2i 16v. 75hp 55kw 03/03- BVM
1.9 D 65hp 47kw 03/03- BVM
1.9 DCi 85hp 62kw 03/03- BVM
7074008 Pompe dir. assistée / Power steering pump

1.5 DCi Avec clim. normale -18/07/06
1.5 DCi Avec clim. normale -18/07/06
1.5 DCi /Express Avec clim. normale -18/07/06
1.9D Avec clim. normale
19D Avec clim. normale
1.9 DCi Avec clim. normale

TT Elec. /All models Electric

Kangoo IT 01/08- VL
2754007 NEW  Protecteur de direction / Steering protector

Laguna I...

7006119 Direction assistée / Power steering
Assistance non variable
1085
=] smx | E

—

o ——

M14%150 M16x150

—

M18x150

OE 7701473652

TT /all models

OE 7701469496

TT /all models

OE 491100219R

D7F726
D7F744/64/66
D4F703/12/30
F8Q632
F9Q790

OE 7701470783

KCIE/F/G K9K
KCIR/S K9K
KCO07/8/9 K9K
KCO0D/J F8Q
KCO02/E F8Q

1.2 TCE
1.5 DCi
1.6

1.61 16v.

FoQ

OE Part/oe 7701478400

KwO02

KWOB/C/F/G/H/K/LIV/4/5/6/7/8

KWOO/E/N/P/Y
KWOD/U/W/1/3/9 KW13

OE 7701467497

TT /all models 01/94-12/01

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

151

LTOVNHA



RENAULT

<> i
..Laguna I

7174002 Direction assistée / Power steering OE 7701467499
Assistance variable

2.2TD BVMS5 G8T760
[Ean : 1100 3.0iV6  01/94-12/96  BVMS5 Z7X760
\ — 3.0i V6 01/94-04/98 BVA4 Z7X765/67
3.0i V6 24v. 04/98-11/00 L7X700/01
MO“-:'14x150 M16x150 ! v
M18x150
4006213 Protecteur de direction / Steering protector OE 7701469657
TT /all models Phase 1
B56A/B/C/H/J/LIN/S
B56D/E/F/IM/P/R/N/Z/5/6/9
B56T/Z/0/4/8 S56]
TT /all models Phase 2 01/98-
7074009 Pompe dir. assistée / Power steering pump OE 7700823737
p
Sans clim.
22D B56F  G8T706
o128 22D B562  G8T790
Laguna I Nevada
7006119 Direction assistée / Power steering OE 7701467497
Assistance non variable
TT /all models 01/94-12/01
= 1085 g
ME14x150 M16x150
M18x150
7174002 Direction assistée / Power steering OE 7701467499
Assistance variable
= 1100 2.2TD -04/98 BVMS G8T760
SMT
M@-:I14x150 ‘ M16x150
M18x150
4006213 Protecteur de direction / Steering protector OE 7701469657
TT /all models Phase 1
K56C/H/J/L/N/S/IT/Z/0/4/8
K56D/F/M/R/V/2/5/6/9
2.2 D Phase 1 Comm. S56F S566
TT /all models Phase 2 01/98-
7074009 Pompe dir. assistée / Power steering pump OE 7700823737
Sans clim.
1 22D/C . K56F S56F  G8T706
6 Grogves opo K562 G8T790

128

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

152



<

Laguna II
7006169 Direction assistée / Power steering
1056
[ sMx g
oo M16x150
M18x150
7006170 Direction assistée / Power steering
Assistance variable
1062
| [F] smx E
oo M16x150
M18x150
2754001 Protecteur de direction / Steering protector
7074015 NEW Pompe dir. assistée / Power steering pump
Laguna II Estate...
7006169 Direction assistée / Power steering
1056
5] smx | E
S M16x150
M18x150
7006170 Direction assistée / Power steering
Assistance variable
1062
| & smx g
o5 simemn. M16x150

—

M18x150

1.6i 16v.
1.8i 16v.
1.9 DCi
1.9 DCi
2.01 16v.
2.01 16v.
2.0 IDE
2.2 DCi
3.01V6

1.61 16v.
1.81 16v.

1.9 DCi
1.9 DCi

2.01 16v.
2.0i 16v.

2.0 DCi
2.0 IDE
2.2 DCi
3.01 V6

1.61 16v.
1.8i 16v.

1.9 DCi

2.0i 16v.

2.0 IDE
2.0 DCi
2.2 DCi
3.01 V6

1.9 DCi
1.9 DCi
2.2 DCi
2.2 DCi

1.61 16v.
1.8i 16v.

1.9 DCi
1.9 DCi

2.0i 16v.
2.01 16v.

2.0 IDE
2.2 DCi
3.01V6

1.6i 16v.
1.8i 16v.

1.9 DCi
1.9 DCi

2.01 16v.
2.0i 16v.

2.0 DCi
2.0 IDE
2.2DCi
3.01 V6

OE 7711134569

BGOA/OL/0U/1G/1H
BG04/06/0B/0C/0J/0M/0V
BGO8/0E/0G/0R/10/05/12
BGI3/1A/1V/IW
BGO00/0K/0P/0S/0W/0Z
BGIL/1M/03/0T/1Y
BGON

BGO09/0F/IN
BG01/02/0D/0Y/1K

OE 7711368396

BGOA/OL/0U/1G/1H
BG04/06/0B/0C/0J/0M/0V
BGO8/0E/0G/0R/10/05/12
BGI3/1A/1V/IW
BGO00/0K/0P/0S/0W/0Z
BGIL/1M/03/0T/1Y
BGIS/IT

BGON

BGO09/0F/1IN
BG01/02/0D/0Y/1K

OE 7701472765

OE 491105477R

BGOE/OR/12/13/1A/1V
F9Q752/54/58/59
BGO05/08/0G/10/1W
F9Q650/64/70/74 750
04/05-  BGO9/0F
G9T600 700/02/03/06/07
BGIN G9T605

OE 7711134569

KGOA/OL/0U/1G/1H
KG04/06/0B/0C/0J/0M/0V
KGO8/0E/0G/0R/10/05/12
KGI13/1A/1V/IW
KGO00/03/0K/0P/0S/0W
KGOZ/0T/1Y

KGON

KGO09/0F/IN
KGO01/02/0D/0Y/1K

OE 7711368396

KGOA/OL/0U/1G/1H
KG04/06/0B/0C/0J/0M/0V
KGO08/0E/0G/0R/10/05/12
KG13/1A/1V/IW
KGO00/03/0K/0P/0S/0W
KGO0Z/0T/1Y

KG1S/1T

KGON

KGO09/0F/1IN
KG01/02/0D/0Y/1K

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

153

LTOVNHA



RENAULT

2754001

7074015

7174006

..Laguna II Estate

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

Megane I...

Direction assistée / Power steering

|Eﬂ SMI

Go—
M14x150

7006134

1161 a
-
| L =

M18x150

Direction assistée / Power steering

1224

|Eﬂsm |

a1
M14x150

=
M16x150

7006132

—

M18x150

Direction assistée / Power steering

1152

5] smx

Go——
M14x150

7174001

-~
M16x150

—

M18x150

|EﬂTRw |

1229 g

-—

Fal—
M14x150

M16x150

7006133

—

M18x150

1165

5 rw |

G
M14x150

i

M16x150

—

M18x150

1.61 16v.
1.8 16v.

1.9 DCi

2.01 16v.

2.0 IDE
2.0 DCi
2.2 DCi
3.0 V6

1.9 DCi
1.9 DCi
2.2 DCi
2.2 DCi

1.4

1.4i 16v.

19D
1.9 DCi
1.9 DTi

1.41

1.4i 16v.

1.61
1.9D
1.9 DCi
1.9 DTi

1.41
1.61
19D

1.9 DTi
2.01
2.0i

1.4i 16v.
1.61 16v.

19D
1.9 DTi
1.9 DTi

1.9D
1.9 DTi
1.9TD
2.01

OE 7701472765

OE 491105477R

KGOE/OR/12/13/1A/1V
F9Q752/54/58/59
KGO05/08/0G/10/1W

F9Q650/64/70/74 750
KGO09/0F
G9T600 700/02/03/06/07

04/05-

KGIN G9T605

OE 7700429486
-18/09/98 BAOV
-18/09/98 BAOW
-18/09/98 B/SA OR
-18/09/98 B/SA 05
-18/09/98 B/SA ON
OE 7701471895
17/02/99-11/02 BAOV
17/02/99-11/02  BAOW
17/02/99-11/02  BAOF
17/02/99-11/02  B/SAOR
17/02/99-11/02  B/SAQ0S5
17/02/99-11/02  B/SA ON
OE 7701471301
-11/02 BAOE
-11/02 BAOF/OL/0S
-11/02 BAOA/0U
SAO0A/0U
-11/02 BAOS/ON
-11/02 BAOG
-11/02 BAO7
OE 7700429506
BAOW
BAO4
-18/09/98 B/SA 0A/0U
BAO8
-18/09/98 BAON
OE 7701352455
-18/09/98  B/SA 0A/OU
-18/09/98  BAO8/ON

BAO9/OK/Y SA090Y

BAOG

154

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




...Megane I
7006131 Direction assistée / Power steering
1225
|Eﬂ SMI |
e . | Lmiexiso
M18x150
7174015 Direction assistée / Power steering
1205
[Erw | , ‘ g
M14x150 _—% | [m6x150
M18x150
4006124 Protecteur de direction / Steering protector
DNA
4006075 Protecteur de direction / Steering protector
DNA
4006215 Protecteur de direction / Steering protector
@ 40 coté carter dir. DA SMI
4006214 Protecteur de direction / Steering protector
DA
=)
4006222 Protecteur de direction G/ Left steering protector
DA
e

19D
1.9 DCI

2.01 16v.

1.41

2.0i 16v.

OE 7701429506

OE 7701352454

OE 7701469497

OE 7700678649

OE 7701469496

OE 7701469486

OE 7701469487

BAOH

BAOT

BAOE/OV
BAOD/OW
BAOF/OL/0S/1C
BA00/04/0B/1K
BAIM
BAOA/OR/OU
BAO09/0K/0Y
BAO8/ON
BAO01/05
BAO07/0G
BAOH

BAOE/OT/0V
BAOD/OW
BAOF/OL/0S/1C
BA00/04/0B/1K
BAIM

B/SA 0A/0R/OU
BAQ9/0K/0Y SA09/0Y
B/SA ON

B/SA 01/05
BAOQO7/0G
BAOH

BAOE/OV

BAOW

BAOF

BAO4

BAOA/OR/OU
BAO09/0K/0Y SA09/0Y
BAO8/ON SAON
BAOG

BAOH

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

155

LTOVNHA



RENAULT

<

Megane I
4006214 Protecteur de direction D / Right steering protector OE 7701469486
DA

2.0i 16v. BAOH
=t
7074006 Pompe dir. assistée / Power steering pump OE 7700840106
1.41 75hp 55kw 11/95-03/99 BVM E71764
1.61 90hp 66kw 11/95-03/99 BVM BVA K7M702/703
1.9 D 65hp 48kw 11/95-05/01 BVM F8Q620/2/4
1.9 TD 90hp 68kw 11/95-03/99 BVM F8Q784/786
1.9 DTi 80hp 59%kw 02/01-06/03 BVM F9Q744
1.9 DTi 100hp 74kw 05/97-02/01 BVM BVA F9Q731/734/736
1.9 DCi 105hp 77kw 11/01-06/03 BVM FoQ732
7074005 Pompe dir. assistée / Power steering pump OE 491108814R

?19
1.8i 16v. 11/00-06/03 BVM F4P720/2

2.0i 115hp 83kw 11/95-03/99 BVM BVA F3R
2.0iDe 140hp 103kw
10/99-12/01 BVM F5R740

‘

Megane I Break...
7006134 Direction assistée / Power steering OE 7701471895
1224 1.4i 17/02/99-11/02  KAOV
[ smr | 1.4i 16v.  17/02/99-11/02  KAOW
= 1.61 17/02/99-11/02 KAOF
M?"ﬁ M16x150 1.6i 16v. 17/02/99-11/02  KAO04
' = 19D 17/02/99-11/02 KAOQJ
e 1.9 DCi 17/02/99-11/02 KAO5
1.9 DTi 17/02/99-11/02 KAON
7174001 Direction assistée / Power steering OE 7700429506
1229 1.6i 16v. KA04
|Eﬂ TRW | :
M14x150 S E}% M16x150
M18x150
4006215 Protecteur de direction / Steering protector OE 7701469496
@ 40 coté carter dir. DA SMI L4 KAOV
1.41 16v. KAOD/OW
1.6 KAOF
'M 1.61 16v. KA04/0B
1.81 16v. KAITA/IM
19D KAQJ
1.9 DTi KAON/1U
1.9 DCi KAO01/05
4006214 Protecteur de direction / Steering protector OE 7701469486
DA
1.6i 16v. KAO4
=)

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

156



..Megane I Break

7074006 Pompe dir. assistée / Power steering pump
=g
138
20
Megane I Cabriolet...
7006134 Direction assistée / Power steering
1224
] smx | ‘
S | [mi6xis0
M18x150
7174001 Direction assistée / Power steering
1229
[E e | g
i M16x150
M18x150
7006132 Direction assistée / Power steering
1152
| 5 smx
e M16x150
M18x150
7006133 Direction assistée / Power steering
1165
| 5 Trw
i M16x150
M18x150
7174015 Direction assistée / Power steering
1205
|,[ﬂTRw | ‘ , ‘ g
o =
M14x150 M . M16x150
o =
M18x150
4006215 Protecteur de direction / Steering protector

@ 40 coté carter dir. DA SMI

~

OE 7700840106

1.9 D 65hp 47kw  03/99-02/01

OE 7701471895
1.4i 16v.

OE 7700429506
1.4i 16v.
1.61 16v.

OE 7701471301
1.6 -18/09/98

OE 7700426410
2.01

OE 7701352454
2.0i 16v.
2.0ide

OE 7701469496
1.4i 16v.
1.6i
1.61 16v.
2.0i
2.01 16v.
2.0 IDE 16v.

BVM F8Q790

EAOD/W

EAOW
EA04

EAOF

EAOG

EAOH
EAO03

EAOD/OW
EAOF
EA04/0B
EAOG
EAOH
EA03/0P

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

157

LTOVNHA



RENAULT

< 06

..Megane I Cabriolet

4006214 Protecteur de direction D / Right steering protector OE 7701469486
DA
1.6 AOF
1.6i 16v. EA04
4006222 Protecteur de direction G/ Left steering protector OE 7701469487
DA
Conduite a G
2.0i 16v. EAOH
4006214 Protecteur de direction D / Right steering protector OE 7701469486
DA
Conduite a G
2.0i 16v. EAOH
rotecteur de direction ignt steering protector
4006222 Protecteur de direction D/ Righ ing p OE 7701469487
DA
Conduite a D
2.01 16v. EAOH
7074005 Pompe dir. assistée / Power steering pump OE 491108814R
@19
2.0i 16v. 140hp 103kw 11/01-09/02
BVM  F4R740/4/6
Megane I Classic...
1rection assistee ower Steerin,
7006132 Directi istée / P ing OE 7701471301
1152 1.4i -18/09/98 LAOE
[ sur 1.6 -18/09/98 LAOF/OL/0S
5 19D -18/09/98 LAOA/OU
it M16x150 1.9 DTi -18/09/98 LAON
' = 1.9DTi -19/10/98 LAOS
T 2.01 21/11/97-18/09/98 LAOG LAO7
7174006 Direction assistée / Power steering OE 7700429486
1161 g 1.4i -18/09/98 LAOV
|,[ﬂsm1 | 1.4i 16v.  -18/09/98 LAOW
P 1.61 -18/09/98 LAOF
o ar— M16x150 1.9 D -18/09/98 LAOR
s — 1.9DCi  -18/09/98 LAO5
1.9 DTi -18/09/98 LAON
M18x150
7006134 Direction assistée / Power steering OE 7701471895
1.4i 17/02/99-11/02 LAOV
FSERE 1.4i 16v.  17/02/99-11/02  LAOW
- 1.61 17/02/99-11/02 LAOF
M?;E) M16x150 1.9D 17/02/99-11/02  LAOR
= 1.9 DCi 17/02/99-11/02 LAOS
T o 1.9 DTi 17/02/99-11/02 LAON

158

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

7174001

...Megane I Classic

Direction assistée / Power steering

1229

|ﬁTRW |

P —
M14x150

7006133

d

—

M16x150

—

M18x150

|ﬁTRW

Go——
M14x150

4006215

4006214

7006134

o

M16x150

—

M18x150

Protecteur de direction / Steering protector

@ 40 coté carter dir.

-

DA

Protecteur de direction / Steering protector

DA

-t

Megane I Coupé...

Direction assistée / Power steering

1224

[ smx |

Oo——
M14x150

7174001

1229

—
M16x150

—

M18x150

[ TRW

o——0
M14x150

7006132

:

=

M16x150

—

M18x150

Direction assistée / Power steering

1152

[ smx |

G
M14x150

=
M16x150

-

M18x150

1.9D
1.9 DTi

1.4i/16v.
1.61/16v.

19D
1.9TD
1.9 DTi
1.9 DCi
2.0i

1.4i 16v.

1.6
1.9 DTi
1.9 DCi

1.4i 16v.
1.61 16v.

1.6

OE 7700429506

-18/09/98

OE 7701352455

-18/09/98
-18/09/98

OE 7701469496

OE 7701469486

OE 7701471895

-11/02
-11/02
17/02/99-11/02
17/02/99-11/02

OE 7700429506

OE 7701471301

-18/09/98

LAOW
LAO4
LAOU
LAON
LAO8

LAOA/OU
LAO8/ON

LAOE/OV
LAOD/OW
LAOF/OL/0S/1C
LA00/04/0B/1K
LATA/IM
LAOA/OR/OU
LAOK/0Y
LAO8/ON
LAO01/05
LAO07/0G

LAOV LAOW
LAOF LAO0O4
LAOA/OR/OU
LAOK LAOY
LAO8/ON
LAO5

LAOG

DAOD/OW
DAOF
DAON
DAO5

DAOW
DA0O4

DAOF

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

159

LTOVNHA



RENAULT

< 0o

..Megane I Coupé
7174006 Direction assistée / Power steering OE 7700429486
1161 1.9DTi -18/09/98 DAON
|Jﬁ SMI 1.9 DCi -18/09/98 DAO5
e M16x150
M18x150
7006133 Direction assistée / Power steering OE 7700426410
1165 : 1.9 DTi DAON
FSESH 2.0i DAOG
e M16x150
M18x150
7174015 Direction assistée / Power steering OE 7701352454
o 2.0i 16v, DAOH
B ‘ g 2.0ide DA03
. i
M14x150 M | Lur6x150
o =
M18x150
4006215 Protecteur de direction / Steering protector OE 7701469496
@ 40 coté carter dir. DA
1.4i 16v. DAOD/OW
1.61 DAOF
1.61 16v. /RSi DA04/0B
1.9 DTi DAON
1.9 DCi DAO5
2.01 DAOG
2.0i 16v. DAOH/0C/1S
2.0 IDE 16v. /RXi DAO03/0P
4006214 Protecteur de direction / Steering protector OE 7701469486
DA
1.4i 16v. DAOW
1.6 DAOF
w 1.6i 16v. DAO4
1.9 DTi DAON
2.0i DAOG
4006222 Protecteur de direction G/ Left steering protector OE 7701469487
DA
2.0i 16v. Conduite a G DAOH
4006214 Protecteur de direction G/ Left steering protector OE 7701469486
DA
2.0i 16v. Conduite a D DAOH
2.0 IDE 16v. DAO3
7074005 Pompe dir. assistée / Power steering pump OE 491108814R
@19

2.0i 16v. 140hp 103kw 11/01-09/02
‘ BVM  F4AR740/4/6

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

160



<

Megane I /Classic...

7174019 Direction mécanique / Steering gear
= 1064 E
TRW_| E ,
e
M14x150 - Sans trou
7174030 ~NEW  Direction mécanique / Steering gear
Dr—
M14x150
7374030 NgW  Direction mécanique / Steering gear
i — {9 | e e = | —

7374030B en boite/ in box
2754002

Protecteur de direction / Steering protector

1.4i 16v.
1.4i 16v.
1.4i 16v.

1.5 DCi
1.5 DCi
1.5 DCi

1.61 16v.
1.6i 16v.
1.6i 16v.

1.9 DCi
1.9 DCi
1.9 DCi

2.01 16v.
2.0i 16v.
2.01 16v.
2.01 16v.

2.0 DCi

OE 7711368390

. -18/02/08

. -18/02/08

-18/02/08

-18/02/08

BM-
LMO08/0B/0OH/1A/1S
LM20

BM-
LMOC/0J/0Y/1R/2E/2F/2S
LMI1B/2Y

BM-
LMO00/0G/1G/17/2C
LM14/1D
BMO5/0U/0W/
BMIM/IN/1T/1U/2P/2V
LM-

BMIK

LMI1K

OE Part/oe 7711368394

. -18/02/08
. -18/02/08

-18/02/08

-18/02/08

BM-
LMO08/0B/0OH/1A/1S
LM20

LMI1B/2Y
BM-
IéMOC/OJ/OY/ IR/2E/2F/2S

M-
LMO00/0G/1G/17/2C
LM14/1D
BMO05/0U/0W/
BMIM/IN/1T/1U/2P/2V
LM-

BMIK
LM1K

OE 8200463517

. -18/02/08
. -18/02/08

-18/02/08

-18/02/08

BM-
LMO08/0B/OH/1A/1S
LM20

LMI1B/2Y
BM-
LMOC/OJ/OY/ IR2E/2F/2S

LMOO/OG/ 1G/17/2C
LM14/1D

BMO05/0U/0W
BMIM/IN/1T/1U/2P/2V
LM-

BMIK

LMI1K

OE Part/oe 7701474448

-18/02/08

-18/02/08

-18/02/08

-18/02/08

-18/02/08

BM-

LMO08/B/H
LM1A/1S/20

BM- SM-
LMO02/0F/16
LMOT/13/1E/1F/2B/2A
BM-
LMOC/0J/2E/2F/2S
LMIB/1R/2Y

BM-

LMO00/0G/1G/17
LM14/1D/2C
BMO5/0U/0W/1IM/1IN/1T
BM1U/2P/2V
LMO5/1IN/1U
LMOU/IM/2G/23/2N
BMIK

2.0DCi -18/02/08 LMIK

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

161

LTOVNHA



RENAULT

<

..Megane II /Classic

2754007 Protecteur de direction / Steering protector OE Part/oe 7701478400
1.4i 16v. 18/02/08- LM1A/1S/20
1.5DCi 18/02/08- LMOT/13/1E/1F/2A/2B

-m 1.6 16v. 18/02/08- LMIB/IR/2Y
1.9DCi 18/02/08- LM14/1D/2C
2.0i 16v. 18/02/08- LMO5/IN/1U
2.0DCi 18/02/08- LMIK

Megane II Break

7174019 Direction mécanique / Sreering gear OE 7711368390
1064 g 1.41 16v.
=] Trw - 1.5 DCi
&l 1.6i 16v.
G 1.9 DCi
S - Sans_ trod 2.0i 16v.
2.0 DCi

7174030 ~gW  Direction mécanique / Steering gear OE Part/oe 7711368394
1.4i 16v.
1.5 DCi
1.6i 16v.

o— 1.9 DCi
M14x150 2.0i 16v.
2.0 DCi

7374030 xgW  Direction mécanique / Steering gear OE 8200463517

1.4i 16v.

4 1.5 DCi

1.6i 16v.

i 1.9 DCi

. _ T I —— 2.0i 16v.
o o L 2.0 DCi

7374030B en boite/ in box

2754002 Protecteur de direction / Steering protector OE Part/oe 7701474448
1.4i 16v.

m 1.5 DCi /FAP
1.6i 16v. /ETH
1.9 DCi /FAP
2.0i 16v.
2.0 DCi
Megane II Cab. CC...
7174019 Direction mécanique / Steering gear OE 7711368390
— A e
TRW ' . .
IEETH E@ul 1.9 DCi
o— 2.0i 16v.
M14x150 - Sans trou 2.0 DCi
7174030 ~NEW  Direction mécanique / Steering gear OE Part/oe 7711368394
1064 1.5 DCi
, 1.6i 16v.
1.9 DCi
e 2.0i 16v.
M14x150 2.0 DCi

162

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




7374030 NgW Direction mécanique / Steering gear

’ \ yAvec trol h =

1 | o e s = s |

—
7374030B en boite/ in box
2754002

Protecteur de direction / Steering protector

Megane I1 Coupé
7174019 Direction mécanique / Steering gear
& 1064 g
| TRW | G -
(r——
M14x150 - Sans trou
7174030 ~EW  Direction mécanique / Steering gear
1064 g
Go——
M14x150
7374030 NgW  Direction mécanique / Sreering gear

’ \ 4 Bvec trou h o

| | e s = e |

o

7374030B enboite/ in box
2754002

Protecteur de direction / Steering protector

..Megane II Cab. CC

OE 8200463517
1.5 DCi
1.6i 16v.
1.9 DCi
2.0i 16v.
2.0 DCi
OE Part/oe 7701474448
1.5 DCi
1.6i 16v.
1.9 DCi /FAP
2.0i 16v.
2.0 DCi
OE 7711368390
1.4i 16v.
1.5 DCi
1.61 16v.
1.9 DCi
2.0i 16v. CMO5/U/W
CMIM/N/T/U CM2J/P/R/V
2.0 DCi CMIK
OE Part/oe 7711368394
1.4i 16v.
1.5 DCi
1.61 16v.
1.9 DCi
2.01 16v. CMO5/U/W CMIM/N/T/U
CM2J/P/R/V
2.0 DCi CMIK
OE 8200463517
1.4i 16v.
1.5 DCi
1.6i 16v.
1.9 DCi
2.01 16v. CMO5/U/W CMIM/N/T/U
CM2J/P/R/IV
2.0 DCi CMIK
OE Part/oe 7701474448
1.4i 16v.
1.5 DCi
1.6i 16v.
1.9 DCi
2.01 16v. CMO5/0U/0W/1M/1N
2.0i 16v. CMIT/1U/2P/2R/2V
2.0 DCi CMI1K

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

163

LTOVNHA



RENAULT

o

Megane 111

2754005 NEW  Protecteur de direction / Steering protector

1.2i Turbo BZ11/16 H5F
1.4i Turbo BZOF/1V H4J

1.5 DCi /FAP BZ06/09/0A/0B/0C/0D/10 K9K
1.5 DCi /FAP BZ14/1A/1F/1G/1M/1W K9K
1.6 16v. BZ03/0H/0U/1B/1H/1U/1Y/24 K4M
1.6 DCi FAP BZ00/12/2A ROM
1.9 DCi /FAP BZOJ/ON/1J/1K/1S F9Q
2.0i /16v. BZ0G/1E/1P M4R
2.0i 16v. /Turbo BZOK/1T/20/23 F4R
2.0 DCi FAP BZOL/0Y/27 MOR

Megane II1 Break

2754005 N~EW  Protecteur de direction / Steering protector

1.2i Turbo KZ11/16 H5F
1.4i Turbo KZOF/1V H4J
1.5 DCi /FAP KZ09/0A/0B/0C/0D/10 K9K
1.5 DCi /FAP KZ14/1A/1F/1G/IM/1W K9K
1.6i 16v. KZ03/0H/0U/1B/1R/1Y/24 K4M
1.6 DCi FAP KZ00/12/2A RIM
1.9 DCi FAP KZ0J/ON/1S FIQ
2.0i /16v. KZ0G/1P/1U M4R
2.0i 16v. /Turbo KZOK/1T/20/23 F4R
2.0 DCi FAP KZOL/0Y/27 MOR
Megane III Cab. CC

2754005 ~gW  Protecteur de direction / Steering protector

1.2i Turbo EZ11/16 H5F
1.4i Turbo EZOF/1V H4J
1.5 DCi /FAP EZ07/09/0B/0D/14/1G K9K
1.6i 16v. EZ03/0U/1U/1Y K4M
1.6 DCi FAP EZ00/2A RIM
1.9 DCi FAP EZO0J/ON/1K/1S FIQ
2.0i EZ0G/1E/1P M4R
2.0i 16v. /Turbo EZOK/IT F4R
2.0 DCi FAP EZOL MOR
Megane III Coupé

2754005 NEW  Protecteur de direction / Steering protector

1.2i Turbo DZ11/16 HSF
1.41 Turbo DZOF/1V H4J

1.5 DCi /FAP DZ09/0A/0B/0C/0D/10 K9K
1.5 DCi /FAP DZ14/1A/1F/1G/1M/1TW K9K
1.61 16v. DZ03/0U/1B/1H/1U/1Y/24 K4aM
1.6 DCi FAP DZ00/12/2A ROM
1.9 DCi /FAP DZ0J/ON/1J/1K/1S FoQ

2.0i 16v. DZO0G/1E/1P M4R
2.01 16v. /Turbo DZO0K/15/17/18/1N1T/20/21/23 F4R

2.0 DCi FAP DZOL/0Y/27 MO9R

OE 482036715R

OE 482036715R

OE 482036715R

OE 482036715R

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

164




Modus
7174031 N~gW  Direction mécanique / Steering gear

1245 g

o——
M14x150

‘ - e i
‘Sﬁd&%l/—m—ﬁ\%lmh

7374001 NEW Direction mécanique / Steering gear

OE Part/oe 8200565645

1.2i 16v. JPOW/1E

1.4i 16v.

1.5 DCi FPOD/E/G FP1B

JP1B/D/7

1.5 DCi JPOD/E/F/G/H/2/4/8/9

1.61 16v. JP0O3/B/U/V/Y JP16/G
OE 8200565645

1.2i 16v. JPOW/1E

1.4i 16v.

1.5 DCi FPOD/E/G FP1B

JP1B/D/7

1.5 DCi JPOD/E/F/G/H/2/4/8/9

1.61 16v. JP0O3/B/U/V/Y JP16/G
OE 7701475840

1.2i 16v.

1.4i 16v.

1.5 DCi

1.61 16v.
OE 7701466848

TT /all models 01/93-

Sauf pas variable

OE 7701469044

7374001B en boite/ in box
9006742 Protecteur de direction / Steering protector
Safrane...
7006120 Direction assistée / Power steering
1180
[z sm1 kovo
g _ | Lizsxso
M18x150
7174003 Direction assistée / Power steering
Assistance variable
1180
5] smx |
il M16x150
M18x150

2.2i 04/92-09/96 BVMS5
2.21 01/93-09/96 BVA4
2.2TD 09/96-08/00 BVMS5
2.51 20v. 09/96-08/00 BVM5
2.51 20v. 09/96-06/99 BVA4
25TD 02/11/95-09/96 BVM5
25TD 02/11/95-09/96 BVM5
3.0i V6 02/11/95-09/96 BVMS5
3.01 V6 04/92-09/96 BVA4
3.01 V6 4WD 04/92-12/95 BVM5

J7T760
J7T761
G8T740
N7U700
N7U701

S8U 762

S8U 762
Z7X722
ZT7X723/53/55
Z7X722

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

165

LTOVNHA



RENAULT

@

o

.Safrane
4006217 Protecteur de direction D / Right steering protector OE 7701038840
TT /all models
-t
4006220 Protecteur de direction G / Left steering protector OE 7701038839
TT /all models
~{m
4006218 Protecteur de direction D / Right steering protector OE 7701469564
TT /all models
-l
4006221 Protecteur de direction G / Left steering protector OE 7701469566
TT /all models
Scenic I -04/03...
7006133 Direction assistée / Power steering OE 7701352455
1165 7 1.4i -18/09/98
ISR 1.6i -18/09/98
— 1.61 -18/09/98
oy
e M16x150
M18x150
7174001 Direction assistée / Power steering OE 7700429506
1229 g 1.4i
|Eﬁ'rkw | 1.4i 16v.
p= 1.6i
O 16x150 1.61
i - — 1.6i 16v.  18/09/98-
1.61 16v.
LE 19D 17/02/99-
19D 18/09/98-
1.9 DCi 2WD
1.9 DTi 17/02/99-
1.9DTi 18/09/98-
2.01 18/09/98-
2.0i 16v. 2WD
2.0i 16v.
7174025 Direction assistée / Power steering OE 7700435589
1295 1.9 DCi 4WD
Gl smx | 2.0i 16v. 4WD
e M16x150
M18x150
4006215 Protecteur de direction / Steering protector OE 7701469496

@ 40 coté carter dir. DA SMI

JAOE

BVMIJAOF

JAOL

TT /all models sauf 1.9 D/DT type FAQJ
m 1.9 DTi FAON

166

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




..Scenic I -04/03

4006214 Protecteur de direction / Steering protector
DA

()

TT /all models sauf

1.41 16v. type JAIH 1.6i 16v. type JAOO

1.8i 16v. types JA1A/IM/1R 1.9 DTi type JA1U

1.9 DCi types JAO1/1F

2.0i 16v. types JAID/1L/1S

7074006 Pompe dir. assistée / Power steering pump

1.4i 75hp 55kw 09/96-11/98 BVM
1.61 90hp 66kw 09/96-08/99 BVM
1.9 D 65hp 47kw 03/97-03/01 BVM
1.9 DCi 100hp 75kw /4WD 08/99-06/03 BVM
1.9 DTi 80hp 59kw 10/00-06/03 BVM
1.9 DTi 100hp 74kw 09/97-04/00 BVM
1.9 TD 90hp 68kw 09/96-11/98 BVM
7074005 Pompe dir. assistée / Power steering pump
?19
1.8i 16v. 120hp 87kw 07/00-06/03 BVM
2.0i 115hp 83kw 09/96-08/99 BVM
2.0i 16v. 140hp 103kw 08/99-06/03 BVM
2.0i 16v. 140hp 103kw 08/99-06/03 BVA
Scenic IT 05/03-03/09...
7174019 Direction mécanique / Steering gear
1064
| [ trw EB g

o
M14x150

- Sans trou

7174030 NgW  Direction mécanique / Steering gear

1064 g

o
M14x150

7374030 NgW Direction mécanique / Steering gear

“ o4 Bvec troui B h

{97 ¥, | s e e = o |

—
7374030B en boite/ in box

OE 7701469486
OE 7700840106
E71764
K7M702
F8Q790
F9Q748/96/98
F9Q738/744
F9Q734/736
F8Q784/86/90
OE 491108814R
F4P720/2
F3R
F4R740/4/6
F4R741/7
OE 7711368390
1.4i 16v.
1.5 DCi
1.61 16v.
1.9 DCi
2.0i 16v.
2.0 DCi
OE Part/oe 7711368394
1.4i 16v.
1.5 DCi
1.61 16v.
1.9 DCi
2.0i 16v.
2.0 DCi
OE 8200463517
1.4i 16v.
1.5 DCi
1.61 16v.
1.9 DCi
2.0i 16v.
2.0 DCi

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

167

LTOVNHA



RENAULT

..Scenic IT 05/03-03/09

2754002 Protecteur de direction / Steering protector OE Part/oe 7701474448
1.41 16v.
1.5 DCi
g 161 16v.
1.9 DCi

2.01 16v.
2.0 DCi

Scenic IIT 04/09-

2754005 N~gEW  Protecteur de direction / Steering protector OE 482036715R

1.2i Turbo JZ11/16 H5F

1.4i Turbo JZOF/1V H4J

1.5 DCi /FAP J702/07/09/0A/0B/0D K9K

1.5 DCi /FAP JZ10/14/1G/1TM/TW K9K

1.61 16v. JZ03/0U/1B/1H/1U/1Y /24 K4M

1.6 DCi FAP JZ00/12/2A ROM

1.9 DCi /FAP JZOJ/ON/1J/1K/1S FOQ

2.0i /16v. JZ0G/1E/1P M4R

2.0 DCi FAP JZOL/0Y/25/26 MI9R

Spider

4006121 Protecteur de direction G/ Left steering protector OE 7700653459
2.0i 16v. EFOH

4006120 Protecteur de direction D / Right steering protector OE 7700680852
2.0i 16v. EFOH

Thalia Symbol I (LB)...
4006204 Direction mécanique / Steering gear OE 8200033766
Assistance électrique

1.2i 16v. LB1Y/2U
q 1.4 LB03/0B/17/3K
. 3 g
4006204B en boite/ in box
7006172 Direction assistée / Power steering OE 8200917748
1.2i 16v. 15/12/99- LB11/19/1Y/2V/27/2U
[ 1176 = @ 1.4 LB03/0B/17/3K
s . 1.4i16v. LBOK/OP/13/2A/2B/3D
pro— 1.5 DCi LB07/1W/23/24/2E
M14x150 M16x150 | 1 6i 16v. 15/12/99- LBIV

—

M18x150

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

168



<

o

..Thalia Symbol I (LB)

1.61 16v. -15/12/99 LBO01/18/1B/1J/26/3E/3G|

9D 15/12/99-

OE 7711134508

LB00
LB02

OE 7711134512

1.6i 16v. -15/12/99 LB3H

OE 7700435644

1.9D -15/12/99 LBO02

7174009 Direction assistée / Power steering
1180 1.6
|@3MITRW| Ak 1.9
v ) 8 M16x150
M18x150
7006124 Direction assistée / Power steering
1055
|@ SMI n a
i M16x150
M18x150
7006173 Direction assistée / Power steering
&) trw | E
W M16x150
M18x150
4006215 Protecteur de direction / Steering protector
@ 40 coté carter dir. DA ]
1.2i 16v.
1.4i
m 1.4i 16v.
1.5 DCi
1.6i
1.6i 16v.
19D
4006214 Protecteur de direction D / Right steering protector
DA .
1.21 16v.
1.4i
1.4i 16v.
w 1.5 DCi
1.61
1.61 16v.
19D
4006223 Protecteur de direction G / Left steering protector
DA
1.2i 16v.
1.4i
-@ TRW 'm 1.41 16v.
1.5 DCi
1.61
1.61 16v.
1.9D
7074008 Pompe dir. assistée / Power steering pump
Avec clim.
1.5 DCi
1.5 DCi
1.5 DCi
1.5 DCi
LD

OE 7701469496

LB11/19/1Y/2V
LB03/0B/17
LBOK/13/2A/2B
LBO07/1W/23/24/2E
LB00
LBO1/18/1B/1J/1V
LB02

OE 7701469486

LBI11/19/1Y/2V
LB03/0B/17
LBOK/OL/13/2A/2B
LBO07/1W/23/24/2E
LB00
LBO01/18/1B/1J/1V
LB02

OE 7701471141

LBI11/19/1Y/2V
LB03/0B/17
LBOK/OL/13/2A/2B
LBO07/1W/23/24/2E
LB00
LBO1/18/1B/1J/1V
LB02

OE 7701470783

LBO07 K9K
LBIW K9K
LB23/24/29 K9K
LB2E LB3M/N K9K
LB02 F8Q

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

169

LTOVNHA



RENAULT

o

Twingo 1
4006200 Direction mécanique / Steering gear

1152

Go——
M14x150

4006200B enboite/ in box

4006075 Protecteur de direction / Steering protector

OE 8200033832
1.01 Coo6Y D7D
1.0i 16v. CO6H D4D
1.2 C063/64 S063/64 C3G
1.2i C066/67/68/6G D7F
1.2i S066/68/6G D7F
1.2i 16v.  C060/61/62/6C/6D DA4F
1.2i 16v. CO6K/6V/6W DA4F
1.2i 16v.  S06C/6D/6K DAF

OE 7700678649

1.2 CO06 0/1/2/3/4/6/7/8/C/D
1.2 C06 G/H/J/IK/IM/N/R/W/Y
1.2 S06 0/3/4/6/8/C/D/G/K/IM/W

4006255 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006075x2 +colliers)
1.2 CO06 0/1/2/3/416/7/8/C/D
[T m 12 C06 G/H/J/K/M/N/R/W/Y
= 1.2 S06 0/3/4/6/8/C/DIG/K/M/W
P —
Vel Satis
4006225 Protecteur de direction / Steering protector OE 7701474075
2.0 Turbo
2.2 DCi
3.0 DCi
3.51 V6 24v.
Express...
4006008 Direction mécanique / Steering gear OE 7701463995
Y648 @ TT /all models -11/88
o e——
M14x150 _
4006008B en boite/ in box
4006009 Direction mécanique / Sicering gear OE 7701466485
TT /all models 12/88-
1086 g
O——
M14x150
4006009B en boite/ in box
7006103 Direction assistée / Power steering OE 7701466725
1.0 -06/07/93 F400
1.1 -06/07/93 F401 FAOH/T
|Eﬁ ZF | 1.2 -06/07/93 F40F G40A
e 1.21 -06/07/93 F406
M?ﬁ) M16x150 1.4 -06/07/93 F402 F40A/M/Y
— 1.4i -06/07/93 F407 FA0D/S/U/V|
Wi 16D -06/07/93 F404
1.9D -06/07/93 F40E/N/P/R
19D -06/07/93 G40B/C
TT Elec. /All models Electric
-06/07/93 G40W

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

170



<

o

7006165

..Express

Direction assistée / Power steering

1095

[ smz

Fp——
M14x150

4006075

4006021

4006255

4006254

7006124

2

=

M16x150

—

M18x150

Protecteur de direction / Steering protector

DNA

Protecteur de direction / Steering protector

DA

Kit rép. protecteurs de dir. / Steering boots repair kit

(4006075x2 +colliers) DNA

e ——

P

Kit rép. protecteurs de dir. / Steering boots repair kit

(4006021x2 +colliers) DA

Kangoo I -02/03 VU...

Direction assistée / Power steering

1055

[ smz |

Lo
M14x150

2

«-—

M16x150

—

M18x150

OE 7701351832

06/07/93-
06/07/93-
06/07/93-
06/07/93-
06/07/93-
06/07/93-
06/07/93-
06/07/93-
. 06/07/93-
1.9D 06/07/93-
TT Elec. /All models Electric
06/07/93-

OE 7700678649
1.1 -01/08/91
1.1

=

—_

e e e e e ek e
—_

caorbhribib—O

wAwj

1.6 D
TT /all models -09/91

TT /all models 09/91-
TT /all models

TT /all models
TT /all models

OE 7701469617
1.1 -01/08/91
1.1

1.6 D

TT /all models -09/91
TT /all models 09/91-
TT /all models

TT /all models
TT /all models

OE -

1.1 -01/08/91
1.1

1.6 D

TT /all models 09/91-
TT /all models 09/91-
TT /all models

TT /all models
TT /all models

OE -
A -01/08/91
.1

.6D
TT /all models -09/91

— e —

TT /all models 09/91-
TT /all models

TT /all models
TT /all models

OE 7711134512

Essieu renforcé
TT /all models
sauf 4WD

01/98-

F40H

F400

F401 F4A0HT
F40F G40A
F406

F402 FA0OAMY
F407 F40DSU
F40V

F404

F40E F40N/P/R
G40B/C

G40W

F40H

F401

F404

F40M F400
F402 F407
F40F/T F407
F40A/D/E/N
F40P/R/U/NVTY
F405 G40B/C
F406 G40A/W

F401

F404
F40M/400/02/07
F40F/T F407
F40A/D/E/N
F40P/R/U/NV/Y
F405 G40B/C
F406 G40A/W

F40H

F401

F404

F40F/T F407
F40M/400/02/07
F40A/D/E/N
F40P/R/U/N/Y
F405 G40B/C
F406 G40A/W

F40H

F401

F404

F40M F400
F402 F407
F40F/T F407
F40A/D/E/N
F40P/R/U/NV/Y
F405 G40B/C
F406 G40A/W

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

171

LTOVNHA



RENAULT

<

...Kangoo I -02/03 VU...

7006129 Direction assistée / Power steering
1056

|£ﬁsm |
pm

—
M14x150 2 ;‘MHL i ——— e M16x150
L Q e B e =
M18x150

7006171 Direction assistée / Power steering
| [ smx g
e M16x150
M18x150
7174026 ~EW  Direction assistée / Power steering
1185 g
M14x150 (e M16x150
M18x150
7174023 Direction assistée / Power steering
1230
|E§SMI |
o =
M14x150
4006227 Protecteur de direction / Steering protector
@ 30 coté carter dir.
4006215 Protecteur de direction / Steering protector

@ 40 coté carter dir.

-

OE 8200276161

Sauf tout chemin

1.2 -03/02/99
1.2 -03/02/99
OE 7711134174
Sauf tout chemin
1.2 -03/02/99
14 -03/02/99
1.4 -03/02/99
19D -03/02/99
1.9D -03/02/99
OE 8200895863
Sauf tout chemin
1.2 28/03/01-
1.21 16v. 28/03/01-
1.5 DCi 28/03/01-

1.61 16v.2WD 28/03/01-
1.9DCi2WD 28/03/01-

OE 7711135042

1.61 16v. 4AWD
1.9 DCi 4WD

OE 7701473652

TT /all models DNA

OE 7701469496

TT /all models DA

FCOA D7F720
FCOF

FCOA D7F710

FCO1/F FC1A
FCO05

FCO07

FCOP

FCOV

FCOP
FCOV

172

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




ARSI 0
..Kangoo I -02/03 VU
7074005 Pompe dir. assistée / Power steering pump OE 491100219R
@19
‘
1.21 58hp 43kw 60hp 44kw 09/97-03/03 BVM D7F710/720/22/26
1.2i 16v. 75hp 55kw 06/01-03/03 BVM D4F712
1.4i 75hp 55kw 09/97-03/03 BVM BVA E7J635/780
1.9 D 55hp 40kw 65hp 48kw 09/97-03/03 BVM F8Q630/32/62
1.9 DCi 4WD 80hp 59kw 01/02-06/03 BVM FO9Q790
1.9 DTi 80hp 59kw 04/00-07/02 BVM FOQ780/782
7074008 Pompe dir. assistée / Power steering pump OE 7701470783
1.5 DCi Avec clim. normale FCO7 K9K
1.9D  Avec clim. normale FCOD/J/N F8Q
19D Avec clim. normale FCO02/E F8Q
1.9DCi Avec clim. normale FCOV ~ F9Q
1.9 DTi Avec clim. normale FCOU F9Q
TT Elec. /All models Electric FC0Z
Kangoo I 03/03-12/07 VU...
7174026 ~gW Direction assistée / Power steering OE 8200895863
1185 E Sauf tout chemin
1.2 FCO1/F FC1A/H
= 1.2i 16v. FCO05/T/W FC1D/K/P
— g1 1spG FC07/8/9 ECIR/S
s — 1.6i 16v. 2WD FCOL/P/S FC1B/N
1.9 DCi 2WD FCOV
M18x150
7174023 Direction assistée / Power steering OE 7711135042
1230 1.6i 16v. 4WD FCOL/0P/0S
|@ SMI | 1.9 DCi 4WD FCOV
O =
M14x150
4006227 Protecteur de direction / Steering protector OE 7701473652
@ 30 coté carter dir. DNA
|||||||||| TT /all models
4006215 Protecteur de direction / Steering protector OE 7701469496
@ 40 coté carter dir. DA
|| TT /all models
7074005 Pompe dir. assistée / Power steering pump OE 491100219R
D19
1.2i 16v. 75hp 55kw 03/03-
BVM D4F703/12/30
N 1.2 58hp 43kw 60hp 44kw  03/03-
BVM D7F726
1.2 60hp 44kw GPL 03/03-
BVM D7F744/64/66
1.9 D 65hp 47kw  03/03-
BVM F8Q632
1.9 DCi 85hp 62kw 03/03-
BVM F9Q790

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

173

LTOVNHA



RENAULT

< 06

..Kangoo I 03/03-12/07 VU

7074008 Pompe dir. assistée / Power steering pump OE 7701470783
1.5 DCi Avec clim. normale -18/07/06
FCI1E/F/G/R/S K9K
1.5 DCi /Express Avec clim. normale
-18/07/06 FC07/8/9 K9K
1.9D  Avec clim. normale FCOD/J/N/02/E
F8Q
TT Elec./All models Electric ~ FC0Z
Kangoo IT 01/08- VU
2754007 Protecteur de direction / Steering protector OE Part/oe 7701478400
1.2 TCE FWO02
1.5 DCi FWOA/B/C/F/G/H/K/L
FW04/5/6/7/8
1.6i FWOO/E/N/P/Y
1.6i 16v. FWOD/U/W/1/3/9
TT Elec. /All models Electric FW0Z
Master I
7006123 Direction assistée / Power steering OE 7701352441
1277 @ TT /all models 01/81-06/96 R..... Q.....
& trw
e M16x150
M18x150
Master II...
7006130 Direction assistée / Power steering OE 7701352645
|Eﬂ SMI | g
s M16x150
M18x150
1.9 DTi -11/03 FDOL JDOL/1L
1.9 DCi -11/03 FDOP/8P JDOP/1P
2.2 DCi -11/03 EDOG/ON/8G/8N  FDOG/ON/2G/2N/3G/3N HDOG/ON/1G/IN
2.2 DCi -11/03 JDOG/ON/1G/IN  UDOG/ON/1G/1N/4G/4N/8G/8N
25D -11/03 EDOA/OE/S8E FDOA/OE/2E/3E HDOA/OE/1A/1E  JDOA/OE/1A/1E
2.5D -11/03 UDOA/OE/1A/1E/4A/4E/8E
2.5 DCi -11/03 EDOM/0U/0V/OW/8M/8U/01/02/0Y/4M/4V/4U/8V/8W/81/82/8Y/91/92/9Y
2.5 DCi -11/03 FDOM/0U/OV/OW/2M/2W/01/02/21/22/2Y/3M/3U/3V/3W/8M/8U/8V/8W
2.5 DCi -11/03 FD31/32/3Y/71/72/7Y/9Y/81/82/8Y/91/92
2.5 DCi -11/03 HDOM/0U/0V/OW/1M/1U/1V/1W/1Y/01/02/0Y/11/12
2.5 DCi -11/03 JDOM/IM/TW/01/0Y/11/12/1Y
2.5 DCi -11/03 UDOM/OU/OV/OW/IM /1U/1V/1W/AM/4U/4V /AW /41/42/4Y/51/52/5U/5V/5Y
2.5 DCi -11/03 UD5U/5V/6U/6V/61/62/6Y/81/82/8M/8U/8V/8Y
2.5 DCi -11/03 UD8W/01/02/0Y/11/12/1Y
2.8 DTi -11/03 EDOC/OF/8C FDOC/0F/2B/2F/3C/3F HDOC/OF/1C/1F
2.8 DTi -11/03 JDOB/OF/1B/1F  UDOC/OF/1C/1F/4C/4F/8C
3.0 DCi -11/03 EDO0S/4S/8S FD0OS/0T/2T/3S/8S JDOT/1T
3.0 DCi -11/03 HDOS/1S UDO0S/1S/4S/5S/6S/8S
4006224 Protecteur de direction / Steering protector OE 7701470361
1.9 DTi
1.9 DCi
25D
2.5 DCi
2.8 DTi
3.0 DCi

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

174



<

o

7074002

7074012

7074001

7174035

2754003

..Master I1
Pompe dir. assistée / Power steering pump

5 Gorges
5 Grooves,

9125

6 Gorges
6 Grooves

9125

Master II1

NEW  Direction assistée / Power steering

H{1—

2

Protecteur de direction / Steering protector

OE 8200838037+7700115621

Sans clim.
1.9 DCi FDOP/8P JDOP/1P FOQ
OE 8200838037+7700111040
Avec clim.
1.9 DCi FDOP/8P JDOP/1P F9OQ
OE 8200838037+7700108973
1.9 DCi 09/97-10/06
FDAK/P FoQ772/4
2.2 DCi 09/97-11/03

FDON/2N/3N G9T722/50

OE 490016975R

2.3 DCi Sauf reduction emission type 2

OE 482037616R

2.3 DCi EVO0OA/0B/0C/0D/OE/OF/0J/OH  FVOA/0B/0C/0D/OE/OF/0G/0H/0J/0K/0M HVO0A/0B/0C/0D/OE/OF/0G/0H/0J/0K

JVOA/OB/0OC/0D/OF/0G/OH/0J UVO0A/0B/0C/0D/0E/OF/0G/0H/0J/0K/0OM
Trafic I...
4006019 Direction mécanique / Steering gear OE 7701461766
1224 TT /all models P3 P5 P6 P8
TT /all models T1/1/2/3/4/5/6
TT /all models T7/9/A/B/C/E
me—s
M14x150
4006019B enboite/ in box
4006024 Direction mécanique / Steering gear OE 7701462387
1224 TT /all models P3 P5 P6 P8
TT /all models V2/3/4/5/9
TT /all models PA PC
A —
M14x150
4006024B en boite/ in box

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

175

LTOVNHA



RENAULT

<

.. Trafic I
7006122 Direction assistée / Power steering OE 7701352107
=T 1240 TT /all models P3 P5 P6 P8
|—| — TT /all models T1/2/3/4/5/6
TT /all models V2/3/4/5/9
M14x150 M16x150 | TT /all models PA PC
— TT /all models T7/9/A/B/C/E
M18x150
4006127 Protecteur de direction / Steering protector OE 7700774566
DNA c6té pignon
TT /all models P
. TT /all models 03/89- 'V
TT /all models 01/97-
4006120 Protecteur de direction / Steering protector OE 7700680852
DNA c6té opposé au pignon
TT /all models P
ﬂ TT /all models 03/89- T V
TT /all models 01/97-
4006021 Protecteur de direction / Steering protector OE 7701469617
DA c6té opposé au pignon
TT /all models P
W TT /all models  03/89- TV
TT /all models 01/97-
4006257 Kit rép. protecteurs de dir. / Steering boots repair kit OE -
(4006120+4006127+colliers) DNA
TT /all models P
TT /all models 03/89- T V
TT /all models 01/97-
L .__—'__"________»
Trafic I1L...
7006167 Direction assistée / Power steering OE 7711368804
1.9 DCi ELOB/C FLOB/C/K JLOB/C/K
2.0i 16v. ELOA/L FLOA/G/L/N/W/2
ISES 2.0i 16v.  JLOA/G/L/N/W/2
2.0 DCi ELOH/M/P/S/0/1 FLOH/M/P/S/U/0/1
— 20DCi  JLOH/M/P/S/U/0/1
2.5 DCi ELOD/J/R/V FLOD/J/R/V
2.5 DCi JLOD/J/R/V
9006715 Protecteur de direction / Steering protector OE Part/oe 7701473334
1.9 DCi ELOB/OC FLOB/0C/0K JLOB/0C/OK
2.0i 16v. ELOA/OL FLOA/0G/0OL/ON/OW/02 JLOA/OG/OL/ON/OW/02
2.0 DCi ELOH/0M/0P/0S  FLOH/0M/0U/00/01/0P/0S JLOH/OM/0U/00/01/0P/0S
2.5 DCi ELOD/0J/OR/OV  FLOD/0J/OR/OV JLOD/0J/0R/OV
7074002 Pompe dir. assistée / Power steering pump OE 8200838037+7700115621
Sans clim.
1.9DCi ELOB JLOB FOQ
1.9DCi FLOB F9Q762
G195 1.9DCi  Sans prise de force

ELOC FLOC/0K JLOC/OK F9Q
1.9 DCi Sans prise de force FLOB F9Q760

2.0i 16v.

-06/02/09

ELOA FLOA/0G JLOA/OG F4R720

2.0i 16v.

-06/02/09

ELOL FLOL/ON/OW JLOL/ON F4R820

176

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




. Trafic II
7074012 Pompe dir. assistée / Power steering pump OE 8200838037+7700111040
6 Gorges
6 Grooves
N 125
1.9 DCi Sans clim. Avec prise de force ELOC FLOC/0K JLOC/OK FOQ
1.9 DCi Sans clim. Avec prise de force FLOB FO9Q760
1.9 DCi Avec clim. ELOB/0C FLOB/0C/0K FOQ
1.9 DCi Avec clim. JLOB/0C/OK FOQ
2.0i 16v. Avec clim. ELOA FLOA/0G JLOA/OG F4R720
2.01 16v. Avec clim. ELOL FLOL/ON/OW JLOL/ON F4R820
7074001 Pompe dir. assistée / Power steering pump OE 8200838037+7700108973
2.0 DCi ELOH/OM FLOH/OM
JLOH/OM MO9R
2.0 DCi FLOU JLOU MO9R
2.5 DCi ELOD FLOD JLOD G9U
2.5 DCi ELO0J/OR/0V FLOJ/OR/OV
GoU
2.5 DCi JLOJ/OR/OV GIoU
ROVER
2545
7006043 Direction assistée / Power steering OE QAB102971
1230 1.1i 16v. 25
=R ﬂ 1.4i 16v. 25
S | 1.6i 16v. 25
= l— —-ﬁmﬁ — [ e
- 0i
M16x150
7076035 Pompe dir. assistée / Power steering pump OE QVB100690
2.01iDT 25 100hp 74kw 01/00-08/04
[ HOBOURN /O A BVM 20T2N
:
42
75
7006044 Direction assistée / Power steering OE QAB102452
1.8 /Break
IEESE 1.8 T /Break BVM BVA
= 2.0 V6 /Break BVM BVA
M14x150 M0 2.0 CDT /Break BVM BVA
= 2.5 V6 /Break BVM BVA
M16x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

177

LTOVNHA

dHAOA



ROVER

200
7006125 Direction assistée / Power steering
Raccords coniques
1230
| [ Trw
MOE_:'14x15o M14x150
M16x150
7076037 Pompe dir. assistée / Power steering pump
[=5HOBOURN =R /O
i Jﬁ G
i‘n
-
% 42
400
7006125 Direction assistée / Power steering
Raccords coniques
1230
|@TRW |
M{)u-:llllxlSO M14x150
M16x150
7076037 Pompe dir. assistée / Power steering pump
=5 HOBOURN| /O
O (M)
™M |10
:
42
Maestro
7006072 Direction assistée / Power steering
2 soufflets séparés
B g
S
M14x150
M16x150

OE GSR1142

TT /all models
Sauf 216

01/89-12/96

OE QVB100600

1.4i 16v. 105hp 76kw  01/94-06/96
BVM 14K4F

OE GSR1142

TT /all models
Sauf 416

01/89-12/96

OE QVB100600

1.4i 16v. 105hp 76kw  01/94-06/95
BVM 14K4F

OE GDR1166

TT /all models 01/83-12/89

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

178




SEAT
Alhambra
7006151 Direction assistée / Power steering

1031
[ TRW \ E

M18x150

-—

o
M14x150

—

M16x150

7176029 Direction assistée / Power steering

1030

[ TRw

T

O

M14x150 M18x150

o .

M16x150

7076071 NEW Pompe dir. assistée / Power steering pump

g
=-
FEs i
: i
18 36
Arosa
7006147 Direction assistée / Power steering
|ﬁTRW | @
Sl M14x150
M16x150
7006153 Direction assistée / Power steering
1142 .
|‘[-E TRW @ o
S M14x150
M16x150
9006083 Protecteur de direction / Steering protector
DNA
9006718 Protecteur de direction / Steering protector
DA

(RN

TT /all models

OE 7M1422061DX

05/96-07/00

OE 7M3422061EX
1.81 20v. Turbo 07/00- AWC
1.9 TDi 90hp 66kw  07/00- ANU
1.9 TDi 115hp 85kw 07/00-
1.9 TDi 130hp 96kw 07/00- ASZ
2.0 07/00- ATM
2.8 VR6 07/00- AYL
OE 7TMO0145157AA
1.81 20v. Turbo 07/00-12/08 AWC
1.9 TDi 07/00-12/08 ANU AUY
1.9 TDi 06/03-12/08 ASZ
1.9 TDi 01/06-12/08 BTB BVK
2.01 8v. 07/00-12/08 ATM
2.0 TDi FAP 01/06-12/08 BRT
2.81 VR6 07/00-12/08 AYL
OE 6N1422061CX
1.0 07/97-11/00 Ch- 6HW031001
1.0 11/00-06/05
1.4 07/97-11/00 Ch- 6HWO031001
1.4 11/00-06/05
1.7 SDi 07/97-11/00 Ch- 6HW031001
1.7 SDi 11/00-06/05
OE 6N1422061EX
1.41 16v. 11/00-06/05
1.4 TDi 01/00-06/05
OE 6N0419831
1.0
1.0i
1.4
1.4i 16v.
1.4 TDi
1.7 SDi
OE 6N0422831
1.0
1.4
1.7 SDi

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

179

LVAS



SEAT

Cordoba...
9006003 Direction mécanique / Sicering gear

524 ‘ @“18

7006149 Direction assistée / Power steering
1242 -
xR | é o
o M18x150
—
M16x150
7006138 Direction assistée / Power steering
1288 -
[F] Trw @ e
= M18x150
—»
M16x150
7006150 Direction assistée / Power steering
1290 -
|,[ﬂ TRW ‘ @ e
Sl ) | Dmsxiso
—
M16x150
7006137 Direction assistée / Power steering
1245 -
5 Trw ‘ é A
e M18x150
—
M16x150
7006142 Direction assistée / Power steering
1186 -
|EﬁTRw | % 2
- -
it o M18x150
M1 6x150

2756027 NEW  Protecteur de direction / Steering protector
DA

R

OE 191419063CX

TT /all models 01/93-10/02

OE 1H1422055

TT /all models 01/93-12/98
OE 6K1422061C
TT /all models 01/94-12/98

OE 191422055

TT /all models 01/93-12/98

OE 191422061KX

TT /all models 01/94-12/98

OE 6K1422061DX
1.0 01/99-01/02 ALD ANV
1.4 01/99-01/02 AKK ANW
1.4 01/99-01/02 AUD AKK/V
1.4i 16v. 01/99-01/02 APE AUA/B
1.6 01/99-01/02 ALM/EE/PF/UR
1.6 01/99-01/02 BVA AEH/FT/KL/LM
1.8 Turbo 20v.

01/99-01/02
1.9 SDi 01/99-01/02 AGP AOM
1.9 TDi 01/99-01/02 AGR/FN/HU
1.9 TDi 01/99-01/02 ALH ASV

OE 6E0419831

TT /all models 01/03-12/05 -ch 6L.3162980

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

180




hSIc i)
...Cordoba

9006035 Protecteur de direction / Steering protector OE 191419831

DNA
1.4i/16v. 06/94-

1.6 75hp 55kw 01/93-12/98

1.61 02/93-
1.81 20v. Turbo 01/01-

1.9 SDi 08/96-
1.9 TDi 08/96-
2.0 01/93-12/98
9006084 Protecteur de direction / Steering protector OE 1H0422831B
DA
1.4/i 16v. 01/93-
1.6 09/96-09/00
1.8/i 16v. 01/93-12/98
1.8i 20v. Turbo 07/00-
m 19D 01/93-12/98
1.9 SDi 01/93-
1.9TD 01/93-12/98
1.9 TDi 01/93-
2.0 16v. 05/96-09/99
7076010 Pompe dir. assistée / Power steering pump OE 6X0422154
g 1.4i 16v. 75hp 55kw  09/00-10/02
£ zF . A |k BVM APE AUA
galtT 8 il
z 1
18 36
7076024 Pompe dir. assistée / Power steering pump OE 6N0145157
g 1.61 100hp 74kw  -12/99
= Y xuir BVM AFT AKL APF
a4+ 2 @ 0 1.9 TDi 90hp 66kw  09/99-10/02
S - BVM AGR AHU ALH
5 1 1.9 TDi 110hp 81kw 04/00-10/02
18 36 BVM ASV
Exeo
7076078 NEW Pompe dir. assistée / Power steering pump OE 8E0145155N
2.0 TDi -07/11/11  CAGA/C CAHA
[ zF
43
Ibiza IT III IV 93-01(6K)...
9006003 Direction mécanique / Steering gear OE 191419063CX

@K TT /all models 05/93- 6Kl
‘ 18

OE 1H1422055

. TT /all models 05/93-06/99 6K1
= xR
T— M18x150

—

M16x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

181

LVAS



SEAT

..Ibiza II III IV 93-01(6K)...

7006138 Direction assistée / Power steering
1288 .
|ﬁTRW | ‘ é =
P N =
M14x150 ﬁ—_“ L M18x150
M16x150
7006150 Direction assistée / Power steering
1290 -
= trw | ‘ é 8
e, — | Lmsx150
M16x150
7006137 Direction assistée / Power steering
1245 -
=] trw | ‘ é 4B
e |, “ . . | [m8x150
M16x150
7006142 Direction assistée / Power steering
1186 ~
=] trw | g o4
e v _ ) M18x150
M14x150 a==.“ e ==l |
7 M16x150
9006035 Protecteur de direction / Steering protector
DNA
9006084 Protecteur de direction / Steering protector

DA

OE 6K1422061C

TT /all models 05/93-06/99 6K1

OE 191422055

TT /all models 05/93-06/99 6K1

OE 191422061KX

TT /all models 05/93-06/99 6K1
OE 6K1422061DX

6K1

1.0 07/99- ALD ANV

1.4 07/99- AKK /NW/UD

1.4i 16v. 07/99- APE AUB

1.6 07/99- ALM APF AUR

1.6 07/99- BVA AEH

1.8 Turbo 20v. 07/99- AQX

1.9 SDi 07/99- AGP AQM

1.9 TDi 07/99- AGR ALH ASV
OE 191419831

6K1

1.0 05/93-

1.3 -12/98

1.4 /16v. 05/93-

1.6

1.81 03/93-08/99

1.9 SDi 08/96-

1.9 TDi 08/96-

2.0 -12/98
OE 1H0422831B

6K1

1.0 05/99-

1.4

1.4i 16v. 05/99-

1.6

1.8 -04/96 BVM BVA

1.8 05/99-09/99

1.8i 16v. -04/96

1.81 20v. Turbo 10/99-

1.9D GT -04/96

1.9 SDi 05/99-

1.9TD -04/96

1.9 TDi 05/99-

2.0/GT

182

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

7076010

=5 zF

7076028

7076024

=5 zF

BVM 6K1

1.41 60hp 44kw

1.41 60hp 44kw

1.61 75hp 55kw

1.61 75hp 55kw

1.61 100hp 74kw

1.9 TDi 90hp 66kw
1.9 TDi 110hp 81kw

7076029

6K1

1.81 90hp 66kw

1.8i 16v. 130hp 95kw
1.9 SDi 70hp 50kw
1.9 TD 75hp 55kw
2.0i 115hp 85kw

7076009

B %=

6K1

1.9 SDi 65hp 47kw

1.9 SDi 65hp 47kw

1.9 TDi 90hp 66kw

1.9 TDi 90hp 66kw

1.9 TDi 110hp 81kw

2.0i 16v. Cupra 150hp 110kw

@30
1
|
i

07/94-04/96
11/96-09/99
05/93-04/96
02/97-09/99
09/99-03/02
09/99-03/02
04/00-03/02

05/93-04/96
07/94-04/96
07/94-04/96
05/93-04/96
05/93-04/96

05/96-09/99
05/96-09/99
11/96-09/99
11/96-09/99
12/97-09/99
07/98-09/99

31
54

31
54

36

Pompe dir. assistée / Power steering pump

31

54

31
54

31

54

Pompe dir. assistée / Power steering pump

Pompe dir. assistée / Power steering pump

ABD

OE 032145157AX

BVM 6K1
1.0i 50hp 37kw 11/96-09/99
ANV/UC/ER
09/99-02/02
AER/LD /LL
1.4i 16v. 75hp 55kw  09/00-03/02

APE /UA
OE 6N0422155

1.0i 50hp 37kw

1.0 50hp 37kw 08/99-02/02 6K1

OE 6N0145157

AEX/KK/KV/NW/PQ/UD

ABU

1IF AEE/LM
AEH/FT/KL/PF/UR
AGR/HU/LH

AFN /SK/SV

BVM BVA

BVM
BVM
BVM
BVM

OE 037145157DX

ABS ADZ
ADL

1Y

AAZ

2E

OE 6K0422154X

1Y

AEY

AGR AHU ALH
1Z

AFN ASK ASV
ABF

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

183

LVAS



SEAT

<

o

Ibiza V 01- (6J 6L)

7006155 Direction assistée / Power steering OE 6Q1423061MX
1179
|Eﬂ TRW | é
i M14x150
M16x150
6L.1 Ch- 61.3062690
1.2i 12v. 65hp 48kw 3/5ptes -03/06 AZQ BME
1.41 16v. 75hp 55kw 3/5ptes -03/06 BBY BKY
1.4i 16v. 100hp 74kw 3/5ptes -03/06 AUB BBZ
1.9 SDi 65hp 47kw 3/5ptes -10/05 ASY
1.9 TDi 100hp 74kw 3/5ptes -03/06 ATD
1.9 TDi 130hp 96kw 3/5ptes -03/06 ASZ BLT
2756027 ~NEW  Protecteur de direction / Steering protector OE 6E0419831
DA
TT /all models 01/02-12/05
.m Ch- 6LZ2000001 -ch 6L3162980
Leon...
7006140 Direction assistée / Power steering OE 1J1422075KX
1263
B g
e M14x150
M16x150
1.4i 16v. 04/00-09/05 ~ch TMX025000 AHW/PE/XP BCA
1.41 16v. 04/00-09/05 Ch- 1MY000001 AHW AXP
1.6 04/00-09/05 —ch 1MX025000 AKL APF
1.6 04/00-09/05 Ch- IMYO000001 AKL
1.6 04/00-09/05 BVA -ch 1MX025000 AEH
1.6 04/00-09/05 BVA Ch- IMYO000001 AEH
1.61 16v. 09/00-06/06
1.81 20v. 04/00-09/05 -ch 1MX025000 APG AGN
1.81 20v. 04/00-09/05 Ch- IMYO000001 APG
1.81 20v. 04/00-09/05 BV6 -ch 1MX025000 APP AUQ
1.81 20v. 04/00-09/05 BV6 Ch- IMY000001 APP AUQ
1.9 SDi 04/00-09/05 -ch 1IMX025000 AQM
1.9 SDi 04/00-09/05 Ch- IMY000001 AQM
1.9 TDi 90hp 66kw 04/00-09/05 -ch 1MX025000 AGR ALH
1.9 TDi 90hp 66kw 04/00-09/05 Ch- IMYO000001 AGR ALH
1.9 TDi 110hp 81kw 04/00-09/05 -ch 1MX025000 AHF ASV
1.9 TDi 110hp 81kw 04/00-09/05 Ch- IMY000001 AHF ASV
1.9 TDi 130hp 95kw 04/00-09/05 ASZ
1.9 TDi 150hp 111kw 04/00-09/05 ARL

9006065

Protecteur de direction / Steering protector

1.4i 16v.
1.61 16v.

OE 1J0422831B

04/00-09/05
04/00-09/05

1.8i 20v. /Turbo 04/00-09/05

1.9 SDi
1.9 TDi

04/00-09/05
04/00-09/05

2.81 V6 24v. 4WD  04/00-09/05

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

184




7076023

| @

...Leon

31
54

Pompe dir. assistée / Power steering pump

1.4i 16v. 75hp 55kw 04/00-09/05 BVM
1.61 100hp 74kw 04/00-09/00 BVM BVA
1.61 16v. 105hp 77kw 09/00-09/05 BVM
1.81 20v. 125hp 92kw 04/00-06/03 BVM BVA
1.81 20v. Turbo 180hp 132kw 04/00-09/05 BVM6
1.8i 20v. Turbo 4WD 180hp 132kw 04/00-06/03 BVM6
1.81 Turbo 20v. Cupra R 4WD 210hp 154kw  02/02-09/05 BVM6
1.9 SDi 70hp 50kw 04/00-06/03 BVM
1.9 TDi 90hp 66kw 04/00-09/05 BVM
1.9 TDi 110hp 81kw 04/00-09/05 BVM
1.9 TDi 130hp 96kw 04/00-09/05
1.9 TDi 150hp 110kw 01/01-09/05 BVM6
1.9 TDi 4WD 150hp 110kw 01/01-09/05 BVM6
7076021 Pompe dir. assistée / Power steering pump
82

-

36
1.9 SDi 70hp 50kw 04/00-06/03 BVM
1.9 TDi 90hp 66kw 04/00-09/05 BVM
1.9 TDi 110hp 81kw 04/00-09/05 BVM
1.9 TDi 130hp 96kw 06/03-09/05 BVM6
1.9 TDi 150hp 110kw 01/01-09/05 BVM6
1.9 TDi 4WD 150hp 110kw 01/01-09/05 BVM6
2.81 V6 24v. 4WD Cupra 4WD 205hp 150kw 01/01-05/02 BVM6

9006002

Toledo...

Direction mécanique / Steering gear

524

9006003

—

M18x150

7006137 Direction assistée / Power steering
1245
| [ trw ‘
M14x150 %” .

—

M16x150

AQM

OE 1J0422154HX

AHP AHW APE AXP BCA
AEH AKL APF
AUS AZD BCB
AGN APG

APP AUQ

APP ARY AUQ
AMK

AQM

AGR ALH
AHF ASV

ASZ

ARL

ARL

OE 1J0422154D

AGR ALH
AHF ASV

ASZ
ARL
ARL

AUE BDE

OE 191419063B

1.6 02/91-  -ch 1LZD073753
OE 191419063CX

1.6 -09/98  Ch- 1LZD073753
OE 191422061KX

TT /all models 02/91-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

185

LVAS



SEAT

<

§\ TT /all models
22

-—

M18x150

—

M16x150

@‘22 TT /all models

-—

M18x150

—>

M16x150

é\ TT /all models
36

<—

M18x150

—

M16x150

g

-—

M14x150

—>

M16x150

-ch 1IMX025000
-ch 1IMX025000
Ch- IMY000001
-ch 1MX025000
Ch- IMY000001

-ch 1IMX025000

... Toledo...
7006138 Direction assistée / Power steering
1288
|EﬂTRw |
Or——
M14x150
7006149 Direction assistée / Power steering
1242
|[ﬁXTR |
r——
M14x150
7006150 Direction assistée / Power steering
1290
] mrw |
o ——
M14x150
7006140 Direction assistée / Power steering
1263
|,[-E ZF
——s
M14x150
1.61 04/99-09/00
1.61 16v. 10/98-08/04
1.61 16v. 10/98-08/04
1.81 20v. 10/98-08/04 BVM BVA
1.81 20v. 10/98-08/04 BVM BVA
1.81 20v. Turbo 05/02-09/04 BVM
1.9 SDi 10/98-08/04
1.9 SDi 10/98-08/04

1.9 TDi 90hp 66kw
1.9 TDi 90hp 66kw
1.9 TDi 110hp 81kw
1.9 TDi 110hp 81kw
1.9 TDi 150hp 110kw
1.9 TDi 150hp 110kw

10/98-08/04
10/98-08/04
10/98-08/04
10/98-08/04
10/98-08/04
10/98-08/04

2.31 VRS 20v. 10/98-08/04
2.31 VRS 20v. 10/98-08/04
7176043 Direction assistée / Power steering
1270
[ zr

Fat——
M16x150

Ch- IMY000001
-ch 1IMX025000
Ch- IMY000001
-ch 1IMX025000
Ch- IMY000001
-ch 1IMX025000
Ch- IMY000001
-ch 1IMX025000
Ch- IMY000001

1.61 8v.
1.8 TFSi
1.9 TDi
V4 2.0 TFSi
2.0 TDi

OE 6K1422061C

02/91-

OE 1H1422055

01/93-

OE 191422055

01/93-

OE 1J1422075KX

AEH AKL
AUS AZD BCB
AUS AZD
APG AGN
APG

AUQ

AQM

AQM

AGR ALH
AGR ALH
AHF ASV
AHF ASV
ARL

ARL

AGZ

AGZ

OE 1K1423055CX

05/07-
05/07-
05/07-
05/07-
05/07-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

186




<

9006065 Protecteur de direction / Steering protector
9006035 Protecteur de direction / Steering protector
DNA
9006084 Protecteur de direction / Steering protector
DA
7076023 Pompe dir. assistée / Power steering pump
| s
, g "
:
36
1.6i 100hp 74kw 04/99-09/00
1.61 16v. 105hp 77kw 09/00-09/04
1.8i 20v. 125hp 92kw 04/99-09/04
1.81 20v. Turbo 180hp 132kw 05/02-09/04 BVM6
1.9 TDi 90hp 66kw 04/99-04/04
1.9 TDi 110hp 81kw 04/99-09/04 BVM
1.9 TDi 150hp 110kw 01/01-09/04 BVM6

7076009

=5 zr g a
8a ,
©® -
24 36

1.81 90hp 66kw

1.9 SDi 70hp 50kw
2.0i 115hp 85kw
2.01 16v. 150hp 110kw

7076024

54 zr

...Toledo...

Pompe dir. assistée / Power steering pump

31
54

A

7.
Jo
oo
Q

Y ‘
10 3

01/96-01/97
01/96-12/97
01/96-01/97
01/96-01/97

Pompe dir. assistée / Power steering pump

31
54

BVM

OE 1J0422831B

1.41 16v. 04/99-09/04
1.6 04/99-09/04
1.61 16v. 04/99-09/04
1.81 20v./ Turbo 04/99-09/04
1.9 SDi 04/99-09/04
1.9 TDi 04/99-09/04
2.31 VRS 20w. 04/99-09/04
OE 191419831
1.6
OE 1H0422831B
1.6 01/96-04/99
1.8 01/96-04/99
1.9 D/TD 01/96-04/99

1.9 TDi 01/96-04/99
2.0 01/96-04/99 BVM BVA
2.0 Sport  01/96-04/99
2.01 16v.  01/96-04/99

OE 1J0422154HX

BVM BVA AEH AKL APF
BVM
BVM BVA AGN APG

AUS AZD BCB

AUQ
ALH AGR
AHF ASV
ARL

OE 6K0422154X

ABS ADZ
1Y AGP

BVM BVA  2E AGG

ABF
OE 6N0145157

1.9 TDi 90hp 66kw 01/96-04/99
BVM 1Z AHU

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

187

LVAS



SEAT

SKODA

<

o

"
‘ S

M18x150

-—

M16x150

—

S

M14x150

-—

M16x150

—

...Toledo
7076021 Pompe dir. assistée / Power steering pump
/53
;
36
Inca
7006138 Direction assistée / Power steering
1288
| [=] tru ‘
M14x150 ¢==——~
SKODA
Fabia
7006155 Direction assistée / Power steering
Avec servotronic
1179
|EﬁTRw |
Go——
M14x150
-ch 6Y3705552

1.21 55hp 40kw

1.2i 55hp 40kw

1.21 65hp 48kw

1.4i 60hp 44kw

1.4i 70hp 50kw

1.4i 70hp 50kw

1.4i 16v. 75hp 55kw
1.41 16v. 75hp 55kw
1.4i 16v. 100hp 74kw
1.4i 16v. 100hp 74kw
1.4 TDi 75hp 55kw
1.9 SDi 65hp 47kw
1.9 SDi 65hp 47kw
1.9 TDi 100hp 74kw
1.9 TDi 100hp 74kw

2756027 W

7076010

Berline
Combi
Berline Combi
Berline
Berline
Combi
Berline
Combi
Berline
Combi
Berline Combi
Berline
Combi
Berline
Combi

01/03-
06/03-
01/03-
04/00-
04/00-
11/00-
04/00-
11/00-
04/00-
11/00-
06/03-
04/00-
11/00-
04/00-
11/00-

Protecteur de direction / Steering protector

Felicia...

Pompe dir. assistée / Power steering pump

%
=
= O
(<
P e Wl
Qf & Q
|
9
18 36

OE 1J0422154D

1.9 TDi 90hp 66kw 04/99-04/04

BVM ALHAGR
1.9 TDi 110hp 81kw 04/99-09/04
BVM AHF ASV
1.9 TDi 150hp 110kw 01/01-09/04
BVM6 ARL
2.31 VR5 20v. 150hp 110kw  04/99-09/00
BVM AGZ
2.31 VRS 20v. 170hp 125kw  09/00-05/02
BVM AQN
OE 6K1422061C
Ch- 9KX 000001
1.4 11/95- AEX
1.6 11/95- 1F
1.7 SDi 11/95- AHB
1.9 SDi 11/95- 1Y
OE 6Q1423061MX
AWY
AWY
AZO
AZF
AME
AME
AUA
AUA
BBZ
BBZ
AMF
ASY
ASY
ATD
ATD
OE 6E0419831
TT /all models DNA -12/08  6Y
TT /all models DA TRW -12/04
-ch 6Y3736552
OE 032145157A

1.61 75hp 55kw  04/96-08/99 BVM AEE

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

188




...Felicia
7076024 Pompe dir. assistée / Power steering pump OE 6N0145157
g 1.9 D 65hp 47kw  07/96-11/00 BVM AEF
[ zF =tI— /O
2 1
18 36
Octavia
7006140 Direction assistée / Power steering OE 1J1422075KX
1263
=ize é
2 M14x150
M16x150
1.6i -10/00 Ch 1UW061001-1UX19100 AEE AKL APF
1.6i -10/00 Ch 1UWO061001-1UX19100 AEH
1.6i Berline 10/00-10/04  BVM BVA
1.6i Break 10/00-12/04 ~ BVM BVA
1.8i 20v. /Turbo -10/00 Ch 1UW061001-1UX19100
1.81 20v. Turbo Berline 10/00-06/04  BVM BVA
1.8i 20v. Turbo Break 10/00-12/04  BVM BVA
1.9 SDi -10/00 Ch 1UW061001-1UX19100 AGP
1.9 TDi 90hp 66kw Berline 10/00-06/04 BVM BVA
1.9 TDi 90hp 66kw Break 10/00-12/04 BVM BVA
1.9 TDi 100hp 74kw Break 10/00-12/04
1.9 TDi 110hp 81kw -10/00 Ch 1UW061001-1UX19100 AHF
1.9 TDi 110hp 81kw Berline 10/00-06/04
1.9 TDi 110hp 81kw Break 10/00-12/04
1.9 TDi 130hp 96kw Berline 10/00-06/04
1.9 TDi 130hp 96kw Break 10/00-12/04
2.0 Berline 10/00-06/04 BVM BVA
2.0 Break 10/00-12/04 BVM BVA
7176043 Direction assistée / Power steering OE 1K1423055CX
BE ot 1.6i /Break 06/04-
1.6 FSi /Break 06/04-10/08
1.8 TFSi /Break 07/07-
ML6x150 yd 1.9TDi /Break  06/04-
2.0 FSi /Break 10/04-06/07
2.0 TFSi /Break 10/05-
2.0 TDi /Break 06/04-
9006065 Protecteur de direction / Steering protector OE 1J0422831B
1.6 -10/00
1.8i 20v. -10/00
1.81 20v. Turbo
1.9 TDi 09/96-02/04
7076023 Pompe dir. assistée / Power steering pump OE 1J0422154HX
E
JE=l| =LI— /O
z 1
18 36
1.61 75hp 55kw 05/97-10/00 BVM AEE
1.6i 100hp 74kw 10/97-10/00 BVM BVA AEH AKL APF
1.8i 20v. 125hp 92kw 05/97-10/00 BVM BVA AGN
1.81 20v. Turbo 150hp 110kw 06/99-10/00 BVM BVA AGU ARZ AUM
1.9 TDi 90hp 66kw 05/97-10/00 BVM ALH AGR
1.9 TDi 110hp 81kw 08/98-10/00 BVM AHF ASV

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

189

Vaods



SKODA

TALBOT

TOYOTA

Superb
7006141 Direction assistée / Power steering OE 3B1422052MX
= 1021 1.8i 20v. Turbo 150hp 110kw 06/02-
= 1.9 TDi 100hp 74kw 06/02-
'mFS | 1.9 TDi 105hp 77kw 06/02-
M14x150 Ll 1.9 TDi 130hp 95kw 06/02-
= 2.0 115hp 85kw 06/02-
M16x150 . 1 p w 06/02-
2.0 TDi 140hp 103k
TALBOT
Samba
0054524 Direction mécanique / Steering gear OE 400552
TT /all models
0054524B en boite/ in box
TOYOTA
Avensis
7006045 Direction assistée / Power steering OE 4425005160
1.6i 16v. 01/98-09/00  4AFE
=0 ‘,« 1015 1.6 VVTi 16v. 10/01-05/03  3ZZFE
— 1.8i 16v. 01/98-09/00  7AFE
e 1.8i 16v. 10/01-05/03  1ZZFE
M14x150 Mrox10 2.0 WTi 10/01-05/03 1AZFSE
= 2.0i 16v. 10/01-05/03  3SFE
mi7x1s0 | 2.0 TD 01/98-09/00  2CTE
2.0 D4-D 16v. 10/01-05/03  1CDFTV
9006723 Protecteur de direction / Steering protector OE 4553505020
1.6i 16v.
1.61 VTi 377FE
1.8i 16v. BVM BVA 7AFE 1ZZFE
w 2.0 /WTi 3SFE 1AZFSE
2.0 D4-D 1CDFTV
2.0 TD
Carina E
2756032 \gwW  Protecteur de direction / Steering protector OE 4553533010
1.6i 16v.  -12/97 4AFE
1.8i 16v.  -12/97 7AFE
.” 2.0i 16v.  -12/97 3SFE
20D -12/97 2C
2.0TD -12/97 2CT

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

190




o

Corolla
2756032 NEW  Protecteur de direction / Steering protector OE 4553533010
1.3i 16v.  06/97-02/00 4EFE
” 1.6i 16v.  01/99-02/00 4AFE
2.0D 06/97-02/00 2CE
Rav4
7176057 Direction assistée / Power steering OE 4425042080

1195

[ zF
e——
M14x150
2756032 Protecteur de direction / Steering protector OE 4553533010
2.0i 16v.  07/94-10/03 1AZFE 3SFE
” 20D4-D  07/01-10/03 ICDFTV
Yaris
7176001 Direction assistée / Power steering OE 4425052010
1040
=] xovo |
M12x125 M16x150
UNF5/8
1.0 WTi 69hp 51kw 3/5ptes 12/05-08/07
1.01 16v. 70hp 50kw 3/5ptes 01/99-03/03 1SZ/FE
1.31 16v. 85hp 63kw 3ptes 01/99-04/02 2NZFE
1.3i 90hp 64kw 03/03-12/05 2SZFE
1.3i 90hp 64kw 3/5ptes 04/02-03/03 2SZFE
1.31 16v. 85hp 63kw Sptes 01/99-03/03 2NZ/FE
1.3i 16v. Verso 85hp 63kw 11/99-04/06 2NZFE
1.4 D4-D 75hp 55kw 3/5ptes  01/99-03/03 INDTV
1.4 D4-D 75hp 55kw 3/5ptes  12/01-12/05 IND
1.4 D4-D Verso 75hp 55kw 01/02-04/06 INDTV
1.51 VVTi 105hp 77kw 03/03-04/06 INZFE
9006720 Protecteur de direction / Steering protector OE 4553552010
1.0i 16v. -02/03
1.31 16v. -02/03
1.31 16v. Verso BVM BVA
w 1.4 D4-D 01/99-03/03 BVM INDTV
1.4 D4-D Verso 01/02- D4D INDTV
1.51 VVTi Verso 05/00-03/03 INZFE
9006721 Protecteur de direction / Steering protector OE 4553509010
1.0i 16v.  01/01-12/05 BVM/rob. 1SZ
1.3 VVT-i 03/03-12/05 BVM BVA 2SZFE
” 1.4D4-D  03/03-12/05 BVM INDTV
9006722 Protecteur de direction / Steering protector OE 4553552060

2.0i4WD 11/97-07/00

1.5 VVTi 04/01-03/03
1.5JPN  03/03-

Kk Voir autres applications véhicules se référer page E du catalogue See others vehicles applications please refere to page E of catalog 191

VILOAOL



VOLKSWAGEN

VOLKSWAGEN
New Beetle

Direction assistée / Power steering

7006140
1263
& zr

Go——

M14x150
1.4i 16v. 01/99-10/05
1.4i 16v. 10/05-
1.4i 16v. 75hp 55kw Cab. 01/03-
1.61 01/99-10/05
1.61 10/05-
1.61 16v. 01/99-10/05
1.6i 16v. Cab 01/03-

11/99-10/05

1.9 TDi 90hp 66kw 100hp 74kw 01/99-10/05
1.9 TDi 100hp 74kw Cab. 01/03-

1.9 TDi 10/05-

2.0 -05/01

2.0 115hp 85kw Cab. 01/03-

2.31 V5 20v. 01/99-10/05
9006065

BVM BVA

Tiptronic

g

-—

M14x150

—

M16x150

-ch 1C7512080

-ch 1C7512080

-ch 1C7512080

Protecteur de direction / Steering protector

OE 1J1422063MX

BCA
AYD

BFS
BFS
AXR

AZ]

OE 1J0422831B

1.4i 16v. /Cab. 05/01- BCA
1.6i /16v. /Cab. 03/00- AWH AYD BFS
1.8i 20v. Turbo /Cab. 11/99-10/05 AVC AWU
1.9 TDi Cab. 01/04-10/05 AXR
1.9 TDi 01/99- ALH ATD BSW
2.0 /Cab. 01/99- AQY AZ]J
2.31 V5 20v. 09/01-12/01 AQN
7076024 Pompe dir. assistée / Power steering pump OE 6N0145157
1.4i 16v. 75hp 55kw 11/01-10/05 BCA
=4 zr
7076023 OE 1J0422154HX
§
=5 zF = /O
FE=]: P
- 1
18 36
1.4i 16v. 75hp 55kw 11/01- BCA
1.61 /16v. 100hp 75kw 03/00- BVM BVA AYD BFS
1.81 20v. Turbo 150hp 110kw 11/99-10/05 BVM AVC AWU
1.9 TDi 90hp 66kw 01/99-12/02 BVM BVA ALH
1.9 TDi 100hp 74kw 105hp 77kw  01/02- BVM ATD AXR BSW
2.0i 115hp 85kw 01/99-10/05 BVM AQY AZ]
7076021 Pompe dir. assistée / Power steering pump OE 1J0422154D
2.31 V5 20v. 170hp 125kw  09/01-10/05
AR BVM AQN

31

54

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

192




<

Bora
7006140 Direction assistée / Power steering
1263
B =
M14x150 M14x150
M16x150
9006065 Protecteur de direction / Steering protector
Corrado
7006149 Direction assistée / Power steering
1242 A
xR | ‘ @ <4
M@-:Mxlso | Lrgx1so
M16x150
7006137
1245 .,
|[ﬁ TRW ‘ @ =2
M14x150 am-__. | (EI8xTS0
M16x150
7006150 Direction assistée / Power steering
1290 .,
|[-ﬂ TRW ‘ @ A%
MOG-:I14x150 | [m18x150
M16x150
9006084 Protecteur de direction / Steering protector
9006082 Protecteur de direction / Steering protector
DA
e (o
GolfI 76-83...
9006035 Protecteur de direction / Steering protector

DNA

OE 1J1422063MX
1.6i /Variant BVM BVA AKL
1.61 BVM BVA APF
1.61 BVA AEH
1.8 20v. Turbo 05/00-05/05
1.9 TDi BVM BVA
2.01
2.3 VRS /Variant 4AWD BVM BVA AGZ AQN
OE 1J0422831B
1.61
1.9 TDi
2.31 V5 20v.
OE 1H1422055
TT /all models 09/88-
OE 191422061KX
TT /all models 09/88-
OE 191422055
TT /all models 09/88-
OE 1H0422831B
1.8i 16v.
1.8 G60
2.0
2.0i 16v.
OE 357422831B
2.9 01/89-
OE 191419831
1.1
1.3
1.5
1.5D
1.6 /GTi
1.6 D /TD
1.8 GTi

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

193

NITOVMSATOA



VOLKSWAGEN

<

9006084

9006002

«.Golf I

76-83

Protecteur de direction / Steering protector

DA

Golf IT 83-91...

Direction mécanique / Steering gear

9006012B

9006003

7006152

Direction assistée / Power steering

1320

‘ @‘w

[ zr

o oe——
M14x150

7006143

7=

M18x150

‘ S

Direction assistée / Power steering

Sans support
1320

—

M16x150

& zr

O——
M14x150

7006137

=

M18x150

1245

—

M16x150

=] trw

Go——
M14x150

=

M18x150

‘ é‘“

—

M16x150

7006150 Direction assistée / Power steering
1290
[ trw
Sy | Lm18x150
—
M16x150

OE 1H0422831B

OE 191419063B

TT /all models

OE -

TT /all models

en boite/ in box
OE 191419063CX

TT /all models

OE 191422065

TT /all models

OE 191422061MX

TT /all models

OE 191422061KX

TT /all models

OE 191422055

‘ é‘“ TT /all models

194

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

9006035

9006084

9006082

Ezr

7076039

9006003

..Golf II  83-91

Protecteur de direction / Steering protector

DNA

Protecteur de direction / Steering protector

DA (XTR-USA)

Protecteur de direction / Steering protector

DA

Pompe dir. assistée / Power steering pump

31
54

Golf ITII 91-97...

Direction mécanique / Steering gear

524

7006144 Direction assistée / Power steering
=T é 22
=
i M18x150
—
M16x150
7006145 Direction assistée / Power steering
1273 -
=i @ 22
-~
o —s
b | [8x150
M16x150
7006149 Direction assistée / Power steering
1242 v
[ xR é “E
=
i | Lmi8x150

—

M16x150

OE 191419831

OE 1H0422831B

1.6 D -06/91

1.6 TD -06/91

1.8 -06/91 BVM BVA
OE 357422831B

1.6 D/TD 07/86-06/91

1.8 /G60 07/86-06/91

1.8 GTi /16v. 07/86-06/91

OE 191422155

1.3 55hp 40kw
1.6 72hp 53kw 75hp 55kw  08/83-12/92
1.6 D 55hp 40kw 08/83-10/91
1.6 TD 60hp 44kw 70hp 51kw 80hp 59kw
08/83-10/91
08/83-10/91

08/83-12/92

1.8 /GTi

OE 191419063CX

TT /all models

OE 1H1422061CX

TT /all models

OE 1H1422061DX

TT /all models

OE 1H1422055

TT /all models

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

195

NITOVMSATOA



VOLKSWAGEN

..Golf IIT  91-97...

7006138 Direction assistée / Power steering
e 1288
e
M14x150
9006035 Protecteur de direction / Steering protector
DNA
9006084 Protecteur de direction / Steering protector
DA (XTR-USA)
L
9006082 Protecteur de direction / Steering protector
DA
s (i
7076024 Pompe dir. assistée / Power steering pump
=4 zF
7076030
7076009
| T

-

\aJ
‘ E=

M18x150

-

M16x150

OE 6K1422061C

TT /all models

OE 191419831

41 04/93-02/95
i 07/95-
D. 07/95-

AEY

OE 1H0422831B

— —

1.8 /SW /4WD
1.9D /SW

1.9 SDi /SW
1.9TD

1.9 TDi /SW
2.01/16v.

2.8 VR6

2.9 4WD

OE 357422831B

141 -03/95
1.6 /1

1.8 /SW /4WD
1.9D /SW

1.9 SDi /SW
1.9TD

1.9 TDi /SW
2.0i/16v.

2.8 VR6
2.94WD

OE 6N0145157

1.4i 60hp 44kw 01/92-12/97

BVM ABD AEX
01/94-12/97

BVM ABU AEA AEE

01/92-12/97 AAA

1.61 75hp 55kw
2.81 175hp 128kw

OE 1H01451570X

1.8 75hp 55kw 11/91-08/97
1.8 90hp 66kw 11/91-08/97
1.9 SDi 65hp 47kw  11/91-08/97
1.9 TDi 90hp 66kw  09/93-08/97
1.9 TDi 110hp 81kw 04/96-08/97
2.0 115hp 85kw 11/91-08/97

OE 6K0422154X

ABS ADZ

BVM

1Y AEY

1.9TD 01/92-12/96 AAZ

1.9 TDi 90hp 66kw 11/93-12/97 1Z AHU/LE

1.9 TDi 110hp 81kw 04/96-12/97 AFN

2.0i 115hp 85kw 01/92-12/97 BVM
ADY/GG/KR 2E

2.01 16v. 150hp 110kw 03/93-12/97 BVM ABF

1.81 90hp 66kw 01/92-12/97
1.9 SDi 65hp 47kw  01/92-12/97

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

196



SIS 0
oooGOlf III 91'97
7076029 Pompe dir. assistée / Power steering pump OE 037145157DX
i 1.9 SDi 01/92-12/97 BVM
N -ch 1H-S-078185  AEY 1Y
= o [ 1.9TD 01/92-12/97 BVM BVA
° & AAZ 1Z
1
36
Golf IV 97-03...
7006140 Direction assistée / Power steering OE 1J1422063MX
1263
= g
s M14x150
M16x150
1.4i 16v. Ch- 1JWWO085662 Ch- 1JWP050833
1.41 16v. Ch- 1JWDO039151 Ch- 1JWB062360
1.6i BVM BVA Ch- 1JWWO085662 Ch- 1JWP050833
1.61 BVM BVA Ch- 1JWDO039151 Ch- 1JWB062360
1.8i 20v. Turbo Ch- 1JWWO085662 Ch- 1JWP050833
1.8i 20v. Turbo Ch- 1JWDO039151 Ch- 1JWB062360
1.9 SDi Ch- 1JWWO085662 Ch- 1JWP050833 AGP
1.9 SDi Ch- 1JWD039151 Ch- 1JWB062360 AGP
1.9 TDi 90hp 66kw BVM BVA Ch- 1JWWO085662 Ch- 1JWP050833 ALH
1.9 TDi 90hp 66kw BVM BVA Ch- 1JWDO039151 Ch- 1JWB062360 ALH
1.9 TDi 110hp 81kw BVM BVA Ch- 1JWWO085662 Ch- 1JWP050833 AHF
1.9 TDi 110hp 81kw BVM BVA Ch- 1JWDO039151 Ch- 1JWB062360 AHF
1.9 TDi 115hp 85kw AIM
1.9 TDi 130hp 95kw ASZ
1.9 TDi 150hp 110kw ARL
2.31 VRS 20v. Ch- 1JWWO085662 Ch- 1JWP050833
2.31 VRS 20v. Ch- 1JWDO039151 Ch- 1JWB062360
9006065 Protecteur de direction / Steering protector OE 1J0422831B
1.41 16v. /SW 01/98-
1.61 /SW 01/98-
1.61 16v. 10/00-
1.6 FSi 09/01-
1.81 20v. /Turbo 01/98-
e 1.8 GTi 20v. Turbo 01/98-
1.9 SDi /SW 01/98-
1.9 TDi /SW /4WD 01/98-
2.0i /SW /4AWD 01/98-
2.31 VRS 20v. /SW /AWD 01/98-
2.8 V6 /SW 4 motion 01/98-
3.2 V6 4 motion 08/02-
7076023 Pompe dir. assistée / Power steering pump OE 1J0422154HX
g
= zF i= /O
EEz] i
z 1
18 36
1.4i 16v. 75hp 55kw /SW 01/98-05/04 BVM AHW BCA
1.4i 16v. 75hp 55kw SW 06/99-02/00 BVM AKQ APE AXP
1.6i 100hp 74kw 01/98-05/04 BVM BVA AEH AFT AKL APF AUR
1.61 100hp 75kw 05/01-05/04 BVA AFT AKS AVU BFQ
1.61 16v. 105hp 77kw 10/00-05/04 BVM ATN AUS AZD BCB
1.6 FSi 110hp 81kw 09/01-12/05 BVM BAD
1.81 20v. Turbo GTi 150hp 110kw  01/98-10/02 BVM BVA AGU AUM
1.81 20v. Turbo GTi 180hp 132kw  10/02-05/04 BVM6 AUQ

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

197

NITOVMSATOA



VOLKSWAGEN

.. 7076023

= | 2

Pompe dir. assistée / Power steering pump

31
54

OE 1J0422154HX

1.9 TDi 90hp 66kw 01/98-05/04 BVM BVA4 AGR ALH
1.9 TDi 100hp 74kw 10/00-05/04 BVM BVAS ATD AXR
1.9 TDi 4WD 100hp 74kw 11/01-05/04 BVM6 ATD
1.9 TDi 110hp 81kw 01/98-05/02 BVM BVA AHF ASV
1.9 TDi 115hp 85kw 09/99-11/01 BVM BVA AJM ALM AUJ AUY
1.9 TDi 130hp 96kw 11/01-05/04 BVM6 BVAS ASZ
1.9 TDi 4WD 130hp 96kw 11/01-05/04 BVM6 ASZ
1.9 TDi 150hp 110kw 10/00-05/04 BVM6 ARL
1.9 TDi 4WD 150hp 110kw 05/01-05/04 BVM6 ARL
2.01 GTi 07/98-12/05 BVM BVA APK AQY
2.3i VR5 20v. 150hp 110kw 02/98-09/00 BVM BVA AGZ
7076021 Pompe dir. assistée / Power steering pump OE 1J0422154D
/5
oD
:
36
2.31 VRS 20v. /4WD 10/00-05/04  BVMS5 BVAS AQN
2.3i VR520v. 150hp 110kw  02/98-09/00 BVMS5 BVA4 AGZ
2.81 V6 4WD 205hp 150kw 09/99-05/04  BVMG6 AQP AUE BDE
3.2i V6 4WD 09/02- -ch 1J-4D008311 /U001138 /W040231
7076030 Pompe dir. assistée / Power steering pump OE 1H01451570X

2.81 V6 205hp 150kw 03/99-07/99

31
54

Golf V. 03-...

7176043 Direction assistée / Power steering OE 1K1423055CX
1270
& zr
M16x150 /f
1.4i 16v. 11/03- ~ch 1KZ5-000001 BCA BUD
1.4i 16v. Plus 03/05-01/07 BVM BCA
1.4 FSi 01/04- -ch 1KZ5-000001 BKG BLN
1.61 05/04- -ch 1KZ5-000001 BGU BSE BSF
1.61 Plus 12/05-12/07 BVM BSE
1.6 FSi 11/03- -ch 1KZ5-000001 BAG BLF BLP
1.6 FSi Plus 03/05-06/07 BVM BLF
1.6 FSi Plus 12/05-10/07 BVA BLF eoo

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les piéces et sont donnés a titre indicatif.

198



<

.. 7176043

..Golf V

Direction assistée / Power steering

1270

Fzr |

o——
M16x150

1.9 TDi

1.9 TDi Plus
1.9 TDi Plus
1.9 TDi Plus
1.9 TDi Plus
1.9 TDi Plus
1.9 TDi Plus
2.0 FSi

2.0 FSi

2.0 FSi Plus
2.0 FSi Plus
2.0 SDi

2.0 TDi

2.0 TDi Plus
2.0 TDi Plus
3.2 FSi R32 4WD

9006084

9006082

= zr

9006084

7076009

S|

9006002

11/03-

03/05-03/09 BVM
12/05-04/08 BVA
03/05-03/09 BVM
12/05-03/09 BVA
12/05-03/09 BVM
12/05-03/09 BVM
05/04-

05/04-

12/05-05/06 BVM BLR
12/05-05/06 BVM BVY
05/04-

11/03-

03/05-05/06 BVM BKD
12/05-03/09 BVA BKD

10/05-

DA (XTR-USA)

03-

/

-ch 1KZ5-000001

-ch 1KZ5-000001
-ch 1KZ5-000001

-ch 1KZ5-000001
-ch 1KZ5-000001

-ch 1KZ5-000001

Golf III Cabriolet

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector

DA

Golf IV Cabriolet

Protecteur de direction / Steering protector

Pompe dir. assistée / Power steering pump

31
54

Jetta...

Direction mécanique / Steering gear

524

1.81
1.9 TDi
2.01
OE 357422831B
1.81
1.9 TDi
2.01
OE 1H0422831B
1.81 04/98-05/04 ADZ ANP
1.9 TDi 04/98-05/04 AFN AHU ALE
2.01 04/98-05/04 AGG AKR ATU
OE 6K0422154X
1.61 04/98-09/00 AFT AKS
1.81 04/00-09/00 BVM5 AAM ANN
2.01 10/00-05/02 BVA4 AWF
2.01 10/00-05/04 BVMS5 AWG
OE 191419063B
TT /all models 12/83-12/92

OE 1K1423055CX

BKC BLS BRU BXE BXF

BKC

DSG BKC

BXE

DSG BXE

BRU

BXF

AXW AXX

BLR BLX BLY BVX BVY BVZ

BDK
AZV BKD BMM BMN

BUB

OE 1H0422831B

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

199

NITOVMSATOA



VOLKSWAGEN

ooaJettao-o
9006003 Direction mécanique / Sicering gear OE 191419063CX
TT /all models 12/83-12/92
@‘18
9006012B Direction mécanique / Steering gear OE -
en boite/ in box TT /all models 12/83-12/92
7006152 Direction assistée / Power steering OE 191422065
TT /all models 12/83-12/92
1320 §x3 6
[ zF ‘
e | [mrex1s0
M16x150
7006143 Direction assistée / Power steering OE 191422061MX
Sans support
TT /all models 12/83-12/92
1320 A
B =
i M18x150
MI6x150
7006137 Direction assistée / Power steering OE 191422061KX
TT /all models 12/83-12/92
1245 "
|E§jTRw | ‘ é
M14x150 a=-=—=—-— 3 | [ERfExTn0
M16x150
7006150 Direction assistée / Power steering OE 191422055
TT /all models 12/83-12/92
1290 éwa .
|£ﬁ‘1‘Rw | ‘
o | [mrex1s0
MI6x150
9006035 Protecteur de direction / Steering protector OE 191419831
DNA
1.3 08/83-11/92
1.6 08/83-11/92
m 1.6D/TD 08/83-11/92
1.8 08/83-11/92
1.8 GTi/16v. 08/83-11/92

200

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




S

.Jetta
9006084 Protecteur de direction / Steering protector
DA (XTR-USA)
A
9006082 Protecteur de direction / Steering protector
DA
E (e
Lupo...
7006147 Direction assistée / Power steering
1176
[ TRw

T ——

M14x150

-«—

M14x150

—

M16x150

—

M14x150

‘ é‘”’

—

M16x150

7006153 Direction assistée / Power steering
1142
] rw |
ey
M14x150
9006083 Protecteur de direction / Steering protector
DNA
9006718 Protecteur de direction / Steering protector
DA
2756027 NEW Protecteur de direction / Steering protector

DNA

1.6D -06/91
1.6 TD -06/91
1.8 -06/91 BVM BVA
OE 357422831B
1.6 D/TD  07/86-06/91
1.8 07/86-06/91
1.8 GTi /16v. 07/86-06/91
OE 6N1422061CX
1.0i AER AHT ALD
1.0i ALL ANV AUC
1.4i AUD
1.4i16v.  AHW AKQ APE AUA BBY
1.6GTi  AVY
1.7SDi  AKU
OE 6N1422061EX
1.4i 16v. AFK AKQ AQQ AUB
OE 6N0419831
1.0i 10/98-
1.4i 16v. 10/98-
1.7 SDi 10/98-
OE 6N0422831
1.0i 10/98-
1.2 TDi 09/99-
1.4i 10/00-
1.4i 16v. 10/98-
1.4 FSi 16v. 10/00-
1.4 TDi 09/99-
1.6 GTi 04/01-
1.7 SDi 10/98-
OE 6E0419831
1.2 TDi 01/99-12/06 ANY AYZ

OE 1H0422831B

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

201

NITOVMSATOA



VOLKSWAGEN

pr— o
M14x150 |
[ 5=

-—

1290 ‘ @‘22

M18x150

M16x150

Fal—

9006035

M14x150 ‘_______—_. 3

7006139 Direction assistée / Power steering
e 1290 é‘z .

-—

M18x150

—

M16x150

Protecteur de direction / Steering protector
DNA

..Lupo
7076010 OE 6X0422154
=4 zF
1.0i 50hp 37kw 10/98-09/00 BVM AHT
1.4i 60hp 44kw 10/00-06/05 BVM AUD
1.4i 16v. 75hp 55kw 10/98-06/05 BVM BVA AHW APE AKD
1.4i 16v. 75hp 55kw 10/98-06/05 BVM BVA AUA BBY
1.4i 16v. 75hp 55kw 10/98-06/05 BVM BVA AHW APE AKD
1.4i 16v. 75hp 55kw 10/98-06/05 BVM BVA AUA BBY AKQ
1.4i 16v. 100hp 74kw 07/99-05/02 BVM AFK AQQ AUB
1.4i 16v. 100hp 74kw 07/99-05/02 BVM AFK AQQ AUB
1.6 GTi 125hp 92kw 04/01-06/05 BVM5BVM6  AVY
7076024 Pompe dir. assistée / Power steering pump OE 6N0145157
g 1.4 TDi 75hp 55kw  09/99-06/05 BVM AMF
= Y uir 1.7 SDi 60hp 44kw  10/98-06/05 BVM AKU
galtT 8 il
5 |
18 36
Passat I II 73-88
7006135 Direction assistée / Power steering OE 811422065F
TT /all models 01/85-03/88
[ zr Sauf 5 cyl.
M14x150
M14x150
Passat II1 IV 88-97...
7006154 Direction assistée / Power steering OE 3A1422061B
TT /all models 04/88-08/93
I = | TT /all models 01/94-10/96 Ch- 3AR099265

OE 357422065

TT /all models 04/88-08/93
TT /all models 01/94-10/96 Ch- 3AR099265

OE 191419831

—

R Yoo

=54 H=
W)

o

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

202




9006084

9006082

7076039

7076030

7076009

= zF

7076008

et = SIS
A | —
Al a1 R

7076024

=4 zF

...Passat III IV 88-97

Protecteur de direction / Steering protector
DA (XTR-USA)

Protecteur de direction / Steering protector
DA

Pompe dir. assistée / Power steering pump

Pompe dir. assistée / Power steering pump

ﬁ —n g

@30
31
54

£ - y
Q) f
A g
S 18 36

Pompe dir. assistée / Power steering pump

31
54

OE 1H0422831B

1.6 /i -09/96

1.8/i 16v. -09/96

1.9TD -09/96

2.0/i 16v. -09/96

2.8 VR6 -09/96

OE 357422831B

1.6 /i /SW -09/96
1.6 TD 07/88- -ch 3A-R099264
1.8 /SW -09/96
1.8 16v. /SW -09/96
1.81 G60 4WD /SW  08/88- -ch 3A-R099264
1.9TD /SW -09/96
1.9 TDi /SW 03/88- -ch 3A-R099264
2.0/SW -ch 3A-R099264
2.01 16v. /SW -09/96
2.8 VR6 /SW -09/96

2.9 VR6 4WD /SW  01/94-
OE 191422155

1.6 72hp 53kw 75hp 55kw  02/88-09/91
1.6 TD 80hp 59kw 08/88-09/93
1.8 02/88-07/93
1.81 16v. 139%hp 102kw 04/88-12/89
1.9 SDi 70hp 50kw 05/89-10/93

OE 1H01451570X

1.8 G60 01/89-12/93

OE 6K0422154X

1.81 90hp 66kw 11/93-09/96

BVM BVA ABS/DZ/RP
1.9 TD 75hp 55kw  11/93-09/96

BVM AAZ
1.9 TDi 90hp 66kw 11/93-09/96

BVM 1Z AHU
2.0i 115hp 85kw  11/93-09/96

BVM BVA ADY/GG 2E
2.0i 16v. 150hp 110kw 07/94-09/96

BVM ABF

OE 357422155G

1.81 16v. SW 13%hp 102kw  04/88-12/89

OE 6N0145157

2.8 VR6 175hp 128kw 11/93-09/96
BVM BVA AAA

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

203

NITOVMSATOA



VOLKSWAGEN

<

PassatV 96-05...

43

43

7006141 Direction assistée / Power steering OE 3B1422052MX
1021
Fzr
AT M14x150
M16x150
1.6i /GPL 10/96-10/00 BVM BVA ADP AHL
1.61 10/00- Ch- 3B3425001 ALZ
1.8i 10/96-10/00 BVM BVA ADR APT
1.8i Turbo 10/00- BVM BVA Ch- 3B3425001 AWT
1.9 TDi 90hp 66kw /SW 10/96-10/00 BVM BVA
1.9 TDi 100hp 74kw 10/00- Ch- 3B3425001 AVB
1.9 TDi 110hp 81kw 10/96-10/00 BVM BVA
1.9 TDi 115hp 85kw 10/96-10/00
1.9 TDi 130hp 95kw 10/00- BVM BVA Ch- 3B3425001 AVF
1.9 TDi 130hp 95kw 10/00- Ch- 3B3425001 AWX
2.0i 10/00- Ch- 3B3425001 ALT AZM
7176037 Direction assistée / Power steering OE 8D1422052CX
1028
== i
e M14x150
M16x150
-ch 3BY 050000
2.31 VRS 20v. Berline 10/96-10/00 BVM AGZ
2.31 VRS 20v. Berline 01/98-10/00 BVA AGZ
2.5 TDi 08/98-10/00 AKN
2.5 TDi 03/00-10/00 BVA AFB
2.5 TDi 4WD Berline 07/99-02/00 BVA AFB
2.5 TDi 4WD Berline 07/99-10/00 BVA AKN
2.81 V6 30v. 4WD /SW 01/97-10/00  BVM BVA ACK
9006067 Protecteur de direction G/ Left steering protector OE 4D0419831D
1.61 /SW / GPL 10/96- -ch 3B-XE376641 -ch 3B-XP316680 ADP AHL
1.8i 20v. /SW 10/96- -ch 3B-XE376641 -ch 3B-XP316680 ADR APT
1.9 TDi /4WD /SW 10/96- -ch 3B-XE376641 -ch 3B-XP316680 AFN/JM/HU/TJ
2.31 20v. VRS /4AWD /SW 10/96- AGZ
9006068 Protecteur de direction D / Right steering protector OE 8D0419831J
-ch 3B-XE376641 -ch 3B-XP316680
Q 1.6i/SW/GPL  10/96- ADP AHL
1.81 20v. /ISW 10/96- ADR APT
1.9 TDi /4WD /SW 10/96- AFN/JM/HU/TJ
9006067 Protecteur de direction / Steering protector OE 4D0419831D
2.5V6 TDi /4WD /SW 01/99- AFB AKN
w 2.81V6 10/96-
7076064 NEW Pompe dir. assistée / Power steering pump OE 8D0145156AX

Ch-3BZV000001 -ch 3BVP113282
1.81 Turbo AEB

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

204




7076025

7006147

@30
1
|
1
1

@30
1

238
38
56

..PassatV 96-05

Pompe dir. assistée / Power steering pump

43

1.9 TDi

1.9 TDi

Polo -05/09...

Direction assistée / Power steering

[ Tru

Go——

M14x150

1.01 3/5ptes

1.2i 12v.

1.31 3/5ptes

1.4 3/5ptes

1.4 3/5ptes

1.4 3/5ptes

1.41 16v. 3/5ptes
1.6 3/5ptes

1.9 D 3/5ptes
1.9 SDi 3/5ptes

11/99-09/01
-07/07

01/94-12/99
01/94-12/99
11/99-12/01
11/99-12/01
01/94-12/99
01/94-12/99
01/94-12/99
07/96-12/01

g

-

M14x150

Ch-9N-3D150675

BVM BVA

BVM BVA

—

M16x150

7006155 Direction assistée / Power steering
Avec servotronic
1179
| [ rw
— N
M14x150 ]

-ch 9N3D150674 -ch 9N3Y201497

1.2 55hp 40kw 3/5ptes

1.2i 12v. 65hp 48kw 3/5ptes
1.2i 12v. Dune 65hp 48kw
1.41 16v. 75hp 55kw 3/5ptes
1.4i 16v. 100hp 74kw 3/5ptes

1.4 FSi 3/5ptes

1.4 TDi 75hp 55kw 3/5ptes
1.4 TDi Dune 75hp 55kw
1.9 SDi 65hp 47kw 3/5ptes
1.9 TDi 100hp 74kw 3/5ptes
1.9 TDi Dune 100hp 74kw
1.9 TDi 130hp 96kw 3/5ptes

04/02-
01/02-
05/04-
01/02-
01/02-
03/02-
01/02-
05/04-
01/02-
01/02-
05/04-
01/04-

ALD AUC

ADX
AEX APQ
AKK AUD
AKP
AFH

AEF
AGD ASX

S

-—

M14x150

AWY BMD
AZQ BME
AZQ

BBY

ATD AXR
ASZ BLT

—

M16x150

OE 8D0145155QX

01/97-04/98

OE 8D0145156TX

06/99-10/00  BVM AIM
1.9 TDi/SW /AWD -03/05 Ch- 3B-W-700001

OE 6N1422061CX

OE 6Q1423061MX

AFN AHU

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

205

NITOVMSATOA



VOLKSWAGEN

...Polo -05/09...

OE 6K 1422061

1.4 Flight /Variant
1.6 Flight /Variant
1.9 SDi Flight /Variant

C

01/96-12/01
01/96-12/01
01/96-12/01

2756027 NEW

9006083

9006084

7006138 Direction assistée / Power steering
1288 S
] trw | é e,
] -
o—— e
M14x150 | e S M18x150
; = —
M16x150
7006153 Direction assistée / Power steering
1142 8
|£ﬁ'rkw | é L&
<+
ol M14x150

—

M16x150

Protecteur de direction / Steering protector

OE 6N1422061EX

1.41 16v. 11/99-12/01 AFK/HW AUA/B
1.4 TDi 11/99-12/01  AMF
1.6 GTi 16v. 11/99-12/01  ARC AVY

OE 6E0419831

TT /all models 3/5ptes DNA 01/02- 9N
Ch- 9NZ2000001 -ch 9NZA000001
TT /all models 3/5ptes DA TRW
01/02-31/01/03 9N
Ch- 9NZ2000001 -ch 9NZ5180000

Protecteur de direction / Steering protector

Protecteur de direction / Steering protector OE 6N0419831
DNA
11/99-09/01 ALD AUC
10/94-06/96 ADX
11/99-09/01 AKK/P AUD
11/99-09/01 AFK APE AQQ AUA
11/99-09/01 AUB
10/95-11/99 AEX AKV ANX APQ
10/94-11/99 AEA/E
08/97-12/01 AKU
10/94-09/01 AEF
03/00-12/01 ASX
Protecteur de direction / Steering protector OE 6N0422831
DA
10/94- ADX
10/99- AKK AKP AUD
10/95- AEX ANX APQ
10/95- AFH
10/99- AFK AHW AUA AUB
10/99- AMF
10/94- AEA AEE
10/99- ARCAVY
01/96- AEF
01/97- AGD
10/99- AGD ASX

OE 1H0422831B

1.4 Flight /Variant 01/95-
1.6 Flight /Variant 01/95-
1.9 SDi Flight 01/95-
1.9 SDi Variant 01/95-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

206




< i
oooPOlO -05/09
7076010 Pompe dir. assistée / Power steering pump OE 6X0422154
5 zF /O
-
36
1.3i 55hp 40kw 10/94-12/95 BVM ADX
1.41 60hp 44kw 10/95-11/99 BVM AEX APQ
1.4i 60hp 44kw 11/99-12/01 BVM AKK
1.4i 16v. 75hp 55kw 11/99-12/01 BVM BVA AHW AUA
1.4i 16v. 100hp 74kw 10/96-11/99 BVM AFH AQQ AUB
1.61 75hp 55kw 10/94-11/99 BVM BVA AEA AEE ALM
1.6/i GTi 16v. 125hp 92kw 11/99-12/01 BVM AVY
7076024 Pompe dir. assistée / Power steering pump OE 6N0145157
1.4 TDi 75hp 55kw  11/99-12/01
22N L. BVM AMF BAY
Wil 1.9D 65hp 47kw  01/96-11/99
- BVM AEF
‘ 1.9 SDi 65hp 47kw 01/97-12/01
36 BVM AEY AGD ASX
Santana
7006135 Direction assistée / Power steering OE 811422065F
TT /all models 01/85-03/88
[Hzr — Sauf 5 cyl.
M14x150
M14x150
Scirocco
9006002 Direction mécanique / Steering gear OE 191419063B
TT /all models 11/84-08/89
524 @‘40
9006012B Direction mécanique / Sieering gear OE -
TT /all models 11/84-08/89
@‘40
7006137 Direction assistée / Power steering OE 191422061KX
TT /all models 11/84-12/91
1245 6
[ trRw ‘ é
e | - M18x150
M16x150

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

207

NITOVMSATOA



VOLKSWAGEN

Sharan
7006151 Direction assistée / Power steering OE "M 1422061DX
] 1.8i 20v. Turbo -04/00
IEEZH 1.9 TDi 90hp 66kw  -12/00
= 1.9 TDi 110hp 81kw -12/00 BVM BVA
T — Someie 2.0 -12/00 BVM BVA
M14x150 2.8 V6 /4AWD -04/00 BVM BVA
M16x150
7176029 Direction assistée / Power steering OE 7M3422061EX
1030
|‘[-ﬂ TRW |
Sl M18x150
M16x150
1.8i 20v. Turbo 06/00-12/03 AWC
1.8i 20v. Turbo 01/04-06/05 AWC
1.9 TDi 06/00-12/03 ANU AUY ASZ
1.9 TDi 90hp 66kw 01/04-
1.9 TDi 115hp 85kw 01/04- Tiptronic
1.9 TDi 115hp 85kw 4-Motion  01/04-
2.0 115hp 85kw 06/00-12/03 ATM
2.0 115hp 85kw 01/04-12/07 BVM ATM
2.0 115hp 85kw 01/04-12/04 BVA ATM
2.0 TDi 140hp 103kw 01/04-
2.8V6 06/00-12/03 Tiptronic
2.8 V6 01/04- Tiptronic
2.8 V6 4-Motion 06/00-12/03
2.8 V6 4-Motion 01/04-
7076071 NEW Pompe dir. assistée / Power steering pump OE TM0145157AA
1.8i 20v. Turbo 06/00-12/02 AWC
1.9 TDi 01/01-12/02 ANU/SZ/UY
1.9 TDi 01/06-12/08 ANU/SZ/UY
2N ol 1.9 TDi 01/06-12/08 BTB/VK
iy 2.01 01/01-12/02 ATM
2.01 01/06-12/08 ATM
2.0 TDi 01/06-12/08 BRT BVH
36 2.81 VR6 01/01-12/02 AYL
2.81 VR6 01/06-12/08 AYL
7076030 Pompe dir. assistée / Power steering pump OE 1H01451570X
2 A 1.9 TDi 110hp 81kw  04/97-04/00
S
STk (@) Fr
20 3 I
24 36
Vento...
9006003 Direction mécanique / Sieering gear OE 191419063CX

TT /all models 11/91-

208

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.




<

o

... vento...
7006144 Direction assistée / Power steering OE 1H1422061CX
. TT /all models 10/91-
E 7F 22
e M18x150
M16x150
7006145 Direction assistée / Power steering OE 1H1422061DX
1273 év. TT /all models 10/91-
=ize 22
i i M183x150
M16x150
7006149 Direction assistée / Power steering OE 1H1422055
1242 §\ TT /all models 01/92-
| =R 22
o2 M18x150
M16x150
7006138 Direction assistée / Power steering OE 6K1422061C
TT /all models 10/91-
[ 1288 é‘zz Sauf GT
M14x150 M18x150
| M16x150
9006035 Protecteur de direction / Steering protector OE 191419831
m 1.4i 04/93-02/95
9006084 Protecteur de direction / Steering protector OE 1H0422831B
DA (XTR-USA)
1.41 11/91-03/95
1.6 11/91-
1.81 11/91-
sy L9SDI  11/1-
1.9TD 11/91-
1.9 TDi
2.0 11/91-
2.0i 16v. 11/91-
2.8 VR6 11/91-
9006082 Protecteur de direction / Steering protector OE 357422831B
DA
1.4 11/91-03/95
1.6 11/91-
1.81 11/91-
£ zr W 198D 11/91-
1.9TD 11/91-
1.9 TDi

2.0/ 16v. 11/91-
28VR6  11/91-

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value.

209

NITOVMSATOA



VOLKSWAGEN

...vento
7076030 Pompe dir. assistée / Power steering pump OE 1H01451570X
1.8i 90hp 66kw 11/91-08/97
A s 1.9 SDi 65hp 47kw 04/97-08/97
1.9 TDi 90hp 66kw 09/93-08/97
- 1.9 TDi 110hp 81kw 04/96-08/97
. 2.0 115hp 85kw 11/91-01/95
Caddy
7006142 Direction assistée / Power steering OE 6K 1422061CX
1186 . 1.4 -03/04  Ch- 9KX500001
22
|EﬁTRw | 1.4 16v. -03/04
-~ 1.6 ) -03/04  Ch- 9KX500001
M?4H:le50 ‘WM ’ I Mlelio %:g SB; :8;;83 Ch' 9KX500001 AHB
! 1.9 TDi -03/04  Ch- 9KX500001
M16x150
9006084 Protecteur de direction / Steering protector OE 1H0422831B
1.4 01/96-
m 1.6 01/96-
1.7 SDi 01/96-
1.9 SDi 01/96-01/04
1.9 TDi 01/96-
LT II III 96-
7006050 Direction assistée / Power steering OE -
1455 @ TT /all models 01/97-
| [F trw
e ol M14x150
M16x150
Transporter TYP4 (F70/D) 91-03
7176020 Direction assistée / Power steering OE 701422061BX
1266 @ 19D
I=E 2.0
= 24D
P il M18x150
M16x150
2756003 Protecteur de direction / Steering protector OE 7D0419831
19D -12/95
1.9TD 01/96-  -ch 70-T-199999
2.0 -12/95
2.0 01/96-  -ch 70-T-199999
24D -12/96
2.51 01/96-  -ch 70-T-199999
2.5 TDi 01/96-  -ch 70-T-199999
2.81 01/96-  -ch 70-T-199999
7076031 Pompe dir. assistée / Power steering pump OE 044145157AX
E 1.9 D 60hp 45kw 09/90-08/96 1X
£ zF = 22N Ll 1.9 TD 70hp 50kw  10/92-08/96 ABL
§ g 11| ™ [0 2.0 85hp 62kw 09/90- AAC
S - 2.4 D 80hp 57kw  09/90- AAB
: | 25 110hp 81kw  11/90-

Les dessins, photos, références constructeurs (origine) ne servent qu' a identifier les pieces et sont donnés a titre indicatif.

210



hSIc L
VOLVO
740 760 780
7006148 Direction assistée / Power steering OE 1387500
1260 TT /all models 740-760 01/85-12/92
L] TR zF ) TT /all models Coupé 780  01/85-12/92
N M14x150
M16x150
940 960
7006148 Direction assistée / Power steering OE 1387500
TT /all models 01/90-
1260
=4 TR 2F
S M14x150
M16x150
C30
7076075 ~NEW  Pompe dir. assistée / Power steering pump OE 8603593
= or 1.6i 16v.  01/07-03/12 B4164S3
o118
S40 V40
7076027 Pompe dir. assistée / Power steering pump OE 8603045
s 1.61 16v. 105hp 77kw 09/95-08/99
orges 1.6i 16v. 110hp 80kw 03/99-12/03
°or o1ar 1.8i 16v. 115hp 85kw 07/95-08/99
1.9i 16v. Turbo T4 200hp 147kw 05/97-07/00
2.0i 16v. 136hp 100kw 140hp 103kw 07/95-12/03
2.01 16v. Turbo 160hp 118kw 163hp 120kw
165hp 121kw 10/97-12/03
2.01 16v. Turbo T4 200hp 147kw  07/00-12/03
7076075 NEW Pompe dir. assistée / Power steering pump OE 8603593
6 Gorges 1.61 16v. S40 01/05-03/12 B4164S3
@ ZF 6 Grooves
o118
V50
7076075 NEW  Pompe dir. assistée / Power steering pump OE 8603593
1.6i 16v.  01/05-03/12 B4164S3
=5 zF
118

Drawings, pictures, references from carmakers, are given for identification of the parts and have only a guidance value. 211

OA'TOA



Cross SASIC > OE

CORRESPONDANCE SASIC 2 ORIGINE
CROSSING LIST SASIC = O.E

® MARQUE Réf.ORIGINE Ne @ MARQUE RéEf.ORIGINE Ne
Make OF PAGE Make OE PAGE
0004214B PEUGEOT 400021 112 0664264 PEUGEOT 406626 119 120
0004234 PEUGEOT 400023 101 0664274 PEUGEOT 406627 114 120
0004234B PEUGEOT 400023 101 0664284 PEUGEOT 406628 114
0004294 PEUGEOT 400025 113 0664294 CITROEN 406629 34
400029 113 PEUGEOT 406629 121
00042948 PEUGEOT 400025 113 0664304 CITROEN 406630 33 34
400029 113 PEUGEOT 406630 114 116 121
0004424 CITROEN 400042 43 0664324 CITROEN 406632 18 31
9455488480 43 PEUGEOT 406632 99
PEUGEOT 400042 101 0664334 CITROEN 406633 19
0004424B CITROEN 400042 43 PEUGEOT 406633 99
9455488480 43 0664344 CITROEN 406634 19 30
PEUGEOT 400042 101 PEUGEOT 406634 99
0004464 PEUGEOT 400046 112 0664364 PEUGEOT 406636 100
0004464B PEUGEOT 400046 112 0664374 CITROEN 406637 33
0004534 PEUGEOT 400053 98 PEUGEOT 406637 114
0004544 PEUGEOT 400054 98 0664414 CITROEN 406641 29 47
0004A54 PEUGEOT 4000A5 114 FIAT 9404066418 59 62
0004A54B PEUGEOT 4000A5 114 PEUGEOT 406641 122 124 127
0004C04 PEUGEOT 4000C0 107 0664424 CITROEN 406642 33 34
0004C04B PEUGEOT 4000C0 107 PEUGEOT 406642 114 116
0004E54 CITROEN 4000ES 45 0664434 CITROEN 406643 20 35 37 38 41 44
FIAT 71718438 60 PEUGEOT 406643 108 129
9451178380 60 0664444 CITROEN 406644 20 35 40 44
PEUGEOT 4000ES 125 PEUGEOT 406644 109 129
0004E54B CITROEN 4000ES 45 0664464 CITROEN 406646 19 31
FIAT 71718438 60 PEUGEOT 406646 100
9451178380 60 0664484 CITROEN 406648 31
PEUGEOT 4000ES 125 PEUGEOT 406648 100
0004S24 CITROEN 400082 19 34 40 0664494 CITROEN 406649 31
PEUGEOT 400052 128 PEUGEOT 406649 100
0004S24B CITROEN 400082 19 34 40 0664504 CITROEN 406650 31
PEUGEOT 400082 128 PEUGEOT 406650 100
0004Wo64 CITROEN 4000W6 30 0664574 CITROEN Part/0e406673 25
PEUGEOT 4000W6 98 PEUGEOT 406657 103 104 110 111
0004W84 CITROEN 4000W8 30 Part/0e406673
PEUGEOT 4000W38 99 0664604 PEUGEOT 406660 117
0024454 PEUGEOT 400245 113 406675 117
0024644 PEUGEOT 400264 106 0664624 CITROEN 406662 37
0024704 PEUGEOT 400270 118 119 0664694 CITROEN Part/oe 406669 23 24 25
400295 118 119 PEUGEOT Part/oe 406669 101
0024704B PEUGEOT 400270 118 119 0664704 CITROEN 406670 29
400295 118 119 PEUGEOT 406670 123
0024824 PEUGEOT 400282 118 0664744 CITROEN 406664 27
400293 118 406674 27
0024824B PEUGEOT 400282 118 PEUGEOT 406664 122
400293 118 406674 122
0024864 PEUGEOT 400286 106 1006004 CITROEN - 32 39 44
0054114 CITROEN 4000A0 44 PEUGEOT - 102 106 113 119 120
FIAT 9750012099 60 2006003 CITROEN 9451114580 38
PEUGEOT 4000A0 127 20060038 CITROEN 9451114580 38
400511 127 2006004 CITROEN 95659460 18
0054114B CITROEN 4000A0 44 2006004B CITROEN 95659460 18
FIAT 9750012099 60 2006005 CITROEN 95659527 18
PEUGEOT 400511 127 2006007 CITROEN 9404000230 32 43
0054484 CITROEN 9404005480 30 32 20060078 CITROEN 9404000230 32 43
PEUGEOT 400548 98 2006008 CITROEN 95659461 18
0054524 CITROEN 9404005520 30 32 43 2006010 CITROEN 95615722 22
PEUGEOT 400552 98 20060128 CITROEN 9451136780 32
TALBOT 400552 190 2006170 CITROEN Part/oe 400622 46
0054524B CITROEN 9404005520 30 32 43 FIAT Part/oe 9945837 61
PEUGEOT 400552 98 PEUGEOT Part/oe 400622 125 126
TALBOT 400552 190 2006171 CITROEN Part/oe 400622 46
0054844 PEUGEOT 400584 106 Part/oe 4018A5 46
0664034 PEUGEOT 406603 113 FIAT Part/oe 9945837 61
0664084 PEUGEOT 406608 119 Part/oe 9946982 61
0664104 PEUGEOT 406610 119 PEUGEOT Part/oe 400622 125 126
0664154 CITROEN 406620 20 32 38 39 41 43 Part/oe 4018A5 125 126
91510923 20 32 38 39 41 43 2750001 CITROEN 406671 28
0664154 PEUGEOT 406615 101 106 108 112 119 120 121 129 PEUGEOT 406671 118
406620 101 106 108 112 119 120 121 129 [ 2750002 PEUGEOT 406672 118
0664164 CITROEN 406616 3543 2750004  ALFA ROMEO Part/oe 77363828 4
PEUGEOT 406616 102 112 119 120 121 CITROEN Part/oe 406695 30 47
0664174 PEUGEOT 406617 119 121 FIAT Part/oe 77363828 54 55 57 62
0664184 CITROEN 406618 44 Part/oe 77364571
PEUGEOT 406618 128 FORD Part/oe 1545456 63 68
OPEL Part/oe 1609347 90
0664194 CITROEN 406619 45 PEUGEOT Part/oe 406695 123 124
PEUGEOT 406619 128 2750005 CITROEN Part/oe 1608652080 23 24
0664214 PEUGEOT 406621 114 121 Part/oe 406680 23 24
0664224 CITROEN 406622 20 35 39 44
PEUGEOT 406622 102 106 108 112 129

212

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value




CORRESPONDANCE SASIC= ORIGINE

CROSSING LIST SASIC = O.E

@ MARQUE Réf.ORIGINE N° st MARQUE Réf.ORIGINE N°
Make OE PAGE Make OE PAGE
2750005 PEUGEOT Part/oe 1608652080 105 4006021 RENAULT 7700706007 133 135 136 138 139 140
406680 105 7700781095 141 142 147 171 176
2750006 CITROEN Part/oe 406684 22 7701469617
PEUGEOT Part/oe 406684 118 4006024 RENAULT 7701462387 175
2750007 CITROEN Part/oe 406686 46 4006024B RENAULT 7701462387 175
FIAT Part/oe 77364254 62 4006027 RENAULT 7700656569 132 134
PEUGEOT Part/oe 406686 127 4006075 RENAULT 7700678649 133 134 135 136 138 139
2750008 CITROEN 406688 28 155 170 171
PEUGEOT 406688 120 4006100 RENAULT 7700554294 132 134
2750011 CITROEN 1608025480 26 4006120 RENAULT 7700680852 135 137 140 141 168 176
PEUGEOT 1608025480 105 4006121 RENAULT 7700653459 135 137 140 141 168
2750012 CITROEN Part/oe 406682 20 25 26 41 4006124 RENAULT 7700781097 136 142 155
DSAUTOMOBILES  Part/oe 406682 50 7701469497 136 142 155
PEUGEOT Part/oe 406682 103104 110 111 112 113 120 | 4006127 RENAULT 7700774566 176
124 129 4006200 RENAULT 8200033832 170
2754001 RENAULT 7701472765 153 154 4006200B RENAULT 8200033832 170
2754002 RENAULT Part/oe 7701474448 161 162 163 168 4006204 RENAULT 8200033766 143 168
2754003 OPEL 4420703 97 4006204B RENAULT 8200033766 143 168
93168406 97 4006205 DACIA 6001547612 48 49
RENAULT 482037616R 175 8200802927 48 49
2754005 RENAULT 482036715R 149 164 168 8200902356 48 49
2754006 DACIA 8201108358 48 4006205B DACIA 6001547612 48 49
2754007 RENAULT Part/oe 7701478400 151 162 174 8200802927 48 49
2756002 OPEL 1609087 90 96 8200902356 48 49
2756003  VOLKSWAGEN 7D0419831 210 4006213 RENAULT 6000025597 152
2756005 IVECO 2992592 76 7701469657 152
2756012 FIAT 77363710 54 4006214 RENAULT 7701469486 145 155 156 158 159 160 167 169
OPEL 1609132 91 94 4006215 RENAULT 7701469496 144 150 155 156 157 159
1609558 91 94 160 166 169 172 173
2756014 NISSAN 48203BM400 83 84 4006217 RENAULT 7701038840 166
2756021 MERCEDES 2104602300 80 4006218 RENAULT 7701469564 166
2756022 IVECO Part/oe 93161288 76 4006220 RENAULT 7701038839 166
2756025 BMW Part/oe 32136751026 17 18 4006221 RENAULT 7701469566 166
2756027 AUDI 6E0419831 6 4006222 RENAULT 7701469487 155 158 160
SEAT 6E0419831 180 184 4006223 RENAULT 7701471141 145 169
SKODA 6E0419831 188 4006224 DACIA 6001547607 48 49 50
VOLKSWAGEN 6E0419831 201 206 6025370231 48 49 50
2756028 BMW 32102353823 1112 15 17 7701470361 48 49 50
32106765079 1112 15 17 OPEL 4501260 97
2756029 FORD 4059921 75 RENAULT 6001547607 142 148 174
2756030 FORD 4059922 75 6025370231 142 148 174
2756031 ALFA ROMEO 9947921 23 7701470361 142 148 174
2756032 TOYOTA 4553512060 190 191 4006225 RENAULT 7701474075 148
4553512100 190 191 4006227 RENAULT 7701470753 144 150 151 172 173
4553533010 190 191 7701473652 144 150 151 172 173
2954001 RENAULT - 136 4006253 RENAULT - 132
4006254 RENAULT = 133 135 138 140 141 147 171
4006001 RENAULT 7702109906 132 134 4006255 RENAULT - 133134135136 138 139 170 171
7943010201 132 134 4006257 RENAULT - 176
4006002 RENAULT - 132 134 7006000 AUDI 443422065 5
4006002B RENAULT - 132 134 443422065L 5
4006005 RENAULT 7943010219 132 443422065LX 5
4006005B RENAULT 7943010219 132 443422066 5
4006008 RENAULT 7701463347 132 170 7006002 AUDI 8A1422065F 45
7701463995 132 170 7006003 AUDI 87.1423052C 6
4006008B RENAULT 7701463347 132 170 871423052E 6
7701463995 132 170 871423052 6
4006009 RENAULT 7701465477 133 7006004 AUDI 4B 1422052 10
7701466485 133 4B1422052X 10
4006009B RENAULT 7701465477 133 7006009 ALFA ROMEO 46755528 1
7701466485 133 7006010 ALFA ROMEO 60538590 13
4006010 RENAULT 7701462168 134 7006011 BMW 32131127086 12
7701463999 134 7006012 BMW 32131092335 12
40060108 RENAULT 7701462168 134 32131134944 12
7701463999 134 32131137198 12
4006011 RENAULT 7701465388 134 135 32131140833 12
4006012 RENAULT 7701466059 142 7006013 BMW 32131140828 12 18
4006012B RENAULT 7701466059 142 32131140956 12 18
4006013 RENAULT 7701467471 142 32131140972 12 18
4006013B RENAULT 7701467471 142 7006014 MINIT 32106770661 81 82
4006015 RENAULT 7701465315 135 32106777524 81 82
7701466375 135 32136762171 81 82
4006015B RENAULT 7701465315 135 32136764156 81 82
7701466375 135 7006015 BMW 32131096145 16
4006017 RENAULT 7701464083 137 138 7006017 BMW 32136761823 18
7701465919 137 138 7006018 CITROEN 4000JW 45
4006017B RENAULT 7701464083 137 138 FIAT 1336494080 61
7701465919 137 138 PEUGEOT 4000JW 126
4006018 RENAULT 7701466401 137 138
4006019 RENAULT 7701461766 175 7006019 PEUGEOT Part/oe 4000QE 110 111
4006019B RENAULT 7701461766 175 Part/oe 4000ZJ 110 111

213

HO < DISVS sso1)



Cross SASIC > OE

CORRESPONDANCE SASIC = ORIGINE

CROSSING LIST SASIC = O.E

® MARQUE Réf.ORIGINE N° @ MARQUE RéEf.ORIGINE N°
Make OE PAGE Make OE PAGE
7006019 PEUGEOT Part/oe 4000ZK 110 111 7006070 FORD 1469241 66 70 74
Part/oe 4000ZL 110 111 3937085 66 70 74
Part/oe 4000ZN 110 111 4004054 66 70 74
7006020 PEUGEOT 4000HW 116 4373198 66 70 74
7006021 CITROEN 4000AA 19 40 7006071 OPEL 900294 89 91 96
PEUGEOT 4000AA 128 900310 89 91 96
7006022 CITROEN 4000CV 20 40 7006072 OPEL 900229 85 91 92
PEUGEOT 4000CV 129 900267 85 91 92
7006023 CITROEN 4000KK 19 40 900336 85 91 92
PEUGEOT 4000KK 129 ROVER GDR1166 178
7006032 CITROEN 95615724 22 7006074 OPEL 900256 85 88 92
7006033 CITROEN 9451136980 32 7006075 OPEL 900223 85 89 92
7006034 CITROEN 4000R2 34 900272 85 89 92
9451030980 34 7006077 OPEL 900322 93
7006035 CITROEN 4000KH 19 35 38 40 900387 93
400050 19 35 38 40 900391 93
9455851480 19 35 38 40 7006078 OPEL 900363 86 94
PEUGEOT 4000KH 128 7006079 OPEL 900312 93
400080 128 7006081 PEUGEOT 400001 119 120
7006037 CITROEN Part/oe 4000S8 30 400009 119 120
PEUGEOT Part/oe 4000V0 99 7006082 CITROEN 4000G9 43
7006038 CITROEN 4000NX 27 PEUGEOT 400061 101
7006039 CITROEN 4000NC 27 400063 101
7006040 CITROEN 4000CQ 37 7006083 PEUGEOT 400068 112
7006041 CITROEN 4000CA 35 7006084 PEUGEOT 400072 114
7006042 LAND ROVER QAB000314 78 400073 114
7006043 ROVER QAB102971 177 7006085 PEUGEOT 400064 101
7006044 ROVER QAB102452 177 4000N9 101
7006045 TOYOTA 4425005061 190 7006088 PEUGEOT 4000C8 121
4425005160 190 4000Q8 121
7006048 IVECO - 76 7006089 CITROEN 4004E4 45
7006049 IVECO - 76 FIAT 1310352080 60
7006050 MERCEDES - 80 PEUGEOT 4004E4 125
VOLKSWAGEN - 210 7006090 CITROEN 400039 44
7006051 MERCEDES 6384602900 80 FIAT 7719021 60 63
6384603000 80 9791300380 60 63
7006052 NISSAN 4900183110 84 PEUGEOT 400039 128
7006053 FIAT 46545222 55 7006091 CITROEN 4000V2 38
7006054 ALFA ROMEO 60594888 3 PEUGEOT 4000V2 107
FIAT 82437269 53 7006092 PEUGEOT 4000L9 114
LANCIA 82452738 77 4000N2 114
7006055 ALFA ROMEO 60590893 12 7006093 CITROEN 400126 29 47
60591936 12 FIAT 1315183080 58 62
FIAT 60591936 58 LANCIA 1315183080 78
7665182 58 PEUGEOT 400126 122 124 127
LANCIA 60591936 77 7006094 PEUGEOT 4000T1 99
7772652 77 7006095 PEUGEOT 4000CS 102 104
7006057 ALFA ROMEO 60591513 3 4000EW 102 104
FIAT 82480948 53 7006097 PEUGEOT 400069 112
LANCIA 82480948 77 7006098 PEUGEOT 4000K8 116
7006058 FIAT 46480616 55 7006099 PEUGEOT 4000K9 116
7772950 55
7772954 55 7006100 PEUGEOT 4000CF 115
LANCIA 46480616 77 4000GH 115
7006059 FIAT Part/oe 46833541 60 4000HT 115
4000X8 115
7006060 FIAT 46764842 54 4000Y0 115
51820707 54 4000Y2 115
7006061 CITROEN 4000GQ 28 4000Z8 115
FIAT 1332771080 59 7006102 CITROEN 4000EC 45
1348591080 59 FIAT 1323199080 61
1489732080 59 PEUGEOT 4000EC 125
PEUGEOT 4000GQ 123 7006103 RENAULT 7701351310 133 170
7006062 FORD 1044673 75 7701351833 133 170
6645583 75 7701466493 133 170
7006063 FORD 5023570 73 7701466725 133 170
5023572 73 7006104 RENAULT 7701351087 135
7006064 FORD 3921317 64 71 7006105 RENAULT Part/oe 7701351857 136
7294407 64 71 Part/oe 7701466591 136
7006065 FORD 5026739 64 72 7006107 RENAULT 7701351861 136
7006067 FORD 6140559 73 7701466595 136
7006068 FORD 1108365 64 7006108 RENAULT 7701498858 137 141
4046331 64 7701498976 137 141
4088258 64 7006109 RENAULT 7701351847 137 139
7006069 FORD 1012806 66 73 74 7701466545 137 139
3937535 66 73 74 7006110 RENAULT Part/oe 7701466547 137 139
4088255 66 73 74 7006111 RENAULT 7701464089 137 139
7006070 FORD 1003239 66 70 74 7006112 RENAULT 7701463921 140
1202685 66 70 74 7006113 RENAULT 7701466467 140
1237029 66 70 74 7006114 RENAULT 7701351983 147
1341482 66 70 74 7701467179 147

214

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value




CORRESPONDANCE SASIC = ORIGINE

CROSSING LIST SASIC = O.E

® MARQUE Réf.ORIGINE N° ® MARQUE Réf.ORIGINE N°
Make OF PAGE Make OE PAGE
7006115 RENAULT 7701352221 147 7006141 AUDI 8D1422052M 8
7701468145 147 SKODA 3B1422052MX 190
7006117 RENAULT Part/oe 7701352075 142 VOLKSWAGEN 3B1422052M 204
Part/oe 7701467473 142 3B1422052MX 204
7006118 RENAULT Part/oe 7701351997 142 3B1422052R 204
Part/oe 7701467263 142 8D1422052BX 204
7006119 RENAULT 7701467497 151 152 8D1422052M 204
7006120 RENAULT 7701466848 165 7006142 SEAT 6K 1422061CX 180 182
7006121 RENAULT 6025070252 147 6K1422061DX 180 182
7701351475 147 6K1422061CX 210
7006122 RENAULT 7701352107 176 7006143 VOLKSWAGEN 19142206 1MX 194 200
7006123 IVECO - 76 7006144 VOLKSWAGEN 1H1422061 195 209
RENAULT 7701352441 174 1H1422061CX 195 209
7006124 RENAULT 7701435644 144 149 169 171 7006145  VOLKSWAGEN 1H1422061D 195 209
7711134512 144 149 169 171 1H1422061DX 195 209
8200033765 144 149 169 171 7006147 SEAT 6N1422061C 179
8200917732 144 149 169 171 6N1422061CX 179
7006125 ROVER GSR1142 178 VOLKSWAGEN 6M1422061A 201 205
7006128 RENAULT 7701471733 147 6N1422061C 201 205
7006129 RENAULT 7701471988 144 149 172 6N1422061CX 201 205
7711134965 144 149 172 6N1422061X 201 205
8200276161 144 149 172 7006148 VOLVO 1387500 211
7006130 OPEL 4415373 96 7006149 SEAT 1H1422055 180 181 186
4418476 96 VOLKSWAGEN 1H1422055 193 195 209
4501258 96 7006150 SEAT 191422055 80 182 186
RENAULT 7701352645 174 VOLKSWAGEN 191422055 193 194 200
7701470359 174 7006151 FORD 1092384 70
7006131 RENAULT 7701429506 155 SEAT TM1422061D 179
7006132 RENAULT 7701468281 154 157 158 159 TM1422061DX 179
7701471301 154 157 158 159 VOLKSWAGEN 718422061 208
7006133 RENAULT 7700426410 154 157 159 160 166 TM1422061D 208
7701352455 154 157 159 160 166 TM1422061DX 208
7006134 RENAULT 7701471895 154 156 157 158 159 7006152  VOLKSWAGEN 191422065 194 200
7006135 AUDI 811422065A 45 7006153 SEAT 6N1422061E 179
VOLKSWAGEN 811422065F 202 207 6N1422061EX 179
7006137 SEAT 191422061KX 180 182 185 VOLKSWAGEN 6N1422061E 201 206
VOLKSWAGEN 191422061KX 193 194 200 207 6N1422061EX 201 206
7006138 SEAT 6K1422061A 180 182 186 188 7006154  VOLKSWAGEN 357422061D 202
6K1422061C 180 182 186 188 3A1422061B 202
VOLKSWAGEN 6K1422061A 196 206 209 7006155 AUDI 871423052X 5
6K1422061C 196 206 209 SEAT 6Q1423061M 184
7006139  VOLKSWAGEN 357422065 202 SEAT 6Q1423061MX 184
7006140 AUDI 171422061 AK 6 SKODA 6Q1423061M 188
1J1422062D 6 6Q1423061MX 188
1J1422062EX 6 VOLKSWAGEN 6Q1423061G 205
1J1422063M 6 6Q1423061M 205
1J1422063MX 6 6Q1423061MX 205
1J1422063NX 6 7006157 OPEL 5900217 87 95
1J1422075KX 6 900605 87 95
SEAT 1J1422060KX 184 186 7006158 MERCEDES 2034601100 79
1J1422061AK 184 186 7006159 MERCEDES 2034601300 79 80
1J1422062D 184 186 7006160 MERCEDES 2104602400 80
1J1422062EX 184 186 7006161 MERCEDES 1684603500 79
1J1422063B 184 186 168460350080 79
1J1422063M 184 186 7006162 NISSAN 490011M210 83
1J1422063MX 184 186 7006163 NISSAN 49001BN013 83
1J1422063NX 184 186 7006164 NISSAN 490014U200 83
1J1422065F 184 186 7006165 RENAULT 7701351832 133 171
1J1422075KX 184 186 7701467947 133 171
SKODA 1J1422061AK 189 7006167 OPEL 4416188 97
1J1422061F 189 4416873 97
1714220618 189 4417849 97
1J1422062D 189 4418438 97
1J1422062EX 189 4418968 97
1J1422063MX 189 RENAULT 7711368804 176
1J1422063NX 189 8200408078 176
1J1422075KX 189 8200875897 176
VOLKSWAGEN 171422061 AK 192 193 197 7006168 RENAULT 7701471732 141 148
1J1422062D 192 193 197 7006169 RENAULT 7711134569 153
1J1422062E 192 193 197 8200430195 153
1J1422062EX 192 193 197 8200706713 153
1J1422063M 192 193 197 7006170 RENAULT 7711368396 153
1J1422063MX 192 193 197 8200430198 153
1J1422063NX 192 193 197 8200706726 153
171422065F 192 193 197 7006171 RENAULT 7711134174 149 172
1J1422075KX 192 193 197 7006172 RENAULT 8200033768 143 168
7006141 AUDI 3B1422052D 8 8200917748 143 168
3B1422052M 8 7006173 RENAULT 7700435644 143 169
3B1422052MX 8
3B1422052R 8 7006174 FORD 1336677 68 69
8D1422052BX 8 1336686 68 69

215

HO < DISVS $ss0I)



Cross SASIC > OE

CORRESPONDANCE SASIC = ORIGINE
CROSSING LIST SASIC = O.E

® MARQUE Réf.ORIGINE N° @ MARQUE RéEf.ORIGINE N°
Make OE PAGE Make OE PAGE
7006174 FORD 1418651 68 69 7070032 CITROEN 4007V7 20 36 39 41 45
1418654 68 69 PEUGEOT 4007V7 102 109 113 115 128 130
1465900 68 69 7070033 PEUGEOT 4007R0 117 122
7006175 FORD 1323623 68 7070034 CITROEN 40072A 21 41
7006177 FORD 4077622 75 PEUGEOT 40072A 129
4511924 75 7070035 CITROEN 40078E 29
4557891 75 PEUGEOT 40078E 117 123
7070001 CITROEN 9624659580 29 47 7070038 CITROEN 40077A 28 29 47
FIAT - 59 63 40079E 28 29 47
PEUGEOT - 123 124 127 4007CX 28 29 47
7070002 CITROEN 4007W5 29 47 4007X9 28 29 47
FIAT - 59 63 FIAT 9632876780 59 63
PEUGEOT 4007W5 123 124 127 9633817680 59 63
7070003 CITROEN 4007CJ 46 9640830987 59 63
FIAT 9645464980 61 9640906480 59 63
PEUGEOT 4007CJ 125 126 LANCIA 9633817680 78
7070004 CITROEN 4007LN 22 36 42 PEUGEOT 40079E 117 122 123 124 127
4007LP 22 36 42 4007AC 117 122 123 124 127
4007WP 22 36 42 4007CX 117 122 123 124 127
PEUGEOT 4007LP 131 4007X9 117 122 123 124 127
4007WP 131 7070039 PEUGEOT 4007KJ 103 105
7070005 CITROEN 40075C 21 42 4007KX 103 105
PEUGEOT 40071F 109 115 130 4007VX 103 105
40075C 109 115 130 PEUGEOT 4007XE 103 105
400782 109 115 130 9800248380 103 105
400786 109 115 130 7070040 PEUGEOT 4007L9 117
7070006 CITROEN 40072C 37 7070041 CITROEN 4007LJ 37
4007LS 37 400726 37
7070007 CITROEN 40073C 36 37 7070043 CITROEN 4007V8 36 39
40073E 36 37 PEUGEOT 4007V8 109 115
4007AR 36 37 7070044 CITROEN 4007W1 21 36 39
4007KZ 36 37 PEUGEOT 4007W1 109 130
4007LC 36 37 7070045 PEUGEOT 4007W7 104
4007LF 36 37 7070046 CITROEN 400774 37
PEUGEOT 40073C 104 7070047 PEUGEOT 4007VN 110 111
4007LF 104 4008E6 110 111
7070008 PEUGEOT 40075E 103 7070048 CITROEN 4007AL 21 42
4007LL 103 PEUGEOT 4007AL 131
7070009 PEUGEOT 40076E 103 105 7070049 CITROEN 40076A 28
4007AQ 103 105 7070051 PEUGEOT 4007NX 103
4007LK 103 105 7070052 PEUGEOT 4007GX 118
4007LQ 103 105 7070053 CITROEN 4007JE 22 42
4007XF 103 105 PEUGEOT 4007JE 131
7070011 PEUGEOT 40077E 104 7070055 CITROEN 4007CQ 36
4007LG 104 4007TW 36
7070012 CITROEN 4007AT 22 38 42 4007LH 36
4007LT 22 38 42 7070056 PEUGEOT 4007LR 103 104
PEUGEOT 4007AT 131 7070057 CITROEN 4007TQ 21 41
4007LT 131 PEUGEOT 4007TQ 130
7070013 CITROEN 4007CW 47 7070058 CITROEN 4007VR 21 42
PEUGEOT 4007CW 124 127 PEUGEOT 4007VR 130
7070014 CITROEN 4007R4 36 7070059 CITROEN 4007JC 21 37 41
4007W0 36 4007WL 21 37 41
PEUGEOT 4007R4 109 PEUGEOT 4007JC 130
4007W0 109 4007WL 130
7070015 CITROEN 400775 38 7070061 CITROEN 4007Y8 46
7070016 CITROEN 40076C 22 42 PEUGEOT 4007Y8 125 126
4007P0 22 42 7070062 CITROEN 4007SQ 25 26
4007W3 22 42 4007SR 25 26
PEUGEOT 40076C 131 4007VK 25 26
4007P0 131 4007VL 25 26
4007W3 131 4007XV 25 26
7070017 PEUGEOT 4007Y2 110 4007XW 25 26
7070019 CITROEN 4007E3 46 7070063 CITROEN 4007CZ 28
PEUGEOT 4007E3 125 PEUGEOT 4007CZ 122
7070021 PEUGEOT 4007V6 103 7074001 RENAULT  8200838037+7700108973 175 177
7070022 CITROEN 400793 21 36 39 7074002 OPEL 4418160+4401558 97
4007V9 21 36 39 4418898+4401558 97
PEUGEOT 400793 109 130 RENAULT  8200838037+7700115621 175 176
4007V9 109 130 7074003 RENAULT 7700795295 136 138 139 143
7070023 PEUGEOT 4007V5 103 7074005 DACIA 491100219R 48 50
7070024 PEUGEOT 4007R2 102 491108814R 48 50
7070025 CITROEN 400787 33 7700840105 48 50
7070026 CITROEN 40074A 32 8200711377 48 50
PEUGEOT 40074A 101 8200888510 48 50
7070027 CITROEN 40070F 44 RENAULT 491100219R 143 145 150 151 156 158
PEUGEOT 40070F 102 113 115 491108814R 160 167 173
7070028 CITROEN 4007S5 33 7700840105
7070029 CITROEN 400717 33 34 8200711377
7070031 CITROEN 40071E 31 8200888510 143 145 150 151 156 158

216

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value




CORRESPONDANCE SASIC= ORIGINE

CROSSING LIST SASIC = O.E

@ MARQUE Réf.ORIGINE N° ® MARQUE Réf.ORIGINE N°
Make OF PAGE Make OE PAGE
7074006 RENAULT 7700840106 156 157 167 7076023 AUDI 110422154C 7
7074007 RENAULT 7700802364 138 139 140 147 1J0422154AX 7
7074008 RENAULT 7701470783 145 150 151 169 173 174 1J0422154C 7
7074009 RENAULT 7700823737 152 1J0422154E 7
7074010 RENAULT 7700875710 148 1J0422154EX 7
7074012 OPEL 4418160+4410707 97 1J0422154H 7
4418898+4410707 97 1J0422154HX 7
RENAULT  8200838037+7700111040 175 177 10422154 7
7074013 DACIA 491101295R 49 50 1J04221547X 7
491105358R 49 50 1J0422154X 7
491106619R 49 50 SEAT 110422154C 185 187
6001548617 49 50 1J0422154AX 185 187
6001550659 49 50 1J0422154C 185 187
8200963696 49 50 1J0422154E 185 187
7074015 RENAULT 491105477R 153 154 1J0422154EX 185 187
8200096704 153 154 1J0422154H 185 187
8200709229 153 154 1J0422154HX 185 187
7076001 FIAT 46406954 56 1304221541 185 187
55186707 56 1J04221547X 185 187
7076002 FIAT 46406957 51 53 56 1J0422154X 185 187
7076003 FIAT 46459346 52 53 54 60 SKODA 110422154C 189
55186709 52 53 54 60 1J0422154AX 189
7076004 FIAT 46436958 51 52 53 54 1J0422154C 189
46524141 51 52 53 54 1J0422154E 189
46763559 51 52 53 54 1J0422154EX 189
7076005 ALFA ROMEO 46533006 23 1J0422154H 189
46534757 23 1J0422154HX 189
FIAT 46533006 55 130422154 189
46534757 55 1J0422154JX 189
LANCIA 46533006 77 1J0422154X 189
46534757 77 VOLKSWAGEN 110422154C 192 197 198
7076007 ALFA ROMEO 46410955 1 1J0422154AX 192 197 198
FIAT 46410955 52 53 56 1J0422154C 192 197 198
7076008 AUDI 357422155G 9 1J0422154E 192 197 198
VOLKSWAGEN 357422155G 203 1J0422154EX 192 197 198
7076009 SEAT 028145157D 183 187 1J0422154H 192 197 198
028145157DX 183 187 1J0422154HX 192 197 198
6K0422154 183 187 1J0422154] 192 197 198
6K0422154X 183 187 1J0422154JX 192 197 198
VOLKSWAGEN 028145157D 196 199 1J0422154X 192 197 198
028145157DX 196 199 7076024 SEAT 6N0145157 181 183 187
6K0422154 196 199 SKODA 6N0145157 189
6K0422154X 196 199 VOLKSWAGEN 6N0145157 192 196 202 203 207
7076010 SEAT 032145157A 181 183
032145157AX 181 183 7076025 AUDI 8D0145155QX 9
6N0422154EX 181 183 VOLKSWAGEN 8D0145155QX 205
6X0422154 181 183
6X0422154X 181 183 7076027 VOLVO 8603045 211
SKODA 032145157A 188 9125202 211
032145157AX 188
6N0422154EX 188 7076028 SEAT 6N0422155 183
6X0422154 188
6X0422154X 188 7076029 SEAT 037145157D 183
VOLKSWAGEN 032145157A 202 207 037145157DX 183
032145157AX 202 207 VOLKSWAGEN 037145157DX 197
6N0422154EX 202 207 7076030  VOLKSWAGEN 1HO1451570X 196 198 203 208 210
6X0422154 202 207 1H0422155D 196 198 203 208 210
6X0422154X 202 207 7076031 VOLKSWAGEN 044145157AX 210
7076011 AUDI 050145155A 4 7014221558 210
050145155AX 4 701422155BX 210
0501451558 4 7076032 MERCEDES 0024662601 80 81
050145155BX 4 0024662801 80 81
7076012 OPEL 90409239 86 92 0034660701 80 81
948040 86 92 7076033 OPEL 90295552 86 93
948046 86 92 948025 86 93
7076013 OPEL 948045 90 92 96 7076034 OPEL 948028 86
7076015 OPEL 948070 94 948038 86
7076017 OPEL 948085 94 7076035 ROVER QVB100690 177
7076018 FORD 1151059 69 7076037 ROVER QVB100600 178
1253233 69 7076038 FORD F33CA674BA 72
4089493 69 7076039  VOLKSWAGEN 027145157 195 203
7076019 FORD 3838803 69 191422155 195 203
4074608 69 7076040 MERCEDES 0024662301 81
7076020 FORD 3800571 65 7076041 NISSAN 491102F600 84
4070367 65 7076043 BMW 1128040 12
4176206 65 7076044 FORD 4048773 67 71
F5RC3A674GA 65 F7RC3A674BC 67 71
7076021 SEAT 1J0422154D 185 188 MAZDA F7RC3A674BC 78
VOLKSWAGEN 1J0422154D 192 198
7076022 FIAT 46541004 56 7076045 FIAT 46553723 55
55186442 56 51839104 55

217

HO < DISVS $s0I)



Cross SASIC > OE

CORRESPONDANCE SASIC = ORIGINE
CROSSING LIST SASIC = O.E

® MARQUE Réf.ORIGINE N° @ MARQUE Réf.ORIGINE Ne
Make OE PAGE Make OE PAGE
7076047 FORD 1097743 72 7170003 PEUGEOT 4000R0 121
1103384 72 7170006 PEUGEOT 4000NS 102 104
7076048 AUDI 8E0145155 10 7170007 PEUGEOT 4000CK 108
8E0145155X 10 7170011 PEUGEOT 4000V4 107
8E0145156T 10 7170012 PEUGEOT 4000V6 107
7076049 BMW 32411092433 12 7170016 CITROEN 4000AG 33
32411092954 12 7170021 CITROEN 4000JT 19 40
7076050 BMW 32416756575 14 4000KN 19 40
7076051 BMW 32411092741 16 9801760580 19 40
32411092742 16 PEUGEOT 4000JT 128
32411093040 16 4000KN 128
32411094098 16 9801760580 128
32411097149 16 7170022 PEUGEOT 4000HH 116
7076052 FORD 4032437 65 67 7170024 CITROEN 4000TP 23 24
7076053 FORD 7363543 65 7170025 CITROEN Part/oe 4001ES 46
7076054 FORD 3751946 67 FIAT Part/oe 1359225080 62
7076055 FORD 1145276 69 PEUGEOT Part/oe 4001E5 126
1467620 69 7170026 CITROEN Part/oe 1607744580 45
7076057 FORD 1415741 66 67 Part/oe 4001E4 45
4032433 66 67 FIAT Part/oe 1359226080 62
4335044 66 67 PEUGEOT Part/oe 1607744580 126
MAZDA 1415741 78 Part/oe 4001E4 126
7076058 AUDI 8D0145156T 9 7170028 PEUGEOT 4000LL 117
8D0145156TX 9 7170029 CITROEN 4000WT 23
VOLKSWAGEN 8D0145156T 205 7170031 PEUGEOT Part/oe 4001L1 111
8D0145156TX 205 7170032 PEUGEOT Part/oe 400112 111
7076060 FORD 4032435 67 71 74 7170038 PEUGEOT Part/oe 4000E7 110 111
4153203 67 71 74 Part/oe 4000YK 110 111
7076061 FORD 1225584 67 71 75 Part/oe 4000ZJ 110 111
1361818 67 71 175 Part/oe 4000ZK 110 111
1436177 67 71 75 Part/oe 4000ZL 110 111
1522127 67 71 75 Part/oe 4000ZN 110 111
4032436 67 71 175 Part/oe 4001E6 110 111
4178574 67 71 75 7170039 CITROEN 4000ZW 25
7076063 FORD 1476372 75 7170041 CITROEN 4000ZX 25
4158100 75 7170042 CITROEN 400171 26
7076064 AUDI 8D0145156A 9 7170043 CITROEN 400172 26
8D0145156AX 9 7170044 CITROEN 4000LV 27
VOLKSWAGEN 8D0145156A 204 7170046 CITROEN Part/oe 4001EC 27
8D0145156AX 204 7174001 RENAULT 7700429506 154 156 157 159 166
7076065 BMW 32416756611 14 7174002 RENAULT 7701467499 152
32416758595 14 7174003 RENAULT 7701469044 165
7076067 BMW 32411093124 17 7174005 RENAULT 7701351999 142
7076068 FIAT 7611323 52 53 57 58 7701467262 142
7076069 FIAT 504000927 61 62 7174006 RENAULT 7700429486 154 158 160
504184720 61 62 7174009 RENAULT 7711134508 144 169
7076070 FORD 1306888 63 8200055676 144 169
7076071 FORD 1113038 70 8200770043 144 169
SEAT TMO0145157AA 179 7174015 RENAULT 7700429489 155 157 160
VOLKSWAGEN TMO0145157AA 208 7701352454 155 157 160
7076072 MINI 32416763556 82 7174017 DACIA 7711497481 48 49
32416763557 82 7174019 RENAULT 7711368390 161 162 163 167
32416766051 82 8200324632 161 162 163 167
7076073 NISSAN 49110BM701 83 7174020 RENAULT 490018929R 148
7076074 NISSAN 491106F800 84 7174022 RENAULT 490014576R 148
7076075 FORD 1329297 63 69 7711368636 148
1362652 63 69 8200096712 148
1470514 63 69 8200891245 148
1484948 63 69 7174023 RENAULT 7711135042 149 150 172 173
VOLVO 30714048 211 8200048312 149 150 172 173
31201069 211 8200710940 149 150 172 173
36000759 211 7174025 RENAULT 7700435589 166
8603593 211 7174026 RENAULT 8200895863 149 150 172 173
7076077 MINI 32416758148 82 7174029 DACIA 490013367R 48 49
32416760248 82 490019371R 48 49
32416760567 82 8200720881 48 49
32416769758 82 7174030 RENAULT Part/oe 7711368394 161 162 163 167
32416769759 82 Part/oe 8200463517 161 162 163 167
32416769962 82 7174031 RENAULT Part/oe 8200565645 146 165
32416769963 82 7174032 RENAULT Part/oe 8200565646 146
32416771404 82 7174035 NISSAN 490018112R 84
32416778424 82 OPEL 4420081 96
32416778425 82 RENAULT 480018112R 175
7076078 AUDI 8E0145155N 9 7174035 RENAULT 490016975R 175
SEAT 8E0145155N 181 7176001 TOYOTA 4425052010 191
7076079 FORD 1325147 68 70 7176002 FIAT 7648758 51 52
1416165 68 70 LANCIA 7648758 71
1755033 68 70
4330726 68 70 7176003 NISSAN 490011M220 83 84
7170001 PEUGEOT 4000LJ 117 490012F901 83 84
7170002 PEUGEOT 4000NZ 122 490012F911 83 84

218

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value




CORRESPONDANCE SASIC = ORIGINE

CROSSING LIST SASIC = O.E

@ MARQUE Réf.ORIGINE Ne st MARQUE Réf.ORIGINE N°
Make OE PAGE Make OFE PAGE
7176005 OPEL 5900237 87 95 9006042 FORD 3945113 64 72
900365 87 95 6772864 64 72
7176007 OPEL 900352 89 96 9006042B FORD 3945113 64 72
7176014 FIAT 46480618 55 6772864 64 72
7176020 VOLKSWAGEN 701422061BX 210 9006063 FORD 6935233 64 67 71 73 74
7176029 FORD 1205998 70 9006064 AUDI 811419831B 4
1353236 70 9006065 AUDI 1J0422831B 7
SEAT TM3422061C 179 SEAT 1J0422831B 184 187
TM3422061CX 179 SKODA 1J0422831B 189
TM3422061EX 179 VOLKSWAGEN 1J0422831B 192 193 197
VOLKSWAGEN TM3422061 208 9006067 AUDI 4D0419831D 8 10
TM3422061C 208 VOLKSWAGEN 4D0419831D 204
TM3422061CX 208 9006068 AUDI 8D0419831J 8
TM3422061EX 208 VOLKSWAGEN 8D0419831J 204
7176030 FORD 1205918 71 9006069 OPEL 47001740 85
1330433 71 9006070 OPEL 900613 89
1434055 71 9006070B OPEL 900613 89
7176031 OPEL 5900222 91 94 9006071 OPEL 900279 89 96
7176032 OPEL 5900223 91 94 9006071B OPEL 900279 89 96
7176033 OPEL 5900265 88 95 9006072 FORD 1012814 65 66 67 69 71 74
7176034 BMW 32136751745 16 4045250 65 66 67 69 71 74
7176035 NISSAN 490011F705 84 7138554 65 66 67 69 71 74
490015F210 84 9006073 FORD 6869950 75
490016F601 84 9006074 FORD 3904122 64 71
7176037 AUDI 8D1422052CX 8 9006075 FORD 6160070 75
VOLKSWAGEN 8D1422052CX 204 9006077 FORD 6182818 65 68 69 73
7176039 BMW 32106765013 11 14 15 17 9006080 FORD 7398680 70
7176040 BMW 32136755065 13 9006081 MERCEDES 9014605500 80 81
32136757651 13 9014620096 80 81
7176041 FORD 1354155 70 74 9006082  VOLKSWAGEN 357422831B 193 195 196 199 201 203 209
7176042 MERCEDES 6394601200 81 9006083 SEAT 6N0419831 179
7176043 AUDI 1K1423051BE 7 VOLKSWAGEN 6N0419831 201 206
1K1423051BJ 7 9006084 SEAT 1H0422831B 181 182 187
1K1423051BN 7 VOLKSWAGEN 1H0422831B 193 194 195 196 199 201
1K1423051BQ 7 203 206 209 210
1K1423051CC 7 9006085 FIAT 7583243 55 59
1K1423055CX 7 9006087 FIAT 7583242 55 59
SEAT 1K1423055CX 186 9006700 AUDI 431419831 5 10
SKODA 1K1423055CX 189 9006701 FIAT Part/oe 9946947 56 58
VOLKSWAGEN 1K1423051BE 198 199 9006702 FIAT Part/oe 9945564 51 56
1K1423051BJ 198 199 9006703 ALFA ROMEO Part/oe 9941582 12
1K1423051BN 198 199 FIAT Part/oe 9941582 51 52 53 54 58
1K1423051BQ 198 199 Part/oe 9947369 51 52 53 54 58
1K1423051CC 198 199 9006704 MINI 32136756757 81 82
1K1423055CX 198 199 9006705 BMW 32131096465 14
7176047 ALFA ROMEO 60655482 3 32131096910 14
60661952 3 9006707 BMW 32131092876 16
60670958 3 9006709 BMW 32211139786 12 15
7176049 FIAT 46401485 51 52 9006710 OPEL 902827 89 90 92 96
46446303 51 52 9006711 OPEL 1609121 90
46455726 51 52 9006712 OPEL 1609153 88 95
71722450 51 52 9006713 OPEL 1609076 85
7176050 FIAT 46456742 54 9006714 OPEL 902829 85 92
46456746 54 9006715 OPEL 4408476 97
71722512 54 RENAULT 7701473334 176
71722542 54 9006717 OPEL 1603241 91
7176053 ALFA ROMEO 60670084 2 9006718 SEAT 6N0422831 179
60670085 2 VOLKSWAGEN 6N0422831 201 206
60693858 2 9006720 TOYOTA 4553552010 191
60695636 2 9006721 TOYOTA 4553509010 191
7176055 MERCEDES 1684602000 79 9006722 TOYOTA 4553552060 191
7176057 TOYOTA 4425042080 191 9006723 OPEL 1609096 93
7374001 RENAULT 8200565645 146 165 TOYOTA 4553505020 190
7374001B RENAULT 8200565645 146 165 9006725 FIAT Part/oe 9949216 57
7374005 DACIA 490018097R 49 50 9006730 FIAT Part/oe 98845034 60
7374005B DACIA 490018097R 49 50 9006740 FORD 4119193 64 72
7374030 RENAULT 8200463517 161 162 163 167 4775683 64 72
7374030B RENAULT 8200463517 161 162 163 167 9006742 NISSAN 48203AX600 84
7956001 MERCEDES 2024600405 79 RENAULT 7701475840 146 165
9006002 SEAT 191419063B 185 9006750 OPEL 1609113 87 88 95
VOLKSWAGEN 1914190638 194 199 207 1609527 87 88 95
9006003 SEAT 191419063C 180 181 185 9006752 OPEL Part/oe 1609095 93
191419063CX 180 181 185
VOLKSWAGEN 191419063C 194 195 200 208
191419063CX 194 195 200 208
9006012B  VOLKSWAGEN - 194 200 207
9006035 SEAT 191419831 181 182 187
VOLKSWAGEN 191419831 193 195 196 200 202 209
9006040 FORD 6163015 66 74
9006040B FORD 6163015 66 74
9006041 FORD 6185332 64 72

219

HO < DISVS $ss0I)



CORRESPONDANCE ORIGINE = SASIC
CROSSING LIST O.E = SASIC

Cross OE > SASIC

MARQUE . MARQUE @
Make OE Q@ @ Make OE ®
ALFA ROMEO 46410955 7076007 1 AUDI 8E0145155N 7076078 9
46533006 7076005 23 8E0145155X 7076048 10
46534757 7076005 23 8E0145156T 7076048 10
46755528 7006009 1 871423052C 7006003 6
60538590 7006010 13 871423052E 7006003 6
60590893 7006055 12 871423052] 7006003 6
60591513 7006057 3 871423052X 7006155 5
60591936 7006055 12
60594888 7006054 3 BMW 1128040 7076043 12
60655482 7176047 3 32102353823 2756028 1112 15 17
60661952 7176047 3 32106765013 7176039 11 14 15 17
60670084 7176053 2 32106765079 2756028 1112 15 17
60670085 7176053 2 32131092335 7006012 12
60670958 7176047 3 32131092876 9006707 16
60693858 7176053 2 32131096145 7006015 16
60695636 7176053 2 32131096465 9006705 14
Part/oe 77363828 2750004 4 32131096910 9006705 14
Part/oe 9941582 9006703 12 32131127086 7006011 12
9947921 2756031 23 32131134944 7006012 12
32131137198 7006012 12
32131140828 7006013 12 18
AUDI 050145155A 7076011 4 32131140833 7006012 12
050145155AX 7076011 4 32131140956 7006013 12 18
0501451558 7076011 4 32131140972 7006013 12 18
050145155BX 7076011 4 Part/oe 32136751026 2756025 17 18
110422154C 7076023 7 32136751745 7176034 16
1J0422154AX 7076023 7 32136755065 7176040 13
1J0422154C 7076023 7 32136757651 7176040 13
1J0422154E 7076023 7 32136761823 7006017 18
1J0422154EX 7076023 7 32211139786 9006709 12 15
1J0422154H 7076023 7 32411092433 7076049 12
1J0422154HX 7076023 7 32411092741 7076051 16
1304221541 7076023 7 32411092742 7076051 16
1J04221547X 7076023 7 32411092954 7076049 12
1J0422154X 7076023 7 32411093040 7076051 16
1J0422831B 9006065 7 32411093124 7076067 17
1J1422061AK 7006140 6 32411094098 7076051 16
1J1422062D 7006140 6 32411097149 7076051 16
1J1422062EX 7006140 6 32416756575 7076050 14
1J1422063M 7006140 6 32416756611 7076065 14
1J1422063MX 7006140 6 32416758595 7076065 14
1J1422063NX 7006140 6
1J1422075KX 7006140 6 CITROEN Part/oe 1607744580 7170026 45
1K1423051BE 7176043 7 1608025480 2750011 26
1K1423051BJ 7176043 7 Part/oe 1608652080 2750005 23 24
1K1423051BN 7176043 7 400039 7006090 44
1K1423051BQ 7176043 7 400042 0004424 43
1K1423051CC 7176043 7 00044248 43
1K1423055CX 7176043 7 4000A0 0054114 44
357422155G 7076008 9 0054114B 44
3B1422052D 7006141 8 4000AA 7006021 19 40
3B1422052M 7006141 8 4000AG 7170016 33
3B1422052MX 7006141 8 4000CA 7006041 35
3B1422052R 7006141 8 4000CQ 7006040 37
431419831 9006700 5 4000CV 7006022 20 40
443422065 7006000 5 4000E5 0004E54 45
4434220651 7006000 5 0004E54B 45
443422065LX 7006000 5 4000EC 7006102 45
443422066 7006000 5 4000G9 7006082 43
4B1422052 7006004 1 4000GQ 7006061 28
4B1422052X 7006004 1 4000JT 7170021 19 40
4D0419831D 9006067 8 4000JW 7006018 45
6E0419831 2756027 6 4000KH 7006035 19 35 38 40
811419831B 9006064 4 4000KK 7006023 19 40
811422065A 7006135 4 4000KN 7170021 19 40
8A1422065F 7006002 4 4000LV 7170044 27
8D0145155QX 7076025 9 4000NC 7006039 27
8D0145156A 7076064 9 4000NX 7006038 27
8D0145156AX 7076064 9 4000R2 7006034 34
8D0145156T 7076058 9 400080 7006035 19 35 38 40
8D0145156TX 7076058 9 400082 0004S24 19 34 40
8D0419831J 9006068 8 0004S24B 19 34 40
8D1422052BX 7006141 8 Part/oe 4000S8 7006037 30
8D1422052CX 7176037 8 4000TP 7170024 23 24
8D1422052M 7006141 8 4000V2 7006091 38
8E0145155 7076048 10 4000W6 0004W64 30
4000W8 0004W84 30

220

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.

References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value.




CORRESPONDANCE ORIGINE = SASIC

CROSSING LIST O.E = SASIC

MARQUE 8 MARQUE @
Make OE @ @ Make OE @
CITROEN 4000WT 7170029 23 CITROEN 406619 0664194 45
4000ZW 7170039 25 406620 0664154 20 32 38 39 41 43
4000ZX 7170041 25 406622 0664224 20 35 39 44
400126 7006093 29 47 406629 0664294 34
400171 7170042 26 406630 0664304 33 34
400172 7170043 26 406632 0664324 18 31
Part/oe 4001E4 7170026 45 406633 0664334
Part/oe 4001E5 7170025 46 406634 0664344 19 30
Part/oe 4001EC 7170046 27 406637 0664374 33
4004E4 7006089 45 406641 0664414 29 47
Part/oe 400622 2006170 46 406642 0664424 33 34
Part/oe 400622 2006171 46 406643 0664434 20 35 37 38 41 44
40070F 7070027 44 406644 0664444 20 35 40 44
40071E 7070031 31 406646 0664464 19 31
40072A 7070034 21 41 406648 0664484 31
40072C 7070006 37 406649 0664494 31
40073C 7070007 36 37 406650 0664504 31
40073E 7070007 36 37 406662 0664624 37
40074A 7070026 32 406664 0664744 27
40075C 7070005 21 42 Part/oe 406669 0664694 23 24 25
40076A 7070049 28 406670 0664704 29
40076C 7070016 22 42 406671 2750001 28
40077A 7070038 28 29 47 Part/oe 406673 0664574 20 25 26 41
40078E 7070035 29 406674 0664744 27
400793 7070022 21 36 39 Part/oe 406680 2750005 23 24
40079E 7070038 28 29 47 Part/oe 406682 2750012 20 25 26 41
4007AL 7070048 21 42 Part/oe 406684 2750006 22
4007AR 7070007 36 37 Part/oe 406686 2750007 46
4007AT 7070012 22 38 42 406688 2750008 28
4007CJ 7070003 46 Part/oe 406695 2750004 30 47
4007CQ 7070055 36 91510923 0664154 20 32 38 39 41 43
4007CW 7070013 47 9404000230 2006007 32 43
4007CX 7070038 28 29 47 2006007B 32 43
4007CZ 7070063 28 9404005480 0054484 30 32
4007E3 7070019 46 9404005520 0054524 30 32 43
4007JC 7070059 21 37 41 0054524B 30 32 43
4007JE 7070053 22 42 9451030980 7006034 34
4007TW 7070055 36 9451114580 2006003 38
4007KZ 7070007 36 37 2006003B 38
4007LC 7070007 36 37 9451136780 2006012B 32
4007LF 7070007 36 37 9451136980 7006033 32
4007LH 7070055 36 9455488480 0004424 43
4007LJ 7070041 37 0004424B 43
4007LN 7070004 22 36 42 9455851480 7006035 19 35 38 40
4007LP 7070004 22 36 42 95615722 2006010 22
4007LS 7070006 37 95615724 7006032 22
4007LT 7070012 22 38 42 95659460 2006004 18
4007P0 7070016 22 42 2006004B 18
4007R4 7070014 36 95659461 2006008 18
4007S5 7070028 33 95659527 2006005 18
400787 7070025 33 9624659580 7070001 29 47
4007SQ 7070062 25 26 9801760580 7170021 19 40
4007SR 7070062 25 26
4007T7 7070029 33 34 DACIA 490013367R 7174029 48 49
4007TQ 7070057 21 41 490018097R 7374005 49 50
4007V7 7070032 20 36 39 41 45 7374005B 49 50
4007V8 7070043 36 39 490019371R 7174029 48 49
4007V9 7070022 21 36 39 491100219R 7074005 48 50
4007VK 7070062 25 26 491101295R 7074013 49 50
4007VL 7070062 25 26 491105358R 7074013 49 50
4007VR 7070058 21 42 491106619R 7074013 49 50
4007WO0 7070014 36 491108814R 7074005 48 50
4007W1 7070044 21 36 39 6001547607 4006224 48 49 50
4007W3 7070016 22 42 6001547612 4006205 48 49
4007W5 7070002 29 47 4006205B 48 49
4007WL 7070059 21 37 41 6001548617 7074013 49 50
4007WP 7070004 22 36 42 6001550659 7074013 49 50
4007X9 7070038 28 29 47 6025370231 4006224 48 49 50
4007XV 7070062 25 26 7700840105 7074005 48 50
4007XW 7070062 25 26 7701470361 4006224 48 49 50
4007Y8 7070061 46 7711497481 7174017 48 49
400774 7070046 37 8200711377 7074005 48 50
400775 7070015 38 8200720881 7174029 48 49
400726 7070041 37 8200802927 4006205 48 49
Part/oe 4018A5 2006171 46 4006205B 48 49
406616 0664164 35 43 8200888510 7074005 48 50
406618 0664184 44 8200902356 4006205 48 49

221

JISVS < HO sso1)



Cross OE > SASIC

CORRESPONDANCE ORIGINE = SASIC
CROSSING LIST O.E = SASIC

MARQUE 5 MARQUE
Make OE Q@ @ Make OE ® @
DACIA 8200902356 4006205B 48 49 FIAT Part/oe 9945564 9006702 51 56
8200963696 7074013 49 50 Part/oe 9945837 2006170 61
8201108358 2754006 48 Part/oe 9945837 2006171 61
Part/oe 9946947 9006701 56 58
DS AUTOMOBILES  Part/oe 406682 2750012 50 Part/oe 9946982 2006171 61
Part/oe 9947369 9006703 51 52 53 54 58
Part/oe 9949216 9006725 57
FIAT 1310352080 7006089 60
1315183080 7006093 58 62 FORD 1003239 7006070 66 70 74
1323199080 7006102 61 1012806 7006069 66 73 74
1332771080 7006061 59 1012814 9006072 65 66 67 69 71 74
1336494080 7006018 61 1044673 7006062 75
1348591080 7006061 59 1092384 7006151 70
Part/oe 1359225080 7170025 62 1097743 7076047 72
Part/oe 1359226080 7170026 62 1103384 7076047 72
1489732080 7006061 59 1108365 7006068 64
46401485 7176049 51 52 1113038 7076071 70
46406954 7076001 56 1145276 7076055 69
46406957 7076002 51 53 56 1151059 7076018 69
46410955 7076007 52 53 56 1202685 7006070 66 70 74
46436958 7076004 51 52 53 54 1205918 7176030 71
46446303 7176049 51 52 1205998 7176029 70
46455726 7176049 5152 1225584 7076061 67 71 75
46456742 7176050 54 1237029 7006070 66 70 74
46456746 7176050 54 1253233 7076018 69
46459346 7076003 52 53 54 60 1306888 7076070 63
46480616 7006058 55 1323623 7006175 68
46480618 7176014 55 1325147 7076079 68 70
46524141 7076004 51 52 53 54 1329297 7076075 63 69
46533006 7076005 55 1330433 7176030 71
46534757 7076005 55 1336677 7006174 68 69
46541004 7076022 56 1336686 7006174 68 69
46545222 7006053 55 1341482 7006070 66 70 74
46553723 7076045 55 1353236 7176029 70
46763559 7076004 51 52 53 54 1354155 7176041 70 74
46764842 7006060 54 1361818 7076061 67 71 75
Part/oe 46833541 7006059 60 1362652 7076075 63 69
504000927 7076069 61 62 1415741 7076057 66 67
504184720 7076069 61 62 1416165 7076079 68 70
51820707 7006060 54 1418651 7006174 68 69
51839104 7076045 55 1418654 7006174 68 69
55186442 7076022 56 1434055 7176030 71
55186707 7076001 56 1436177 7076061 67 71 75
55186709 7076003 52 53 54 60 1465900 7006174 68 69
60591936 7006055 58 1467620 7076055 69
71718438 0004E54 60 1469241 7006070 66 70 74
0004E54B 60 1470514 7076075 63 69
71722450 7176049 51 52 1476372 7076063 75
71722512 7176050 54 1484948 7076075 63 69
71722542 7176050 54 1522127 7076061 67 71 75
7583242 9006087 55 59 Part/oe 1545456 2750004 63 68
7583243 9006085 55 59 1755033 7076079 68 70
7611323 7076068 52 53 57 58 3751946 7076054 67
7648758 7176002 51 52 3800571 7076020 65
7665182 7006055 58 3838803 7076019 69
7719021 7006090 60 63 3904122 9006074 64 71
77363710 2756012 54 3921317 7006064 64 71
Part/oe 77363828 2750004 54 55 57 62 3937085 7006070 66 70 74
Part/oe 77364254 2750007 62 3937535 7006069 66 73 74
Part/oe 77364571 2750004 54 55 57 62 3945113 9006042 64 72
7772950 7006058 55 9006042B 64 72
7772954 7006058 55 4004054 7006070 66 70 74
82437269 7006054 53 4032433 7076057 66 67
82480948 7006057 53 4032435 7076060 67 71 74
9404066418 0664414 59 62 4032436 7076061 67 71 75
9451178380 0004E54 60 4032437 7076052 65 67
0004E54B 60 4045250 9006072 65 66 67 69 71 74
9632876780 7070038 59 63 4046331 7006068 64
9633817680 7070038 59 63 4048773 7076044 67 71
9640830987 7070038 59 63 4059921 2756029 75
9640906480 7070038 59 63 4059922 2756030 75
9645464980 7070003 61 4070367 7076020 65
9750012099 0054114 60 4074608 7076019 69
0054114B 60 4077622 7006177 75
9791300380 7006090 60 63 4088255 7006069 66 73 74
Part/oe 98845034 9006730 60 4088258 7006068 64
Part/oe 9941582 9006703 51 52 53 54 58 4089493 7076018 69

222

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value.




CORRESPONDANCE ORIGINE = SASIC

CROSSING LIST O.E = SASIC

MARQUE - MARQUE
Make OE Q@ @ Make OE @ @
FORD 4119193 9006740 64 72 MINI 32416758148 7076077 82
4153203 7076060 67 71 74 32416760248 7076077 82
4158100 7076063 75 32416760567 7076077 82
4176206 7076020 65 32416763556 7076072 82
4178574 7076061 67 71 75 32416763557 7076072 82
4330726 7076079 68 70 32416766051 7076072 82
4335044 7076057 66 67 32416769758 7076077 82
4373198 7006070 66 70 74 32416769759 7076077 82
4511924 7006177 75 32416769962 7076077 82
4557891 7006177 75 32416769963 7076077 82
4775683 9006740 64 72 32416771404 7076077 82
5023570 7006063 73 32416778424 7076077 82
5023572 7006063 73 32416778425 7076077 82
5026739 7006065 64 72
6140559 7006067 73 NISSAN 48203AX600 9006742 84
6160070 9006075 75 48203BM400 2756014 83 84
6163015 9006040 66 74 490011F705 7176035 84
9006040B 66 74 490011M210 7006162 83
6182818 9006077 65 68 69 73 490011M220 7176003 83 84
6185332 9006041 64 72 490012F901 7176003 83 84
6645583 7006062 75 490012F911 7176003 83 84
6772864 9006042 64 72 4900140200 7006164 83
9006042B 64 72 490015F210 7176035 84
6869950 9006073 75 490016F601 7176035 84
6935233 9006063 64 67 71 73 74 490018112R 7174035 84
7138554 9006072 65 66 67 69 71 74 4900183J10 7006052 84
7294407 7006064 64 71 49001BNO13 7006163 83
7363543 7076053 65 491102F600 7076041 84
7398680 9006080 70 491106F800 7076074 84
F33CA674BA 7076038 72 49110BM701 7076073 83
FSRC3A674GA 7076020 65
F7RC3A674BC 7076044 67 71 OPEL 1603241 9006717 91
1609076 9006713 85
IVECO 2992592 2756005 76 1609087 2756002 90 96
Part/oe 93161288 2756022 76 Part/oe 1609095 9006752 93
Part/oe 1609096 9006723 93
LANCIA 1315183080 7006093 78 1609113 9006750 87 88 95
46480616 7006058 77 1609121 9006711 90
46533006 7076005 77 1609132 2756012 91 94
46534757 7076005 77 1609153 9006712 88 95
60591936 7006055 77 Part/oe 1609347 2750004 90
7648758 7176002 77 1609527 9006750 87 88 95
7772652 7006055 77 1609558 2756012 91 94
82452738 7006054 77 4408476 9006715 97
82480948 7006057 77 4415373 7006130 96
9633817680 7070038 78 4416188 7006167 97
4416873 7006167 97
4417849 7006167 97
LAND ROVER QAB000314 7006042 78 4418160+4401558 7074002 97
4418160+4410707 7074012 97
4418438 7006167 97
MAZDA 1415741 7076057 78 4418476 7006130 96
F7RC3A674BC 7076044 78 4418898+4401558 7074002 97
4418898+4410707 7074012 97
MERCEDES 0024662301 7076040 81 4418968 7006167 97
0024662601 7076032 80 81 4420081 7174035 96
0024662801 7076032 80 81 4420703 2754003 97
0034660701 7076032 80 81 4501258 7006130 96
1684602000 7176055 79 4501260 4006224 97
1684603500 7006161 79 47001740 9006069 85
168460350080 7006161 79 5900217 7006157 87 95
2024600405 7956001 79 5900222 7176031 91 94
2034601100 7006158 79 5900223 7176032 91 94
2034601300 7006159 79 80 5900237 7176005 87 95
2104602300 2756021 80 5900265 7176033 88 95
2104602400 7006160 80 900223 7006075 85 89 92
6384602900 7006051 80 900229 7006072 85 91 92
6384603000 7006051 80 900256 7006074 85 88 92
6394601200 7176042 81 900267 7006072 85 91 92
9014605500 9006081 80 81 900272 7006075 85 89 92
9014620096 9006081 80 81 900279 9006071 89 96
9006071B 89 96
MINI 32106770661 7006014 81 82 900294 7006071 89 91 96
32106777524 7006014 81 82 900310 7006071 89 91 96
32136756757 9006704 81 82 900312 7006079 93
32136762171 7006014 81 82 900322 7006077 93
32136764156 7006014 81 82 900336 7006072 85 91 92

223

JISVS <HO Sso.r)



Cross OE > SASIC

CORRESPONDANCE ORIGINE = SASIC

A CROSSING LIST O.E = SASIC
MARQUE MARQUE
Make OF - @ Make OE ® @
OPEL 900352 7176007 89 96 PEUGEOT 4000LJ 7170001 117
900363 7006078 86 94 4000LL 7170028 117
900365 7176005 87 95 4000N2 7006092 114
900387 7006077 93 4000N9 7006085 101
900391 7006077 93 4000NS 7170006 102 104
900605 7006157 87 95 4000NZ 7170002 122
900613 9006070 89 4000Q8 7006088 121
9006070B 89 Part/oe 4000QE 7006019 110 111
902827 9006710 89 90 92 96 4000R0 7170003 121
902829 9006714 85 92 4000S0 7006035 128
90295552 7076033 86 93 400082 0004S24 128
90409239 7076012 86 92 0004S24B 128
93168406 2754003 97 4000T1 7006094 99
948025 7076033 86 93 Part/oe 4000V0 7006037 99
948028 7076034 86 4000V2 7006091 107
948038 7076034 86 4000V4 7170011 107
948040 7076012 86 92 4000V6 7170012 107
948045 7076013 90 92 96 4000W6 0004Weo4 98
948046 7076012 86 92 4000W8 0004W84 99
948070 7076015 94 4000X8 7006100 115
948085 7076017 94 4000Y0 7006100 115
4000Y2 7006100 115
PEUGEOT Part/oe 1607744580 7170026 126 Part/oe 4000YK 7170038 110 111
1608025480 2750011 105 4000Z8 7006100 115
Part/oe 1608652080 2750005 105 Part/oe 4000ZJ) 7006019 110 111
400001 7006081 119 120 Part/oe 4000Z) 7170038 110 111
400009 7006081 119 120 Part/oe 4000ZK 7006019 110 111
400021 0004214B 112 Part/oe 4000ZK 7170038 110 111
400023 0004234 101 Part/oe 4000ZL 7006019 110 111
0004234B 101 Part/oe 4000ZL. 7170038 110 111
400025 0004294 113 Part/oe 4000ZN 7006019 110 111
0004294B 113 Part/oe 4000ZN 7170038 110 111
400029 0004294 113 400126 7006093 122 124 127
0004294B 113 Part/oe 4001E4 7170026 126
400039 7006090 128 Part/oe 4001E5 7170025 126
400042 0004424 101 Part/oe 4001E6 7170038 110 111
0004424B 101 Part/oe 4001L1 7170031 111
400046 0004464 112 Part/oe 400112 7170032 111
0004464B 112 400245 0024454 113
400053 0004534 98 400264 0024644 106
400054 0004544 98 400270 0024704 118 119
400061 7006082 101 0024704B 118 119
400063 7006082 101 400282 0024824 118
400064 7006085 101 0024824B 118
400068 7006083 112 400286 0024864 106
400069 7006097 112 400293 0024824 118
400072 7006084 114 0024824B 118
400073 7006084 114 400295 0024704 118 119
4000A0 0054114 127 0024704B 118 119
4000A5 0004A54 114 4004E4 7006089 125
0004A54B 114 400511 0054114 127
4000AA 7006021 128 0054114B 127
4000C0O 0004C04 107 400548 0054484 98
0004C04B 107 400552 0054524 98
4000C8 7006088 121 0054524B 98
4000CF 7006100 115 400584 0054844 106
4000CK 7170007 108 Part/oe 400622 2006170 125 126
4000CS 7006095 102 104 Part/oe 400622 2006171 125 126
4000CV 7006022 129 40070F 7070027 102 113 115
4000E5 0004E54 125 40071F 7070005 109 115 130
0004E54B 125 40072A 7070034 129
Part/oe 4000E7 7170038 110 111 40073C 7070007 104
4000EC 7006102 125 40074A 7070026 101
4000EW 7006095 102 104 40075C 7070005 109 115 130
4000GH 7006100 115 40075E 7070008 103
4000GQ 7006061 123 40076C 7070016 131
4000HH 7170022 116 40076E 7070009 103 105
4000HT 7006100 115 40077E 7070011 104
4000HW 7006020 116 400782 7070005 109 115 130
4000JT 7170021 128 400786 7070005 109 115 130
4000JW 7006018 126 40078E 7070035 117 123
4000K8 7006098 116 400793 7070022 109 130
4000K9 7006099 116 40079E 7070038 117 122 123 124 127
4000KH 7006035 128 4007AC 7070038 117 122 123 124 127
4000KK 7006023 129 4007AL 7070048 131
4000KN 7170021 128 4007AQ 7070009 103 105
4000L9 7006092 114 4007AT 7070012 131

224

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.

References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value.




CORRESPONDANCE ORIGINE = SASIC

CROSSING LIST O.E = SASIC

MARQUE 8 MARQUE
Make OE @ @ Make OE @ @
PEUGEOT 4007CJ 7070003 125 126 PEUGEOT 406657 0664574 103 104 110 111 112 113
4007CW 7070013 124 127 120 124 129
4007CX 7070038 117 122 123 124 127 406660 0664604 117
4007CZ 7070063 122 406664 0664744 122
4007E3 7070019 125 Part/oe 406669 0664694 101
4007GX 7070052 118 406670 0664704 123
4007JC 7070059 130 406671 2750001 118
4007JE 7070053 131 406672 2750002 118
4007KJ 7070039 103 105 Part/oe 406673 0664574 103 104 110 111 112 113
4007KX 7070039 103 105 120 124 129
4007L9 7070040 117 406674 0664744 122
4007LF 7070007 104 406675 0664604 117
4007LG 7070011 104 Part/oe 406680 2750005 105
4007LK 7070009 103 105 Part/oe 406682 2750012 103 104 110 111 112 113
4007LL 7070008 103 120 124 129
4007LP 7070004 131 Part/oe 406684 2750006 118
4007LQ 7070009 103 105 Part/oe 406686 2750007 127
4007LR 7070056 103 104 406688 2750008 120
4007LT 7070012 131 Part/oe 406692 0664574 103 104 110 111 112 113
4007NX 7070051 103 120 124 129
4007P0 7070016 131 Part/oe 406695 2750004 123 124
4007R0 7070033 117 122 9800248380 7070039 103 105
4007R2 7070024 102 9801760580 7170021 128
4007R4 7070014 109
4007TQ 7070057 130 RENAULT 480018112R 7174035 175
4007V5 7070023 103 482036715R 2754005 149 164 168
4007V6 7070021 103 482037616R 2754003 175
4007V7 7070032 102 109 113 115 128 130 490014576R 7174022 148
4007V8 7070043 109 115 490016975R 7174035 175
4007V9 7070022 109 130 490018929R 7174020 148
4007VN 7070047 110 111 491100219R 7074005 143 145 150 151 156 158
4007VR 7070058 130 160 167 173
4007VX 7070039 103 105 491105477R 7074015 153 154
4007W0 7070014 109 491108814R 7074005 143 145 150 151 156 158
4007W1 7070044 109 130 160 167 173
4007W3 7070016 131 6000025597 4006213 152
4007W5 7070002 123 124 127 6001547607 4006224 142 148 174
4007W7 7070045 104 6025070252 7006121 147
4007WL 7070059 130 6025370231 4006224 142 148 174
4007WP 7070004 131 7700426410 7006133 154 157 159 160 166
4007X9 7070038 117 122 123 124 127 7700429486 7174006 154 158 160
4007XE 7070039 103 105 7700429489 7174015 155 157 160
4007XF 7070009 103 105 7700429506 7174001 154 156 157 159 166
4007Y2 7070017 110 7700435589 7174025 166
4007Y8 7070061 125 126 7700435644 7006173 143 169
4008E6 7070047 110 111 7700554294 4006100 132 134
Part/oe 4018A5 2006171 125 126 7700653459 4006121 135 137 140 141 168
406603 0664034 113 7700656569 4006027 132 134
406608 0664084 119 7700678649 4006075 133 134 135 136 138 139
406610 0664104 119 155 170 171
406615 0664154 101 106 108 112 119 120 7700680852 4006120 135 137 140 141 168 176
406616 121 129 7700706007 4006021 133 135 136 138 139 140
406618 0664184 128 141 142 147 171 176
406619 0664194 128 7700774566 4006127 176
406620 0664154 101 106 108 112 119 120 7700781095 4006021 133 135 136 138 139 140
121 129 141 142 147 171 176
406621 0664214 114 121 7700781097 4006124 136 142 155
406622 0664224 102 106 108 112 129 7700795295 7074003 136 138 139 143
406626 0664264 119 120 7700802364 7074007 138 139 140 147
406627 0664274 114 120 7700823737 7074009 152
406628 0664284 114 7700840105 7074005 143 145 150 151 156 158
406629 0664294 121 160 167 173
406630 0664304 114 116 121 7700840106 7074006 156 157 167
406632 0664324 99 7700875710 7074010 148
406633 0664334 99 7701038839 4006220 166
406634 0664344 99 7701038840 4006217 166
406636 0664364 100 7701351087 7006104 135
406637 0664374 114 7701351310 7006103 133 170
406641 0664414 122 124 127 7701351475 7006121 147
406642 0664424 114 116 7701351832 7006165 133 171
406643 0664434 108 129 7701351833 7006103 133 170
406644 0664444 109 129 7701351847 7006109 137 139
406646 0664464 100 7701351857 7006105 136
406648 0664484 100 7701351861 7006107 136
406649 0664494 100 7701351983 7006114 147
406650 0664504 100 Part/oe 7701351997 7006118 142
7701351999 7174005 142

225

JISVS <HO Sso.)



Cross OE > SASIC

CORRESPONDANCE ORIGINE = SASIC

| CROSSING LIST O.E = SASIC
MARQUE 8 MARQUE
Make OE Q@ @ Make OE ® @
RENAULT Part/oe 7701352075 7006117 142 RENAULT 7701471733 7006128 147
7701352107 7006122 176 7701471895 7006134 154 156 157 158 159
7701352221 7006115 147 7701471988 7006129 144 149 172
7701352441 7006123 174 7701472765 2754001 153 154
7701352454 7174015 155 157 160 Part/oe 7701473334 9006715 176
7701352455 7006133 154 157 159 160 166 7701473652 4006227 144 150 151 172 173
7701352645 7006130 174 7701474075 4006225 148
7701429506 7006131 155 Part/oe 7701474448 2754002 161 162 163 168
7701435644 7006124 144 149 169 171 7701475840 9006742 146 165
7701461766 4006019 175 Part/oe 7701478400 2754007 151 162 174
40060198 175 7701498858 7006108 137 141
7701462168 4006010 134 7701498976 7006108 137 141
40060108 134 7702109906 4006001 132 134
7701462387 4006024 175 7711134174 7006171 149 172
4006024B 175 7711134508 7174009 144 169
7701463347 4006008 132 170 7711134512 7006124 144 149 169 171
4006008B 132 170 7711134569 7006169 153
7701463921 7006112 140 7711134965 7006129 144 149 172
7701463995 4006008 132 170 7711135042 7174023 149 150 172 173
4006008B 132 170 7711368390 7174019 161 162 163 167
7701463999 4006010 134 Part/oe 7711368394 7174030 161 162 163 167
40060108 134 7711368396 7006170 153
7701464083 4006017 137 138 7711368636 7174022 148
4006017B 137 138 7711368804 7006167 176
7701464089 7006111 137 139 7943010201 4006001 132 134
7701465315 4006015 135 7943010219 4006005 132
4006015B 135 4006005B 132
7701465388 4006011 134 135 8200033765 7006124 144 149 169 171
7701465477 4006009 133 8200033766 4006204 143 168
40060098 133 4006204B 143 168
7701465919 4006017 137 138 8200033768 7006172 143 168
4006017B 137 138 8200033832 4006200 170
7701466059 4006012 142 4006200B 170
4006012B 142 8200048312 7174023 149 150 172 173
7701466375 4006015 135 8200055676 7174009 144 169
4006015B 135 8200096704 7074015 153 154
7701466401 4006018 137 138 8200096712 7174022 148
7701466467 7006113 140 8200276161 7006129 144 149 172
7701466485 4006009 133 8200324632 7174019 161 162 163 167
40060098 133 8200408078 7006167 176
7701466493 7006103 133 170 8200430195 7006169 153
7701466545 7006109 137 139 8200430198 7006170 153
Part/oe 7701466547 7006110 137 139 8200463517 7174030 161 162 163 167
Part/oe 7701466591 7006105 136 Part/oe 8200463517 7374030 161 162 163 167
7701466595 7006107 136 7374030B 161 162 163 167
7701466725 7006103 133 170 Part/oe 8200565645 7174031 146 165
7701466848 7006120 165 8200565645 7374001 146 165
7701467179 7006114 147 7374001B 146 165
7701467262 7174005 142 Part/oe 8200565646 7174032 146
7701467263 7006118 142 8200706713 7006169 153
7701467471 4006013 142 8200706726 7006170 153
4006013B 142 8200709229 7074015 153 154
Part/oe 7701467473 7006117 142 8200710940 7174023 149 150 172 173
7701467497 7006119 151 152 8200711377 7074005 143 145 150 151 156 158
7701467499 7174002 152 160 167 173
7701467947 7006165 133 171 8200770043 7174009 144 169
7701468145 7006115 147 8200838037+
7701468281 7006132 154 157 158 159 7700108973 7074001 175 177
7701469044 7174003 165 8200838037+
7701469486 4006214 145 155 156 158 159 160 7700111040 7074012 175 177
167 169 8200838037+
7701469487 4006222 155 158 160 7700115621 7074002 175 176
7701469496 4006215 144 150 155 156 157 159 8200875897 7006167 176
160 166 169 172 173 8200888510 7074005 143 145 150 151 156 158
7701469497 4006124 136 142 155 160 167 173
7701469564 4006218 166 8200891245 7174022 148
7701469566 4006221 166 8200895863 7174026 149 150 172 173
7701469617 4006021 133 135 136 138 139 140 8200917732 7006124 144 149 169 171
141 142 147 171 176 8200917748 7006172 143 168
7701469657 4006213 152
7701470359 7006130 174 ROVER GDR1166 7006072 178
7701470361 4006224 142 148 174 GSR1142 7006125 178
7701470753 4006227 144 150 151 172 173 QAB102452 7006044 177
7701470783 7074008 145 150 151 169 173 174 QAB102971 7006043 177
7701471141 4006223 145 169 QVB100600 7076037 178
7701471301 7006132 154 157 158 159 QVB100690 7076035 177
7701471732 7006168 141 148

226

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.

References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value.




CORRESPONDANCE ORIGINE = SASIC

CROSSING LIST O.E = SASIC

MARQUE 8 MARQUE @
Make OE @ @ Make OE @
SEAT 028145157D 7076009 183 187 SKODA 1J0422831B 9006065 189
028145157DX 7076009 183 187 171422061 AK 7006140 189
032145157A 7076010 181 183 1J1422061F 7006140 189
032145157AX 7076010 181 183 1714220618 7006140 189
037145157D 7076029 183 1J1422062D 7006140 189
037145157DX 7076029 183 1J1422062EX 7006140 189
110422154C 7076023 185 187 1J1422063MX 7006140 189
191419063B 9006002 185 1J1422063NX 7006140 189
191419063C 9006003 180 181 185 1J1422075KX 7006140 189
191419063CX 9006003 180 181 185 1K1423055CX 7176043 189
191419831 9006035 181 182 187 3B1422052MX 7006141 190
191422055 7006150 80 182 186 6E0419831 2756027 188
191422061KX 7006137 180 182 185 6N0145157 7076024 189
1H0422831B 9006084 181 182 187 6N0422154EX 7076010 188
1H1422055 7006149 180 181 186 6Q1423061M 7006155 188
1J0422154AX 7076023 185 187 6Q1423061MX 7006155 188
1J0422154C 7076023 185 187 6X0422154 7076010 188
1J0422154D 7076021 185 188 6X0422154X 7076010 188
1J0422154E 7076023 185 187
1J0422154EX 7076023 185 187 TALBOT 400552 0054524 190
1J0422154H 7076023 185 187 0054524B 190
1J0422154HX 7076023 185 187
1J0422154] 7076023 185 187 TOYOTA 4425005061 7006045 190
1J04221547X 7076023 185 187 4425005160 7006045 190
1J0422154X 7076023 185 187 4425042080 7176057 191
1J0422831B 9006065 184 187 4425052010 7176001 191
1J1422060KX 7006140 184 186 4553505020 9006723 190
171422061 AK 7006140 184 186 4553509010 9006721 191
1J1422062D 7006140 184 186 4553512060 2756032 190 191
1J1422062EX 7006140 184 186 4553512100 2756032 190 191
1J1422063B 7006140 184 186 4553533010 2756032 190 191
1J1422063M 7006140 184 186 4553552010 9006720 191
1J1422063MX 7006140 184 186 4553552060 9006722 191
1J1422063NX 7006140 184 186
1J1422065F 7006140 184 186 VOLKSWAGEN 027145157 7076039 195 203
1J1422075KX 7006140 184 186 028145157D 7076009 196 199
1K1423055CX 7176043 186 028145157DX 7076009 196 199
6E0419831 2756027 180 184 032145157A 7076010 202 207
6K0422154 7076009 183 187 032145157AX 7076010 202 207
6K0422154X 7076009 183 187 037145157DX 7076029 197
6K1422061A 7006138 180 182 186 188 044145157AX 7076031 210
6K1422061C 7006138 180 182 186 188 110422154C 7076023 192 197 198
6K1422061CX 7006142 180 182 191419063B 9006002 194 199 207
6K1422061DX 7006142 180 182 191419063C 9006003 194 195 200 208
6N0145157 7076024 181 183 187 191419063CX 9006003 194 195 200 208
6N0419831 9006083 179 191419831 9006035 193 195 196 200 202 209
6N0422154EX 7076010 181 183 191422055 7006150 193 194 200
6N0422155 7076028 183 191422061KX 7006137 193 194 200 207
6N0422831 9006718 179 19142206 1MX 7006143 194 200
6N1422061C 7006147 179 191422065 7006152 194 200
6N1422061CX 7006147 179 191422155 7076039 195 203
6N1422061E 7006153 179 1HO01451570X 7076030 196 198 203 208 210
6N 1422061 EX 7006153 179 1H0422155D 7076030 196 198 203 208 210
6Q1423061M 7006155 184 1H0422831B 9006084 193 194 195 196 199 201
6Q1423061MX 7006155 184 203 206 209 210
6X0422154 7076010 181 183 1H1422055 7006149 193 195 209
6X0422154X 7076010 181 183 1H1422061 7006144 195 209
TMO0145157AA 7076071 179 1H1422061CX 7006144 195 209
TM1422061D 7006151 179 1H1422061D 7006145 195 209
7TM1422061DX 7006151 179 1H1422061DX 7006145 195 209
TM3422061C 7176029 179 1J0422154AX 7076023 192 197 198
7TM3422061CX 7176029 179 1J0422154C 7076023 192 197 198
TM3422061EX 7176029 179 1J0422154D 7076021 192 198
8E0145155N 7076078 181 1J0422154E 7076023 192 197 198
1J0422154EX 7076023 192 197 198
SKODA 032145157A 7076010 188 1J0422154H 7076023 192 197 198
032145157AX 7076010 188 1J0422154HX 7076023 192 197 198
110422154C 7076023 189 1J0422154) 7076023 192 197 198
1J0422154AX 7076023 189 1J04221547X 7076023 192 197 198
1J0422154C 7076023 189 1J0422154X 7076023 192 197 198
1J0422154E 7076023 189 1J0422831B 9006065 192 193 197
1J0422154EX 7076023 189 171422061 AK 7006140 192 193 197
1J0422154H 7076023 189 1J1422062D 7006140 192 193 197
1J0422154HX 7076023 189 1J1422062E 7006140 192 193 197
1704221541 7076023 189 1J1422062EX 7006140 192 193 197
1J04221547X 7076023 189 1J1422063M 7006140 192 193 197
1J0422154X 7076023 189 1J1422063MX 7006140 192 193 197

227

JISVS < HO ssox)



CORRESPONDANCE ORIGINE = SASIC

Cross OE > SASIC

| CROSSING LIST O.E = SASIC
MARQUE 8 MARQUE
Make OE Q@ @ Make OE ® @
VOLKSWAGEN  1J1422063NX 7006140 192 193 197
1J1422065F 7006140 192 193 197
1J1422075KX 7006140 192 193 197
1K1423051BE 7176043 198 199
1K1423051BJ 7176043 198 199
1K1423051BN 7176043 198 199
1K1423051BQ 7176043 198 199
1K1423051CC 7176043 198 199
1K1423055CX 7176043 198 199
357422061D 7006154 202
357422065 7006139 202
357422155G 7076008 203
3574228318 9006082 193 195 196 199 201 203 209
3A1422061B 7006154 202
3B1422052M 7006141 204
3B1422052MX 7006141 204
3B1422052R 7006141 204
4D0419831D 9006067 204
6E0419831 2756027 201 206
6K0422154 7076009 196 199
6K0422154X 7076009 196 199
6K1422061A 7006138 196 206 209
6K1422061C 7006138 196 206 209
6K1422061CX 7006142 210
6M1422061A 7006147 201 205
6N0145157 7076024 192 196 202 203 207
6N0419831 9006083 201 206
6N0422154EX 7076010 202 207
6N0422831 9006718 201 206
6N1422061C 7006147 201 205
6N1422061CX 7006147 201 205
6N1422061E 7006153 201 206
6N1422061EX 7006153 201 206
6N1422061X 7006147 201 205
6Q1423061G 7006155 205
6Q1423061M 7006155 205
6Q1423061MX 7006155 205
6X0422154 7076010 202 207
6X0422154X 7076010 202 207
701422061BX 7176020 210
7014221558 7076031 210
701422155BX 7076031 210
718422061 7006151 208
7D0419831 2756003 210
TMO145157AA 7076071 208
7M1422061D 7006151 208
TM1422061DX 7006151 208
TM3422061 7176029 208
TM3422061C 7176029 208
TM3422061CX 7176029 208
TM3422061EX 7176029 208
811422065F 7006135 202 207
8D0145155QX 7076025 205
8D0145156A 7076064 204
8D0145156AX 7076064 204
8D0145156T 7076058 205
8D0145156TX 7076058 205
8D0419831J 9006068 204
8D1422052BX 7006141 204
8D1422052CX 7176037 204
8D1422052M 7006141 204
VOLVO 1387500 7006148 211
30714048 7076075 211
31201069 7076075 211
36000759 7076075 211
8603045 7076027 211
8603593 7076075 211
9125202 7076027 211

Les références constructeurs (origine) ne servent qu'a identifier les pieces et sont données a titre indicatif.
228 References from carmakers or OE suppliers, are given for identification of the parts and have only a guidance value.



Ets BG DISTRIBUTION
135 Av. Louis Roche
92230 GENNEVILLIERS
= 0141210545
Fax : 0141210787

MAGASIN CENTRAL
PUTANGES
Zone Industrielle
61210 PUTANGES
= : 0233678020
Fax : 0233 67 8029

Ets ADIPA

10 Rue du Lamineur

BP 20381

44819 ST-HERBLAIN CEDEX
= :02409221 21

Fax :0240922324

Ets BEZIAT

34 Rue Marcel Delattre

BP131

33321 BEGLES CEDEX
= :055649 54 44

Fax : 0556490026

Ets CEDIS

82 Rue de Fenouillet

31200 TOULOUSE
T:0561479244

Fax : 0561573099

Dépobts regionaux

Ets NORD
EQUIP'AUTO
40, Rue Chalant
59790 RONCHIN

7T :0320533743
Fax :03 20529020

Ets FED ALAUREX
28, Av. des Erables
54180 HEILLECOURT
=:0383 180170
Fax : 03831801 79

Ets CENTRAL DEPOT

4 Rue Etienne Dolet

Z 1 Des Forges

18100 VIERZON
=:0248713399

Fax :0248 754294

Ets CDAL

8 Rue de Bourgogne

69800 ST PRIEST
=:0437561515

Fax : 0437561516

AUTOMAX

24 Bd Fifi Turin

13010 MARSEILLE
= : 0442416000

Fax :04 42 41 60 09

* (1) Nouvelle adresse (2) changement de dépot

Dépbts a I'étranger
Warehouses abroad

ITALIE

C.R.C. RICAMBISTI CAMPANI
CORSO TOMMASO VITALE 98 POLAND
80035 NOLA NA

Phone : 0815108361

LOGISTICS SERVICE
Phone : +33 (1) 30 25 78 40
Fax :+33(1)302578 49

FULL PARTS SRL

UWF DYNAMICSPARTS
VIA AUSA APPERSDORFERSTRASSE 17
173 CERASOLO 85406 GERLHAUSEN
47853 CORIANO RN ALLEMAGNE
ITALIE Phone : +49 70099775600
Phone : +39 05 41 79 53 95 Fax :+49 816795781199

Fax :4390541 774943

229



230

Traductions, abréviations et symbols
Translations, abreviations & symbols

FRANCAIS ENGLISH ESPAGNOL DEUTSCH POLSKI

Assistance variable
Assistance non variable
Avec

Avec Servotronic
Berline

Break

Blanc

Bleu

Boitier alu

Boitier fonte
Catalytique

Carter alu

Colliers

Coté chape de vérin

Cot€ opposé au pignon
Coté pignon
Coté pivot

Course mécanisme

Dents
Distributeur fonte
Dir a vérin ext.

Empattement
Gorge

Jaune

Marquage

Noir

Non parametrique
Pas variable
Pistons

Repere

Sans

Sans support

Sauf (Spfg)

Sortie raccord a gauche
Sortie raccord a droite
Trou support

Variable assistance
Non variable assistance
With

With speed sensor
Saloon car

Station wagon
White

Blue

Aluminium casing
Iron casing
Catalytic
Aluminium cover
Clamps

Base of jack side

Opposite pinion side
Pinion side
Pivot side

Courroie profil trapézoidal| Trapezoidal profile belt

Steering stroke

Teeth
Iron distributor
Power steering outer jack

Wheelbase

Groove

Yellow

Marking

Black

Non parametric
Variable pitch
Pistons

Mark

Without

Without mounting
Except

Output link on the left
Output link on the right
Hole mounting

Asistencia variable
Asistencia no variable
Con

Con sensor de velocidad
Berlina

Familiar

Blanco

Azul

Caja Aluminio
Caja fundicién
Catalitico

Carter aluminio
Collares

Lado capa de gato

Lado opuesto al pifion
Lado piiién

Lado pivote

Perfil trapezoidal correa
Persigue mecanismo

Dientes iy
Distribuidor fundicién
Direccién a gato exterior]

Asiento

Garganta

Amarillo

Marcado

Negro

No parametrico

Paso variable

Piston

Indicacién

Sin

Sin soporte

Excepto

Salida racor a la izquierda
Salida racor a la derechg
Hoya soporte

Verénderliche Unterstiitzun;
Nicht verdnderlich Unter.
Mit
Mit Servotronic
Limousine
Kombi
Weil3
Blau
Aluminiumgehiuse
Giilenheisengehaiise
Katalysator
Aluminiumgehiuse
Halsketten
Zylinderdeckel Seiten

Gegentiber: Seite des Ritzels
Riaderwerk Seite

S “in(li%l Seite Gl

Skok mlsgﬁza%l?zmu

Zahn
Gusseisenverteiler
Richtung du3. Zylinder

Radabstand

Rille

Gelb

Kennzeichnung
Schwarz
Nichtparametrische
Steigung variabel
Kolben

Markierung

Ohne

Ohne Stiitze

AuBer
Flickenausgang nach links
Flickenausgang nach rechts
Loch Unterstiitzung

b Wspomag. zmienne
wspomaganie stale
4

7. servotronic
Sedan

Kombi

Bialy

Niebieski
Obudowa alu
Obudowa zeliwna
Katalisator
Obudowa alu
Opaski

Od strony uchwytu
silownika

Strona przec. do kola
Od strony kola
Pivot boczne

Pas trapezowy profil
skok mechanizmu
ukladu kier.

Zeby

Suwak z zeliwa
'Wspomaganie kier.
silownik zewnetrzny
Rozstaw osi
Rowek

Z6lty
Oznakowanie
Czarny

Skok zmienny
Tloki

Oznaczenie

Bez

Bez wspornika
Zwyjatkiem

'Wylot zlacza lewego
Wylot zlacza prawego
Otwor wspornika

ABS Systeme anti Antiskid system Systema contra casquijo| Antiblockiersystem System zapobiegania
blocage des roues blokowaniu kol

BVA Boite automatique Automatic gearbox Caja de velocid. auto Automatisches Getriebe | Skrzynia auto

BVM Boite manuelle Mechanical gearbox Caja de velocid. mecanica] Mechaniche Getriebe Skrzynia manualna

Cab. Cabriolet Convertible Cabriolet Kabriolett Kabriolet

-ch Jusqu'au chassis N° Up to chassis Nr Hasta bastidor N° Bis Fahrgestell Nr. Do nadwozia

Ch- Depuis chassis N° From chassis Nr Desde bastidor N° Ab Fahrgestell Nr. Od nadwozia

DNA Direction non assistée |Manual steering Direccion mecdnica Manuelle Lenkung Bez wspomag. Kier.

DA Direction assistée Power steering Direccion asistida Servolenkung Ze wspomag. Kier.

D Droit Right Derecha Rechts Prawa

Ext. Extérieur Outer Exterior Auflen Zewnetrzny

G Gauche Left Izquierda Links Lewa

G/D Gauche et droite Left and right Izquierda y derecha Links und rechts Lewa i prawa

Inj. Injection Injection Inyeccién Injektion Wirysk

-M Jusqu'au moteur N° Up to engine Nr Hasta motor N° Bis motor Nr. Do silnika Nr

M- Depuis moteur N° From engine Nr Desde motor N° Ab motor Nr. Od slinika Nr
Electrique Electric Electrico Elektrisch Elektryczny

Raccord pression

Pressure link

Manguito presion

Flicken druckverbindungen

zlacze cisnienie

Raccord retour

Return link

Manguito de retorno

Riickverbindung

zlacze powrot

Montage

Fitting

Montaje

Montage

Montaz

Pignon cannelé

Pinion with splines

Pifion acanalado

Zahnrad kanneliert

kolo rowkowane

Pignon plat Pinion with flats Pifién llano Zahnrad Schale kolo zebate z
plaskownikami
Raccord lisse Smooth connection Manguito liso Glatte Verbindung Latwy dostep




1/ GENERALITES :

Toute remise de commande ou passation de marché avec notre Société comporte acceptation implicite par
1'acheteur, des conditions ci-dessous.

La réception de notre accusé de commande sans réserve écrite immédiate, vaut donc acceptation de ces
conditions. Il ne pourra y étre dérogé que par mention écrite figurant sur nos offres ou accusés de réception
de commandes.

2/ PRIX ET CONDITIONS DE LIVRAISON :

Les prix de notre Tarif Général, de nos tarifs particuliers, ou ceux donnés a nos clients par nos représentants,
n'ont qu'une valeur indicative. Ils peuvent étre modifiés sans préavis et ne nous lient pas a terme. Sauf
spécification formelle, la validité de nos offres ne dépasse pas 30 jours.

Dans tous les cas le contrat de vente ne devient effectif qu'apres acceptation écrite de la commande par notre
Service Export, le prix facturé normalement étant celui en vigueur a la date de mise a disposition.

Sauf conditions particulieres écrites, nos prix unitaires calculés en Euros s'entendent

" Départ usine - PUTANGES - Orne". IIs n'incluent pas I'emballage et le transport qui sont calculés en sus.
La livraison est réputée, effectuée dans notre usine et les conditions de vente telles que Franco Transitaire
F.O.B. ou C.A F ne sont considérées que comme des concessions de prix sans déplacement de
responsabilité ; nos prix a I'Export sont nets hors taxes.

Les marchandises voyagent donc aux risques et périls de l'acheteur auquel il appartient de prendre toutes
dispositions aupres des transitaires, transporteurs, assureurs, etc... pour protéger ses intéréts. A cet égard,
I'acheteur est réputé assurer les marchandises dans tous les cas de vente non C.A.F., contre les risques de
vol, perte, avarie ou destruction. En cas de dommages survenus au cours du transport, la responsabilité¢ du
fournisseur ne sera pas engagée.

SASIC pourra cependant aider I'acheteur a sauvegarder ses intéréts, dans la mesure ou toutes les dispositions
nécessaires auront effectivement été prises par l'acheteur lui-méme.

3/ DELAIS DE LIVRAISON :

Ils sont donnés a titre indicatif et sans engagement. Un retard de livraison quelle qu'en soit la raison ne peut
justifier 'annulation ou la suspension d'une commande par I'acheteur. I ne pourra en aucun cas donner lieu
a des pénalités ou a des indemnités. Cela vaut également pour les livraisons partielles.

Le respect des délais dépend aussi de la stricte observation des conditions de paiement.

A défaut d'obtention de garanties suffisantes, une commande pourra étre refusée et un marché méme
préalablement accepté, pourra étre suspendu ou annulé sans indemnité.

4/ CONDITIONS DE PAIEMENT, INTERETS DE RETARD :

Sauf conditions particulieres écrites, le paiement s'effectue en nos bureaux, comptant a réception de facture
et sans escompte. Dans le cas du non respect par 1'acheteur des échéances convenues tout retard dans le
paiement entraine de plein droit, le jour suivant la date de réglement figurant sur la facture, I'exigibilité
d'intéréts de retard a un taux égal a trois fois le taux d'intérét légal conformément a l'article L.441-6 du Code
de commerce, ainsi qu'une indemnité forfaitaire pour frais de recouvrement d'un montant de 40 Euros suivant
T'article D.441-5 du Code de commerce. La totalité de la dette non échue deviendrait de plein droit
immédiatement exigible avec possibilité¢ pour SASIC de suspendre ou annuler les commandes en cours.
Les taux ci-dessus seront réajustés automatiquement selon 1'évolution du taux de I'intérét légal et des taux
du marché monétaire en France.

5/ RESERVE DE PROPRIETE DES MARCHANDISES :

Application des lois 80-335 du 12 Mai 1980 et 85-98 du 25 Janvier 1985.

Les marchandises facturées par SASIC demeurent sa propriété jusqu'au paiement intégral du prix
convenu et de ses accessoires. Jusqu'a cette date, les marchandises seront ées étant en
dépot chez 1'act qui en alar bilité depuis la sortie de notre Usine ou de nos
Dépots.

En cas de non paiement a I'échéance contractuelle, elles devront étre restituées sans formalité, des la premiere
demande de SASIC, qui se prévaut des dispositions prévues par la loi en cas de redressement et de liquidation
judiciaire de I'acheteur.

ez

6/ RECLAMATIONS - GARANTIE :

SASIC fabrique et distribue des pieces détachées adaptables aux véhicules automobiles. Si malgré les soins
apportés a la fabrication comme a la sélection de nos fournisseurs, il était reconnu que nos fournitures
comportaient un défaut de matiere ou de fabrication, SASIC ne serait tenue qu'a la réparation gratuite par
ses soins, ou a son choix, au remplacement des pieces défectueuses. Dans le cas ot la réparation ou le
remplacement s'avererait impossible pour quelque raison que ce soit, SASIC ne serait tenue qu'au seul
remboursement de la valeur des pi¢ces défectueuses facturées sans prise en compte de frais supplémentaires
ni indemnité d'aucune sorte. Cela s'applique également en cas de livraison non conforme.

Dans tous les cas, la garantie ne peut étre mise en oeuvre qu'aprés réclamation écrite, adressée au plus tard
60 jours apres la facturation des marchandises et aprés examen par nous-mémes suivi de notre accord sur le
bien fondé de la réclamation. Aucune réclamation ne sera acceptée en cas de montage incorrect, de réparation
locale ou de rénovation de nos pieces.

La garantie ne couvre que les produits vendus sous la marque SASIC et figurant dans nos documentations.
Nous déclinons toute responsabilité en cas d'erreur de références ou de désignation par I'acheteur et nous
n'acceptons pas, dans de tels cas, le retour des pieces.

Lorsqu'apres accord du Service Export SASIC et en I'absence de faute du fournisseur, un retour de pieces
est accepté, tous les frais de retour et de déballage sont a la charge de 1'acheteur.

7/ MINIMUM DE COMMANDE - FRAIS ADMINISTRATIFS :

Nous n'acceptons pas les commandes inférieures a 1000 Euros.

Pour les expéditions par Colis Postaux, les prix habituels sont majorés de 10 %.

Pour toute facturation n'atteignant pas un montant Départ Usine de 1000 Euros, des frais forfaitaires
de 100 Euros s'ajouteront au montant des marchandises.

Ces frais atteindront 7 % du montant des marchandises pour les expéditions d'une valeur

de 1000 a2 000 Euros.

8/ ATTRIBUTION DE JURIDICTION :
Pour tous litiges y compris en cas d'appel en garantie ou de pluralité de défendeurs, les Tribunaux du
siege de la Société SASIC seront seuls compétents et la Loi Francaise s'appliquera.

SASIC a I'international - Conditions générales de vente
SASIC - general terms of sales

1/Application :
The following general terms of sales will be deemed to be accepted for any order placed with us, in absence
of immediate partial or total written refusal of these terms. No change in these terms will be valid without our

written acceptance.

2/Prices and delivery terms :

Prices of our General Export price list or of our special price lists, or those given by our representatives

or agents, have only guidance value. They do not bind us. They can be modified without notice.

Except in the case of different written indications, our offers are not valid after 30 days.

In any case sales contracts will not be valid before the written acceptance by our Export Department,

of our customers orders. We normally charge prices which are in force the day of the delivery.

Under normal conditions, our unit prices are nett exworks -Putanges Orne- they are calculated in Euros and
do not include packing and inland or sea freight which have to be added. They are “before tax”. The delivery
is deemed to be effected in our factory and any delivery term such as free carrier, Fob or even CIF should be
considered only as facilities granted to customers without any consequence on the customer’s responsability
on the goods.

Our goods travel under the responsability and at the risk of our customers. They should take any necessary
step near forwarding agents, carriers, insurance companies etc... to protect their interests.

Should goods be damaged between our factory and the customers warehouse, our responsability would not
be involved. We might however assist our customers to protect their interests in as much as any necessary
step has actually been taken by our customers themselves. In this respect the customer is deemed to insure

the goods when sales terms are not CIF, against all risks of pilferage, fire, damage by water, destruction etc...

3/Delivery time :

It is only given for information purpose and does not bind us. A late delivery can not justify a cancellation
of the order by the purchaser. It will in no case justify any request for indemnity. This also applies to partial
deliveries.

Failure by the customer to fulfill his financial commitments will involve postponed deliveries. In the event
of inadequate financial guarantees. SASIC will be entitled to refuse orders or even to postpone or to cancel

orders or contracts already accepted, without any indemnity for the purchaser.

4/Payments :

Except in the case of special written terms, they will be effected cash, without any cash discount, in our
offices immediately upon receipt of our invoices. Should the buyer do not respect the agreed expiry date,
any late payment automatically generates in full’s right, the day following the date of payment mentioned
on the invoice, the payability of interests calculated at a legal rate of three times the legal rate as defined in
article L 441- 6 of the French Code of Commerce as well as a fixed fee of 40 Euros for covering up cost
following art. D 441-5 of the French Code of Commerce,, and SASIC could require the payment of the whole
customer’s debt even if not yet due for payment. SASIC could also postpone or cancel any order in course.
Above rates will automatically be adjusted every year, taking into consideration variations of the legal rates
and of the French Monetary Market.

5/0Ownership of the goods: (french laws 80-335 of 12-05-80 and 85-98 of 25-01-85)

SASIC remains the owner of goods invoiced, as long as they have not been entirely paid by the
purchaser.

Until then, goods are deemed to be entrusted to the purchaser who becomes responsible, as soon
as they leave our factory or our bonds. Should the payment not be effected on due date, goods will be
restituted at SASIC’s first request without any formality. SASIC will also use legal procedures and privileges
granted by the French law to suppliers in case of legal supervision or compulsory liquidation by the court,

of our customers.

6/Claims guarantee :

SASIC manufactures and distributes replacement parts for cars. The greatest cares are given to the
manufacturing process or to the selection of top level suppliers. In case however of a latent or obvious defect,
raw material or machining... SASIC’s responsability would be limited to the free repair or if we choose,

to the free replacement of defective parts, only. Should, for any reason, repair or replacement be impossible
SASIC responsability would be limited to the reimbursement of goods invoiced, and we would not take into
account any extra charges or indemnity. This also applies to wrong deliveries. In any case no guarantee will
be applicable without a written claim sent to SASIC within 60 days following the issue of SASIC invoices,
and before SASIC acceptance of the claim being fully justified. It is limited to actual genuine SASIC goods,
packed in our SASIC boxes or bags and mentioned in our catalogues. No claim will be accepted in case

of wrong fitting, local repair or rebuilding of our parts. We refuse any responsability in case of wrong references
or description used by the purchaser and we shall not accept in these cases the return of the goods or their
reimbursement. If, in absence of mistake by SASIC, and after approval by our Export Department a return
of goods was effected, any corresponding charges : freight - unpacking etc... would be borne by the
purchaser.

7/Mini value - rative cost :

‘We do not accept orders the value of which would not reach 1000 Euros.

In case of deliveries by parcel post, usual prices will be increased by 10 %.

For any delivery under 1000 Euros ex works, a lump amount of 100 Euros, will be added to the value
of the goods.

This amount will reach 7 % of the value of the goods for deliveries between 1 000 a 2 000 Euros.

8/Jurisdiction :
In the event of claims of any kind, including guarantee claims or in case of claims involving several
defendants, only the courts of our head office will be competent, and the French law will apply.

231








